Official Transcript of Proceedings

Before the OFFICE OF THE SECRETARY UNITED STATES POSTAL RATE COMMISSION

In the Matter of: POSTAL RATE AND FEE CHANGES

Docket No.

R97-1

VOLUME 19-E

DESIGNATED RESPONSES OF

UNITED STATES POSTAL SERVICE WITNESSES

ANN RILEY & ASSOCIATES, LTD. 1250 I St., N.W., Suite 300 Washington, D.C. 20005 (202) 842-0034

DATE:

Friday, December 19, 1997

PLACE: Washington, D.C.

PAGES:

9603 - 10047

file

1	BEFORE THE
2	POSTAL RATE COMMISSION
3	X
4	In the Matter of: :
5	POSTAL RATE AND FEE CHANGES : Docket No. R97-1
6	X
7	
8	Third Floor Hearing Room
9	Postal Rate Commission
10	1333 H Street, N.W.
11	Washington, D.C. 20268
12	
13	Volume 19-E
14	Friday, December 19, 1997
15	
16	The following documents were transcribed into the
17	record.
18	
19	BEFORE:
20	HON. EDWARD J. GLEIMAN, CHAIRMAN
21	HON. W. H. "TREY" LEBLANC, III, COMMISSIONER
22	HON. GEORGE A. OMAS, COMMISSIONER
23	
24	
25	

ANN RILEY & ASSOCIATES, LTD. Court Reporters 1250 I Street, N.W., Suite 300 Washington, D.C. 20005 (202) 842-0034

1	CONTENTS	
2	DOCUMENTS TRANSCRIBED INTO THE RECORD:	PAGE
3	Designated Interrogatory Responses of	
4	Norma B. Nieto (T02)	9609
5	Designated Interrogatory Responses of	
6	Ralph J. Moden (T04)	9614
7	Designated Interrogatory Responses of	
8	Joe Alexandrovich (T05)	9619
9	Designated Interrogatory Responses of	
10	George S. Tolley (T06)	9634
11	Designated Interrogatory Responses of	
12	Gerald L. Musgrave (T08)	9640
13	Designated Interrogatory Responses of	
14	William P. Tayman (TO9)	9644
15	Designated Interrogatory Responses of	
16	Carl G. Degen (T12)	9651
17	Designated Interrogatory Responses of	
18	Michael D. Bradley (T14)	9671
19	Designated Interrogatory Responses of	
20	Richard L. Patelunas (T15)	9757
21	Designated Interrogatory Responses of	
22	Peter D. Hume (T18)	9801
23	Designated Interrogatory Responses of	
24	Michael A. Nelson (T19)	9803

25

ANN RILEY & ASSOCIATES, LTD. Court Reporters 1250 I Street, N.W., Suite 300 Washington, D.C. 20005 (202) 842-0034

1	CONTENTS [continued]	
2	DOCUMENTS TRANSCRIBED INTO THE RECORD: [continued]	PAGE
3	Designated Interrogatory Responses of	
4	David E. Treworgy (T22)	9805
5	Designated Interrogatory Responses of	
6	Paul M. Lion (T24)	9815
7	Designated Interrogatory Responses of	
8	Leslie M. Schenk (T27)	9823
9	Designated Interrogatory Responses of	
10	Charles L. Crum (T28)	9830
11	Designated Interrogatory Responses of	
12	Sharon Daniel (T29)	9853
13	Designated Interrogatory Responses of	
14	Donald J. O'Hara (T30)	9856
15	Designated Interrogatory Responses of	
16	David R. Fronk (T32)	9861
17	Designated Interrogatory Responses of	
18	Thomas M. Sharkey (T33)	9868
19	Designated Interrogatory Responses of	
20	Altaf H. Taufique (T34)	9873
21	Designated Interrogatory Responses of	
22	Joseph D. Moeller (T36)	9876
23	Designated Interrogatory Responses of	
24	Virginia J. Mayes (T37)	9882
25		

ANN RILEY & ASSOCIATES, LTD. Court Reporters 1250 I Street, N.W., Suite 300 Washington, D.C. 20005 (202) 842-0034 ii

1	CONTENTS [continued]	
2	DOCUMENTS TRANSCRIBED INTO THE RECORD: [continued]	PAGE
3	Designated Interrogatory Responses of	
4	Mohammad A. Adra (T38)	9890
5	Designated Interrogatory Responses of	
6	Susan W. Needham (T39)	9898
7	Designated Interrogatory Responses of	
8	Michael K. Plunkett (T40)	9863
9	Designated Interrogatory Responses of	
10	William M. Takis (T41)	9997
11	Designated Interrogatory Responses of	
12	John V. Currie (T42)	9999
13	Designated Interrogatory Responses of	
14	Michael R. McGrane (ST44)	10031
15	Designated Interrogatory Responses of	
16	Marc A. Smith (ST45)	10034
17	Designated Interrogatory Responses of	
18	Marc A. Smith (ST46)	10046
19		
20		
21		
22		
23		
24		
25		

ANN RILEY & ASSOCIATES, LTD. Court Reporters 1250 I Street, N.W., Suite 300 Washington, D.C. 20005 (202) 842-0034

.

iii

BEFORE THE POSTAL RATE COMMISSION WASHINGTON, DC 20268-0001

Postal Rate and Fee Changes, 1997

Docket No. R97-1

DESIGNATION OF INTERROGATORY RESPONSES PROVIDED BY INDIVIDUAL WITNESSES

Party

Interrogatories

Norma B. Nieto (T02) Office of the Consumer Advocate

UPS/USPS-T02-10 Written responses to questions during oral cross-examination at Tr. 7/3507, 3531

Ralph J. Moden (T04)

Office of the Consumer Advocate

ABA,EEI&NAPM/USPS-T25-10, 12 redirected to T04 NAA/USPS-T04-20 UPS/USPS-T04-10

Joe Alexandrovich (T05)

Office of the Consumer Advocate

DFC/USPS-T05-11-16 POIR No. 3, Question 17 POIR No. 4, Question 8a POIR No. 6, Question 4 Written response to OCA's question during oral cross-examination at Tr. 13/7176

George S. Tolley (T06) Office of the Consumer Advocate

POIR No. 7, Questions 6-8 Written response to Presiding Officer's question during oral cross-examination at Tr. 13/6939

Gerald L. Musgrave (T08)

Office of the Consumer Advocate

William P. Tayman (T09) Office of the Consumer Advocate POIR No. 5, Question 1

DMA/USPS-T09-35-38 POIR No. 5, Questions 15-16

Carl G. Degen (T12)	
Office of the Consumer Advocate	TW/USPS-5 redirected to T12 TW/USPS-T12-41 POIR No. 5, Question 20 Written responses to questions during oral cross-examination at Tr. 12/6637, 6642 (lines 4-6 and 8-11), 6643, 6644, 6660
Postal Rate Commission	Written response to Presiding Officer's questions during oral cross-examination at Tr. 18/8268, 8337, 8354
Michael D. Bradley (T14) Office of the Consumer Advocate	POIR No. 7, Questions 1-5
Richard L. Patelunas (T15) Office of the Consumer Advocate	ABP/USPS-T15-3 (revised) DFC/USPS-6 redirected to T15 DFC/USPS-T24-1-2 redirected to T15 MMA/USPS-T05-6a redirected to T15 NDMS/USPS-T15-1 (attachment revised 10/31) OCA/USPS-4-6 redirected to T15 OCA/USPS-T05-3-6, 9, 28-29 redirected to T15 OCA/USPS-T09-21a-b redirected to T15 OCA/USPS-T09-21a-b redirected to T15 OCA/USPS-T24-25, 60b, 74b (revised) redirected to T15 UPS/USPS-T33-58 redirected to T15 (revised)
United Parcel Service	UPS/USPS-T33-15 redirected to T15 (revised)
Peter D. Hume (T18) Office of the Consumer Advocate	NNA/USPS-T18-1
Michael A. Nelson (T19) Office of the Consumer Advocate	OCA/USPS-T05-15 redirected to T19
David E. Treworgy (T22) Office of the Consumer Advocate	OCA/USPS-T22-12, 20b, e, g POIR No. 5, Question 17 Written response to OCA's questions during oral cross-examination at Tr. 3/1295, 1296-8
Paul M. Lion (T24) Office of the Consumer Advocate	OCA/USPS-T24-96 (revised), 97, 98 (revised), 99-101 Written response to OCA's question during oral cross-examination at Tr. 3/1192-3

.

-

Leslie M. Schenk (T27) Office of the Consumer Advocate

Charles L. Crum (T28) Advertising Mail Marketing Association

Office of the Consumer Advocate

OCA/USPS-T27-1-6

RIAA/USPS-T28-5

POIR No. 4, Question 8c Written response to AMMA's question during oral cross-examination at Tr. 17/8054-7, 8067, 8068

Sharon Daniel (T29) Advertising Mail Marketing Association

Office of the Consumer Advocate

Donald J. O'Hara (T30) Office of the Consumer Advocate

David R. Fronk (T32) Office of the Consumer Advocate

Thomas M. Sharkey (T33) Office of the Consumer Advocate

Altaf H. Taufique (T34) Office of the Consumer Advocate

Joseph D. Moeller (T36) Office of the Consumer Advocate

Virginia J. Mayes (T37) Office of the Consumer Advocate

Mohammad A. Adra (T38) Office of the Consumer Advocate AMMA/USPS-1 (revised) redirected to T29

AMMA/USPS-1 (revised) redirected to T29 OCA/USPS-T12-43 redirected to T29

ABA, EEI&NAPM/USPS-T30-2-4, 6

ABA/USPS-T25-2-5 redirected to T32 POIR No. 5, Question 18 Written response to OCA's question during oral cross-examination at Tr. 4/1686-7

DBP/USPS-8r, 11a-b, 12a-b redirected to T33 POIR No. 7, Question 20

POIR No. 6, Question 2

Written response to RIAA's question during oral cross-examination at Tr. 6/3094-6

DBP/USPS-39I, 82 redirected to T37 OCA/USPS-T37-1 (partial) POIR No. 5, Question 13 POIR No. 6, Question 3

POIR No. 5, Question 12

9607

Susan W. Needham (T39)

Office of the Consumer Advocate

DBP/USPS-16a-d, 21m-p, r, v, y-aa, cc, 37, supplemental response to 37l, 54a-z, aa-jj, uu-zz, aaa-ddd, 62a-g, I-s, 80, 84, 101 redirected to T39 OCA/USPS-T24-88, 89, 92b-d, f redirected to T39 POIR No. 5, Questions 2-7 POIR No. 7, Question 19 Written response to Mr. Popkin's question during oral cross-examination at Tr. 3/697-99

DBP/USPS-29 (revised), 73-78, 83, 85-87, 90

Written response to Mr. Popkin's question during

Written response to OCA's question during oral

Michael K. Plunkett (T40)

Office of the Consumer Advocate

William M. Takis (T41) Office of the Consumer Advocate

Written response to question during oral cross-examination at Tr. 9/4790

John V. Currie (T42) Postal Rate Commission

Michael R. McGrane (ST44)

Office of the Consumer Advocate

Marc A. Smith (ST45) Office of the Consumer Advocate

Marc A. Smith (ST46) Nashua Photo Inc., District Photo Inc., Mystic Color Lab, and Seattle Filmworks, Inc. OCA/USPS-T42-2

redirected to T40

OCA/USPS-T40-40 (revised) POIR No. 5, Questions 8-11 POIR No. 6, Questions 5-6

oral cross-examination at Tr. 3/971

cross-examination at Tr. 3/1047

POIR No. 7, Questions 15, 18

POIR No. 7, Questions 9-14, 16-17

NDMS/USPS-T28-38d, 41i redirected to ST46

Respectfully submitted,

Margaret P. Curskaw

Margaret P. Crenshaw Secretary Designated Interrogatory Responses of Norma B. Nieto (T02)

.

·_--

.

.

.

:

UPS/USPS-T2-10. Please confirm that NASS, and thus TRACS, does not include emergency highway contracts. If confirmed, please explain how the construction of the highway sample frame accounts for these contracts for developing distribution keys. If not confirmed, please explain your answer.

Response to UPS/USPS-T2-10:

Confirmed. TRACS does not sample emergency contracts since the schedule

information for these contracts is not available at the time of sampling. The TRACS

distribution key for regular highway contracts is applied to all the costs in a particular

account.

RESPONSE OF POSTAL SERVICE WITNESS NIETO TO QUESTIONS POSED DURING ORAL CROSS-EXAMINATION

Tr. 7/3507 (Florida Gift Fruit Shippers Association)

"Mr. Chairman, I would request that the Postal Service identify the four TRACS tests and the two TRACS tests and the one TRACS test that are referred to by the witness in answer to our interrogatory T-2-41."

Response:

. . .

Please refer to the attachment to this question.

e s.r

÷.

RESPONSE OF POSTAL SERVICE VVI INESS NIETO TO QUESTIONS POSED DURING ORAL CROSS-EXAMINATION

Response to question posed at Tr. 7/3507, lines 2-5.

There were four Intra-BMC TRACS tests is which a portion of the truck was vertically used up to 96":

TESTID	ACCT	FTYPE	UNLOAD	EMPTY	REMAIN	WHEELED	PALLETS	SACKS	EXPRESS	OTHER	NWHEELD	NPALLETS	P1HEIGHT	P2HEIGHT	HSACKS	HEXPRESS	HOTHER	AVG HT
02198BM	53127	SCF	55	45	0	40	5	10	0	0	9	2	14	11	106.00	0	0	72.77
05138JS	53127	BMC	85	15	0	50	15	2	0	18	11	3	49	49	34	0	96	72.13
06022XX	53127	BMC	100	0	0	30	50	5	0	15	6	11	72	48	30	0	96	67.50
06532CP	53127	SCF	100	0	0	60	0	20	0	20	13	0	0	0	96.00	0	96	81.60

There were two Intra-BMC TRACS tests in which the entire truck was vertically used up to 96":

TESTID	ACCT	FTYPE	UNLOAD	EMPTY	REMAIN W	HEELED	PALLETS	SACKS	EXPRESS	OTHER	NWHEELD	NPALLETS	PIHEIGHT	P2HEIGHT	HSACKS	HEXPRESS	HOTHER	AVG_HT
06188KK	53127	BMC	100	0	0	0	0	0	0	100	0	0	0	0	0	0	96	96.00
77736UY	53127	BMC	100	0	0	0	0	100	0	0	0	0	0	0	100.00	0	0	100.00

There was one Inter-BMC TRACS test in which a portion of the truck was vertically used up to 96":

TESTID	ACCT	FTYPE	UNLOAD	EMPTY	REMAIN	WHEELED	PALLETS	SACKS	EXPRESS	OTHER	NWHEELD	NPALLETS	P1HEIGHT P2	2HEIGHT	HSACKS	HEXPRESS	HOTHER	AVG_HT
08188HE	53131	BMC	90	10	0	30	0	10	0	50	9	0	0	0	55	0	97	84.00

Variable definitions:

TESTID Test ID ACCT Account FTYPE **Test Facility Type** UNLOAD Percent of truck which was unloaded EMPTY Percent of truck which was already empty REMAIN Percent of truck which was not unloaded WHEELED Percent of truck which contained wheeled containers which were unloaded PALLETSPercent of truck which contained pallets which were unloaded Percent of truck which contained loose sacks which were unloaded SACKS EXPRESS Percent of truck which contained loose Express items which were unloaded OTHER Percent of truck which contained other loose items which were unloaded NWHEELED Number of wheeled containers unloaded Number of pallets unloaded NPALLETS **P1HEIGHT** Height of the first of up to two sampled pallets Height of the second of up to two sampled pallets P2HEIGHT HSACKS Height of the loose sacks HEXPRESS Height of the loose Express items HOTHER Height of the other loose items

AVG_HT Average height, which is calculated as the weighted average of the above heights (the two pallet heights are first straight-averaged together; a standard height of 72" is used for wheeled containers), weighted by floorspace percentage for each itemgroup (Wheeled, Pallets, Express, Sacks, Other).

Note that a height of greater than 96" (e.g., 100, or 106) reflects a DCT's visual estimation of a height which was too high to actually reach with a tape measure. For the purposes of this identification of tests in which a portion of the truck or all of the truck was filled to the ceiling, these measurements are assumed to be indicative of a true height of 96". This is not a reason for concern as heights are not used in the expansion process except in the calculation of the cubic feet of pallets.

Tr. 7/3531 (American Business Press)

"I was wondering if it would be possible for the witness or for the Postal Service to provide some written substantiation of her estimate that in quarter 4 of 1995 the periodical density factors were updated, and if so, what factors were used?"

Response:

N. C

•

The density factor for PQs 1-3 was 17.543 lbs/cuft, from the Form 22 Density Study of

PQ4, FY92. Updated density factors for periodicals were used in PQ4 of FY96 with the

implementation of the new mail classifications into the data collection systems. The

density used in PQ4 of FY96 was 18.262 lbs/cuft. A description of the study and

methodology used can be found in Docket. No. MC95-1, LR-MCR-13. This study was

conducted in PQ4 of FY94.

Designated Interrogatory Responses of Raiph J. Moden (T04)

٠

•

••

•

RESPONSE OF POSTAL SERVICE WITNESS MODEN TO INTERROGATORIES OF ABA, EEI, AND NAPM REDIRECTED FROM WITNESS HATFIELD

ABA&EEI&NAPM/USPS-T-25-10. Explain the function of and how each of the following operates:

- (a) MLOCR ISS, and
- (b) MPBCS OSS.

RESPONSE:

(a) The MLOCR-ISS is a modified MLOCR than can "lift" an image of a mailpiece's address. The address information is subsequently processed by the Remote Computer Reader (RCR) and/or a keyer at a Remote Encoding Center (REC) to determine the appropriate ZIP+4/Delivery Point Barcode. A flourescent ID tag is applied on the back of the mailpiece at the time of the image lift, so the mailpiece can be matched up with the information returned by the RCR or REC site.

(b) The MPBCS-OSS is a modified barcode sorter that can read the ID tag and can spray a barcode on a mailpiece that was initially processed across the MLOCR-ISS. Information that was returned by the RCR or a REC is matched to the flourescent ID tag on the back of the mailpiece and a barcode is applied to the mailpiece.

RESPONSE OF POSTAL SERVICE WITNESS MODEN TO INTERROGATORIES OF ABA, EEI, AND NAPM REDIRECTED FROM WITNESS HATFIELD

ABA&EEI&NAPM/USPS-T-25-12. You state that "finest depth of sort can mean either a 5-digit, 9-digit, or 11-digit barcode." (Testimony at 12). Please explain the criteria used by the Postal Service to determine which depth of sort is to be employed.

RESPONSE:

See sections A800.2.0 and C840.1.4 of the DMM for the criteria used by the Postal

Service to determine which depth of sort is to be employed.

RESPONSE OF THE UNITED STATES POSTAL SERVICE WITNESS MODEN TO THE INTERROGATORIES OF THE NEWSPAPER ASSOCIATION OF AMERICA

NAA/USPS-T4-20. Please refer to your response to NAA/USPS-T4-5(f). You note that letters are not eligible for the automated Carrier Route rate for DCBS [sic] zones.

- a. Are letters eligible for the ECR high density letter rate for DCBS [sic] zones? Please explain why or why not.
- b. Are letters eligible for the ECR saturation high density letter rate for DCBS [sic] zones? Please explain why or why not.

Response:

a. - b. Yes, as long as they meet the preparation requirements for that rate category. The zone's processing category does not figure into the equation. Also, letters may also be eligible for the basic carrier route rate if they meet the preparation requirements for that rate category.



RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS MODEN TO INTERROGATORIES OF UNITED PARCEL SERVICE

UPS/USPS-T4-10. Please refer to the attachment to your response to interrogatory APMU/USPS-T33-13(b), redirected from witness Sharkey. The first page of that attachment states, "On April 7, I provided you with seven initial steps to improve Priority Mail performance." Are the seven initial steps set forth in writing? If so, please produce a copy of the document listing those steps.

Response:

I have been unable to locate a copy of the April 7 memo that is referenced.

Designated Interrogatory Responses of Joe Alexandrovich (T05)

.

٠.

.

DFC/USPS-T5-11. Please refer to your response to DFC/USPS-T5-5(c).

- a. If necessary, could the Postal Service, using a reasonable expenditure of time and resources, train IOCS data collectors to distinguish between stamped cards and other cards? Please answer to the best of your knowledge. If your answer is anything other than an unqualified yes, please explain your answer fully.
- b. Using a reasonable expenditure of time and resources, is the Postal Service unable to train IOCS data collectors to distinguish between stamped cards and other cards? Please answer to the best of your knowledge. If your answer is anything other than an unqualified no, please explain your answer fully.
- c. Please define "other agency cards."

Response to DFC/USPS-T5-1

a-b. Setting aside, for the moment, what you would consider a "reasonable expenditure," it may be safe to assume that additional training designed to improve data collectors' ability to distinguish stamped cards from private postcards would result in fewer coding errors, but some errors may still occur. Moreover, my response to DFC/USPS-T5-5(c) also states that the Postal Service plan to make the treatment of postal cards consistent with that of stamped envelopes made the distinction between stamped and private cards irrelevant. Since eliminating this distinction made it unnecessary for a data collector to differentiate between stamped and private cards, any amount of money spent to improve their ability to do so might be considered unwarranted and unreasonable.

c. "Other agency cards" refers to U.S. Government cards that bear a

"Postage and Fees Paid" indicia in the upper right corner of the address

side of the card.

1

DFC/USPS-T5-12. Please refer to your response to DFC/USPS-T5-5(d). Please confirm that no studies or other analyses have concluded that the reliability of the cost data for postal cards that you presented in Attachment 1 to Response to DFC/USPS-T5-2(b) has been affected in any significant way by the misidentification of stamped cards and other cards by IOCS data collectors. If you do not confirm, please explain fully and provide relevant documents. of any such changes.

Response to DFC/USPS-T5-12

Confirmed.

DFC/USPS-T5-13. Please refer to your response to DFC/USPS-T5-9(b).

- a. Please confirm that errors in properly coding stamped cards, private post cards, and other agency cards might have caused the attributable cost for stamped cards that you provided in Attachment 1 to Response to DFC/USPS-T5-2(b) to be overstated. If you do not confirm this possibility, please explain fully and provide copies of relevant documents or studies.
- Please confirm that errors in properly coding stamped cards, private post cards, and other agency cards might have caused the attributable cost for private post cards that you provided in Attachment 1 to Response to DFC/USPS-T5-2(b) to be understated. If you do not confirm this possibility, please explain fully and provide copies of relevant documents or studies.

Response to DFC/USPS-T5-13

a-b. Coding errors could cause costs to be either overstated or understated.

There is also the possibility that coding errors could more or less cancel

out, leaving costs relatively unaffected. Please note that if data collectors

are identifying postal cards as belonging to the larger category of private

postcards, then postal card costs could be understated.

DFC/USPS-T5-14. Please answer DFC/USPS-T5-9(c) using the definition of "public interest" that the Postal Service used when it determined, under 39 U.S.C. § 3622(a), that a stamped-card fee would be in the public interest.

Response to DFC/USPS-T5-14

I am still not sure what criteria you would use to define the public interest. I also am not sure that the Postal Service is required to make a determination that changes in data collection methods are in the public interest, or that the definition of "public interest" would be the same for purposes of determining whether to recommend a change in classification and for purposes of making a change in data collection methods. Nevertheless, it seems to me that if the Postal Service determined to change the data collection method for cards because of coding errors and to make the treatment of postal cards more consistent with stamped envelopes, this could be said to be in the public interest. DFC/USPS-T5-15. Please refer to Attachment 1 to DFC/USPS-T5-15. This attachment depicts four cards, numbered one through four. Assume that these cards are consistent with the requirements of DMM § C100.2.1 and any other applicable regulations defining a First-Class Mail card. (Note that the image of each card has been reduced so that the four cards will fit on one sheet of paper.)

For each card, please state, to the best of your ability, whether the card is (i) a stamped card or (ii) a private post card. To the extent that you have doubt about the categorization of each card, please provide your best determination and specify the factors that prevent you from making a definitive determination or the additional information that you would need to make a definitive determination.

Response to DFC/USPS-T5-15

Please note that I have never been trained as a data collector. To the best of my

ability, however, I would identify Cards #1, #3, and # 4 as private postcards and

Card #2 as a stamped card.



DFC/USPS-T5-16.

a. Do you believe that stamped cards are less expensive to process than private post cards? (Note that this question does not ask you to agree that the cost differential is any particular number of cents; I am asking only for confirmation that the cost of processing stamped cards is lower than the cost of processing private post cards.) If your answer is anything other than an unqualified yes, please explain your answer fully, reconcile your answer with the data provided in Attachment 1 to Response to DFC/USPS-T5-2(b), and provide copies of all data, studies, and documents that support your position.

b. Please refer to your response to DFC/USPS-T5-13, where you stated, "Please note that if data collectors are identifying postal cards as belonging to the larger category of private postcards, then postal card costs could be understated." Please provide a complete explanation, using a numerical example if necessary, of why postal-card costs would be understated in the situation that you described.

c. Assume that the cost of processing stamped cards is lower than the cost of processing private post cards. If a stamped card, with its lower cost characteristics, were mistakenly identified as a private post card, please explain why assignment of the processing costs for this stamped card to the private-post-cards category would not cause the processing costs for *private post cards* to be understated.

Response to DFC/USPS-T5-16

a. CRA unit mail processing costs for postal cards have historically been

lower than those of private postcards, on average.

b. The costs for postal cards would be understated in the circumstance

described because it would reduce the cost pool associated with postal

cards. Unit costs are developed by dividing total volume variable costs by

volume. For example, IOCS tallies are used in the development of certain

volume variable costs for a particular class, subclass, or special service-

the numerator in the equation. Volume data from the Revenue, Pieces,

and Weight (RPW) report is used in the denominator to calculate unit volume variable costs. If an IOCS data collector mistakenly identifies a postal card as a private postcard, then the cost pool for postal cards will be reduced and the unit cost for postal cards will be understated. Conversely, the cost pool for private postcards will be increased in this situation, thereby overstating the unit costs for private postcards.

c. Your question indicates a misunderstanding of how unit costs are developed. As explained in subpart (b) above, unit costs are developed by dividing total volume variable costs by volume. Misidentifying a postal card as a private postcard reduces the costs associated with postal cards and increases the costs associated with private postcards. However, this IOCS coding error has absolutely no effect on the volume associated with either of these subclasses. RPW data, which are used to determine volumes, are collected independently of IOCS data. In the situation described in the question, an additional IOCS tally for private postcards would increase the costs associated with private postcards (numerator), while having no effect on the volume (denominator). As such, the unit costs of private postcards would increase.

Response of United States Postal Service Witness Alexandrovich to Presiding Officer's Information Request No. 3, Question 17

17. In Docket No. R90-1, the Commission recommended a new treatment for Eagle network distribution keys. In Docket No. R94-1, witness Barker stated that the Eagle network keys shown in Worksheet 14.0.7, pages 1-4, reflected the Commission's R90-1 method. The adjustments were documented in Library Reference G-115, the TRACS Eagle Estimation Programs Overview. See Docket No. R94-1, Tr. 26E/14480-82.

In MC97-2, witness Patelunas confirmed that the Service used the Commission's methodology in the development of FY 1995 Eagle Network TRACS distribution keys shown in USPS-T-5, Workpaper B, Worksheet 14.0.3.

Do the Eagle network TRACS distribution keys shown in USPS-T-5, Workpaper 14.03, reflect the Docket No. R94-1 methodology? If yes, what adjustments were made in light of the change from cubic foot-miles to poundmiles as noted by witness Nieto, USPS-T-2, page 6.

RESPONSE

The Eagle network TRACS distribution keys shown in Workpaper 14.0.3 are used to distribute only nonpremium costs. The methodology used to distribute these nonpremium costs is consistent with the Commission's R94-1 distribution of nonpremium costs except for the fact that the TRACS network distribution keys in Workpaper 14.0.3 are based on pound-miles while the Commission's R94-1 keys use cubic-foot miles. The keys shown in Workpaper 14.0.3 do not include the Commission's R94-1 reallocation of premium cost to Priority and Express Mail, as premium costs are treated as incremental costs to the subclasses for which the networks exist as discussed in witness Takis' testimony.

Response of United States Postal Service Witness Alexandrovich to

Presiding Officer's Information Request No. 4

POIR No. 4:

8. Alaska Bypass Mail

a. Witness Mayes identifies the 1996 Intra-BMC Alaska Bypass volume (USPS-T-37, Workpaper 1.A, page 1) and revenues (USPS-T-37, Workpaper 1.D, page 7).

(1) Please provide the Bypass transportation costs which are included in the Alaskan nonpriority air costs.

(2) Please identify and provide any clerk and mailhandling costs for processing Bypass mail.

RESPONSE

(1) Total Parcel Post Bypass Transportation costs:

58.88% * 82,495 = 48,573

(2) There are no clerk and mailhandling costs for processing Bypass

mail.

4. WS 7.0.4.2, line 75, "Summary - Accrued Costs, Load" is the sum of lines 50d, "Total Distributed Load Costs Minus Time at Stop," 33h, "Accrued Reg. Box Load," and 33i, "Load - EM Box." Please confirm that it should be the sum of lines 50d, 33h, and 33g, "Accrued EM Box Load."

Response

Not confirmed. The following explanation may reduce any confusion. Line 33h,

"Accrued Reg Box Load," does not include fixed time at a stop, whereas line

33g, "Accrued EM Box Load" does include fixed time at a stop. Line 33i, "Load -

EM Box" does not include fixed time at a stop. Line 75, "Summary - Accrued

Costs, Load," is the sum of all accrued load cost elements minus time at a stop

(which is part of access costs); therefore, line 75 correctly equals the total of 50d,

33h, and 33i.

Answer of Joe Alexandrovich to Questions Posed by Office of the Consumer Advocate During Oral Cross-Examination

OCA Oral Cross-Examination: Tr. 13/7176 refers to workpaper A-3, page 20.1. The questions are on pages 7176-7177. The first question is: what is "the source of those percentages and those volume variabilities" found in workpaper A-3, page 20.1? The second question is: "if one of those percentages were manually changed, or we wanted to change that, a percentage, would that change be made at this point, from this point on in your workpapers, or do you have to go back to an initial program?"

OCA Oral Cross-Examination Response:

1. Please refer to Attachment I that accompanies this response. Column (2) shows

the footnotes on page 20.1 of workpaper A-3 that are the basis for the questions.

Column (3) shows the source referenced in the footnotes. Column (4) shows the

footnotes referenced in column (3) and the sources for column (4) appear in column

(5). Likewise, column (6) shows the footnotes referenced in column (5) and the

sources for column (6) appear in column (7). After walking through the series of

footnotes, the source of all the percentages is USPS Library Reference H-24.

2. Any change to the volume variabilities that appear on page 20.1 of workpaper A-

3 would be made in workpaper A-1, Manual Input Requirement. This is the initial step in the Postal Service's cost model; thus, all the subsequent workpapers would be impacted accordingly.

Witness Alexandrovich Response to OCA Oral Cross-Examination

.

.

	WP A-3 20.1		WP A-3 Page		WP A-1 Page	
Component	Footnote	Source	Footnote	Source	Footnote	Source
(1)	(2)	(3)	(4)	(5)	(6)	(7)
CFS	1	A-3, pp 3-4, col 1	A-3, p. 4.1, ftnt 1	A-1, pp. 105-106, ftnt 6	A-1, p. 106.1, ftnt 6	L-REF-H-24
OCR Pref	2	A-3, pp 5-6, col 1	A-3, p. 6.1, ftnt 1	A-1, pp. 107-108, ftnt 5	A-1, p. 108.1, ftnt 5	L-REF-H-24
Non-pref			A-3, p. 6.1, ftnt 1	A-1, pp. 119-120, ftnt 1	A-1, p. 120.1, ftnt 1	L-REF-H-24
MPBCS	3	A-3, pp 5-6, col 2	A-3, p. 6.1, ftnt 2	A-1, pp. 107-108, ftnt 6	A-1, p. 108.1, ftnt 6	L-REF-H-24
CSBCS	4	A-3, pp 5-6, col 4	A-3, p. 6.1, ftnt 4	A-1, pp. 109-110, ftnt 2	A-1, p. 110.1, ftnt 2	L-REF-H-24
DBCS	5	A-3, pp 5-6, col 3	A-3, p. 6.1, ftnt 3	A-1, pp. 109-110, ftnt 1	A-1, p. 110.1, ftnt 1	L-REF-H-24
SM	6	A-3, pp 5-6, col 5	A-3, p. 6.1, ftnt 5	A-1, pp. 109-110, ftnt 3	A-1, p. 110.1, ftnt 3	L-REF-H-24

.

.

.

. .

Designated Interrogatory Responses of George S. Tolley (T06) :

.

.

RESPONSE OF POSTAL SERVICE WITNESS TOLLEY TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 7

6. Please provide the formula used to calculate the following TYBR discounts:

Mail Category	Before-Rates Discount
Standard A Nonprofit	
Presort Nonletters	4.478295
Automation Basic Flats	2.107374
Automation 3/5-Digit Flats	6.919693

These discounts appear in USPS-T-7, "Direct Testimony of Thomas E. Thress," Table IV-1, page 221, and LR-H-295, "Diskette Relating to Revisions of Dr. Tolley, USPS-T-6," Spreadsheets SF_R97.WK4 and SF_R97AR.WK4, page PAF Params, Cells AW30, AY30, and BB30.

RESPONSE:

These discounts are calculated in the file, D3N_NL.WK4, which is contained in

-

Library Reference LR-H-312, and is being filed with this response.
RESPONSE OF POSTAL SERVICE WITNESS TOLLEY TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 7

7. Refer to LR-H-172, "Derivation of After-Rates Fixed Weight Price Indices," Spreadsheet STASP96A.WK4, "Standard A Single Piece." Please confirm that the following changes should be made in FY 1996 Billing Determinants and fixed weight price indices (FWIs) for Standard A Single Piece mail:

- a. Cells SGL_PC:C16 and UNIFIED:C8, figure 0.343 should be changed to 0.686.
- b. Cells BULK:B17 and BULK:C17, figure 2.828 should be changed to 2.282.
- c. Cells BULK:C29 and UNIFIED:C9, figure 145.667 should be changed to 145.121.
- d. Cell UNIFIED:C11, figure 146.010 should be changed to 145.807.
- e. Cell UNIFIED:E2, figure 1.022448 should be changed to 0.978045 (1/1.022448).
- f. Cells UNIFIED:E172 through UNIFIED:E181, figure 0.976318 should be changed to 0.928992.
- g. Cells UNIFIED:E183 through UNIFIED:E193, figure 1.024883 should be changed to 0.975477.

RESPONSE:

(a) - (g). Confirmed.

RESPONSE OF POSTAL SERVICE WITNESS TOLLEY TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 7

8. Refer to LR-H-295, "Diskette Relating to Revisions of Dr. Tolley, USPS-T-6," Spreadsheet SF_R97AR.WK4. Please provide the source of the before-rates Standard A single piece FWI entry of "\$0.974030" in cell FWIs:AC8.

RESPONSE:

This figure is obtained from the file 3S96.WK4, in cells UNIFIED:E119 - E193. This file differs from the before-rates fixed-weight index spreadsheet as filed in LR-H-171 in that single-piece keys and IDs weighing two ounces or less are combined (as has been done historically) into a single row, rather than being separated into keys and IDs weighing less than one ounce and those weighing between one and two ounces, as is necessary in order to calculate the after-rates fixed-weight price index for Standard A single-piece mail. If the errors identified in questions 7.b & 7.e. of this P.O.I.R. are also corrected in the file 3S96.WK4, the before-rates fixed-weight index for Standard single-piece mail, as calculated in this file, will be equal to \$0.928992, as identified in question 7.f. of this P.O.I.R. In other words, the before-rates fixed-weight price index for Standard for Standard A single-piece mail calculated in the file 3S96.WK4 (if corrected) is exactly equal to the before-rates fixed-weight price index for Standard A single-piece mail calculated in the file 3S96.WK4 (if corrected) is exactly equal to the before-rates fixed-weight price index for Standard A single-piece mail calculated in the file 3S96.WK4 (if corrected) is exactly equal to the before-rates fixed-weight price index for Standard A single-piece mail calculated in the file 3S96.WK4 (if corrected) is exactly equal to the before-rates fixed-weight price index for Standard A single-piece mail calculated in the file 3S96.WK4 (if corrected).

The spreadsheet 3S96.WK4 is contained in Library Reference LR-H-312, filed with this response. In order to show the source of the \$0.974030 figure cited in this question, the errors identified in question 7 of this P.O.I.R. have not been corrected in this spreadsheet. As noted above, correcting these errors would result in the file 3S96.WK4 yielding the same before-rates fixed-weight price index as the file STASP96A.WK4 filed in LR-H-172.

WRITTEN RESPONSE OF POSTAL SERVICE WITNESS TOLLEY TO QUESTION POSED BY THE PRESIDING OFFICER AT TR. 13/6939

QUESTION: Your revised volume forecast that we were discussing a moment ago that you submitted on October 9th did not, to the best of my understanding, account for Witness Mayes' revised revenue adjustment factors. And my question is, do you plan to revise your volume forecast for bound printed matter and parcel posts to account for Ms. Mayes' revised revenue adjustment factors?

RESPONSE:

Although the before- and after-rates values of the fixed weight indices do respond to changes in the revenue adjustment factors, the volume forecasts for all mail categories are independent of these revenue adjustment factors. Therefore, no revisions to the volume forecasts are necessary to account for Witness Mayes' revised revenue adjustment factors.

The rate effect multiplier is the component of the volume forecasting equation which contains the fixed weight indices. For each price included in the rate multiplier, there is a price ratio having the following form:

Price Ratio =
$$\left(\frac{P_t}{P_0}\right)^e$$
 (1)

where:

P_t is the deflated price in the projection quarter t
P_o is the deflated price in the base year, and
e is the price elasticity.

The deflated price can be represented as follows:

$$P_{t} = \frac{ARP_{t} \cdot RAF}{PC_{t}}$$
(2)

where:

- ARP_t is the calculated average revenue per piece in quarter t
- RAF is the revenue adjustment factor, and
- PC, is the price deflator in quarter t.

÷

The numerator of the deflated price term in equation 2 is simply the fixed weight index, which is obtained by taking the calculated average revenue per piece for each rate category and multiplying by the revenue adjustment factor.

If one were to change the revenue adjustment factor used in calculating the fixed weight index, it would change both the numerator and denominator of the price ratio shown in equation 1 by the same proportion. This implies that the price ratio, and as a consequence the rate multiplier and the volume forecast itself, remains unaffected by changes in the revenue adjustment factor.

Designated Interrogatory Responses of Gerald L. Musgrave (T08) :

.

.

RESPONSE OF POSTAL SERVICE WITNESS MUSGRAVE TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5

1. Please refer to the following table which presents witness Musgrave's volume forecasts for Priority Mail and the annual growth rates implied by those forecasts.

a. Explain why the forecast growth rate for Priority Mail drops from 13.08 percent in GFY 1997 to 6.72 percent in TYBR (GFY 1998).

b. Also explain the low Priority Mail growth rates of 3.31 percent and 3.71 percent forecasted for TYAR (GFY 1998) and GFY 1999 respectively.

Priority Mail Volume Forecasts and

	Annual Growth Rates	
	Volume	Percent
item .	(Thousands)	Change
GFY 1996 (Base Year)	937,273 <u>1/</u>	-
GFY 1997 (Before Rates)	1,059,882 <u>2/</u>	13.08%
GFY 1998 (TYBR)	1,131,156 <u>2/</u>	6.72%
GFY 1998 (TYAR)	1,094,946 <u>2/</u>	3.31%
GFY 1999 (After Rates)	1,135,563 <u>3/</u>	3.71%
1/ FY 1996 RPW		
2/ USPS-T-8, Table 1 (Revised -	8/18/97)	

3/ LR-H-125, "Before Rates and After Rates Forecasts for Priority Mail and Express Mail," page 9 (Revised 8/18/97)

RESPONSE:

£.

1. While the forecasted growth in Priority Mail depends on the values of each of the individual Postal quarterly multipliers, combining the multipliers into annual values for Postal rates, UPS rates, Economic, and Demographic impacts can be used to answer the question. The answer is based on the multipliers presented in Library Reference H-125. The accompanying spreadsheet (Library Reference H-306) shows the detailed calculations. The calculations I cite, in this response, are color coded in the spreadsheet. Multipliers are based on Postal quarters and it should be remembered that the total annual effect is obtained by multiplying the multipliers together. Converting the impact of the multipliers from Postal Fiscal Years to Governmental Fiscal Years results in rounding and averaging differences in the range of 0.02 to 0.05 (0.0002 to 0.0005) percent. The

Base Year used to produce the forecasts in the testimony are Postal quarters 96:3 through 97:2 equaling 991.266 million pieces, (See USPS-T-8, Table 1, Revised 8/18/97) rather than the PFY 1996 equaling 937.273, presented above in the POIR.

1a. Government Fiscal Years 1996 to 1997 Before Rates Volume

From the Base Year used in the testimony to GFY 1997 before rates, lower real Postal rates (Priority Mail and Parcel Post) resulted in increased volume of 1.09 percent. Short-run and long-run economic conditions resulted in a 2.51 percent increase in volume with population adding an additional 0.70 percent. UPS price increases resulted in a 1.86 percent increase in volume. The net result is an increase of 6.95 percent in GFY 1997 volume over the actual Base Year period used to produce forecasts in the testimony. The difference in Base Year periods accounts for the difference between 13.08% and 6.95%.

GFY 1997 Before-Rates to GFY 1998 (TYBR) Volume

The volume growth in the before-rates environment is approximately the same at 6.74 percent. From GFY 1997 before rates to GFY 1998 before rates, lower real Postal rates (Priority Mail and Parcel Post) would result in an increase in volume of 1.77 percent. Short-run and long-run economic conditions would result in a 2.05 percent increase in volume with population adding an additional 0.82 percent. UPS price increases would resulted in a 1.59 percent increase in volume. The net result would be a 6.74 percent increase in 1998 volume over 1997, if Postal rates did not increase.

1b. GFY 1997 Before-Rates to 1998 After-Rates Volume

From GFY 1997 before-rates to GFY 1998 after-rates, higher real Postal rates (Priority Mail and Parcel Post) would result in a decrease in volume of 1.38 percent. Short-run and long-run economic conditions would result in a 2.01 percent increase in volume with population adding an additional 0.78 percent. Combining the economic and demographic impacts would result in a 2.81 percent impact. UPS price increases would result in a 1.55 percent increase in volume. The net result would be a 3.3 percent increase in GFY 1998 after-rates volume over GFY 1997, if rates proposed by the Postal Service were adopted. The decrease in growth is primarily the result of the proposed Postal rate increases.

GFY 1998 After-Rates to 1999 After-Rates Volume

From GFY 1998 after-rates to GFY 1999 after-rates, lower real Postal Rates (Priority Mail and Parcel Post) would result in an increase in volume of 0.47 percent. The small net impact results from the lagged effect of the previous price increases. Short-run and long-run economic conditions would result in a 1.19 percent increase in volume with population adding an additional 0.94 percent. Combining the economic and demographic impacts would result in a 2.14 percent impact. UPS price increases would also result in a 1.08 percent increase in volume. The net result would be approximately the same growth, at a 3.72 percent increase in GFY 1999.

In summary, the growth of GFY 1997 over the Base Year Period is 6.95 percent and is approximately the same as the GFY 1998 before-rates over GFY 1997 growth of 6.74 percent. The difference from 13.08 %, results from using the Base Year Period in the testimony rather than GFY 1996, as listed in the POIR. The reduced volume growth in the after-rates environment at 3.3 percent for GFY 1998 and 3.7 percent in GFY 1999 is primarily due to the proposed increase in Postal rates.

3

Designated Interrogatory Responses of William P. Tayman (T09)

~

••

;

DMA/USPS-T9-35. Please confirm that the Postal Service's FY 1997 fiscal year ended on September 30, 1997. If not confirmed, please list the date that the Service's fiscal year 1997 ended.

RESPONSE:

Confirmed.

÷

DMA/USPS-T9-36. Please provide total cost data (including all relevant reports or studies) for the Postal Service for fiscal year 1997.

RESPONSE:

The Postal Service's FY 1997 revenues, expenses, and net income have not yet been finalized. Accounting records are currently undergoing a year end audit. Following the completion of the audit, and approval of the audited financial statements by the Board of Governors at their December meeting, the Postal Service's accounting records will be provided to the Postal Rate Commission.

DMA/USPS-T9-37. Please provide total revenue data (including all relevant reports or studies) for the Postal Service for fiscal year 1997.

RESPONSE:

See my response to DMA/USPS-T9-36.

~

:

.

DMA/USPS-T9-38. Please provide total net income data (including all relevant reports or studies) for the Postal Service for fiscal year 1997.

٠

.

RESPONSE:

See my response to DMA/USPS-T9-36.

~

;

RESPONSE OF WITNESS TAYMAN TO PRESIDING OFFICER INFORMATION REQUEST NO. 5

15. Please provide all workpapers showing formulae and calculations for the cash flow forecasts for FY 1997, Test Year Before Rates, and the Test Year After Rates as shown in USPS Exhibit 9-F, revised 9/04/97. If the workpapers are on a spreadsheet or other computerized format, please provide the workpapers on a diskette or a CD-ROM.

RESPONSE:

The spreadsheets used to calculate the cash flows shown in USPS Exhibit 9-F,

revised 9/4/97, are provided as Library Reference H-310.

:

RESPONSE OF WITNESS TAYMAN TO PRESIDING OFFICER INFORMATION REQUEST NO. 5

16. Please provide all workpapers showing formulae and calculations for the estimates of investment income for FY 1997, Test Year Before Rates, and Test Year After Rates as shown in USPS Exhibit 9-G. The workpapers should show the derivation of the estimated average investment balance and how these estimates are tied to the estimates of the estimated cash flows. If the workpapers are on a spreadsheet or other computerized format, please provide the workpapers on a diskette or a CD-ROM.

RESPONSE:

.

The spreadsheets used to calculate the investment income shown in USPS Exhibit 9-G are provided as Library Reference H-310. Designated Interrogatory Responses of Carl G. Degen (T12)

•

.

:

.

.

Response of United States Postal Service Witness Degen to Interrogatories of Time Warner, Inc. (Redirected from the Postal Service)

TW/USPS-5. In his response to TW/USPS-12-28e, witness Degen filed data sets tw28emod, tw28ebmc, and tw28enmd, which show the volume variable costs allocated to subclasses and special services based on counted mixed mail items, by item type and cost pool. One of the item types sometimes counted by the IOCS clerks was international sacks. At the MODS cost pool called INTL, presumably dealing with international mail, 29.8% of the volume variable costs allocated based on counting international sacks was allocated to the Periodicals subclasses. 40.7% was allocated to Express Mail, 3.6% to Priority, 13.6% to Registry and 11.1% to First Class. None was allocated to international mail. A number of other item types were also counted at the INTL cost pool, and international sacks were also counted at other cost pools. However, only at BMC's did any of these counts show international mail. At the BMC's, it appears that all mail counted in international sacks was identified as international mail, versus none in MODS offices.

- Please confirm that periodicals sent abroad are classified as international mail and not as part of the Periodicals subclass. If not confirmed, please explain.
- b. Do the Periodicals volumes shown in the billing determinants and used for domestic rate design purposes include any periodicals mailed to other countries? If yes, please explain.
- c. Is it likely that mail found in international sacks at the INTL cost pool is in fact international mail? If no, please explain.
- d. Does the Postal Service have any explanation for why mail counted in international sacks at BMC's was always classified as international mail, but never classified as international mail when the count occurred in MODS offices?
- e. Has any adjustment been applied, either by Degen or others using his results, to correct the apparent misclassification described above? If yes, please describe those corrections and provide references to the part(s) of the Postal Service's filing where such adjustments were made.

TW/USPS-5 Response.

The data cited in the question reflect a misclassification that affects the

response to TW/USPS-T12-28 but not the Base Year 1996 inputs. The

misclassification is not of the contents of counted sacks sampled in IOCS,

Response of United States Postal Service Witness Degen to Interrogatories of Time Warner, Inc. (Redirected from the Postal Service)

but rather of IOCS tallies for "counted" items versus other IOCS item tallies with direct activity codes. Records for counted item tallies may be identified by the presence of an alphabetic code in variable F9253B, which corresponds to question 24 responses. Prior to July 1, 1996, the valid range of values for F9253B was 'A'-'X'; for the rest of FY 1996, the valid range was 'A'-'N' (see the LR-H-23 hardcopy documentation). The latter range reflects a reduction in the number of question 24 mail categories, which was intended to mitigate potential mail identification problems related to reclassification (see my response to OCA/USPS-T12-39). When the tw28emod, tw28enmd, and tw28ebmc data sets were produced, counted item tallies were identified as tallies with F9253B values between 'A'-'N.' Tallies with F9253B values between 'O'-'X' were considered to be other (non-counted) direct item tallies, and were not represented in the data sets. In particular, F9253B values 'S'-'X' corresponded to International Mail categories in question 24 prior to July 1, 1996. The data sets understate the counted item costs for several item types. However, the understatement is most severe for international sacks, which would, naturally, be expected to contain primarily international mail. Additionally, in the tw28emod data set, costs for activity code 5461 (mixed international Mail) are classified as mixed-mail costs. Corrected data sets tw28emdr, tw28bmr, and tw28nmr will be filed in LR-H-296. Again, since the cost

Response of United States Postal Service Witness Dagen to Interrogatories of Time Warner, Inc. (Redirected from the Postal Service)

distribution programs do not make use of F9253B data, the error is irrelevant to the mixed-mail distribution procedure.

- a. Confirmed.
- b. My understanding is that the specified volumes are for domestic Periodicals.
- c. Yes. Using data in tw28emdr, 85.6% of counted international sack costs are associated with IOCS records that have International Mail activity codes.
- d. In the BMC data set, counted item tallies with activity code 5461 were classified as counted item tallies (with an International Mail activity code) rather than as mixed-mail tallies. Also see the explanation above.
- Invariably, some sacks are used to transport mail other than the primary subclass(es) with which they are associated. Our finding that the international sacks in the MODS INTL cost pool are 85.6% International Mail does not indicate a mail identification problem. No adjustment has been made.

Response of United States Postal Service Witness Degen to Interrogatories of Time Warner, Inc.

TW/USPS-T12-41. Please refer to your answer to MPA/USPS-T12-8d. Your response included the filing of a spreadsheet, included in LR-H-277, which disaggregates, by activity code, the costs that were classified as Window Service and Administrative Support costs in FY1996, but were classified as Mail Processing costs in BY1996, using your new Segment 3 costing method.

- a. Please provide, in a format similar to that used in your response to MPA/USPS-T12-8d, by activity code, the costs (if any) that were classified as Mail Processing costs in costs if FY96, but were reclassified as (1) Window Service costs and (2) Administrative and Support costs in BY96. As in your response to MPA/USPS-T12-8d, please separate costs corresponding to direct, mixed item, mixed container and not handling costs.
- b. Please provide, in a format similar to that requested above, by activity code, the costs (if any) that were classified as Window Service costs for FY96, but were reclassified as Administrative and Support costs in BY96.
- c. Please provide, in a format similar to that requested above, by activity code, the costs (if any) that were classified as Administrative and Support costs in FY96, but were classified as Window Service costs in BY96.

TW/USPS-T12-41 Response.

a. The requested data will be filed in LR-H-296 as spreadsheet TW-41a.xls.

Please note that I have provided IOCS tally costs rather than volume

variable costs (in the sense of my response to TW/USPS-T12-24 part a).

b. The requested data will be filed in LR-H-296 as spreadsheet TW-41b.xls.

As in part (a), the spreadsheet presents IOCS tally costs.

c. The requested data will be filed in LR-H-296 as spreadsheet TW-41c.xls.

As in part (a), the spreadsheet presents IOCS tally costs.

20. Refer to LR H-146, pages IV-8 through IV-19. Please explain why IOCS tallies for operations unrelated to the MODS cost pool titles are included in the pools. For example, why are 44,877 in OCR costs found in the mods 11 bcs cost pool?

20. Response.

I believe that the question refers to pages VI-8 through VI-19 of LR-H-146, the crosswalk of CRA space categories to MODS-based cost pools.

The simple explanation is that the IOCS-based CRA space categories are based on the sampled employee's observed activity, while the MODS-based cost pool assignment is based on the employee's clocked-in MODS operation number. The data on pages VI-8 to VI-19 show that in cases where there are IOCS space categories that correspond to the cost pool title, the space category and MODS cost pool are consistent the vast majority of the time. However, the sampled employee's activity does not always correspond to the clocked-in MODS operation. Please see pages 6-7 of my direct testimony, USPS-T-12, and Tr. 12/6154 and Tr. 12/6273 for additional discussion. Apparent discrepancies between the space category and MODS cost pool titles can be the result of several phenomena:

 There is not a one-to-one correspondence between IOCS space categories and the MODS cost pools. In particular, the "distribution" space categories (OCR, sorting to letter case, etc.) are defined such that they encompass both distribution and allied labor. Employees assigned to allied and support operations will often be observed working in the vicinity of the direct operations that they support. For instance, if the data collector observes an employee performing an allied labor activity, the type of allied labor being performed is recorded in question 18d, part 2, and the type of distribution operation is recorded in question 19. The employee may be legitimately clocked into an allied labor (LDC 17) MODS operation, but the logic of program PIGGYF96 (LR-H-146) assigns the tallies to the space category using only the question 19 response, i.e., to the type of distribution operation being supported. This may create the erroneous impression that the employee working an allied labor MODS operation is performing distribution work.

2. The employee may be temporarily engaged in an activity that is different from the clocked-in operation. For such "incidental" activities, it may be inefficient for the employee to reclock. In this case, I might expect employees to be observed working operations which are physically adjacent to their assigned operation, or which are under the same supervisor. So, for instance, an employee assigned to a BCS operation might temporarily monitor an adjacent OCR as needed or directed. OCR and BCS are the only operations where this appears to be happening on a widespread basis; the effect on the cost distributions is mitigated by

the similarity of the operations-i.e., both are letter automation operations.

- The employee may have switched operations for a more extended period of time but not reclocked.
- 4. A few MODS operations simply do not have corresponding IOCS-based space categories. For instance, there is not an "accountables cage" space category to correspond to the Registry cost pool.
- 5. The clocked-in MODS operation number may be inaccurately recorded on the tally. Since entering the question 18 and 19 data involves hundreds of thousands of keystrokes, some errors are inevitable. Suppose that the data collector keys the MODS operation number into the CODES IOCS software incorrectly 0.1% of the time. One would then expect there to be about 167 errors in the MODS mail processing tallies (0.1% of 167,036). Note that there are only 1,287 cells in the MODS portion of the crosswalk matrix (39 MODS cost pools by 33 non-BMC space categories). Thus, the error rate would only have to be 0.77% (1,287/167,036) for there to be one tally with an erroneous MODS operation number for every cell in the matrix. Some errors in entering the MODS operation number will be innocuous. If the data collector mistakenly enters operation 211 instead of 210, the tally will still be assigned to the "1Platform" cost pool. However, transposing digits of

ļ

the MODS operation number is likely to result in the assignment of a valid MODS number in a different cost pool, since there are hundreds of valid three-digit codes. While attention has focused on the entry of the MODS operation number, it also may be the case that the employee's observed activity was recorded incorrectly in questions 18 and 19. I would expect the actual error rates to be small. The effect of these types of errors, combined with a low error rate, would be to assign small amounts of cost to many space category/cost pool combinations "at random."

 The RBCS keying operation is not sampled in IOCS. RBCS keying costs account for approximately 98% of LDC 15. Thus, the distribution of LDC 15 costs to IOCS space category should be disregarded.

Examining the data at pages VI-8 to VI-19 of LR-H-146, I conclude that the space categories and cost pool titles are generally consistent in the letter and flat distribution operations where the closest correspondences would be expected to be found. Excluding the overhead-related space categories (6521-6523, plus "00 Not Used" and "9999999"), I observe that the "worst case" MODS distribution operation, OCR, has 76.7% of its costs assigned to the OCR space category, and 95.5% of its costs are assigned to letter automation (OCR plus BCS) space categories. The other letter and flat

9658

eran r

Response of United States Postal Service Witness Degen to Presiding Officer's Information Request #5

distribution cost pools are significantly more homogeneous, with 87.4% (BCS) to 95.8% (LSM) of the costs assigned to the corresponding space category. For the purpose of cost distribution, where homogeneous cost pools are desirable, the MODS-based cost pools are greatly superior to previous cost pools based on the IOCS CAG stratum and basic function, used in the LIOCATT process. The MODS-based cost pools also avoid tally cost weighting problems that would arise with a purely IOCS-based approach to operational cost pools (please see my responses to DMA/USPS-T12-13 and DMA/USPS-T12-18 for further discussion).

Q. Suppose that this tally involves nonprofit Standard A mail. In this case it's a single piece of flat-shaped mail, and the piece is recorded as weighing six pounds and six ounces... Do you have any idea of how the F-45 handbook would call for the disposition of such a tally? (Tr. 12/6637 lines 14-17; 21-22.)

A. The F-45 handbook (LR-H-49) contains no specific instructions for the disposition of such a tally. Mail class is recorded in question 23b. The question 23b instructions indicate that the Third-Class/Standard Mail (A) categories apply to mailpieces weighing less than 16 ounces. Weight is recorded in question 23g. The instructions to question 23g (LR-H-49, p. 131) are simply to record the weight in pounds and ounces, rounded to the nearest ounce, for mailpieces weighing more than 4 ounces. It cannot be determined from the hypothetical whether the mail class was misidentified or the weight was incorrectly entered.

Q. Would you accept, subject to check, that the rate schedule for Standard A letters doesn't go beyond 3.3 ounces? (Tr. 12/6642 lines 4-6.)

A. Upon checking the Standard Mail (A) rate schedules, my understanding is that eligibility for Standard Mail (A) letter rates is limited to letter-size mailpieces weighing less than 3.3 ounces. Heavier Standard Mail (A) mailpieces could still be considered letters under DMM C050, and for the purposes of shape identification in IOCS, but would not be eligible for the letter-size rates.

Q. Now, when IOCS clerks distinguish between letters and non-letters, do they consider only the outside dimensions of the piece, or do they also consider the weight of the piece? (Tr. 12/6642 lines 8-11.)

A. Shape data are collected in IOCS question 22. The instructions to question 22 (please see LR-H-49, pages 92-93, and Appendix A) indicate that the data collector should consider the outside dimensions of the piece, but not the weight of the piece, in determining whether the piece is letter-sized. This approach is consistent with the definition of the letter-size mail

processing category in DMM C050.

Q. Suppose at the... moment of data collection the Postal Service employee is handling a bundle... of mail. Is the... tally supposed to reflect the weight of the entire bundle or the weight of a single piece in the bundle. (Tr. 12/6643, lines 21-25.)

A. The tally is supposed to reflect the weight of the mailpiece selected (per the Top Piece Rule) for the question 22 and 23 responses. More generally, weight will only be recorded for an item tally if the tally contains identical mail or is subject to the Top Piece rule, in which cases the employee again selects a single piece upon which the question 22 and 23 responses are based. No weight will be recorded in other cases, i.e., mixed-mail item tallies subject to counting in question 24 and "uncounted" item tallies.

Q. Suppose that... at the point of data collection the employee is working on a container that... contains a number of items... What would the tallytaker record, the weight of the container, the weight of an individual item, or the weight of a representative piece? (Tr. 12/6644 lines 4-6; 9-11.)

A. If the contents of the container are identical mail, then the weight of the

representative piece selected for the question 22 and 23 responses is

recorded. Otherwise, no weight is recorded for the container.

Written Response of United States Postal Service Witness Degen to Oral Question of Dow Jones & Company, Inc.

Q. Is it a fact that under the new methodology you assumed that loose letters and flats in containers have the same subclass composition as all individually-handled letters and flats at each MODS cost pool. (Tr. 12/6660, lines 2-5.)

A. No. Loose letters in containers and loose flats in containers are separate mixed-mail categories under the new methodology. Correct statements would be as follows. Loose letters in containers are assumed to have the same subclass composition as all individually handled letters in the same MODS cost pool. Loose flats in containers are assumed to have the same subclass composition as all individually handled flats in the same MODS cost pools. Please see Docket No. R97-1, Tr. 12/6173, for a general summary of mixed-mail distribution rules under the new methodology.

Q. Do you know how many times and at what times Headquarters may have approved changes in conversion factors, and what percentages of mail... may have been impacted by this establishment of... local conversion factors? (Tr. 18/8268 lines 4-8)

A. To the extent that the transcript (at Tr. 18/8267-8269) might have left the impression that there is some—although "very limited"—authorization of local conversion factors including those applied to Scale Weight System (SWS) transactions, my current understanding is somewhat different. I have been informed that Headquarters has not approved any changes in SWS conversion factors that convert <u>weight</u> to pieces. The use of national conversion factors for SWS has been the policy of the USPS over time. My understanding is that the SWS conversion factors are hard-coded into the system, so they cannot be overwritten by local units. Note that the section on MODS data in the Inspection Service workload audit makes no mention of sites using locally developed SWS conversion factors. Rather than my recollection of very limited local deviations from SWS conversion factors, there have actually been none.

With respect to conversion factors based on inputs other than weight, I am aware of one situation in which sites may be authorized to use locally developed conversion factors. Recall that parcel FHP volumes are determined by conversions from <u>containers</u> to pieces or by direct piece counts. Sites are allowed to develop local <u>container</u> to piece conversion

Written Response of United States Postal Service Witness Degen to Oral Questions of the Presiding Officer

factors for manually processed Priority mail, for which mixed shapes are commonly included in the same container. For example, a site processing mostly parcel-shaped Priority mail because of a local originator of parcel shipments such as a catalog retailer would have a different count of pieces per container than a site processing Priority mail for an area with many small non-manufacturing businesses, where there would be a higher concentration of flat-shaped Priority. In such cases, use of locally developed pieces per container conversion factors would improve the accuracy of Priority FHP volumes. If a site develops its own pieces per container factor for manually processed Priority FHP, it must have on hand documentation as to how that conversion factor was developed, in case of an audit. Machine counts are used at all sites processing Priority mail of mixed shapes on mechanized equipment (e.g., Small Parcel and Bundle Sorters). I am not aware of the extent to which this type of local conversion factor is used in the field; such information would have to be obtained from the field units themselves. I believe this is consistent with my earlier statement that the use of local conversion factors is very limited.

Q. Can you give me a sense of what the range is and the standard deviations are of the changes that result in these average percentage revisions [reported in response to DMA/USPS-T12-9, Tr. 12/6160-6161]? (Tr. 18/8337 lines 14-16)

A. The requested statistics are reported in the table below. Please note that

the maximum and minimum percentage changes appear to be outliers, as

they are 8.9 and 10 standard deviations away from the mean.

Statistic	Value	
Mean	-0.09%	
Median	0%	
Standard Deviation	1.30%	
Maximum	11.48%	
Minimum	-13.11%	
N	335	

Summary statistics related to response to DMA/USPS-T12-9.

Q. Could you please provide some specific examples of the activities that compose these \$17 million in IOCS administrative costs that are performed while clocked into BCS operations [and migrated costs for other operations]? (Tr. 18/8354 lines 13-16)

A. I provided a breakdown by cost pool and IOCS activity code of the migrated costs in spreadsheet DMA-12.xls, USPS-LR-H-296. This spreadsheet indicates the IOCS activities actually observed of employees who were recorded as clocked into MODS mail processing operations. Four activity codes account for the vast majority of costs migrating from the administrative component to mail processing. These are 6521 (breaks/personal needs), 6522 (clocking in/out), 6523 (empty equipment), and 6630 (general administrative). In the old methodology, the 6522 costs were redistributed among components in the worksheets, and 6523 costs were reassigned to mail processing. Most of the activity code 6630 costs are in catch-all categories: "General Administrative Activities" in IOCS question 18G, and "None of the above" in the selections for question 18G "Other." See USPS-LR-H-49, pages 76-77 and 80. The next largest categories for activity code 6630 are the "union business" and "talking to supervisor" categories in guestion 18G. The 6521 tallies have MODS mail processing operation numbers, but the data collector did not indicate in question 18G that the employee was on break from mail processing.

Designated Interrogatory Responses of Michael D. Bradley (T14) •
1. In his oral testimony, in response to questions from the bench, witness Bradley stated that he would like to examine "each of the individual mail processing sites to see how volume and hours are related, once other factors are controlled for." Tr. 11/5582. Witness Bradley indicated that he had not done so. Tr. 11/5584.

- a. For the cost pools listed in Table 7 of USPS-T-14, please provide the facility-level variabilities that would be obtained with the model given on page 36 of USPS-T-14. Specifically, estimate this model, including the serial correlation correction, for each facility separately, using only the time series data on that facility. This will yield a unique variability estimate for each facility from the time series variation of the dependent variables and regressors. Please report these results in a table containing the facility specific variability, its standard deviation, and the sample average over time of In(TPH_#) for that facility.
- b. Please note the range of facility specific variabilities obtained in "a." for each cost pool and discuss whether it supports the assumption that a single cost pool variability can be validly estimated for the MODS facilities as a whole.
- c. Please test the hypothesis that, for each cost pool, all of the facility-level variabilities obtained in "a." are equal versus the unrestricted alternative that the true facility-level variabilities "are statistically significantly different from one another." Tr. 11/5586 at lines 11-12.
- d. Please discuss whether the results obtained from "c" support the assumption that a single cost pool variability can be validly estimated for the MODS facilities as a whole.
- 1. Response:
- a. This question requests site-specific variabilities and describes one procedure for generating them, a procedure which implies a daunting task. Specifically, the suggested procedure requires the estimation and interpretation of 2,369 regressions, each corrected for serial correlation. While the estimation of the regressions can be done by a computer, the review and interpretation of them

cannot. The proposed procedure envisions reviewing each estimated equation for statistical reliability, obtaining the estimated variability from each equation, calculating its standard deviation, collecting all such variabilities in a table, and combining this information with the mean In(TPH) for the relevant site. If this procedure takes only 5 minutes per regression, it would require no less than 11,845 minutes, which is approximately 197 hours or 24.67 workdays. If this procedure taking 10 minutes per regression, the time requirement would double to nearly 50 workdays.¹

Despite the magnitude of the task involved, I began the procedure with the Bar Code Sorting (BCS) cost pool. Recall that the estimated variability for this activity from Table 7 of my testimony is 94.5%, and that the TPH for this activity are generated by machine counts. I then began the procedure of estimating the 287 individual regressions as specified in the question. Attachment 1 to this response shows the econometric output for the first 8 of the regressions, which I reviewed. Examination of that attachment shows immediately that the proposed procedure for estimating site-specific variabilities will not work, because of multicollinearity in the

¹ A review of ten minutes per regression equation seems quite brief. Econometric equations that are presented before the Commission are typically reviewed for hours, not minutes.

data at the site level. In the case of the first site, IDNUM 9810, there is not a single statistically significant estimated coefficient, despite the fact that the R² is over 94%. In addition, the estimated coefficient on TPH has an implausible negative coefficient. As described by Greene, these are the classic symptoms of multicollinearity:

9.2.3. The Symptoms of Multicollinearity When the regressors are highly correlated, we often observe the following problems:

- 1. Small changes in the data can produce wide swings in the parameter estimates.
- 2. Coefficients may have very high standard errors and low significance levels in spite of the fact that they are jointly highly significant and the R² in the regression is guite high.
- 3. Coefficients will have the wrong sign or implausible magnitude.²

This last characteristic of multicollinearity is particularly noteworthy because it means that use of site-specific data to generate site-specific variabilities will lead to variabilities of the wrong sign or implausible magnitude. For example,

² <u>See William H. Greene, Econometric Analysis, Macmillan, New York, 1993</u> at 267.

multicollinearity would explain the site-specific variabilities for the manual letter and flat activities with the wrong signs and implausible magnitudes cited by the Presiding Officer in his questioning of me. Tr. 11/5584.³ Finally, the procedure proposed in this question for calculating site-specific variabilities does not work, even if mechanically applied, because the estimated coefficients for TPH are unreliable.⁴

Remember that multicollinearity is a <u>data</u> problem, not a specification problem. It is not caused by any infirmities in the model or the panel data, *per se*, but rather by the severe reduction in data set size when one goes from the large panel data set to the quite small site-specific data sets. In particular, it has been noted in the econometrics literature that a single time series of data may not have sufficient variation to estimate flexible functional forms like the translog. The prescribed remedy for this problem — indeed, the remedy I employ in USPS-T-14 — is to employ panel data. A panel data set:

³ The sources or methods of calculation of the variability numbers used by the Presiding Officer were not discussed.

⁴ Please note that the sum of the TPH and lagged TPH coefficients from these equations is not the estimated variability. Because these are site-specific equations, they are not globally mean centered and the variability would have to be calculated by inserting the site-specific means for hours and TPH.

[G]ives the researcher a large number of data points, increasing the degrees of freedom and reducing the collinearity among explanatory variables — hence improving the efficiency of econometric estimates. (Emphasis added)⁵

Fortunately, despite the intractability of the proposed approach, there is a method available for calculating the site-specific variabilities requested by the Presiding Officer. A feature of my analysis in USPS-T-14 is that the variabilities are not constrained to be equal for all sites. The translog function form cannot provide a second order approximation to a general cost function while restricting, *a priori*, the site-specific variabilities to be equal.

Moreover, one should understand that in estimating the cost equations with meancentered data and presenting a single variability estimate for each cost pool, one does not impose any such constraint. Mean-centering the data simply implements the widely adopted procedure for calculating the system variability, which is equivalent to the variability formula being evaluated at the sample means of the right-hand-side variables. However, the model given on page 36 of USPS-T-14 can be used to estimate site-specific variabilities as follows: A non-mean centered version of the equation is used to evaluate the elasticity formula given by::

⁵ <u>See</u>, Cheng Hsiao, <u>Analysis of Panel Data</u>, Cambridge University Press, Cambridge, 1986, at 1-2.

 $\partial \ln(HRS) I \partial \ln(TPH)$. In the case of the model given on page 36, the explicit form of this formula is:

$$\hat{\epsilon}_{i} = (\delta_{1} + \delta_{2}) + (\delta_{3} + \delta_{4}) In \overline{TPH}_{i}$$

$$+ \delta_{11} In M \overline{ANR}_{i} + \delta_{12} T I \overline{ME1}_{i} + \delta_{13} T I \overline{ME2}_{i}$$

The 2,369 site-specific variabilities, along with their standard errors and associated mean In(TPH) are presented in Attachment 2. Please keep in mind that the fact that one can produce them does imply that these site-specific variabilities are important or even meaningful, because the variability analysis applies to the aggregate cost pool. One can, of course, find the average of the site-specific variabilities and the averages are presented in Attachment 3. Even though this averaging of the site-specific variabilities produces results quite close to those presented in USPS-T-14, and thus serves as a verification of those results, I do not recommend it. In fact, I agree with the Commission that such a disaggregated approach is fraught with difficulty and should not be used:

When an econometric analyst estimates functional forms which provide variabilities as functions of output, like the quadratic, Higinbotham, and translog models, he is faced with the decision of selecting a level of output at which the variability will be evaluated. For his model, witness Higinbotham computed the "overall variability" as a cost-weighted average

of the variabilities estimated at all sample values of output. Witness Lion, on the other hand, computed the variabilities for the five models at the sample mean value of output. We accept Witness Lion's method for several reasons. In the first place, the sample mean is an estimate of the population mean and reflects the central tendency of data. Its significance can be measured statistically. Additionally, under normal conditions, cost functions behave better around the mean values.

Moreover, it is standard practice in econometric cost studies of transportation industries to report elasticities at the sample mean, particularly when the translog cost function is used.

However, witness Higinbotham's weighted average variability has no such antecedent in the econometric literature. Finally, deviating from the standard practice by moving to a weighting scheme introduces ambiguity as to the final result. For example, witness Higinbotham has weighted variabilities by the cost of each contract, although other reasonable weighting schemes could also be chosen which would yield a different result. Thus, choosing a weighted variability in lieu of the standard sample mean introduces an arbitrary element, which one could manipulate according to the desired result.⁶

b. The ranges of the site-specific variabilities are provided in Attachment 3. It is obvious that the calculated site-specific variabilities are not identical, but to interpret this finding, one must keep in mind that the fact that site-specific variabilities are not identical does not bear on the appropriateness of specifying a single variability for each MODS cost pool. Recall that the aim of the analysis is to estimate the <u>system</u>

6

See, PRC Op., R87-1, App. J, CS XIV, at 26-27

response to small sustained changes in the volume of mail. Thus, a single variability is ultimately required. Nevertheless, a review of the site-specific variabilities validates the estimated equations presented in USPS-T-14, in that the range of site-specific variabilities is quite small relative to the variation in the sizes of activities. For example, there is tremendous variation in the sizes (as measured by TPH) of the manual letter activities. The smallest averages 652 thousand TPH per accounting period and the largest averages 52.633 million TPH per accounting period. This means that the largest site is 8,000 percent larger than the smallest site. Nevertheless, the range in the site-specific variabilities is a few percentage points. Attachment 4 presents the frequency distribution for the site-specific variabilities for the manual letter activity. This shows that the site-specific variabilities are closely clustered around 80%.

If the econometric results were fragile, one would expect to find many sites with economically meaningless variabilities, such as negative variabilities or variabilities greatly in excess of 100 percent. Of the 2,369 site-specific variabilities, only one is negative and none exceed 116 percent. This indicates that the econometric equations are very robust. In addition, the site-specific variabilities strongly reject the old assumption that the volume variability of mail processing labor is 100 percent. Of the 2,369 site-specific variabilities are 100 percent or

greater. Moreover, the variabilities of 100 percent or more are in only two activities and there are <u>no</u> variabilities of 100 percent or more for the manual letter, manual flat, OCR, LSM, BCS, FSM or SPBS activities.

Finally it is important to recognize that the use of single variability for a cost pool does not require the assumption that the evaluated variability at each site is the same. One does not have to assume that the variabilities are identical across sites as the old 100 percent methodology implicitly did. Rather, one can directly estimate the system response to a small sustained increase or decrease in volume. For the four important reasons given at Tr. 11/5494-5496, the best way to calculate the system response is with a single fixed effects equation.

c. The transcript cite does not relate to assumptions about equality of variabilities.
 Rather, it relates to hypothesis tests on specific estimated coefficients.:

One could use the Chow test to estimate whether or not individual betas estimated for facilities are significantly different from one another. Tr. 11/5586.

The "betas" referred to in the quotation are estimated parameters, not variabilities. As shown in my answer to part a, the individual site-specific betas cannot be reliably estimated, so that in this particular case, the Chow-type test is not relevant.

Nevertheless, the results provided in parts a. and b. above indicate that the calculated site-specific variabilities are not identical.

d. The results support two things. First, they show that the single, system-wide variabilities presented in USPS-T-14 are accurate and appropriate for calculating volume variable costs for each of the MODS cost pools. It is thus appropriate to have a single system variability for each MODS cost pool. Second, the results show that at both the system level and the site level, variabilities are less than 100 percent and are different across MODS cost pools. The results thus show that it is not appropriate to assume a single facility-wide variability of 100 percent across MODS cost pools.

Machmentite ' xonse to POIR # 7-1 page 10917

٠

HINCLUDING ONERATIONS/ HOURS ON TPH USES 12 AP DUMNIES TO CAPTURE SEASONAL EFFECTS USES 12 AP DUMNIES TO CAPTURE SEASONAL EFFECTS USES 12 AP DUMNIES TO CAPTURE SEASONAL EFFECTS

Autorog Procedure

0186=MUNGI

Dependent Variable = KRS

Ordinary Least Squares Estimates

		2696° L	noste¥-nidnu(1
££76°0	Total Req	2276 0	yeg ksq	1
27 821-	51¥	2651-29-	085	ì
S67060°0	Root MSE	981800.0	3SH	ł
87	310 ·	980262*0	3SE	ŝ

			χ.		
ረዓ ጀፅ ነ ዐ	080.0	221.0	1271710.0	L.	12H91
252610	280.0-	3.291	-0.2684220	۱,	r Hat
8128.0	881.0	7 90°0	6756110*0	L	2F9A
1212.0	£59°0-	190.0	8026620-0-	L	SIGA
<u> </u>	96L°0-	£90°0	7222210.0-	L.	trgA
1219.0	011.0	590°0	0.0071099329	F.	OLAA
7297.0	-0-593	£90°0	8577910*0+	L	4604
6995"0	22S.O-	290.0	72825E0°0-	L I	809A
9162.0	798 -0-	650°0	0629050-0-	L.	204A
6626-0	920.0-	990*0	22086700-0-	L I	90dV
0-2282	889.0-	ZS0.0	£727820.0+	E -	2098
7881.0	722°i	290°0	£198880.0	L	70d¥
6062*0	762.0	Z90°0	0\$\$9910*0	ŀ	£09A
5196"0	670°0	7 90°0	01003102524	L.	AP02
1962-0	950°L	851000.0	1780731000.0	L.	TIME22
0*8336	112.0	821.0	0.0291528	L.	TIMES
2121.0	257-1	27200.0	9719010.0	1	ANAMSMIT
0*6338	780 -0-	810.0	212102100.0-	1	HAISMIT
7289.0	810-0-	0*000154	-2°231733E-6	L	SLAMIT
2997"0	<u> ት</u> ደረ • 0 -	280.0	5762020-0-	6	tamit
9205°0	929*0	619200.0	2620271500.0	L.	SNAMLMIT
2972"0	056*0	756200°0	7217855200°0	1	Hatimit
8752-0	ን ጀ6°0-	0*389	-0*292222	L.	НЧТЯИАМ
1725.0	1.224	87210	9696202-0	L	SANAM
852210	1.227	288.5	2212615"7	4	SNAM
0*2656	2 28.0	20710	5151272.0	L	SH9T
2922.0	268.0-	852.7	9517225 9-	L	HqT
7885.0	£70.1	172.75	9226067*07	۱,	Intercept
dora kordo	A olfas f	Std Error	eulev 8	30	Variable
	•				

enoitaletrocorua to setemite3

Leg Covariance Correlation -1987891 - noitalance Sonaitavol 2891

	0.000523	203E-6	,
****	00000016	221500°u	0

ill to a good 1-1# Sloy of sendary throm hout

.

.

UNDER STICK CONTINUOUS ON TPH UDD UDD UDD DATA FROM 6801-9613 INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS

Autoreg Procedure

0189=MUNOI

Preliminary MSE = 0.005172

Estimates of the Autoregressive Parameters

-0°003283	26798571"0	-0*00025562	Ļ
oiteA t	Std Error	J na loilleol	687

,

Yule-Walker Estimates

		6696*1	nostew-nidhua
554610	Totel Rsq	2276-0	ked kad
27.921-	UV	628.82-	385
257160*0	BOOT WEE	79£800°	WZE (
27	DEE	990262) 3SS

2720.0	620'0	621.0	5221710.0	L	12H91
6526.0	180.0-	3.326	1576892.0.	1	rhgt
5258.0	981 0	790°0	2076110'0	L.	2F9A
0"2512	979 0-	290.0	007662010-	L	SIGA
5278.0	761°0-	£90°û	-0.0122385	۱,	↓↓ d∀
1716.0	801.0	\$90'0	0,0071032388	L.	0LdV
9562.0	-01260	£90°0	2297910-0-	Ļ	609A
2025*0	125 0-	£90°0	6218520.0-	۶.	809A
5962-0	95810-	650"0	1207020.0-	L.	709A
2076*0	520.0-	990*0	SS7600S00*0-	L	AP06
7555*0	226.0-	850"0	££12950-0-	L I	AP05
7261 0	1-320	290°0	2998880.0	L.	70d∀
2262.0	0°5 97	£90°0	8559910.0	L	AP03
2296.0	870 0	\$90"0	565692020010	L.	209A
6002.0	970 1	91000.0	1852731000.0	1	TIME22
5528-0	0 503	071 0	1721620-0	L	LIWES
6551 0	277 1	5200°0	2218010.0	1	SNAMSM1T
£7£6°0	£80°0-	910.0	-0.001304223	1	HATSMIT
0586.0	610-0-	S21000.0	-2,368027E-6	ţ.	STBMIT
1274.0	522.0-	280.0	9521090.0-	ı	13011
1205.0	899.0	2200-0	1591271500.0	1	ANAMEMIT
92324	626-0	820800.0	925675200*0	L	Hatimit
6652'0	52610-	292.0	287226.0+	L	HQTANAM
0*5321	11211	122.0	7888202-0	ı	SANAM
2022.0	1214	527.2	5210012.2	ŀ	ЯААЯ
586210	228-0	20 7° 0	6299972*0	t	2Hq1
0"2816	288-0-	527"2	2550295"9-	4	НЧТ
£762°0	190"1	071 82	221074.04	L	Intercept
dorq xorqqA	olian i	Std Error	eulev 8	βĘ	ајда}твV

229

.

.

.

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (0) USING ONLY CONTINUOUS DATA FROM 8601-9613 INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL OT USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (1) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (1) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (1) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (1) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (1) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 10 CAPTURE SEASONAL EFFECTS (2) USES 12 AP DUMMIES 12 AP DUMMI

Autoreg Procedure

2986=MUNQ1

Dependent Variable = HRS

Ordinary Least Squares Estimates

67/8°0	Total Rsq	7978.0 nost	Durbin-We
££00 °09-	31V	5,257245	285
76L7L 0	Root MSE	71020.0	BSM
87	DFE	22029610	3SS

۰.

btop	Approx	ofjag j	Std Error	euleV 8	ÐĿ	ajdaineV
S181.	0	725.1	221.26	182177.751	ŀ	1qeonetn1
8860.	0	289.1-	119-92	511561 77-	i.	મવા
2280°	0	857.I	779°I	2°890522	ŀ	SHQT
<u>≤</u> 960*	0	569"1-	100-21	782721°22-	Ļ	ЯИАМ
£120.	0	2°216	044.0	1,709291	4	SANAM
2650	0	1*626	878.I	7.622167	1	НЧТЯИАМ
2822*	0	06510	210-0	9207990010.0	F	HATTMIT
9252*	0	971"1-	110-0	18172210.0-	Ł	ANAMPMIT
9825*	0	619"0-	271°0	-0.087820903	ŀ	LIMET
7709	0	-0"251	25900010	172072000-0-	l	STEMETZ
7081	0	-1*326	870.0	925726790*0-	L.	HATSMIT
9880*	0	827.1.	0.023	827055620 0-	L	ANAMSM11
0672	ο.	291-1	LL7°0	919627"0	£.	TIMES
1100-	0	127'2	0.000262	921960600010	1 · ·	TIMESS
9671	0	797°I	260°0	7L7Z7L*O	L	SO9A
9752	0	\$£0°0	201.0	7628276760°0	L	803 V
6482"	0	128.0	£71°0	092721 0	L	70d¥
0556*	0.	720.0	201.0	9127018200.0	L	AP05
2\$72	0	281.1	221.0	555771.0	L	90dA
rorr.	0	1 '958	860.0	501091.0	Ļ	709A
8675	0	Z09'0	≤60°0	8756526950.0	L	809A
1272	Ō	781°I	S01*0	892721-0	L	AP09
9625*	Ô I	819.0	201.0	297579265260.0	-L	OfqA
Z882.	0	575"0	0"103	21021920.0	Ł	f f g A
8505*	0	029.0	760°0	7022222290°0	L	SrqA
7217	Ö .	728.0	LOL O	2718171280.0	L	2r9A
2Z70'	0	280.S	528.2	87821.SI	ł	1H9T
- 5870°	u ·	960 6-	772 U	720707 U*	- b	FCU07

Estimates of Autocorrelations

Leg Covariance Correlation -19878918 6 5 4 5 2 1 0 1 5 5 4 5 8 9 1

****	601602.0	006053	
*****	000000.1	727210.0	0

Flachment 1 to Response to POIR # 7-1 page 1 +nombott

.

THINCLUDING OFFICES & LEAST 39 OBS/LAG MODEL O USING ONLY CONTINUOUS DATA FROM 8801-9613 O USING ONLY CONTINUOUS DATA FROM 8801-9613 44 44

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS

Autoreg Procedure

5986=WNN01

Preliminary MSE = 0.006326

are an externation of the Autoregressive Parameters

179768*9-	10584652	18801602.0-	ŀ
citeA t	std Error	Jnsi JittsoJ	6e j

Yule-Walker Estimates

		CITS.I noat	eW-nidhuq
SZS6*0	Total Rsq	7208.0	Keg Rad
-130.879		-63,2881	285
107890-0	ROOT MSE	S18200*0	BSM
27	DFE	76219E.0	3SE

06/0*0	96/11-	122.0	1795192.0-	ι	LZHAL
1590.0	688.I	851.2	9796090 2	ĩ.	LH41
5967.0	589.0	250.0	8916550-0	i	AP13
2065-0	275.0	650.0	6501250.0	ī	SLAA
6857.0	171.0	120.0	\$9\$9750.0	i.	L L d V
9058.0	SLZ'O	170.0	6292510.0	i.	AP10
8877 0	792.0	\$20.0	S195720.0	i.	60dA
Z089*0	517.0	220°0	0*0200756	l.	809A
2501 0	1.652	720°0	8705LZ1 0	L.	AP07
1212.0	1*055	880.0	2875680"0	L	A09A
6219"0	202°0	\$20"0	1728220.0	L	209A
1201.0	1.323	560°0	6860921 *0	1	¥0d¥
6902*0	1.280	590.0	9827280_0	L.	E 09A
0*0366	511.5	670-0	0,1034162	1	SOAA
602010	5'200	0.000251	rrz89982000.0	1	LIMESS
2804.0	945.0	002.0	1270211 0	i.	TIMES
8989*0	907*0-	710.0	875852900-0-	F	TIMZMANR
.5809*0	912.0-	SE0.0	6101810.0-	L	HUTSMIT
2277.0	162-0-	0*00036	125211000.0-	1	ZIBMII
1112-0	168.0-	060*0	1222080-0-	ŀ	LIMIT
0*5667	670"1-	559600 0	-0.0101270	F.	SNAMPHIT
0*7358	162.0	010.0	0.0082523136	L I	Hattmit
0"2150	199"0	861-1	8889162.0	1.	НЧТЯИАМ
9£77°0	ETT.0	225.0	5688277 0	L	SANAM
7185"0	555*0-	99Z*01	2801669*5-	1	SNAM
1782.0	£78.0	120.1	5270168.0	L.	TPH2
9607"0	-0°832	227°9L	2985229*21-	L I	Нат
£079°0	027'0	026.82	8600752-75	ŀ	1qeone3nI
dorq xorqqA	oltex t	Std Error	eulev 8	ÐF	ajdatraV

.

.

.

4

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS . INCENDING OFFICES & LEAST 39 OBS/LAG MODEL USING ONLY CONTINUOUS DATA FROM 6801-9613 ំលំ OPERATIONS HOURS ON TPH BC2

Autoreg Procedure

S286=WANQ1

96

29H = 9JdsingV trabnaged

Ordinary Least Squares Estimates

2896.0	Total Rsq	2896"0	Parbin-Wets Durbin-Wets
225-511-	DIV	-26.9352	285
90262010	Root MSE	0*00589	BSW
32	DFE	292102.0	∃SS

5575-0 14641	SIL"I 172"0	871°0 158°7	7802082,8 72802082,8	1 1	TPH TPH
0.2270	-1-222	700.01	-12.3265551	L.	ЯИАМ
6220.0	2°202	925.0	1,327756.1	ι	SANAM
1611-0	109"1	1.381	2.2113789	L	НЧТЯИАМ
2579.0	797 0	010.0	875928400.0	L	HATTMIT
8959 0	877 0	£10.0	220169250010	i.	ANAM!MIT
0"3523	666 0-	280'0	-0.0818331	L.	TIMIT
BZSL 0	597-1	Z95000*0	0.000822623	L	SIJHEIS
7880 0	252 1	910.0	-0.0288005	ι	HATSMIT
6600 0	572 2-	£20°0	6772290*0-	L	ANAMSMIT
9185'0	255.0	771.0	882L080.0	1	TIMES
2080.0	908-1	91200010	0.0005712038	i.	LIHESS
98/2.0	268.0	Z90*0	6701550"0	i	SOAA
2%8Z.0	880.1	590.0	5219020*0	ī	AP03
89/7 0	071-0-	790.0	2890970-0-	i	70d∀
0775-0	20010	L90.0	867709010	ī.	VPOS
##CC*0	096.0	190.0	155959010	i	90d¥
101-0	100.0	*c0*0	8957770*0	í	109A
1020 C	4CC.0	190.0	2999120*0	ī.	804A
1400.0	572 0 502 0	AC0.0	8910710*0	i	AP09
5269 0 161710	007 0	990 0 000*0	CK91920 0	ĩ	ULAA
6222 0	404 . 4	+90°0	9577160*0	i	rr4A Crea
0572 0	202 0	£70 0 +00"0	AC/2010*0	1	2144
877 <u>2</u> U ACH/*0	17510	C07 1	0718286 1-	÷	CL da
0035 0	CI610-	705"	4010C07"1-	. •	I HAI

anoiseler of Autocorreletions

÷

Lag Coverience Correlation -198765432101554567891

*****	281035.0	902100'.	.#
*****	000000"	752200.0	0

:

0**Σ**9 Attachment to Response to POIR # 7-1 par - 6041

USES 12 PP DUMMES TO CAPTURE SEASONAL EFFECTS USING ONLY CONTINUOUS DATA FROM 8801-9613 INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL ON USING ONLY CONTINUOUS DATA FROM 8801-9613 USES 12 AP DUMMES TO CAPTURE SEASONAL EFFECTS

Autoreg Procedure

2789±MUNQ1

Preliminary MSE = 0.002919

Estimates of the Autoregressive Parameters

-5°1¢6966	67055291*0	90281092.0-	l
C Retio	std Error	tnsicitteo0	5 øγ

restanites realise-siur

		0297.1 nos:	tell-nidnud
7726°0	Total Reg	2296*0	pas bas
£5£*9ZL-	DIA	9919.59-	380
752220-0	Root MSE	0.005235	3SM
12	0LE _	0*162286	SSE

5182.0	082.0	920-0	92171150,0	ł	12H91
5892 0	-0°567	1, 235	£687999£°0-	ι	TPH1
2509*0	225.0	0.052	16768920.0	L.	Er qA
0689.0	707°0	090.0	5707272010	Ļ	2r9A
8527.0	708.0	190.0	61025670.0	L	119A
8686.0	ΣΓΟ. Ο	290°0	0.0007978221	l	OľqA
1225-0	125.0	950*0	12720220.0	ŀ	609A
2267°0	989.0	850.0	66295620*0	l.	809A
9087 0	712°0	250*0	82127070*0	r	709A
0 1568	955"1	£90°0	62595790.0	L.	AP06
9722.0	Srr.r	820.0	£7778460.0	L	AP05
8002.0	-0-388	£90°0	71572720-0-	ŀ	AP04
0"1573	295-1	850*0	29600160*0	L.	809A
9766 0	1*326	670 0	62215790.0	1	AP02
7570 0	2.085	182000.0	9182985000.0	L	11WESS
5727 0	608.0	121.0	78292860*0	1	TIMES
2550'0	886.1-	0.021	67102270-0-	٤	ANAMSMIT
£6/0°0	718.1-	710°O	72817220.0-	ŀ	HATSMIT
9280 0	762°L	805000.0	2217116000.0	L	TIME12
1927 0	682.0-	120.0	06072950-0-	L.	LIMET
5902 0	0.380	210.0	20287700-0	L	ANAMIMIT
0*6555	860*0	L>6800*0	0*000880393	L	HQTEMIT
7202 0	670"1	012.1	1*S68884	ſ	HQTANAM
0270 0	121.5	667 0	1.05836823	L.	SANAM
6925 0	-0.624	£82 *8	20118787.2-	1	ЯИАН
2071 0	512.1	611-0	77287971.0	L	SH9T
£522°0	89Z 0	£10°7	S1889551°1	L.	HQT
0762 0	-0-563	58.956	27970256.7.	Ļ	Intercept
Aprox Prob	t Retfo	Std Error	eulev 8	DF	ajdaînaV

	Attachment
	- =
	って
-	esponse
	ਰ
631	401R#7-1
	pag,
	7 of 17

9687 1 BCS OPERATIONS/ HOURS ON TPH USING ONLY CONTINUOUS DATA FROM 8801-9613 INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS

Autoreg Procedure

10num=9879

Dependent Variable = HRS

Ordinary Least Squares Estimates

SSE MSE SBC Reg Rsq Durbin-Wat:
2.24527 0.025514 4.701612 0.9733 son 1.1453
DFE Root MSE AIC Total Rsq
88 0.159732 -72.3989 0.9733

TPH21	TPH1	AP13	AP12	AP11	AP10	AP09	AP08	AP07	AP06	AP05	AP04	AP03	AP02	TIME22	TIME2	T IM2MANR	ТІМ2ТРН	TIME12	TIME1	T IM1MANR	TIM1TPH	MANRTPH	MANR2	MANR	TPH2	TPH	Intercept		Variable
	-	م يد ا	 -				. a			~		هن													_ <u>_</u>			۔	DF
-0.227185	4.060690	0.0347530069	0.0844164052	0.0314090159	0.0866393309	0.071652584	0.0808675683	0.0584898145	0.117729	-0.009018275	0.0407878456	-0.012719361	0.0447607022	-0.001502186	-1.190242	0.128315	0.144061	0.0010534124	-0.160106	0.040786848	0.0176342797	-2.423689	-0.612407	20.036241	-1.614626	CRL082.12		-134 AR4404	ß Value
0.102	1.921	0.083	0.08/	0.087	C80.0	0,000	0.085	0.081	0.095	0.085	0.097	0.087	0.083	0.000676	0.435	0.054	0.052	0.000308	0.121	0.017	0.014	2.030	1.146	16.143	8C6-D	10.040	42 7/9	62.318	Std Error
- 2- 130		0.41X	0.970	0.302	575 C	4 000	0.971	0.720	1.236	-0.106	0.423	-0.140	0.558	c		2.391	2./34	3,416	-1.328	2.440	1.210	-1.194	-U-014	1.241			1	-2.036	t Ratio App
0.000				0.7.221	0.1000	0.7200		7722.0	0.2177	+CIA*0	0.0/00	0.6040	014610	0.0200		0,0100	0.0072		0,1070			0.021					0 0200	0.0447	orox Prob

Estimates of Autocorrelations Lag Covariance Correlation -198765432101234567891

•,0

0.019356 1.000000 0 008241 . 0.425752

229 (1+08 along 1-C # 2100 of asnograve + 1 tramporth

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL USING ONLY CONTINUOUS DATA FROM 6801-9613 8896 u NOT NO SAUDH ANDITARE ON TPH SOB

Autoreg Procedure

6286=WANDI

TABZF0.0 = 32M Yisnimilan9

areter of the Autoregressive Parameters.

762882 . 2-	00600260°0	<u> </u>	l
t Ratio	Std Error	Jnaisittaol	687

Yule-Walker Estimates

		8626"L uos:	purbin-Met
2086.0	דסנאו Rsq	£776°0	Reg Rad
-104 485	21 ¥	5229 72-	285
625851.0	ROOT MSE	702610-0	ASE
28	DFE	122029"1	BSS

Prop	xonqqA	e Ratio	51d Error	eulev 8	10	9)detteV
0281.	0	922"1-	829.72	1122592.77-	Ļ	jqəənəjri I
0281.	0	272.1	SIL'71	68852340.81	L	ТРН
7591.	0	212.1-	088.0	2122751-1-	L	SH9T
0881.	0	1.327	799°7L	1965857"61	t	ANAM
δr8 ξ.	0	618.0-	21011	1976268"0-	L.	SSNAM
7961	0	-1-302	1.830	0787282*2-	L.	НАТЯИАМ
6227.	0	157.0	10.014	7555010.0	L	HATTMIT
7295.	0	1.125	810.0	78766L0°0	L.	SNAMEMIT
£177	0	722°0-	811.0	1255160-0-	1	13MIT
1257.	0	975 1	792000.0	1280657000.0	L.	SLEMIT
2721"	0	022"1	Z20.0	0.0708286	L	HATSMIT
5220"	0	982.1	250'0	0*0625482	1	ANAMSMIT
· 5500	0	-1-536	027'0	5992125-0-	۱.	TIMES
8965*	0	122.0-	0.000692	519292000*0-	L.	TIMEZS
£962"	0	0"526	290"0	2160910°0	L	AP02
666L*	0	-0-254	920*0	-0-0163328	۱.	AP03
6582.	0	£75.0	580*0	1761220.0	L	AP04
29591	0	977.0	870.0	0"0248563	L	AP05
1752.	0	862.0	S80°0	0927290-0	L I	AP06
9752,	0	862.0	<u>770.0</u>	2527190*0	L I	AP07
SSL7	0	818.0	620°0	0292790*0	L	809A
9252.	0	165"0	r80.0	7728757	1,	AP09
10521	0	076*0	870.0	2271220-0	1	019A
2262.	0	0.255	870,0	0.0200814	۱,	L L d V
8002.	0	1,40,1	S20°0	521922010	1	SrqA
9269"	0	202.05	290.0	221972010	1	219A
1882°	0	898.0	095"	1*3256256	1.0	1Hd1
	•	7 JU V	300 0	2003020 0-		PCIIU.

r1+0 P georg 1-r # SIOA at seriodsan -+ 1 tramhauth

O USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS UD USING ONLY CONTINUOUS DATA FROM 6801-9613 INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS

Autoreg Procedure

1DN/W=9882

Dependent Variable = HRS

Ordinary Least Squares Estimates

		7021'L UOS	JeW-nidnuQ
6578-0	pes latoT	6578'0	pay pay
£06680°2	DIV	12282.46	285
0*550699	Root MSE	802870"0	ASE
0Σ	DEE	772197"1	3SE

Approx Prob	t Ratio	Std Error	eulev 8	ÐE	ajdainsv
1292.0	271 1-	102.88	217152.86-	L	Intercept
7922.0	722°L	820.21	2175585-81	L	Нат
7209°0	615.0-	267.0	9270117"0-	L.	2H9T
8200.0	-3'520	895 71	9019772"27-	ł	ЯИАМ
0*0265	-5.157	221.1	-2.5267826	L	SANAM
6SL0"0	2.555	579"1	4*5033585	L	HQTANAM
S72S.0	-1-233	S20.0	9210890*0-	L	HQTIMIT
7207°0	078.0	570.0	2828720.0	L	SNAM ÉMIT
9090*0	056*6	0.210	0.6052261	ŀ	LIME1
0118.0	0.241	0*002389	1277218000 0	1	Sfamit
1228.0	0.213	120.0	2207609900-0	L	HATSMIT
8520-0	-5 166	ን ን0°0	-0°0626656	L	ANAMSMIT
2852.0	121.1-	0.280	£275522.0-	ł	TIMES
2927"0	708.0	172000.0	61S662000.0	1	TIME22
6895-0	925.0	71S.0	9056721*0	L.	AP02
7202.0	829.0	961 0	2711221*0	L	AP03
2270.0	728.1	081.0	£7097££°0	L	AP04
221970	705 O	281.0	9780260-0	ŀ	S04A
0-2023	629*0	902.04	9762821-0	L	90d¥
518910	717 0	781 ° 0	2722970.0	L	709A
2617.0	818.0	66L°0	0.1628515	L	809A
0'2750	7 96°0	102.0	9775261-0	ŀ	609A
6792.0	0.920	912.0	0101661-0	F	019A
7959° 0	677 0	112.0	5766760*0	Ļ	rr4A
5202.0	1,300	101.0	2987872*0	L	SrgA
1121.0	207°i	06110	082699210	L	ΣtdA
0"2593	866.0-	982*8	8890692.8-	L	1891
013238	C86.0	5170	0805997*0	L	15H9T
013338	286.0	527"0	0805997*0		L

•

enoiseler of Autocorreletions

Lag Covariance Correlation -198765432701234567891

****	0.432017	79901	1
****	000000"	10192010	0

FITA 013000 1-6# FIOY of Denogeon A 1 Monthal

,

.

O 1 BC5 OPERATIONS ON TPH

Autoreg Procedure

1DN/UW=9882

ksa ksq SBC

ASE

BSS

Preliminary MSE = 0.020492

Eres of the Autoregressive Parameters

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS

809210

61890-25

267720-0

1.000303

7£9625°Z-	12274721.0	-0' 43201697	L
C Ratio	Std Error	JneloliteoJ	607

DIV

DEE

Total Rsq

Yule-Weiker Estimates

7286 0	1.350	£07°0	2990775*0	L	15Hq1
7261-0	722-1-	210-2	7516595 6-	i	1441
6950*0	£89.1	571.0	2996282.0	L	E19A
9276-0	887.1	291.0	5266272 0	i	SrgA
1057"0	992.0	S81.0	6002621.0	L	ttqA
8155.0	672-1	781.0	0.2335310	L	OLAA
1972.0	668.0	821.0	0 1266651 0	L	Q04A
805910	2570	081.0	990728010	1	809A
7026°0	720,0	891.0	22250290010	L	709A
S888.0	521.0	281°0	0°0592013	L	AP06
68 68-0	851.0	296-0	8027120 0	L	20d¥
6051.0	527"6	591.0	92212720	L.	70d∀
1612.0	259.0	991*0	9921801-0	1	£09A
2982.0	£75.0	851°0	2701270-0	ŀ	AP02
£067°0	669-0	872000*0	72792429700.0	. I	TIME22
7212.0	192.1-	ros.o	-0 5234256	ι	SEMIT
0°0865	652-1-	520.0	£972290°0-	L	TIMAMAR
6172 0	0-335	720.0	S29870800.0	ŀ	H9T2MIT
0"6564	<u>Σ60</u> 0	2202953	TTT02T2000.0	L	SLAMIT
7120.0	2°032	755.0	2822097 0	ŀ	13MI1
6725"0	829*0	520-0	0.0220352	6	SNAMTHIT
2822.0	-1''521	170.0	2278020 ₁ 0-	l	HGTIMIT
6011.0	579"1	725.1	27276661°2	Ļ	HQTANAM
1980.0	222-1-	888.0	9207825 1-	L	SANAM
0.0333	-5*532	595.11	2990278°SZ+	4	SNAM
8089*0	517 0-	119.0	1700752-0-	Ł	SH97
7 972°0	722°0	11"354	10.8393012	L.	HqT
£75à.0	167 0-	£95°12	7595211 55-	L	Intercept
dorg Read	t Ratio Ap	Std Error	B Value	ĐE	alda}naV
			8702	∙t uo	stew-nidnut

5768.0

56

7286.51-

ROOT MSE 0, 185723

Fitachment 1 + Response to POIR # 7-1 page 11 of 17

529

.

USES 12 PP DUMMES TO CEPTURE SEASONAL EFFECTS

Autoreg Procedure

E100=MUNU1

Dependent Variable = HRS

Ordinary Least Squares Estimates

		- 2.0739 n	oateW-nidnu0
0616-0	Total Red	0616.0	kea kad
2770-2-	VIC	754,06027	CBC
597661*0	Root MSE	98262010	BSM
33	ÐFE	776212-1	322

...

0821.0	1.520	≤11.0	5725521.0	٤	rshat
0 1208	055"1-	862 1	·2.7859021	L	1H41
0612.0	1.253	181.0	£685922°0	L	ΣtgA
£67£°0	676 0	181.0	9927121 0	ŧ.	Staa
0762.0	120'1	991 0	2220871.0	1	r f a A
1512 0	892'0	751 0	0508950*0	ŀ	OF9A
6916.0	501.0-	591.0	6072710.0-	L	4609
7158 0	681.0	951.0	0*0593857	L	809A
0814.0	07810	02110	5212621 0	L	APO7
0"2592	079-0-	921.0	0728211 0-	ŀ	90d¥
9285.0	875.0-	951.0	+0*0825620	۱	APOS
2972 0	95610	512.0	72277002.0	L	¥60¢
8192.0	898.0	261.0	9222991 0	ł	AP03
2627 0	912.0-	291 0	8178611 0-	L	AP02
1675.0	\$09"0	0*00032	282799100.0	L	11WESS
9858 0	081.0-	0*535	-0-0421670	Ł	SIMIT
1651-0	177"1	280°0	8129211-0	L	ANAMSMIT
0255*0	265.0	01026	8912710.0	L	HQTSMIT
7515 0	259.0	295303.0	9590975500*0	ł	STBMIT
0 5709	561-1-	225-0	1781529"0-	L.	tamit
9962.0	658.0	850-0	791020.0	L	ANAMEMIT
01720	761.1	770°0	010222096	1	HQTÉMIT
6521 0	-1-258	128"5	0750579.8-	L	HQTANAM
2012.0	-1*020	720°7	6116261 7-	1	SANAM
2121.0	882.1	102.24	7785158.88	1	ЯИАМ
0.2003	202*1-	298.0	6792551-1-	L	16HS
1712.0	592"1	027 8	2522599"01	L	HQT
7882 0	122.0	20.855	0516279*5	i	tqeonetni
Approx Prob	oftssft	Std Error	əu]eV 8	ЪF	9 Jde i neV

Estimates of Autocorrelations

Leg Covariance Correlation -198765432101254567891

1

	+

0.0008 -0.037239

Attachment 1+ Response to POIR#7-1 page 12 0411

•

929

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL $\overline{\sigma}$ using only continuous path from 8601-943 . . . HALL NO SHOH / SNOTLY HOURS ON THH SCS

Autoreg Procedure

2199=9913

3SM

3\$\$

Preliminary MSE = 0.021494

areters of the Autoregressive Parameters

0*06052

271012-1

0.210802	80759921*0	0.03723904	١
t Ratio	Std Error	Jn9ijitt90J	6e 7

DFE

Yule-Walker Estimates

028 U	090 0		2008030		•	ONAUTUTT
251.1	≦70°0		2928150	3*0	F.	HATTMIT
2671-	710.2		5762020	5*8-	L.	НЧТЯИАМ
00011-	226°7		726072	1*7-	L.	SANAM
122.1	952.44	,	1721259	7 89	L.	ЯИАМ
122-1-	888.0		972782	L*Î-	L	SH9T
1.234	519.8		1889525	2.01	L	Hq1
0*581	810.15	!	1652861	3.2	ŀ	Intercept
offañ f	Error	p1S	eujaV i	9	DE	ajda†ab∖
				0380	•z uo	Durbin-Wats
	0*6165	<u>ƙ</u> ad	Je roT	9226	10	keð ked
	12/1.2-	-	VIC	7227	0*85	SBC

9251.0	1.523	211.0	0,1780237	L	rshqi
0.1288	655"1-	1.820	2072928-5-	۱.	1 H d L
ST15.0	522.1	S81.0	2516522.0	Ļ	£۲۹A
0-3514	200"1	281.0	2829781 0	L	SrqA
0*82*0	06011	691 0	2585781 0	۱,	IIAA
9102.0	782.0	251 0	7582020,0	L	OFAA
8826.0	22010-	891 0	9910210-0-	L	609A
7628.0	0,208	8SL*0	0.0328712	ı	809A
8662.0	258.0	721 0	9202971.0	i	709A
£ንን\$°0	£19°0-	621"0	-0-1066580	1	90dA
0085"0	655.0-	851 0	9597880*0-	L.	204A
LISE 0	\$76.0	07220	267820210	L	70d¥
8192.0	898.0	961'0	£926691°0	L	£04A
2167 0	969 0-	5 71 .0	-0-1202169	1	SD9A
6455 0	265.0	22000°0	0'00016169656	L L	TIME22
8578 0	961 0-	0"526	£962970°0-	i	TIMES
9991 0	9171	580 0	7272811.0	Ĺ.	SNAMSHIT
2155.0	Z09*0	020 0	6278710.0	1	TIMZTPH
2212.0	£99°0	212200.0	0*002653352	i.	TIMETZ
0.2518	291-1-	\$75"0	7296559"0-	i.	LIMET
6107 0	058.0	090 0	200805010	L	ANAMPRIT
0*52*0	251.1	≤70°0	2978120.0	Î.	HATTMIT
9571 0	2671-	710 9	5762026"8-	L.	НАТЯИАМ
0"2549	000 1 -	Z21 7	7260721 7-	L.	SANAM
2021-0	155-1	952 77	1721259-89	i.	ЯИАМ
0"5120	175.1-	888.0	9727821 1-	L	SH9T
0*5263	1.234	512,8	1886226.01	L	Hat
8082.0	182.0	810.1S	1925898.2	ŀ	Intercept
hprox Prob	t Ratio A	Std Error	eulav 8	ĐE	ajda†naV

Root MSE 0.202341

32

.

٤29 rito EI 9000 1-1 # 9109 of genogen of I thomas half

.

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL EL96-LOBS MORT ATAG SUDUNITHOD YING BUILD HOT NO SAUOH \ZNOITAA390 SCS ţ

Autoreg Procedure

2166=WAND1

9693

28H = sideineV Jnsbnsqs0

Ordinary Least Squares Estimates

		2722. nos	feW-nfdnug
£726°0	Total Req	£726°0	keg kad
-102.911	VIC	-95"3181	38 5
700820.0	Root MSE	592200*0	BSW
91	DFE	828250.0	3SE

.beseid at estimate the estimate is biased. NOTE: Model is not full rank. OLS estimates for the parameters are not unique. Some statistics will be misleading. A reported DF

` t

. Variables as shown. The perameter estimate for the following LHS variable is set to 0, since this variable is a linear combination of other RHS

0 = SMAMIMIT 0 = HdllWll

0 = LINEL

TIME12 0 =

0058'0	-0105	2,835	1188775 0-	Ļ	11
8295'0	065.0	870°0	7782820°0	Ļ	d∀
SSS2.0	212.0	220.0	0.0163254	1	SF9A
0777.0	222.0	220.0	0.0172405	L	t1d∀
722610	520.0	95010	8265556100.0	L	0194
7828.0	£67°0-	520.0	•0"05L1270	L.	AP09
2026.0	880.0-	720.0	789650500.0-	L	809A
9772.0	122.0-	890.0	-0°055¢0¢8	1	709A
1227'0	708°0	Z90*0	£755670°0	ŀ	90d¥
8815.0	-1.280	£\$0*0	0211890-0-	i.	2094
2662.0	998-0	160.0	8227870.0	Ļ	AP04
9766*0	200-0-	120.0	629252000.0-	L	£09A
0.8289	-0"550	870.0	+029010-0-	i.	AP02
9160*0	562 1	0.000133	0*000527895	i.	LIWEZZ
2221.0	285°L	021.0	0*5682335	L	TIMES
8691 0	857 1-	221200.0	-0*001294526	i	ANAMSM11
5701 0	122 1	610.0	-0.0319732	Ĺ.	HUISMII
•••••	••	•	0	ò	ZIBMIT
•	-	•	à	ā	LIWII
•	•	•	ŏ	ñ	ANAMEM11
•	•	•	ō	Ō	HATTMIT
1780-0	578°1	\$25°D	0/5/685*0	Ĕ.	HATANAM
\$265.0	975°N-	290.0	2059550.0-	i	ZANAR
1160.0	65/1-	107.2	6571059"5-	i.	MANR
0079*0	905 0-	552.0	\$/\$9/LL*0-	i	ZHal
1791*0	997"1	700.4	7258556 C	i	Hal
69/1*0	5191.	999**7	1018548.46-	i.	Ideorept
0/21 0	27/ 1		10102/0 /2	•	•
Approx Prob	t Ratio	Std Error	eulev 8	ЪF	aJda†aaV

829

.

Autoreg Procedure

2166=WANDI

9694

5788.0	871 0	751°0	£199220.0	Ļ	rsh9t
Approx Prob	t Ratio	Std Error	aulev 8	ĐE	ајdаіл∎V

anoiselerocorneletions

Lag Covariance Correlation -198765432101234567891

****	706222.0	212000.0	L.
*****	1.000000	972100.0	0

Preliminary MSE = 0.001273

aretemened evices representation of the setemetral

-0.927542	72860122.0	-0-23290419	L.
oitag t	Std Error	JnsipilisoD	687

Yule-Walker Estimates

		1619"1 UO	etsw-nidnu0
7 926°0	pag JeroT	8726 0	kea kaa
£82°70¢-	VIC	2190°29-	38 5
795720.0	Root MSE	0*003294	BSM
SL .	DFE	917670 0	SSE

9007 U	798 U	£90 Û	2989750-0		dv.
8272.0	912.1	£\$0'Q	6579790"0-	•	709A
7022.0	900°L	760'0	6729760*0	۱.	7 0d∀
0766 0	800-0-	120.0	95285000-0-	L I	E 09A
0*8283	-0.221	£70°0	282815600*0-	L I	SOAA
2021.0	215.1	571000.0	0*0005200534	L.	TIME22
2111.0	0691	021.0	7617785.0	L	TIMES
<u>7775,0</u>	751,1-	222200.0	276852900-0-	L	ANAMSMIT
2260'0	96211-	610.0	0275220.0-	L	HGTSMIT
•	•	•	0	0	STEMET
•	٠	•	0	0	tamit
•	•	•	0	0	SNAMEMIT
•	•	•	0	0	HATTMIT
0"1026	227.1	802.0	5278225*0	L.	НЧТЯИАМ
9897"0	772°0-	650.0	9528270-0-	L	SANAM
1901.0	-1''150	S10.2	-2°18¢185¢	ŀ	AANR
8967"0	96910-	0.212	2879271°0-	1	SHGT
5501 0	1.723	172 2	5099777 9	E.	HQT
9251-0	202.1-	23.353	-35 1053450	i.	1qeonetn1
Approx Prob	cîteX t	Std Error	əulaV 8	DE	9JdeineV

629

1 b.c. OPERATIONS/ HOURS ON TPH USING ONLY CONTINUOUS DATA FROM 6601-9613 INCLUDING OFFICES & LEAST 39 OBS/LAG MODEL USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS

Autoreg Procedure

1	£,	66	= 6	í	Νп	r.
- 2	ъ	υo		411	нu	٤.

9695

2952.0	912.0	671 0	78SIZ70°0	L	12Hq1
0127.0	555.0-	5120	7420879.0-	1	гнат
2627.0	76L°O	£70°0	60077£0*0	L	Erga
2229.0	727.0	050.0	8781120.0	۱,	SF9A
2019.0	025.0	250.0	1190220-0	L	119A
\$692.0	862.0	950 0	7928310.0	L.	OIAA
2707.0	282.0-	950*0	-0°0513618	L.	609A
8556.0	950.0	850.0	775432694374	ŀ	809A
1819.0	501*0-	29010	17250200-0-	L	T04A
Aprox Prob	t Ratio	Std Error	aulaV 8	DF	sJdeineV

1

.

.

11+041 2600 1-1 # XION OF 25000237 et 1 FASMADOHHA

079

USES 12 AP DUMMIES TO CAPTURE SEASONAL EFFECTS INCENDING OFFICES & LEAST 39 OBS/LAG MODEL C DING ONLY CONTINUOUS DATA FROM 8801-9413 ŗĝ HAT NO SHUDH /SNOTTANAN sog

Autoreg Procedure

1966=WNN01

ົ

Pependent Variable = HRS

Ordinary Least Squares Estimates

018610 -5051548 01055568	Root MSE AIC Total Rsq	0.003088 -137.288 0.9810 1.5239	MSE SBC Reg Req Durbin-Hatson
873330 0	DFE DFE	712821.0	355

1270-0	870.S	291.0	225972°0	L	rskat
022010	-5 179	707°£	292502-7-	٢	thqt
6572.0	0*625	£70°0	1262125070*0	L	£r4A
5292*0	1.122	£70°0	1881889270.0	1	SIGA
2526-0	-0°082	£70°0	274894200.0-	L	rr9A
2950-0	SS0*0-	770°0	-0*005454138	L.	019A
6211-0	0191	970 0	8101959720.0	L	909A
0.2015	1.295	070.0	0.052019161	L	809A
2912.0	1.252	070.0	0.0502631357	L	709A
9887 0	869*0	190.0	8561029270.0	1 I	904∀
7850 0	626 1-	£70°0	£1921480.0-	i	2095
7207"0	278-0	190'0	922876215010	L.	70dV
5952*0	126 0	270.0	986809270 0	L.	£09A
2808.0	77Z 0	£70°0	7598895010.0	i.	209A
7089*0	717 0	251000.0	200590000*0-	i.	11WESS
0*0223	186.1	281.0	001092*0	L.	TIMES
7592.0	0.300	510.0	2526919700.0	L.	TIMZMANR
1280.0	852 1-	610.0	-0°033361466	L	HATSMIT
5116"0	211-0	0°00015¢	7659EL0000 0	٦.	SLEMIT
9296-0	970 0-	260.0	975707700-0-	L.	TIMET
7285"0	975 0	92690010	2859882200*0	1	SNAMINIT
7506 0	021-0	0.009539	2212071100.0	L	HATEMIT
8027.0	S18.0-	561-1	895026 0-	L.	HATANAM
Z929*0	027*0	272.0	227221.0	1	SANAM
7182 0	288.0	512"11	529872101	L	ЯИАМ
£920°0	S18.1	792.0	70861Z*0	L	ZHQT
0150.0	-2°002	852.7	782757.41-	L	Hgt
er00.0	3,288	521.72	122.062848	۱.	Intercept
dor9 xorqqA	offex f	Std Error	aulev 8	ЗO	Variable

Enoitelencontua to setemitel

Leg Covariance Correlation -198765432101234567891

1 200432 0°554334
0.00457 0.224354 0.00195 1.000000

Altochment ' to Response to MOIR # 7-1 page 1 0+11

179

:

.

Autoreg Procedure

1966=WONDI

Preliminary MSE = 0.001852

Estimates of the Autoregressive Parameters

127 821-

226200.0

281872.1-	22291291.0	L1752722.0-	L
OIJBS 7	Std Error	Jnaioiiiao)	661

VIC

DFE

Root MSE

Yule-Walker Estimates

38S

BSH

BSS

TPH21

that

£ld∀

SrqA

119A

OLGA

60d¥

809A

709A

90d¥

204¥

1525"0	\$95*0	190.0		70261917	£0.0 I	,	70d¥
6925-0	0'955	570 0		18272028	20'0 I		£09A
6716-0	201.0	620.0		20022917	00'0 I		209A
2722.0	-0.288	75L000°)	22277000	0.0- 1	,	TIMEZS
8590 0	798"1	721 0		29782210	1	,	TIMES
2806.0	SLL O	S10.0		12103852	00.0 1		TIM2MANR
9660 0	089 1	810.0		30865736	0°0- I		HATSMIT
0*8925	921 0	7210001)	90128100	00.0 1		TIMETZ
7/18.0	-0"525	060*0		25286020	'0- I		TIME'
1872 0	525.0	622900*0)	20286512	00°0 I	,	SNAM MMIT
Z662*0	95Z*0	627600*()	71921720	0.0 1		HATTMIT
1115.0	195.0-	211.1		291929-0	- 1		натяиам
5552.0	Z72*0	672 0		929611 0			SANAM
2175 0	519.0	526.01		122971.9	I	,	ЯИАМ
10/0.0	258.1	192.0		906222'0			SH9T
£050°0	-5°006	291-2		297562"7	l- I	,	HQT
1700 0	3.020	36.950		726202"1	ii ii		intercept
dong xonggA	offeg f	ionna b:	IS	eulev 8	4	D	sld∎insV
		57 04*0	bsx	18101	5269"1	nost	Durbin-Wa
		7 68 0 V	÷ • 0	1-+-T	TCTO O		

0.291538

889201 9-

0.0267253266

0*0201055686

927288210-0-

716198219010

6129271770"0

981905762010

\$2620\$0920*0

ZZ6912220.0-

18890ST0.0-

Ļ

L

L

Ĺ

1

L

ł

£

8720.0

7990 0

\$867'0

1285.0

1129.0

7727.0

0.1823

2772.0

8722.0

1199*0

£570.0

228.1

289.0

228.0

222.0-

LSE10-

752"1

90111

56610

177 0

828-1-

628.1.

091.0

31220

01036

170°0 270°0

£70°0

570 0

070'0

070.0

650*0

270*0

-506-023

151750.0

27

•

.

Manual Letters

Obs #	1D #	Est. Variability	Std Error	Testatistic	Aven in (TPH)
1	19	0.803	0.0059	135 410	7 892
,	26	0 791	0.0074	106 560	7 369
4	104	0.786	0.0069	113 528	7 595
2	120	0,700	0.0003	173.520	7.090
2	120	0.721	0.0078	82.000	9.782
	104	0.761	0.0073	104,479	8.280
• ~	Z4Z	0.733	0.0073	99.680	9.168
7	341	0.783	0.0071	110.855	7.606
8	401	0.718	0.0078	91,514	9.254
9	415	0,706	0.0081	87.413	9.815
10	503	0.726	0.0076	95.140	9.320
11	523	0.816	0.0055	147.836	7.612
12	614	0.777	0.0074	104.897	7.648
13	621	0.721	0.0077	93.768	9.616
14	659	0.821	0.0059	139.373	7.061
15	686	0.688	0.0088	78.302	10.438
16	754	0.750	0.0074	101.271	8.440
\$7	779	0.754	0.0069	109.649	8.541
18	829	0.851	0.0044	191.521	7.189
19	862	0.710	0.0081	87.419	9.325
20	877	0.726	0.0076	96.151	9.292
21	916	0.740	0.0074	99.672	8.884
22	952	0 721	0.0078	92 172	9 212
23	1245	0.693	0.0085	R1 659	10 133
20	4200	0.050	0.0000	141 665	8.054
	4254	0.769	0.0005	00.074	8.004
25	1304	0.750	0.0076	99.074	8.308
20	1374	0,761	0.0067	114,363	8.576
27	1423	0.780	0.0071	109.849	7.684
28	1484	0.820	0.0051	160.885	7.574
29	1485	0.711	0.0080	89.146	9.615
30	1607	0.785	0.0066	119.284	7.855
31	1684	0.700	0.0085	82.220	9.793
32	1747	0.774	0.0075	103.285	7.786
33	1749	0.727	0.0077	94,798	9.108
34	1803	0.689	0.0087	79.083	10.387
35	1872	0.714	0.0082	67.356	10.067
36	1913	0.755	0.0068	111.168	8.703
37	1940	0.846	0.0057	149.147	6.533
38	2007	0.754	0.0069	109.433	8.897
39	2033	0.743	0.0073	101,709	8.695
40	2169	0.693	0.0085	81.491	10.179
41	2173	0.770	0.0064	121.021	8,456
42	2283	0.750	0.0071	109.982	7.777
43	2371	0 764	0 0069	110 107	8 288
44	2375	0.758	0.0077	GR 317	B 045
45	2386	0.806	0.0017	146 074	7 863
45	2300	0.000	0.0005	87.804	0.603
40	2999	0.712	0.0001	67.034	9.003
4/	2401	0.794	0.0071	112.009	7.330
48	2501	0.791	0.0079	100.242	7.204
49	2567	0.746	0.0071	104.441	8.762
50	2594	0.762	0.0068	112.737	8.396
51	2687	0.727	0.0075	96.415	9.269
52	2696	0.833	0.0065	127.474	8.367
53	2752	0.846	0.0046	184.266	7,349
54	2814	0.811	0.0061	132.796	7.233
55	2823	0.720	0.0077	92.925	9.707
5 6	3033	0.781	0.0068	115,157	7.783
57	3084	0.780	0.0066	117.572	7.903
58	3246	0.804	0.0066	121.382	7.323
59	3294	0.853	0.0062	137 732	7.818
60	3304	0.679	0.0094	72.133	10.867
61	3329	0.812	0.0061	132.299	8.353
62	3346	0.766	0.0068	112.680	8.292
63	3358	0.731	0.0074	98.336	9,278
64	3359	0.742	0.0072	103 671	8 853
65	3361	0.759	0.0071	105.884	8.411
22	3364	0.677	0.0001	71 903	10 874
67	3304	0.017	0.000	106 451	R 75a
~		0.170	0.0070		

.

.

.

9	65	99
	<u> </u>	

. .

68	3411	0.731	0.0076	95.656	8,982
69	3437	0.729	0.0074	98,050	9.209
70	3495	0.874	0.0050	174.709	7,202
71	3547	0.856	0.0057	149.429	7.807
72	3593	0.783	0.0067	117,468	7.868
73	3 594	0.833	0.0065	127,978	8.336
74	3606	0.791	0.0062	127,565	7.816
75	3645	0.887	0.0048	196.309	7.090
76	3702	0.745	0.0072	103.993	8.783
77	3709	0.765	0.0084	90,932	7.659
78	3712	898.0	0.0045	201,416	6.839
79	3725	0.705	0.0081	86,650	9.857
84	3/53	0.731	0.0076	96.118	8.967
82	3/62	0.827	0.0064	126.821	8.361
83	3021	0.764	0.0058	01 200	B_200 9.515
84	3921	0.765	0.0076	104 265	8.070
85	3923	0.825	0.0069	120.093	5 670
86	3940	0.802	0.0060	133,185	7.522
67	3972	0.760	0.0071	107.836	6.417
88	3997	0.807	0.0066	121.721	7.217
89	4144	0.849	0.0060	142.235	7.972
90	4166	0.797	0.0060	133,768	7,705
91	4183	0.764	0.0065	116.975	8.500
92	4255	0.781	0.0064	123.005	7.966
93	4256	0.812	0.0060	134.617	8.020
94	4270	0.710	0.0080	88.383	9.890
95	4278	0.839	0.0047	177.891	7.395
96	4284	0.819	0.0056	146.651	8.075
97	4347	0.768	0.0060	131,260	7.956
98	4384	0.838	0.0048	175.881	7.489
89	4385	0.832	0.0049	170.419	7.581
100	4439	0.729	0.0077	95,148	9.053
101	4453	0.718	0.0079	91.314	9.838
102	4483	0.874	0.0047	187,458	7.052
103	4537	0.762	0.0075	101.971	8.116
104	4038	0.762	0.0076	99,660	8.010
105	4342	0.720	0.0075	80.534	9.410
100	4000	0.703	0.0079	80.942	9.0/1
108	4730	0 773	0.0072	107 619	7 849
109	4834	0.826	0.0072	153 434	7 873
110	4873	0.812	0.0058	119.519	7.060
111	4920	0.791	0.0062	128.647	7.775
112	4937	0.825	0.0051	161.811	7.458
113	4945	0.742	0.0074	99.645	8.720
114	4965	0.884	0.0049	182.233	7.161
115	4970	0.762	0.0066	115.301	6.543
116	5057	0.721	0.0077	93,284	9.349
117	5066	0.769	0.0074	103,684	7,940
118	5087	0.712	0.0079	90.040	9.718
119	5096	0.709	0.0081	87.939	9.559
120	5106	0.746	0.0075	99.488	8.617
121	5113	0.768	0.0068	113.659	8.896
122	5182	0.735	0.0074	99.578	9.048
123	5201	0.847	0.0064	132.219	7.953
124	5204	0.723	0.0076	94.995	9,430
125	5255	0.767	0.0069	111.440	8.122
126	5279	0.802	0.0070	114.958	7.188
127	5284	0.743	0.0081	92.277	8.378
126	5296	0.695	0.0087	60.229	10.376
129	5341 6449	0.784	0.0061	120.390	5.04/ 7 ens
130	5413	0.763	0.0003	120,940 175 040	F.000
131	5419	0.045	0.0040	110.810	7.574
133	5507	0.000	0.0000	88 712	8:307
134	5525	0 853	0.0045	190 589	7 029
135	5563	0.838	0,0047	177,661	7.441
136	5566	0.788	0.0063	124.176	7.917

-

138	5590	0.741	0.0083	69.327	5.316
139	5604	0.796	0.0064	123.757	7,520
140	5656	0.851	0.0055	154.650	6.480
141	5683	0.793	0.0057	138.253	8.075
142	5697	0.704	0.0082	86.178	9,958
143	5708	0.724	0.0076	95.610	9.541
144	57 57	0.810	0.0060	134.346	7,283
145	5837	0.729	0.0075	97.673	9.274
146	5865	0.742	0.0079	94.316	8.520
147	5909	0.731	0.0075	97.603	9.154
148	5921	0.775	0.0061	126.147	8.494
149	5997	0.710	0.0081	88.166	9.931
150	6048	0.830	0,0061	136.220	6.787
151	6063	0.827	0.0056	148.454	8,108
152	6078	0.725	0.0081	89.448	8.803
153	6083	0.864	0.0068	118.677	7,183
154	6068	0.768	0.0065	118.066	8.332
155	6104	0.792	0.0005	121.024	7.560
157	6218	0.724	0.0059	135 257	7 901
158	6266	0.710	0.0081	87 767	9.464
159	6282	0.735	0.0072	102 025	9 172
160	6306	0.763	0.0070	109.216	8,195
161	6332	0.719	0.0079	91.057	9.133
162	6343	0.798	0.0065	122.397	7.433
163	6391	0.802	0.0057	141.362	7.740
164	6499	0.797	0.0063	127.386	7.560
165	6549	0.699	0.0084	63,709	10.127
166	6550	0.814	0.0059	138.669	8.395
167	6551	0.820	0.0066	123.605	8.430
168	6556	0.807	0.0068	118.017	7.095
169	6557	0.767	0.0075	102.798	7.966
170	6571	0.761	0.0056	114.629	8.761
171	6594	0.762	0.0073	104.284	8.313
172	6635	0.824	0.0052	159.814	7.304
173	6643	0.731	0.0079	92.306	8.830
174	6655	0.769	0.0066	116.868	8.477
175	6664	0.749	0.0069	108.737	9.108
176	6737	0.810	0.0061	132.831	7.307
177	6744	0.761	0.0067	113.032	8.481
178	6745	0.762	0.0067	114.589	8.527
179	6755	0.677	0.0092	73.602	10.724
180	6/61	0.776	0.0070	111.347	7,836
181	6/92	0.793	0.0075	106.552	7.302
182	6636	0.757	0.0072	100.200	8.94U B.414
105	6090	0.705	0.0000	107 000	8.644
184	6064	0.755	0.0068	112 098	8.616
186	7010	0.722	0.0068	(13.437	8.034
187	7044	0.796	0.0061	129 693	7 783
188	7649	0.813	0.0057	143 793	8 101
189	7051	0.801	0.0070	114.484	7.237
190	7069	0.751	0.0078	95.815	8.253
191	7073	0.724	0.0080	90.228	9.002
192	7093	0.801	0.0059	135.636	8.167
193	7097	0.840	0.0048	174.138	7.439
194	7100	0.769	0.0064	120.565	8.411
195	7123	0.745	0.0073	102.112	8.601
196	7126	0.758	0.0067	112.847	8.582
197	7127	0.815	0.0059	137.687	7.218
198	7178	0.843	0.0044	190.869	7.352
199	7192	0.785	0.0060	130.442	8.051
200	7198	0.831	0.0056	148.946	7.959
201	7271	0.735	0.0075	98.474	8.963
202	7314	0,717	0.0078	92.506	9.429
203	7346	0.746	0.0071	104.861	8.794
204	7418	0.719	0.0078	92.602	9.403
205	7422	0.742	0.0075	99.545	8.698
206	7444	0.738	0.0072	102.726	9.112
207	7450	0.742	0.0075	99.114	8,793

.

.

•

208	7463	0.747	0.0069	108.099	9.037
209	7480	0.817	0.0054	152.281	7.894
210	7512	0.825	0.0054	152.323	7.188
211	7564	0.758	0.0067	112.520	8.634
212	7583	0.773	0.0068	113.388	8.092
213	7603	0.788	0.0062	127.556	7.864
214	7606	0.769	0.0065	116.804	8.792
215	7626	0.794	0.0066	119.590	7.572
216	7637	0.791	0.0069	115.455	7.502
217	7655	0.699	0.0083	84,405	9.938
218	7689	0.723	0.0076	94.780	9.251
219	7794	0.742	0.0071	104.837	¥-207
221	7800 -	0.055	0.0049	67 #62	8 269
221	7807	0.785	0.0054	177 513	8 547
223	7865	0.787	0.0059	134 243	8.210
224	7884	0.779	0.0078	99.385	9.419
225	7897	0.739	0.0074	100.391	8.862
226	7914	0.773	0.0065	118.340	8.373
227	7942	0.854	0.0050	172.667	7.404
228	8004	0.832	0.0051	164.556	7.135
229	8112	0.774	0.0073	106.057	7.829
230	8115	0.774	0.0064	121.743	6.195
231	8145	0.812	0.0061	133.574	8.345
232	8153	0.631	0.0050	165.097	7.628
233	8169	0.786	0.0065	121.399	7.699
234	8195	0.707	0.0081	87.680	9.705
235	8208	0.791	0.0059	135.118	8.348
236	8228	0.820	0.0051	161.3/9	1.522
23/	0239	0.050	0.0067	116 314	7 644
230	8283	0.079	0.0085	(10.31) M1 254	10 726
240	6 315	0 783	0.0072	108 390	7 609
241	8329	0.780	0.0063	123,439	8.048
242	8333	0.717	0.0080	89.243	9.204
243	8334	0.820	0.0068	121.349	6.816
244	8342	0.739	0.0075	98.776	8.803
245	8378	0.714	0.0081	88.188	9.322
246	8384	0.756	0.0075	100.674	6.237
247	8421	0.715	0.0079	90.273	9.649
248	8439	0.768	0.0065	118.779	8.386
249	8505	0.770	0.0072	107.617	8.054
250	8535	0.766	0.0066	116.659	8.446
251	8551	0.803	0.0056	142.437	7.711
252	8554	0.797	0.0058	136.533	8.347
203	6337	0.771	0.0065	117.090	0.09/ 8 10C
255	9507	0.772	0.0000	110.004	7 403
255	RAFR	0.803	0.0056	144 233	7 825
257	8692	0.806	0.0079	102.390	6.854
258	8743	0.704	0.0082	86.194	9.974
259	8806	0.777	0.0067	115.488	7.997
260	8909	0.760	0.0071	106.419	6.300
261	6938	0.781	0.0064	121.540	8.009
262	8941	0.779	0.0067	116.969	7.681
263	6942	0.812	0.0056	144.983	B.139
264	8964	0.740	0.0072	103.434	9.083
265	8965	0.770	0.0066	116.655	8.199
266	9035	0.890	0.0049	180.930	6.953
267	9056	0.743	0.0070	105.989	9.060
268	9090	0.786	0.0065	119.166	7.816
269	9098	0.783	0.0061	128.548	0.083
270	9110 0442	0.700	0.0060	330.533	0.018
2/1	7112 0112	0.690	0.0086	67.712 B0 007	0.003
273	9210	0 705	0.0086	82.492	9,317
274	9221	0.786	0.0068	115,635	7,725
275	9240	0.703	0.0083	84.966	10.074
276	9242	0.779	0.0064	122.006	8.069
277	9263	0.760	0.0068	111.586	8.431

:

•

278	9270	0.776	0.0065	\$18.987	8.034
279	9303	0.730	0.0078	93.971	8.929
280	9322	0.747	0.0069	107.694	6.900
281	9443	0.795	0.0058	136.562	7.868
282	9466	0.701	0.0083	64.924	9.757
283	95Z2	0.772	0.0069	111.367	7.959
264	9524	0.697	0.0084	82./5/	10,147
200	9302	0.809	0.0055	146.077	7.3402
200	0589	0.637 0.688	0.0045	79 7 73	10 218
288	9605	0.798	0.0057	139,980	8,228
289	9607	0.829	0.0051	154.037	7,281
290	9653	0.827	0.0054	152.639	7,692
291	9660	0.887	0.0048	185.560	7,103
292	9666	0.806	0.0068	118.494	7.198
293	9696	0.753	0.0074	102.327	8.428
294	9698	0,816	0.0063	130.271	7.069
295	9705	0.839	0.0065	129.102	6.554
296	9749	0.829	0.0051	163.283	7.272
297	9//5	0.840	0.0054	155.220	7.788
298	9779	0.749	0.0070	107.506	8.//b 7.095
299	9/92	0 698	0.0074	81 584	10 104
301	9809	0.831	0.0058	143.298	B 239
302	9810	0.775	0.0062	124.261	6,278
303	9865	0.801	0.0056	143.133	8,149
304	9875	0.804	0.0063	128.588	7.456
305	9879	0.735	0.0073	100.880	9.371
306	9882	0.830	0.0054	153.512	7.016
307	8913	0.818	0.0055	149.806	8,192
308	9917	0.800	0.0076	105.966	7.080
309	9961	0,740	0.0072	102.996	9.286
Manual Fi	ats				
Obs#	ID#	Est. Variability	Std. Error	T-statistic	Avg in(TPH)
1	26	0.631	0.0071	116.454	6.412
2	104	0.651	0.0063	135.821	6.665
3	120	0.851	0.0080	106.100	8.935
4	164	0.842	0.0067	124.897	7.843
5	242	0.838	0.0074	113.423	8.538
6	335	0.931	0.0068	137.057	7.022
7	341	0.816	0.0084	97.176	6.001
8	401	0.795	0.0079	100.981	8.049
9	415	0.802	0.0081	99.221	8.816
10	503	0.826	0.0073	113.032	6.317
12	523	0.933	0.0063	147.423	7.085
13	614	0.834	0.0068	122,203	6 772
14	621	0.837	0.0072	115.820	8,403
15	659	0.932	0.0058	160.074	7.413
16	686	0.802	0.0092	86.850	9.694
17	754	0.798	0.0079	101.581	7,207
18	779	0.836	0.0066	126.095	7.708
19	829	0.966	0.0048	203.342	6.233
20	862	0.801	0.0079	101.750	8.478
21	877	0.607	0.0075	107.636	8.099
22	916	0.818	0.0073	111.901	7.994 8.078
23	4745	0.811	0.0074	03.400	0.070
27	1309	0.000	0.0057	155 549	7 246
26	1364	0.809	0,0076	106.340	7.057
27	1374	0.840	0.0066	126.923	7.808
28	1423	0.847	0.0064	131.461	6.580
29	1484	0.937	0.0059	159.978	7.125
30	1485	0.814	0.0077	105.555	8.604
31	1607	0.838	0.0067	125.621	6.811
32	1684	0.808	0.0077	104.889	8.473
33	1749	0.796	0.0078	101.939	8.059
34	1803	0.804	0.0090	89.171	9.559
35	1872	0.842	0.0083	101.857	9.096

:

.

••

36	1913	0.835	0.0066	126.363	7.578
37	1940	0.945	0.0055	171,895	6.870
38	2007	0.779	0.0102	76.186	6.472
39	2033	0.812	0.0073	110.972	7.567
40	2169	0.794	0.0081	97.903	8.678
41	2173	0.864	0.0060	144.535	7,525
42	2263	0.850	0.0064	133,474	6.980
43	2371	0.841	0.0065	129.555	7.634
44	2375	0.806	0.0081	99.056	6.482
45	2386	0.922	0.0066	140.572	7.502
46	2390	0.922	0.0068	135.865	7.368
47	2444	0.611	0,0083	97.910	9.095
48	2467	0,837	0.0070	119.345	6.461
49	2501	0.817	0.0079	103.733	6.377
50	2587	0.834	0.0070	119.857	8.129
51	2594	0.874	0.0063	138.079	7.588
52	2687	0.825	0.0074	112.211	8.391
53	2696	0.958	0.0050	191.730	6.473
54	2814	0.902	0.0053	170.125	6,938
55	2823	0.613	0.0078	103.668	8.698
56	3033	0 643	0.0065	130.480	6.847
57	3084	0.604	0.0082	97.551	6.461
58	3246	0.848	0.0065	130 104	6.351
59	3294	0.953	0.0052	182.858	6.626
60	3304	0.799	0.0095	83 805	9 881
61	3320	0.944	0.0056	170.002	6.911
62	3346	0.855	0.0062	138 448	7 600
67	3328	0.000	0.0075	108 749	8 341
6J	1350	0.871	0.0071	115 443	7 778
65	3361	0.631	0.0070	118 380	6 580
65	1164	0.781	0.0094	82 646	9 762
57	3394	0.842	0.0066	128 662	7 732
68	3411	0.799	0.0077	103 415	7.854
60 60	3437	0.835	0.0072	116 682	8 177
70	2405	0.835	0.0072	474 289	6 811
74	3570	0.870	0.0044	220 559	6.421
71	3573	0.870	0.0044	129 595	6 365
72	3553	0.850	0.0000	203 430	6,505 6,578
73	3094	0.961	0.0047	147 696	7 120
75	3000	0.861	0.0056	134.050	7 7 7 4
75	3702	0.851	0.0004	104.000	6 823
70	3705	0.803	0.0071	101.004	8.549
70	3723	0.807	0.0070	103.804	7 784
70	2700	0.003	0.0051	184.055	6 977
79	3/82	0.832	0.0051	104.055	0.877
80	3821	0.870	0.0070	120.000	8.462
81	3908	0.810	0.0077	105.037	6.402
82	3921	0.813	0.0077	105.230	333.3
83	3923	0.901	0.0050	100.000	6.500
84	3940	0.870	0.0057	102.409	7.452
85	3972	0.821	0.0071	115.000	7.100
86	3997	0.637	0.0073	114.3/1	6.063
87	4166	0.883	0.0054	163.801	0.769
68	4183	0.851	0.0063	135.815	7.290
89	4255	0.872	0.0058	150.284	7.156
90	4256	0.926	0.0060	153.608	6.774
91	4270	0.828	0.0080	103.660	6.930
92	4278	0.932	0.0067	140.161	6.987
93	4284	0.915	0.0049	187.865	6.418
94	4347	0.869	0.0057	152,190	6.845
95	4384	0.930	0.0061	151.309	7.340
96	4439	0.786	0.0081	96.975	8.018
97	4453	0.842	0.0080	105.269	8.941
98	4463	0.949	0.0054	174.692	6.669
99	4537	0.816	0.0073	111.995	7.166
100	4538	0.823	0.0074	111.589	7.250
101	4542	0.821	0.0075	109.241	6.517
102	4653	0.916	0.0066	138.158	8.072
103	4756	0.612	0.0077	105.595	8.536
104	4816	0.856	0.0061	140.886	7.131
105	4834	0.924	0.0065	143.129	7.431

٠

;

-

.

•

0	7	\sim	A
	- 7	11	4
-		~	-

1

106	4873	0.818	0.0085	95.994	5.745
107	4920	0.865	0.0058	148.466	6.879
108	4937	0.933	0.0058	161.731	7.510
109	4945	0.838	0.0065	128.052	7.578
110	4965	0.981	0.0040	246.430	6.062
111	4970	0.860	0.0064	133.523	7.920
112	5057	0.805	0.0075	106.847	7.734
113	5087	0.805	0.0080	101.206	8.709
114	5096	0.811	0.0080	101.267	8.884
115	5106	0.816	0.0075	108.645	7.408
116	5113	0.879	0.0070	125.618	7.938
117	5182	0.837	0.0070	118.929	8.281
118	5201	0.946	0.0056	169.218	6.776
119	5204	0.835	0.0073	114.796	8.435
120	5255	0.856	0.0060	141.721	6.894
121	52/9	0.863	0.0053	165,946	6.547
122	5250	0.802	0.0064	90,124 436 466	8.135
123	5441	0.858	0.0063	130.130	5.333
125	5417	0.000	0.0056	158 878	6 750
125	5438	0.845	0.0054	163 371	6.783
127	5507	0.256	0.0090	84 736	7 510
128	5525	0.944	0.0053	178.164	6 837
129	5563	0.950	0.0051	186 922	6 974
130	5566	0.854	0.0063	135.728	6.821
131	5573	0.871	0.0056	155,502	6.853
132	5590	0.806	0.0075	107.014	7.563
133	5604	0.929	0.0050	155,154	7.397
134	5656	0.952	0.0052	181.570	6.661
135	5683	0.920	0.0066	139.290	7.615
136	5697	0.822	0.0087	94.366	9,378
137	570B	0.834	0.0073	113.585	8.483
138	5757	0.855	0.0062	138.019	6.484
139	5837	0.824	0.0070	117.549	7.904
140	5 865	0.787	0.0084	94.003	7,291
141	5909	0.832	0.0073	114.010	8.426
142	5921	0.868	0.0058	149.323	7.399
143	5997	0.831	0.0075	111.554	8.542
144	6048	0.902	0.0049	183.926	6.377
145	6063	0.936	0,0059	159,359	7.139
146	6078	0.790	0.0081	97,249	8.276
147	6088	0.847	0.0064	132.493	7,451
148	6098	0.896	0.0051	174.783	6.672
149	6104	0.829	0.0079	105.176	8.662
150	6218	0.919	0.0067	137.040	7.591
151	6266	0.784	0.0083	95.067	8.506
152	6282	0.840	0.0070	119.609	8.093
153	0300	0.039	0.0005	125.190	7.028
154	63.32	0.795	0.0082	97.401	6.665
100	6304	0.000	0.0004	134.420	0.214
150	6400	0.819	0.0059	147.028	6 761
157	6549	0.878	0.0067	131 895	7 925
150	6540	0.810	0.0088	92 351	9 4 1 4
160	6550	0.933	0.0050	154 909	7 744
161	6551	0.939	0.0057	163.675	7 049
162	6556	0.676	0.0059	149.815	6.311
163	6557	0.805	0.0081	99.937	6.522
164	6571	0.853	0.0066	129.989	7.976
165	6594	0.825	0.0069	119.878	7.572
166	6635	0.940	0.0057	164.480	7.023
167	6643	0.806	0.0075	107.665	7.909
168	6655	0.871	0.0063	137.559	7.437
169	6664	0.860	0.0068	126.071	8.204
170	6676	0.850	0.0066	128.933	6.810
171	6737	0.857	0.0063	136.454	6.321
172	6744	0.847	0.0064	133.091	7.633
173	6745	0.867	0.0061	143.359	7.627
174	6755	0.766	0.0096	79.834	9.772
175	6761	0.876	0.0050	145.010	7.442

	176	6763	0.862	0.0068	125.902	7.562
	177	6792	0.839	0.0067	125.429	6.661
	178	6838	0.832	0.0070	119.358	7.550
	179	6971	0.928	0.0069	133.574	7,110
	180	6989	0.830	0.0068	122.133	7.724
	181	6994	0.833	0.0067	123.990	7.488
	182	7010	0.819	0.0073	111.734	6.854
	183	7044	0.853	0.0063	134.842	6.448
	184	7049	0.934	0.0050	154.531	7.123
	185	7051	0.855	0.0063	135.843	6.344
	186	7069	0.774	0.0092	84.610	6.793
	187	7073	0.793	0.0079	100.362	8.083
	188	7093	0.916	0.0070	131.381	7.584
	189	7097	0.936	0.0060	157.322	7.067
	190	7100	0.875	0.0062	140.832	7.622
	191	7126	0.864	0.0062	138.453	7.570
	192	7127	0.920	0.0060	154.025	7.322
	193	7192	0.882	0.0054	164.018	6.847
	194	7198	0.951	0.0053	181.331	6.676
	195	7271	0.829	0.0074	111.857	8.497
	196	7314	0.832	0.0077	108.699	B.573
	197	7346	0.833	0.0070	118.362	8.116
	198	7418	0.810	0.0079	102.745	8.723
	199	7422	0.828	0.0068	121.090	7.697
	200	7444	0.835	0.0070	119.160	8.226
	201	7450	0.832	0.0075	110.486	8.020
	202	7463	0.828	0.0075	110.475	7.717
	203	7480	0.946	0.0055	173.602	6.825
	204	7564	0.853	0.0065	131.336	7.599
	205	7583	0.844	0.0065	129.407	7.025
	206	7603	0.840	0.0066	128.032	6.814
	207	7606	0.869	0.0057	152.570	7.060
	206	7626	0.918	0.0069	133.345	7,498
	209	7637	0.870	0.0060	144.530	6.347
	210	7633	0.794	0.0082	87.411	0.(42
	211	7009	0.040	0.0075	111.003	8.507
_	212	7794	0.002	0.0074	10.422	7.045
•	210	7800	0.837	0.0056	105.671	7 603
	215	7807	0.657	0.0000	142.608	6 832
	216	7865	0.927	0.0063	147 980	7 408
	217	7884	0.911	0.0070	130 835	8 195
	218	7897	0.806	0.0076	106.010	7.267
	219	7914	0.854	0.0064	134.511	7.148
	220	7942	0.955	0.0052	182.686	6.499
	221	7975	0.886	0.0061	146,114	6.575
	222	8004	0.937	0.0056	165 935	7.242
	223	8112	0.857	0.0060	143.444	7.161
	224	8115	0.906	0.0065	139.695	7.699
	225	8145	0.927	0.0064	145.141	7.312
	226	8153	0.936	0.0060	156.859	7.078
	227	8169	0.644	0.0066	128.299	6.591
	228	8195	0.798	0.0078	102.578	6,173
	229	6208	0.922	0.0066	140.165	7.513
	230	8228	0.948	0.0054	175.635	6.792
	231	8239	0.795	0.0087	91.156	9.305
	232	8265	0.860	0.0061	142.126	7.512
	233	8289	0.809	0.0087	93.381	9.337
	234	6315	0.831	0.0070	118.880	6.572
	235	8329	0.873	0.0056	154.823	6.769
	236	8333	0.803	0.0076	105.202	8.044
	237	8334	0.875	0.0055	158.440	6.439
	238	8342	0.830	0.0073	113.774	8.396
	239	8378	0.796	0.0078	101.440	7,836
	240	8384	0.809	0.0077	105.449	7.058
	241	6439	0.854	0.0062	137.645	/ 283
	242	8505	0.843	0.0065	129.856	6.989
	243	8535	0.836	0.0066	12/24/	7.389
	244 376	8554	0.074	0.0054	100.107	0.000
	£40	0004	U.824	0.000	144 900	1.012

•

.

-

246	8557	0.849	0.0063	135.572	7.220
247	8579	0.663	0.0062	138.936	7.538
248	8592	0.855	0.0061	140.941	6.832
249	8 668	0.880	0.0053	165.345	6.739
250	8692	0.849	0.0067	127.234	6.202
251	8722	0.852	0.0063	135,290	6.699
252	8/43	0.003	0.0063	¥7,190	0.334
254	Rana	0.845	0.0073	112 412	7 364
255	8938	0.852	0.0061	139 557	7 356
256	8941	0.839	0.0073	114.308	5.990
257	8942	0.931	0.0062	151,409	7.268
258	8964	0.834	0.0069	121.374	8.007
259	8965	0.851	0.0062	137.151	7.099
260	9035	0.956	0.0051	169.078	6.524
261	9056	0.835	0.0068	123.239	7,705
262	9090	0.844	0.0066	128.874	6.723
263	9098	0.875	0.0058	151,330	7.215
204	9110	0.871	0.0056	106.737	7.020
200	9112 8114	0.791	0.0081	90.292	7.402 8.648
267	9210	0.775	0.0088	88 531	0.040 8 153
268	9221	0.836	0.0070	119.585	6.342
269	9240	0.817	0.0084	97.432	9.169
270	9242	0.865	0.0061	143.094	7.274
271	9263	0.836	0.0067	125.294	7.344
272	9270	0.873	0.0059	146.795	7.358
273	9303	0.763	0.0093	81.649	7.249
274	9322	0.810	0.0074	108.841	7.317
275	9443	0.825	0.0071	116.448	6.906
276	9486	0.793	0.0083	95.028	8.937
2//	9522	0.863	0.0061	141.651	7.379
2/8	9524	0.015	0.0080	101.940	0.002
279	9567	0.936	0.0056	162.447	6 993
281	9589	0.799	0.0088	90.661	9,400
282	9605	0.923	0.0065	142.954	7.539
283	9607	0.935	0.0060	156.343	7.091
284	9696	0.812	0.0074	109.232	7.622
285	9705	0.914	0.0044	205.800	6.372
286	9749	0.943	0.0056	168.562	6.896
287	9775	0.956	0.0051	168.402	6.527
268	9779	0.825	0.0069	118.977	7.776
289	9792	0.919	0.0073	126.765	7.389
290	9807	0.797	0.0084	95.344	9.018
291	2003	0.924	0.0062	132 774	7.747
292	9010	0.938	0.0060	155 738	6 893
294	8865	0.933	0.0060	155.504	7.205
295	9875	0.858	0.0061	140.639	6.601
296	9879	0.817	0.0081	100.777	8.976
297	9882	0.928	0.0062	149.704	7.372
298	9913	0.952	0.0049	193.175	6.878
299	9917	0.843	0.0070	119.766	6.171
300	9961	0.831	0.0069	121.204	7. 68 6
OCR					
(he #	10 #	Fet Variability	Std Erme	Tetalicho	
4	19	0719	0.0094	76 642	A 1049
2	104	0.775	0.0091	84,933	8.636
3	120	0.753	0.0126	59.978	9.797
- 4	164	0.769	0.0101	76.032	9.361
5	242	0.764	0.0112	68.479	9.703
6	341	0.777	0.0092	64,782	8.553
7	401	0.758	0.0110	69.070	9.751
8	415	0.757	0.0126	59.899	10,199
9	503	0.765	0.0111	68.749	9.716
10	614	0.775	0.0095	80.529	8.810
11	621	0.756	0.0125	60.495	9.999

4

:
--

-

.

12	686	0.749	0.0138	54.258	10.320
13	754	0.747	0.0100	74,795	9,163
44	779	0.771	0.0101	75 075	0.150
	775	0.774	0.0101	13.876	8.005
15	862	0.754	0.0119	63.375	10.190
16	877	0.764	0.0113	67.812	9.776
17	916	0.771	0.0109	70.684	9.734
18	952	0.768	0.0115	66.797	9.998
19	1245	0.756	0.0128	59.091	10.258
20	1309	0 772	0.0090	85 588	8 576
	4264	0 769	0.0102	75 295	0 379
21	1304	0.700	0.0102	13.233	0.370
22	13/4	0.776	0.0092	84.694	6.658
23	1423	0.775	0.0093	83.564	6.695
24	1485	0.752	0.0121	62.968	10,111
25	1607	0.738	0.0089	82.500	8.270
26	1684	0.760	0.0171	62.991	10 002
	4747	0.781	0.0100	77 695	0 226
21	1741	0.701	0.0100	77.800	·
28	1749	0.769	0.0113	66.077	9.694
29	1803	0.749	0.0136	55.045	10.336
30	1872	0.750	0.0127	59.161	9.697
31	1913	0.774	0.0094	82.853	8.939
32	2033	0 77 1	0.0106	72.930	9.574
47	2160	0.754	0.0121	57 740	10 975
30	2103	0,754	0.0131	01.110	10.273
34	21/3	0.773	0.0092	84.181	0.817
35	2283	0.737	0.0099	74.739	8.261
36	2371	0.778	0.0096	80.715	9.100
37	2375	0.756	0.0103	73.476	9.222
38	2444	0,775	0.0124	62.632	10,209
70	2457	0.802	0.0001	87 747	8 220
40	2407	0,002	0.0031	74.565	0.220
	2501	0.765	0.0102	74.005	0.552
41	2587	0,783	0.0107	72.910	9.597
42	2594	0.750	0.0092	81.145	8,781
43	2687	0.765	0.0110	69.582	9,700
44	2814	0.754	0.0086	87.245	7,925
45	2823	0 793	0.0123	64 387	0 660
10	2020	0.773	0.0000	64.00 <i>1</i>	B 607
40	3033	0.773	0.0000	80.314	0.007
47	3084	0.757	0.0087	87.452	8.280
48	3246	0.739	0.0092	80.311	8,394
49	3304	0.742	0.0148	50.130	10.309
50	3346	0.601	0.0105	76.628	9.260
51	3358	0.763	0.0113	67.314	9,806
52	3350	0.758	0.0102	74 473	6 312
	2260	0.700	0.0102	75.00/	5.512
53	3361	0.732	0.0097	75.234	8,838
54	3364	0.745	0.0142	52.567	10.196
55	3394	0.770	0.0104	74.188	9,466
56	3411	0.772	0.0108	71.631	9.704
57	3437	0.754	0.0106	71.283	9.428
6.R	1501	0 731	0.0004	78 213	8 450
50	3333	0.751	0.0034	70.215	0.409
29	3606	0.769	0.0090	65.279	0.638
60	3702	0,773	0.0102	75,942	9.392
61	3709	0.776	0.0109	71.117	9,438
62	3725	0.757	0.0127	59.444	10.239
63	3753	0.775	0.0104	74,931	9,478
64	3821	0 767	0.0092	R3 227	8 858
~	20021	0,700	0.0032	60.000	40.470
65	3906	0.736	0.0123	00.080	10.176
66	3921	0.767	0.0093	82,556	8,786
67	3940	0.763	0.0082	92.613	7.931
68	3972	0.730	0.0098	74.535	5.877
69	4166	0.749	0.0087	66,215	8.332
70	4183	0 746	0.0100	74 397	9 115
74	4965	0.755	0.0000	87 700	9.11V
	4 ∠53	0./00	0.0088	01,230	0.001
72	4270	0.756	0.0124	60,906	9.954
73	4347	0.742	0.0087	85,781	0.192
74	4439	0.769	0.0113	68.165	9.901
75	4453	0.753	0.0125	60.412	9.840
76	4537	0.737	0.0101	73 122	9.017
, U 77	4620	0.707	0.0405	60 664	9 703
11	4536	9,121	0.0105	03,004	D./93
78	4542	0.763	0.0111	66.613	9,600
79	4756	0,756	0.0120	63.055	9.872
80	4873	0.747	0.0092	81,106	8.035
81	4920	0.754	0.0089	84.622	8.495

~

:

.

82	4945	0.774	0.0105	73.590	9.566
83	4970	0.769	0.0100	77.118	9.230
84	5057	0.766	0.0114	67.516	9.854
85	5087	0.760	0.0120	63.311	9.948
86	5096	0.765	0.0118	64.645	10.072
87	5106	0.716	0.0107	67.325	9.110
68	5182	0.770	0.0105	73.520	9.503
89	5204	0.763	0.0113	67.397	9.741
90	5255	0.763	0.0098	77.658	9.200
91	5279	0.768	0.0091	84.436	8.030
92	5284	0.775	0.0101	76.962	9.345
93	5296	0.750	0.0134	55.889	10.090
94	5341	0.806	0.0093	85.284	8.676
95	5413	0.769	0.0084	91.619	8.349
96	5507	0.770	0.0111	69.514	9.757
97	5566	0.732	0.0090	81.146	8.376
98	5590	0.778	0.0107	72.650	9.638
89	5604	0.749	0.0089	64.617	8.307
100	5683	0.733	0.0086	84.918	8.122
101	5697	0.756	0.0124	60.794	10.038
102	5708	0.760	0.0114	66,417	9.661
103	5757	0.759	0.0085	89.658	7.911
104	5837	0.767	0.0107	71,743	9.518
105	5865	0.778	0.0110	70.768	9.777
106	5909	0.769	0.0109	70.614	9.678
107	5921	0.771	0.0086	90,195	8.440
108	5997	0.754	0.0126	59.918	9,965
109	6048	0.766	0.0092	83.584	7,175
110	6078	0.759	0.0116	65.359	10.133
111	6083	0.757	0.0093	B1.193	8.399
112	6088	0.765	0.0087	68.469	8.521
113	6098	0.751	0.0094	79.977	8.642
314	6104	0.758	0.0118	64.346	9.698
115	6218	0.747	0.0080	93.698	7.806
110	6260	0.763	0.0121	03.124	10.251
117	6262	0.753	0.0103	73.039	9.200
110	0340	0.735	0.0100	/3.653	0.949
119	6363	0.769	0.0086	09.000	6,193 7 844
120	6400	0.762	0.0077	80.000	7.053
121	6543	0.759	0.0088	81 220	7,903
123	6549	0.751	0.0035	65 321	10 3 27
124	6550	0.713	0.0106	66 965	B 010
125	6556	0.781	0.0089	87 766	R 188
126	6571	0.771	0.0000	72 204	9 352
127	6594	0 786	0.0104	75 454	9 294
128	6643	0.776	0.0110	70.354	9.815
129	6655	0.739	0.0097	76,165	6.857
130	6664	0.764	0.0103	74,037	9,104
131	6744	0.777	0.0092	84.261	8.897
132	6745	0.775	0.0093	83.274	8.928
133	6755	0.735	0.0153	48.101	10.781
134	6792	0.747	0.0099	75.506	8.446
135	6838	0.777	0.0104	74.868	9,491
136	6989	0.741	0.0102	72.777	9.250
137	6994	0.712	0.0109	65.076	9.143
138	7010	0.781	0.0094	83.431	8.961
139	7051	0.739	0.0097	76.545	8,145
140	7069	0.768	0.0101	76.242	9.289
141	7073	0.771	0.0117	65.947	10.141
142	7093	0.720	0.0097	74.513	8.131
143	7100	0.762	0.0087	67,550	8.512
144	7123	0.759	0.0099	76.654	9 <u>.22</u> 6
145	7126	0.762	0.0091	84.202	8.733
146	7127	0.734	0.0097	75.321	8.332
147	7192	0.764	0.0092	82.878	8.783
148	7271	0.772	0.0107	72.011	9.643
149	7314	0.752	0.0113	66.600	9.749
150	7346	0.769	0.0107	71.613	9.607
151	7418	0.764	0.0116	66.100	9.964

,

-

			•		
152	7422	0.772	0.0109	71.131	9.744
153	7444	0.766	0.0106	72.433	9.454
154	7450	0.770	0.0102	75.823	9.290
155	7463	0.761	0.0097	78.642	8.860
156	7480	0.737	0.0081	90.666	7.423
157	7564	0.746	0.0094	79.244	6,791
158	7583	0.734	0.0092	79 755	B 413
159	7603	0 750	0.0085	87.064	8 204
160	7606	0 779	0.0001	85 789	8 655
100	7600	0.173	0.0091	79 504	0.000
101	7020	0.734	0.0093	70.091	0.330
192	7037	0.775	0.0090	00.132	8.375
103	7655	0.759	0.0125	60.940	10.180
164	7689	0.755	0.0109	69.131	9.643
165	7791	0.764	0.0103	74.382	9,165
166	7800	0.781	0.0106	73.603	9.535
167	7865	0.736	0.0087	84.515	8.193
168	7697	0.771	0.0108	71.626	9.656
169	7914	0.729	0.0091	80.566	6.339
170	8112	0.776	0.0094	\$3.008	8.651
171	8115	0.765	0.0088	67.352	8.582
172	6169	0.736	0.0089	82.721	6.272
173	8195	0.763	0.0119	64.265	10.012
174	8228	0.747	0.0084	88.654	8.281
175	8239	0.748	0.0140	53.382	10.508
176	8265	0.781	0.0093	64.110	6.860
177	8289	0.752	0.0133	56.77 5	10.278
178	8329	0.758	0.0089	84,995	8.644
179	8333	0.770	0.0117	66 033	10 111
180	8334	0.740	0.0100	74 097	8.002
181	8347	0.771	0.0108	71 189	0.734
187	8378	0.770	0.0100	62 602	8.131
102	0370	0.730	0.0110	36 503	8.313
100	0304	0.741	0.0097	76.503	0.418
184	8421	0.792	0.0132	60.223	10.208
185	8439	0.756	0.0091	83.407	8.686
100	6505	0.804	0.0095	04.040	6.766
187	8535	0.761	0.0091	83.325	8.721
188	8551	0.753	0.0076	98.572	7.723
169	8554	0.734	0.0093	78.713	8.171
190	8579	0.765	0.0089	85.988	8.672
191	B592	0.775	0.0091	84.907	8.343
192	8668	0.784	0.0087	89.700	8.537
193	8692	0.766	0.0105	72.809	8.253
194	8722	0.744	0.0092	81.182	8.178
195	8743	0.756	0.0123	61.574	9.977
196	8806	0.772	0.0097	79.837	8.880
197	8909	0.781	0.0101	77.194	9.330
198	8938	0.778	0.0092	84.604	8.879
199	8941	0.769	0.0090	B5.494	5.700
200	8942	0.717	0.0097	73.854	7.678
201	8964	0.765	0.0109	70.043	9.575
202	8965	0.771	0.0084	91.921	8.308
203	9056	0,755	0.0098	77.306	8.929
204	9090	0.746	0.0086	66.371	8,286
205	9098	0739	0.0090	82.556	8 455
205	9110	0 779	0.0085	91 444	6.470
200	0112	0.774	0.0113	68 657	9.918
200	0112	0.754	0.0131	67 644	10 353
200	0710	0.756	0.0118	64 046	10.252
203	9210	0.750	0.0110	50 107	10.100
210	8240	0.752	0.0127	03.107	10.073 B occ
211	9242	0.700	0.0082	70 /07	0.000
212	8203	0.749	0.0096	10.401	6.956
213	9303	0.775	0.0107	72.434	¥.663
214	9322	0.757	0.0096	79.116	8.927
215	9443	0.728	0.0097	/5.282	8.280
216	9486	0.759	0.0129	59.098	10,447
217	9522	0.766	0.0096	79.590	9.082
218	9524	0.752	0.0134	55.943	10.348
219	9562	0.753	0.0077	97.905	7.619
220	9589	0.783	0.0145	53.962	10,720
221	9605	0.726	0.0090	80,711	8.170

1

. .

222	9666	0.744	0.0094	79.438	8.244
223	9696	0.735	0.0099	74.077	9.000
224	9705	0.757	0.0097	78.441	8.042
225	9749	0.758	0.0074	102.038	7.444
226	9779	0.770	0.0100	77,440	9.253
227	9807	0.765	0.0132	58.023	10.202
728	9810	0 745	0.0085	88 169	8 241
229	9855	0 732	0.0087	84 64B	7 917
230	0875	0.747	0.0085	89 216	7.07/
224	0970	0.747	0.0065	67 434	(,D47
201	0079	0.760	0.0113	07.121	9.000
232	900Z	0.741	0.0094	76.604	1.0/2
233	8917	0.735	0.0103	71.139	8.271
234	9901	0.749	0.0106	70,962	9.053
BCS					
Obe #	ا ت #	Est Vadability	Std East	Tetolielic	
4	10	C BOA	0.0070	136 960	AND BLOCK
,	10	0.034	0.0070	120.905	0.540
~	20	0.834	0.0004	111.406	8.040
3	104	0.927	0.0076	142.106	8.318
4	120	0.931	0.0093	100.412	10.453
5	164	0.947	0.0084	112.844	10.411
6	242	0.938	0.0085	111.081	10.366
7	336	0.853	0.0067	127.977	7.675
8	341	0.933	0.0078	119.655	9.663
9	401	0.955	0.0092	103.893	10,977
10	415	0.954	0.0097	98.390	11.135
11	503	0.943	0.0087	108.885	10.534
12	523	0.889	0.0070	126.161	8.803
13	614	0.938	0.0081	115.536	9.789
14	621	0.942	0.0092	102.705	10.696
15	659	0.900	0.0074	121,492	8.486
16	686	0.945	0.0102	93,102	11.032
17	754	0 947	0.0088	107 851	10 573
18	779	0.924	0.0077	119 856	8.615.
19	879	0.867	0.0055	159 089	7 815
20	857	0.067	0.0005	104 323	11 767
20	002 877	0.965	0.0095	101.323	11.232
21	D//	0.945	0.0089	100.310	10.645
22	910	0,941	0.0083	133.700	10.210
23	952	0.900	0.0091	104.513	10.904
24	1225	0.883	0.0060	147.127	8.414
25	1245	0.956	0.0103	93.070	11.324
26	1309	0.935	0.0078	119.625	9,960
27	1364	0.951	0.0086	110.989	10.491
28	1374	0.925	0.0074	124.786	9.688
29	1423	0.934	0.0078	119,156	9.730
30	1484	Q.881	0.0056	156.314	B.141
31	1485	0.953	0.0094	101.650	10.997
32	1607	0.920	0.0075	123.472	9.458
33	1684	0.960	0.0103	92.898	11.459
34	1747	0.940	0.0081	115.815	9.930
35	1749	0,949	0.0088	108.279	10.655
36	1803	0.951	0.0106	89.364	11.284
37	1872	0.924	0.0093	99.107	10.285
38	1913	0.929	0.0078	119,138	9,944
39	2007	0.901	0.0065	138 565	8 698
40	2033	0.943	0.0083	113 908	10 335
41	2000	0.045	0.0106	90.407	11.000
41	2173	0.307	0.0100	107 075	0 507
42	2173	0.910	0.0072	127.076	9.527
43	2203	0.833	0.0081	115.042	¥.061
44	2371	0.932	0.0076	121.669	8.783
45	2375	0.953	0.0088	106.486	10.499
46	2386	0.893	0.0065	138.310	8.752
47	2390	0.691	0.0069	128.943	8.809
48	2444	0.952	0.0092	103.729	10.894
49	2467	0.928	0.0077	120.191	9.400
50	2501	0.938	0.0087	107.867	9.530
51	2587	0.937	0.0080	116.579	10.137
52	2594	0.932	0.0079	117.384	10.080
53	2687	0.957	0.0097	98.995	11.168

54	2814	0.907	0.0067	135.325	8.752
55	2823	0.935	0.0092	102,219	10.532
56	3033	0 928	0.0075	123 44 1	9.610
57	3084	0.926	0.0075	123 104	9.680
50	3745	0.011	0.0074	120.104	9,000
50	3240	0.911	0.0074	123.307	8.000
29	3304	0.340	0.0115	82.579	11.400
60	3329	0.862	0.0072	119.257	8.060
61	3346	0.929	0.0075	123.648	9.676
62	3358	0.941	0.0086	109.378	10.472
63	3359	0.939	0.0084	112.335	10.397
64	3361	0.937	0.0083	112.825	10.243
6 5	3364	0.943	0.0111	85.075	11.186
6 6	3394	0.934	0.0079	117.859	10.053
67	3411	0.949	0.0087	109.608	10,580
68	3437	0.945	0.0090	104.523	10.767
69	3593	0.922	0.0076	120.713	9,570
70	3506	0.904	0.0065	140.101	8 588
71	3702	0.942	0.0084	111.975	10.396
72	3709	0.955	0.0092	104 293	10 281
73	1705	0.055	0.0100	05 213	11 202
7.	3123	0.854	0,0100	9J.2 13	11.202
/4	3753	0.949	0.0087	109.250	10.001
75	3782	0.852	0.0076	112.383	7.586
76	3821	0.933	0.0078	119.875	0.985
17	3908	0.954	0.0096	99.124	11.085
78	3921	0.937	0.0084	111.288	10.082
79	3923	0.915	0.0075	121.997	8.797
80	3940	0.910	0.0067	136.263	8.965
81	3972	0.933	0.0081	115.061	10.086
82	3997	0.915	0.0074	123.366	6.680
83	4166	0.910	0.0072	126.532	9.043
84	4183	0.924	0.0076	121.810	9.804
85	4255	0.919	0.0071	129.770	9.398
86	4256	0.876	0.0073	120.242	8.470
87	4270	0.943	0.0097	97.439	10 853
88	4278	0 884	0.0063	140 840	B 452
80	4284	0.870	0.0069	126 708	8 251
60	4247	0.070	0.0067	124.036	0.450
50	1041	0.910	0.0007	134.920	9,100
81	4005	0.005	0.0004	138.230	0.404
82	4385	806.0	0.0055	15/ 292	7,816
93	4439	0.947	0.0085	110.897	10.495
94	4453	0.932	0.0091	101.971	10.452
95	4537	0.944	0.0085	110.935	10.282
96	4538	0.943	0.0088	107.505	10.290
97	4542	0.940	6800.0	105.397	10.581
98	4653	0.855	0.0064	132.864	7.583
99	4756	0.939	0.0090	104.259	10.580
100	4818	0.937	0.0080	117,733	9,899
101	4834	0.873	0.0068	129.132	8.306
102	4873	0.812	0.0076	1 19.568	8.817
103	4920	0.923	0.0075	123.377	9.474
104	4937	0.885	0.0057	155.510	8.040
105	4945	0.949	0.0086	110.076	10.551
106	4970	0.923	0.0074	124.764	9.671
107	5057	0.952	0.0092	102.978	10.906
108	5066	0.941	0.0084	111 995	10 130
100	6087	0.046	0.0093	101 221	10 800
440	5000	0.050	0.0005	00.050	10.005
110	2030 5400	0.900	0.0095	¥3.830	10.776
111	0100 64/0	0.841	0.0000	107.100	10.400
112	5113	0.909	0.0088	103.544	8.821
113	5182	0.947	0.0087	109.204	10.617
114	5204	0.945	0.0092	103.332	10.748
115	\$255	0.932	0.0077	121.242	9.851
116	\$279	0.923	0.0076	121.224	9.194
117	5284	0.940	0.0082	115.030	10.233
11B	5296	0.937	0.0104	90.406	10.754
119	5341	0.912	0.0069	132.560	9.275
120	5413	0.918	0.0071	130.003	9.396
121	5417	0.872	0.0064	136.147	8.164
122	\$43B	0.913	0.0069	133.879	9.168
123	5507	0.964	0.0093	104 109	10 814

:

•

124

5525

0.876

148.045

8.102			
B.45 9			
345			
8.345			
8.934			
10.412			
9.222			
7.831			
8.794			

125	5563	0.880	0.0070	125.834	8.459
126	5566	0.914	0.0072	126.207	9.345
127	5673	0.910	0.0066	137.162	8.934
128	5590	0.950	0.0086	111.066	10.412
129	5604	0.918	0.0072	128.205	9.222
130	5656	0.685	0.0061	144.086	7,831
131	5683	0.697	0.0064	141.262	8.794
132	57097	0.840	0.0086	108 133	10.927
134	5757	0.891	0.0063	141 322	8.007
135	5837	0.941	0.0088	107.630	10.536
136	5865	0.954	0.0088	108.719	10.543
137	5909	0.945	0.0087	108.701	10.581
138	5921	509.0	0.0069	131.904	9.234
139	5997	0.939	0.0095	98.759	10.708
140	6048	0.905	0.0070	128.473	8.496
141	6063	0.874	0.0069	126.274	8.357
142	6083	0.949	0.0092	105.060	10.803
144	6066	0.924	0.0074	124.076	9.727
145	609B	0.915	0.0071	129.861	9.008
146	6104	0.933	0.0089	104,698	10.412
147	6218	0.904	0.0066	136.939	6.979
148	6266	0.960	0.0096	100.510	11.166
149	6282	0.935	0.0087	107.984	10.419
150	6306	0.940	0.0081	116,156	10.210
151	6332	0.959	0.0096	99.612	11.205
152	6343 6104	0.919	0.0072	128.133	9,162
154	6499	0.915	0.0070	131 698	9 182
155	6543	0.895	0,0069	129.384	8,948
156	6549	0.948	0.0101	94.093	11.094
157	6550	0.865	0.0065	132.635	8.018
158	6556	0.917	0.0086	105.266	8.857
159	6557	0.936	0.0081	115,436	9.993
160	6571	0.921	0.0075	122.879	9.704
161	6594 Ecot	0.947	0.0085	111.669	10.134
162	6643	0.005	0.0060	147.007	5.212 10.730
164	6655	0.918	0.0077	119,887	9 708
165	6664	0.920	0.0080	115.813	9.853
166	6737	0.910	0.0070	131.067	8.787
167	6744	0.934	0.0078	119.776	9.980
168	6745	0.924	0.0074	124.511	9.691
169	6755	0.951	0.0110	86.611	11.374
170	6761	0.938	0.0080	117.757	10.019
171	6792	0.931	0.0083	112.142	9.528
172	6071	0.842	0.0084	110.100	6 759
173	6989	0.933	0.0079	118.568	10.020
175	6994	0.928	0.0078	119.625	9.946
176	7044	0.907	0.0069	131.019	9.033
177	7049	0.872	0.0066	132.984	8.230
178	7051	0.923	0.0081	113.803	8.340
179	7069	0.949	0.0085	112.030	10.388
180	7073	0.959	0.0091	105.475	10.869
181	7093	0.00/	0.0069	120.00/ 127 161	0.709 0.749
182	7123	0,947	0.0086	110.510	0./40 10.587
184	7126	0.929	0.0079	118.091	10.023
185	7127	0.915	0.0074	123.910	8.912
186	7192	808.0	0.0066	137.789	9.043
187	7198	0.866	0.0070	123.814	8.083
168	7271	0.943	0.0083	113.773	10.325
189	7314	0.951	0.0094	101.480	10.998
190	7418	0.951	0.0092	103.014	10.892
191	7422	0.947	0.0085	111.632	10.445
197	7450	0.830	0.0003	116 316	10.201
	. 400	0.002	0.0000		

..

•

104					
104	7463	0.928	0.0084	110.275	10.182
195	7480	0.874	0.0063	138.987	8.214
196	7564	0.927	0.0079	115.868	10.008
197	7583	0.929	0.0079	117.936	9.883
198	7603	0.916	0.0070	131.586	9.316
199	7606	0.907	0.0067	134.961	9.136
200	7626	0.917	0.0074	123.656	9.197
201	7637	0.925	0.0075	123.404	9.355
202	7655	0.956	0.0100	95.506	11.242
203	7689	0.951	0.0092	103.727	10.916
204	7791	0.925	0.0082	112.951	10.021
205	7794	0.871	0.0062	140.255	8,114
206	7600	0.952	0.0087	109.943	10.382
207	7807	0.902	0.0083	108.871	9.487
208	7865	0.898	0.0065	139,242	8.852
209	7897	0.947	0.0085	111.131	10.512
210	7914	0.917	0.0077	119.686	9.671
211	7942	0.641	0.0056	151.386	7.037
212	8004	0.890	0.0062	144.337	8.393
213	8112	0.927	0.0077	120.505	9.448
214	B115	0.913	0.0072	127.072	9,238
215	8145	0 872	0.0075	115 629	8.443
216	8153	0.872	0 0063	137 854	8,168
217	8195	0.957	0.0099	96 357	11.255
218	8208	0.885	0.0072	123.079	A 655
210	8278	0.000	0.0071	154 337	8 377
220	8230	0.003	0.0000	01 654	11 228
220	8265	0.927	0.0072	177 747	6 344
222	8289	0.950	0.0103	91 970	11 416
222	8320	0.936	0.0070	131 653	9 309
223	8223	0.910	0.0070	107 510	8.308 10 095
224	8224	0.955	0.0093	102.019	9 820
220	8343	0.914	0.0085	110.023	0.030
220	0.342	0.940	0.0003	01.470	10.400
221	03/0	0.904	0.0099	97.707	11.419
220	0.304	0.947	0.0086	108.137	10.505
229	8421	0.935	0.0090	104,645	10.322
230	8439	0.922	0.0075	123.224	9.730
231	8505	0.939	0.0081	115.695	9.966
232	8535	0.924	0.0073	125.908	9.631
233	8551	0.899	0.0063	143.786	8.730
233 234	8551 8554	0.899 0.884	0.0063 0.0068	143.786 129.333	8.630
233 234 235	8551 8554 8579	0.899 0.884 0.924	0.0063 0.0068 0.0074	143.786 129.333 125.167	8.730 8.630 9.678
233 234 235 236	8551 8554 8579 8592	0.899 0.884 0.924 0.923	0.0063 0.0068 0.0074 0.0075	143.786 129.333 125.167 122.438	8.730 8.630 9.578 9.231
233 234 235 236 237	8551 8554 8579 8592 8668	0.899 0.884 0.924 0.923 0.892	0.0063 0.0068 0.0074 0.0075 0.0059	143.786 129.333 125.167 122.438 152.230	8.730 8.630 9.578 9.231 8.308
233 234 235 236 237 238	8551 8554 8579 8592 8668 8692	0.899 0.884 0.924 0.923 0.892 0.926	0.0063 0.0068 0.0074 0.0075 0.0059 0.0089	143,786 129,333 125,167 122,438 152,230 104,301	8.730 8.630 9.578 9.231 8.308 9.143
233 234 235 236 237 238 239	8551 8554 8592 8668 8692 8722	0.899 0.884 0.924 0.923 0.892 0.926 0.926	0.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0089	143.786 129.333 125.167 122.438 152.230 104.301 119.172	8.730 8.630 9.578 9.231 8.308 9.143 9.576
233 234 235 236 237 238 239 240	8551 8554 8579 8592 8668 8692 8722 8743	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.926 0.945	0.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0089 0.0078 0.0097	143.786 129.333 125.167 122.438 152.230 104.301 119.172 87.393	8,730 8,630 9,678 9,231 8,308 9,143 9,576 10,911
233 234 235 236 237 238 239 240 241	8551 8554 8579 8592 8668 8692 8722 8743 8806	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.926 0.945 0.928	0.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0097 0.0097	143.786 129.333 125.167 122.438 152.230 104.301 119.172 87.393 124.478	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600
233 234 235 236 237 238 239 240 241 242	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.945 0.945 0.928 0.944	0.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0097 0.0097 0.0075 0.0088	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697	8,730 8,630 9,678 9,231 8,308 9,143 9,576 10,911 9,600 10,119
233 234 235 236 237 238 239 240 241 242 243	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.926 0.945 0.928 0.945 0.928 0.944 0.920	0.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0097 0.0075 0.0088 0.0071	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185	8.730 8.630 9.578 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304
233 234 235 236 237 238 239 240 241 242 243 244	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.926 0.945 0.945 0.928 0.944 0.920 0.927	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0097 0.0075 0.0088 0.0071 0.0074	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616
233 234 235 236 237 238 239 240 241 242 243 244 245	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0097 0.0075 0.0088 0.0097 0.0074 0.0074 0.0068	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459
233 234 235 236 237 238 239 240 241 242 243 244 245 246	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.945 0.945 0.928 0.944 0.920 0.927 0.879 0.879 0.942	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0097 0.0075 0.0088 0.0071 0.0074 0.0068 0.0088	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.897 130.185 124.670 130.021 107.238	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584
233 234 235 236 237 238 239 240 241 242 243 244 245 246 247	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.945 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0088 0.0071 0.0074 0.0068 0.0074	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701
233 234 235 236 237 238 239 240 241 242 243 244 245 246 247 248	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056	0.899 0.884 0.924 0.923 0.926 0.926 0.945 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.930	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0075 0.0074 0.0068 0.0088 0.0074 0.0088	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247
233 234 235 236 237 238 239 240 241 242 243 244 245 244 245 246 247 248 249	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090	0.899 0.884 0.924 0.923 0.926 0.926 0.945 0.945 0.945 0.928 0.944 0.920 0.827 0.879 0.942 0.926 0.926 0.930 0.920	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0074 0.0068 0.0074 0.0068 0.0074 0.0088 0.0074	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881 122.552	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473
233 234 235 236 237 238 239 240 241 242 243 244 245 244 245 246 247 248 249 250	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8942 8964 8965 9056 9090 9098	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.930 0.920 0.920 0.920 0.912	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0088 0.0071 0.0074 0.0068 0.0088 0.0088 0.0074 0.0085 0.0075 0.0005 0.0075	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881 122.552 132.685	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269
233 234 235 236 237 238 239 240 241 242 243 244 245 245 246 247 248 249 250 251	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8942 8964 8965 9056 9090 9098 9110	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.926 0.930 0.920 0.920 0.920	2.2063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0088 0.0071 0.0074 0.0068 0.0074 0.0088 0.0074 0.0085 0.0075 0.0089 0.0075	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362
233 234 235 236 237 238 239 240 241 242 243 244 245 245 246 245 246 247 248 249 250 251 252	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.945 0.926 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.930 0.920 0.920 0.920 0.920 0.920 0.920 0.920 0.920	2.2063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0088 0.0071 0.0074 0.0068 0.0074 0.0088 0.0074 0.0085 0.0075 0.0069 0.0071 0.0095	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.677 109.881 122.552 132.685 130.210 102.203	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175
233 234 235 236 237 238 239 240 241 242 243 244 245 246 245 246 247 248 249 250 251 252 253	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.926 0.926 0.926 0.920 0.920 0.912 0.920 0.920 0.920 0.920 0.920	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0075 0.0075 0.0075 0.0074 0.0068 0.0074 0.0088 0.0074 0.0088 0.0074 0.0085 0.0075 0.0069 0.0071 0.0095 0.0071	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.677 109.881 122.552 132.685 130.210 102.203 91.450	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307
233 234 235 236 237 238 239 240 241 242 243 244 245 246 244 245 246 247 248 249 250 251 252 253 254	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.945 0.928 0.944 0.920 0.920 0.942 0.926 0.942 0.926 0.930 0.942 0.926 0.930 0.912 0.920 0.912 0.920 0.968 0.954 0.958	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0088 0.0071 0.0074 0.0088 0.0074 0.0088 0.0074 0.0085 0.0075 0.0069 0.0071 0.0095 0.0104 0.0095	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.677 109.881 122.552 132.685 130.210 102.203 91.450 101.278	8.730 8.630 9.578 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100
233 234 235 236 237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9056 9056 9056 9056 9056 9058 9110 9112 9114 9210 9221	0.899 0.884 0.924 0.923 0.892 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.930 0.942 0.926 0.930 0.942 0.920 0.912 0.920 0.912 0.920 0.958 0.954 0.958 0.958	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0075 0.0075 0.0075 0.0074 0.0088 0.0071 0.0088 0.0074 0.0088 0.0074 0.0088 0.0074 0.0085 0.0075 0.0069 0.0071 0.0095 0.0104 0.0095 0.0077	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536
233 234 235 236 237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255 256	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9221 9221	0.899 0.884 0.924 0.925 0.926 0.926 0.945 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.930 0.926 0.930 0.912 0.920 0.968 0.954 0.958 0.954 0.958	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0088 0.0071 0.0068 0.0074 0.0068 0.0074 0.0068 0.0074 0.0069 0.0075 0.0069 0.0071 0.0095 0.0104 0.0095 0.0077 0.0108	143.786 129.333 125.167 122.438 152.230 104.301 119.172 87.393 124.478 107.697 130.185 124.670 130.021 107.238 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 69.013	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584
233 234 235 236 237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255 256 257	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9221 9221 9240 9242	0.899 0.884 0.924 0.925 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.926 0.926 0.920 0.912 0.920 0.912 0.920 0.958 0.954 0.958 0.954 0.958 0.921	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0088 0.0071 0.0074 0.0068 0.0074 0.0068 0.0074 0.0068 0.0074 0.0069 0.0075 0.0069 0.0071 0.0095 0.0071 0.0095 0.0104 0.0095 0.0077 0.0108 0.0073	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 69.013 126.055	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584 9.582
233 234 235 236 237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255 256 257 258	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9112 9114 9210 9221 9240 9242 9263	0.899 0.884 0.924 0.925 0.926 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.926 0.926 0.920 0.912 0.920 0.912 0.920 0.912 0.920 0.958 0.958 0.958 0.921 0.930	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0074 0.0068 0.0074 0.0068 0.0074 0.0068 0.0074 0.0085 0.0075 0.0069 0.0071 0.0095 0.0071 0.0104 0.0095 0.0077 0.0108 0.0073 0.0073 0.0078	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.897 130.185 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 89.013 126.055 119.583	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584 9.582 9.964
233 234 235 236 237 238 239 240 241 242 243 244 245 244 245 244 245 244 245 244 245 250 251 252 253 254 255 255 255 255 255 255	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9221 9211 9221 9240 92221 9240	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.920 0.926 0.920 0.912 0.920 0.912 0.920 0.968 0.958 0.958 0.924 0.958 0.921 0.930 0.927	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0075 0.0074 0.0068 0.0074 0.0068 0.0074 0.0068 0.0074 0.0068 0.0075 0.0075 0.0069 0.0071 0.0095 0.0104 0.0095 0.0104 0.0095 0.0077 0.1108 0.0073 0.0078 0.0078	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 89.013 126.055 119.583 124.244	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584 9.582 9.964 9.723
233 234 235 236 237 238 239 240 241 242 243 244 245 244 245 244 245 244 245 244 250 251 252 253 254 255 256 257 258 259 260	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9211 9211 9211 9210 9221 9240 9221 9240 9242 9263 9270 9303	0.899 0.884 0.924 0.923 0.926 0.926 0.945 0.945 0.944 0.920 0.942 0.926 0.920 0.942 0.926 0.920 0.942 0.926 0.930 0.920 0.912 0.920 0.958 0.958 0.958 0.958 0.958	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0075 0.0074 0.0068 0.0074 0.0068 0.0074 0.0068 0.0074 0.0069 0.0075 0.0069 0.0071 0.0095 0.0071 0.0095 0.0104 0.0095 0.0077 0.0108 0.0073 0.0078 0.0075 0.0075	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 69.013 126.055 119.583 124.244 108.041	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584 9.582 9.964 9.723 10.689
233 234 235 236 237 238 239 240 241 242 243 244 245 244 245 244 245 246 247 248 249 250 251 252 253 254 255 256 257 258 259 260 261	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9221 9211 9221 9240 9222 9263 9270 9303 9322	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.945 0.928 0.944 0.920 0.927 0.879 0.942 0.926 0.920 0.926 0.920 0.912 0.920 0.912 0.920 0.958 0.920 0.958 0.924 0.958 0.924 0.958 0.924 0.958 0.921 0.930 0.927 0.953 0.923	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0088 0.0071 0.0074 0.0068 0.0074 0.0068 0.0074 0.0068 0.0074 0.0069 0.0075 0.0069 0.0071 0.0095 0.0077 0.0095 0.0077 0.0108 0.0073 0.0078 0.0075 0.0075	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.293 124.670 130.021 107.238 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 69.013 126.055 119.583 124.244 108.041 113.281	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584 9.582 9.964 9.723 10.689 10.192
233 234 235 236 237 238 239 240 241 242 243 244 245 245 246 247 248 249 250 251 252 253 254 255 256 257 258 259 260 261 262	8551 8554 8579 8592 8668 8692 8722 8743 8806 8909 8938 8941 8942 8964 8942 8964 8942 8964 8965 9056 9090 9098 9110 9112 9114 9210 9221 9240 9221 9240 9221 9240 9242 9242 9242 9243 9270	0.899 0.884 0.924 0.923 0.926 0.926 0.926 0.945 0.945 0.944 0.920 0.927 0.879 0.942 0.926 0.926 0.930 0.920 0.912 0.920 0.958 0.924 0.958 0.924 0.958 0.924 0.958 0.924 0.958 0.921 0.930 0.927 0.953 0.931 0.920	2.0063 0.0068 0.0074 0.0075 0.0059 0.0089 0.0078 0.0077 0.0075 0.0088 0.0071 0.0074 0.0068 0.0074 0.0085 0.0074 0.0085 0.0075 0.0069 0.0071 0.0095 0.0071 0.0095 0.0071 0.0095 0.0077 0.0108 0.0073 0.0078 0.0075 0.0088 0.0075	143.786 129.333 125.167 122.438 152.230 104.301 119.172 97.393 124.478 107.697 130.185 124.670 130.021 107.238 124.670 130.021 107.238 124.697 109.881 122.552 132.685 130.210 102.203 91.450 101.278 120.136 69.013 126.055 119.583 124.244 108.041 113.261 117.592	8.730 8.630 9.678 9.231 8.308 9.143 9.576 10.911 9.600 10.119 9.304 9.616 8.459 10.584 9.701 10.247 9.473 9.269 9.362 11.175 11.307 11.100 9.536 11.584 9.582 9.964 9.723 10.689 10.192 9.428

.

·

.

•

264	9522	0.933	0.0077	120.948	9.601
265	9524	0.952	0.0102	93.051	11,209
266	9562	0.889	0.0067	132.486	8.733
267	9589	0.954	0.0104	92.099	11.113
268	9605	0.691	0.0068	131.3/6	8.807 8.745
269	9607	0.894	0.0078	127,499	8.367
270	9666	0.916	0.0077	118 615	5 992
272	9696	0.940	0.0084	111.966	10.306
273	9698	0,906	0.0069	132.273	8.605
274	9705	0.914	0.0082	111.916	8.695
275	9749	0.890	0.0059	149.689	8.439
276	9775	0.854	0.0067	127.181	7.656
277	9779	0,933	0.0080	117.162	10.077
278	9807	0.946	0.0098	96.656	10.963
279	9809	0.853	0.0064	133.743	7.541
280	9810	0.914	0.0071	129.394	9.417
281	9865	0.891	0.0069	128.738	8,649
282	9675	0.907 -	0.0069	132.492	8.787
283	95/9	0.925	0.0063	112.122	10.053
204	900Z	0.905	0.0072	123.652	8.829
205	0917	0.927	0.0012	108 601	9 377
287	9961	0.926	0.0088	105,208	10.242
LOM					
Obs #	ID #	Est. Variability	Std. Error	T-statistic	Avg In(TPH)
1	104	0.920	0.0032	206.438	8.524
2	120	0.915	0.0033	275 471	9.365
ž	242	0.914	0.0033	273,776	9.838
5	341	0.919	0.0033	281.747	8.620
6	401	0.911	0.0035	259.964	10.008
7	415	0.911	0.0035	262.828	9.910
8	503	0.910	0.0038	239.889	10.451
9	614	0.915	0.0035	262.796	9.035
10	621	0.916	0.0037	248.896	10.160
11	659	0.923	0.0028	335.599	8,409
12	686	0.907	0.0047	193.186	11.239
13	779	0.917	0.0031	295.897	9.409
14	862	0.907	0.0039	234.000	10.563
10	0//	0.912	0.0036	251,318	10.240
10	810	0.910	0.0030	245 574	10.321
18	1245	0.908	0.0041	219 502	10.824
19	1309	0.919	0.0031	298.690	8.886
20	1364	0.914	0.0034	269.327	9.244
21	1374	0.916	0.0032	269.790	9.454
22	1423	0.918	0.0033	281.268	B.784
23	1484	0.932	0.0022	427.292	7.931
24	1485	0.909	0.0040	229.765	10.666
25	1607	0.916	0.0029	312.045	8.710
26	1684	0.911	0.0037	244.651	10.349
27	1747	0.916	0.0035	264.399	9.124
28	1749	0.909	0.0037	245.512	10.333
29	1803	0.910	0.0042	214.544	10.794
30	18/2	0.915	0.0041	301 219	10.302
31	1040	0.919	0.0031	347.693	7,936
32	2007	0.915	0.0038	241.222	10.300
34	2033	0,913	0.0034	270.664	9.768
35	2169	0.910	0.0041	221.094	10.762
36	2173	0.922	0.0027	337.915	8.850
37	2283	0.915	0.0032	285.970	8.645
38	2371	0.915	0.0033	261.089	9.532
39	2375	0.913	0.0035	257.719	8.889
40	2444	0.907	0.0042	214.334	10.986
41	2467	0.919	0.0033	279.015	8.539
42	2501	0,914	0.0038	241.793	8.936

43	2587	0.914	0.0033	275.041	9.752	
44	2594	0.920	0.0028	327.237	6 557	
45	7697	0.013	0.0038	243 769	10 127	
40	2007	0.015	0.0000	243.103	0.027	
40	2709	0.916	0.0032	207.932	0.420	
4/	2823	0.914	0.0038	238.809	10.334	
46	3033	0.919	0.0031	298.927	8.746	
49	3246	0.917	0.0031	293.329	6.371	
50	3304	0,910	0.0049	184.851	11,175	
51	3346	0.916	0.0032	289.814	9.404	
52	3358	0.912	0.0036	256.523	10.142	
53	3359	0.915	0.0032	283.207	9.514	
54	3361	0.914	0.0031	295,991	8.988	
55	3364	0.908	0.0048	190 289	\$1 101	
60 60	3304	0.000	0.0070	100.200	0.550	
50	3394	0.915	0.0033	201.749	9.003	:
57	3411	0.909	0.0037	243.516	10.360	
58	3437	0.914	0.0032	284.699	9.605	
59	3593	0.919	0.0029	313.644	8.289	
60	3606	0.919	0.0029	315.787	9.011	
61	3702	0.917	0.0031	297.874	9.252	
62	3709	0.912	0.0040	230.433	9.148	
63	3725	0.913	0.0036	255.862	10,147	
64	3753	0.910	0.0037	247.522	10.277	
65	3821	0.920	0.0031	300 728	9 017	
55 FE	3000	0.02V	0.0027	380 AES	0.700	
00	3906	0.915	0.0035	200.053	9.700	
67	3921	0.917	0.0032	289,444	9.056	
68	3923	0.924	0.0034	274.979	7.873	
69	3940	0.924	0.0027	340.672	8.200	
70	3972	0.913	0.0032	288.116	9.232	
71	3997	0.919	0.0030	307.477	8.201	
72	4166	0.923	0.0027	345.646	8.466	
73	4183	0.921	0.0027	339.705	8.589	
74	4255	0.921	0.0028	328.710	8.634	
75	4270	0.913	0.0037	243 968	10.302	
76	4347	0.924	0.0026	352 418	8 562	
70	4420	0.824	0.0020	342 233	0.202	
70	4439	0.909	0.0037	243.233	10.377	
78	4453	0.916	0.0036	251.330	10.055	
79	4537	0.911	0.0034	271.825	9.099	
80	4538	0.913	0.0034	266.533	8.760	
81	4542	0.913	0.0037	250.230	10.231	
82	4653	0.928	0.0039	236 122	9.352	
63	4756	0.913	0.0037	244.627	10.287	
84	4818	0.918	0.0033	277.220	9.072	
85	4920	0 922	0 0028	335 432	8.550	
86	4937	0.931	0.0026	354 015	8 251	
a7	4045	0.001	0.0020	007.075	0.251	
07	4940	0.913	0.0034	207.235	9.703	
88	4970	0.916	0.0030	302.679	9.234	
89	5057	0.912	0.0035	258.534	10.095	
90	5066	0.911	0.0034	268.831	9.180	
91	5087	0.911	0.0037	247.206	10.303	
92	5096	0.909	0.0040	228.480	10.683	
93	5106	0.913	0.0033	277,674	9,180	
94	5113	0.933	0.0019	497.171	7.264	
95	5182	0.913	0.0034	269.190	9.893	
96	5204	0.913	0.0035	263.707	10.012	
97	5255	0.919	0.0030	302 503	8.789	
69	6270	0.010	0.0033	282 600	8.263	
90 65	9213 2007	0.010	0.0033	202.033 776 764	0.200	
84	0264	0.914	0.0033	210.100	660.8	
100	5296	0.911	0.0044	200.120	10.051	
101	5341	0.928	0.0027	340.169	8.368	
102	5413	0.923	0.0028	335.680	8.426	
103	5438	0.923	0.0027	338.052	8.475	
104	5507	0.909	0.0039	232.302	9.989	
105	5566	0.920	0.0027	335.649	8.287	
106	5573	0.925	0.0027	341.01B	8.543	
107	5500	0.910	0.0036	250 119	10,006	
100	LEFE	0.010	0.0000	334 670	7 017	
100	0000	0.830	0,0020	307.0/0	1.017	
109	5683	0.927	0.0024	304,704	6.0/9	
110	5697	0.911	0.0040	228.165	10.599	
111	5708	0.912	0.0038	238.158	10.387	
112	5757	0.920	0.0029	314.535	8.134	

.

|--|

-

113	5837	0.913	0.0035	258,136	10.111
114	5865	0.911	0.0038	242.718	10.036
115	5909	0.913	0.0034	266.122	9.943
116	5921	0.923	0.0027	336.849	8.954
117	5997	0.913	0.0041	225.302	10,563
118	6048	0.924	0.0031	303.267	7.870
119	6078	0.908	0.0038	237,468	10.250
120	6083	0.921	0.0032	285.372	8.321
121	5088	0.918	0.0029	315.559	8.989
122	6198	0.920	0.0030	303.499	8.592
123	6218	0.915	0.0036	200.778	10.000
125	6266	0.907	0.0039	230 335	10 667
125	6282	0.917	0.0032	284,204	9.631
127	6306	0.918	0.0031	298.713	6.644
128	6332	0.910	0.0036	252.717	10.106
129	6343	0.918	0.0030	301.925	8.249
130	6391	0.928	0.0024	381.243	7.867
131	6499	0.922	0.0028	324.835	8.445
132	6543	0.927	0.0026	353.169	8.553
133	6549	0.911	0.0041	223,494	10.641
134	6557	0.911	0.0034	269.008	9.094
135	6571	0.920	0.0031	295.878	9.435
136	6594	0.911	0.0037	249.222	9,715
137	6635	0.927	0.0024	383.100	8.193
136	0043	0.910	0.0039	231.823	10.450
139	6653	0.820	0.0027	344.740	0.300
141	6676	0.912	0.0040	228.308	9,203
142	6737	0.919	0.0030	307.232	6.492
143	6744	0.916	0.0031	292.171	9.485
144	6745	0.916	0.0031	298.658	9.177
145	6755	0.907	0.0049	186.718	11.358
146	6761	0.915	0.0031	292.432	8.683
147	6792	0.914	0.0035	262.845	8.497
148	6838	0.912	0.0035	261.685	9.843
149	6989	0.916	0.0032	284.417	9.572
150	6994	0.915	0.0031	300.521	B.955
151	7010	0.917	0.0031	294.835	9.212
152	7044	0.920	0.0027	341.661	8.254
153	7051	0.919	0.0035	202.003	6.007
155	7073	0.907	0.0039	232 212	10 515
155	7100	0.923	0.0026	350.699	8.539
157	7123	0.917	0.0032	268.043	9.067
158	7126	0.917	0.0029	311.883	9.039
159	7178	0.937	0.0020	467.220	7,520
160	7192	0.924	0.0026	356.634	8.430
161	7271	0.910	0.0037	248,436	10.205
162	7314	0.913	0.0035	260.363	10.035
163	7346	0.915	0.0033	277.002	9.739
164	7418	0.911	0.0037	244.932	10.357
165	7422	0.912	0.0035	261.100	9.911
166	7444	0.915	0.0034	270.406	9.896
167	7450	0.915	0.0033	275.231	9,816
168	7463	0.923	0.0028	332.629	8.900 8.909
109	7593	0.916	0.0028	309 220	8.623
171	7603	0.972	0.0027	336 600	8 556
172	7606	0.918	0.0032	286.836	9.588
173	7626	0.916	0.0030	302.008	8.606
174	7637	0.920	0.0032	290.811	B.455
175	7655	0.910	0.0039	231.951	10.598
176	7689	0.914	0.0034	272.309	9.813
177	7791	0.917	0.0033	281.706	9.671
178	7800	0.913	0.0035	257.900	9.395
179	7865	0,928	0.0024	379.915	8.445
180	7897	0.913	0.0034	265.315	9.839
181	7914	0.919	0.0027	339.254	8.507
182	8004	0.928	0.0024	369.451	7.890

.

163	6112	0.917	0.0032	286.454	9.040
184	8115	0.924	0.0027	341.586	8.674
185	8159	0.917	0.0028	325.437	8.615
186	8195	0.911	0.0037	249.429	10.277
187	8239	0.909	0.0043	210.710	10.913
188	8265	0.917	0.0032	286.137	9.262
189	8289	0.909	0.0041	222.441	10.725
190	63 15	0.914	0.0033	278.938	8.741
191	8329	0.921	0.0028	326.590	8,615
192	8333	0.909	0.0037	242.990	10.118
193	8342	0.911	0.0035	257.595	10.031
194	8378	0.910	0.0034	267.549	9.673
195	8421	0.910	0.0041	224.087	10.745
196	8439	0.921	0.0026	334.565	8.754
197	8505	0.917	0.0034	271.183	9.342
198	8535	0.917	0.0031	293.915	9,500
200	0001 #E75	0.927	0.0025	373.433	6.180
200	8507	0.3)/	0.0029	310.402 295 345	8.732 8767
207	8692	0.915	0.0032	200.043	0.107 8.600
2013	8727	0.918	0.0031	293 439	8 149
204	8743	0.010	0.0041	224 176	10 658
205	8806	0.917	0.0033	275.373	8.965
206	6909	0.910	0.0036	254,556	9,493
207	8938	0.919	0.0030	309.868	9.055
208	8941	0.920	0.0030	310.766	8.646
209	8964	0.915	0.0034	273.271	9.849
210	8965	0.915	0.0031	298.407	9,178
211	9056	0.920	0.0030	308.233	9,257
212	9090	0.917	0.0029	312.402	8.514
213	9098	0.923	0.0027	348.143	B.621
214	9110	0.922	0.0027	342.362	8.722
215	9114	0.908	0.0044	208.631	10.995
216	9210	0.906	0.0040	224.712	10.798
217	9221	0.916	0.0031	299.322	8.582
218	9240	0.915	0.0041	225.640	10.521
219	9242	0.919	0.0028	324.785	8.795
220	9263	0.916	0.0030	304.625	9.169
221	8270	0.917	0.0029	313.674	8.610
222	9303	0.909	0.0031	247.200	0.209
724	9443	0 922	0.0028	332 008	8 893
225	9486	0.906	0.0042	216.568	10.972
226	9522	0.919	0.0031	298,503	8,706
227	9524	0.910	0.0041	221,804	10,705
228	9589	0.908	0.0046	198,115	11.287
229	9666	0.916	0.0032	286.592	8.419
230	9696	0.911	0.0032	282,216	9.274
231	9698	0.927	0.0029	315,130	8.115
232	9705	0,922	0.0033	284.018	8.156
233	9779	0.915	0.0033	281.229	9.700
234	9807	0.909	0.0042	215,774	10.832
235	9875	0,919	0.0028	324,304	8,400
236	9879	0.917	0.0034	271.524	9.616
237	9882	0.923	0.0030	310.616	7,985
238	9917	0.918	0.0036	252,481	7,941
Z39	9961	0.922	0.0029	314.783	9.118
FSM					
Obs #	ID #	Est Variability	Std. Error	T-statistic	Ava in(TPH)
"	19	0.927	0.0056	165,359	6.512
2	26	0.902	0.0068	133.282	7.536
3	104	0,904	0.0060	149,994	7.442
4	120	0.858	0.0071	120.663	7.981
5	164	0.865	0.0068	128.276	8.058
6	242	0.847	0.0074	114.466	8.415
7	341	0.919	0.0077	119.750	7.609
8	401	0.842	0.0079	106.846	8.958
9	415	0.821	0.0084	97,364	9.248

•

•

÷

10	503	0.849	0.0073	116,108	8.536
11	614	0.895	0.0066	136.613	7,765
12	621	0.856	0.0071	120 729	8 345
13	686	0.804	0.0093	86 203	9.467
14	779	0.870	0.0056	60.200	\$,40) \$ 145
45	863	0.010	0.0005	67.044	0.140
15	002	0.026	0.0085	87.244	8.344
16	677	0.845	0.0077	110.273	6.858
17	916	0.857	0.0074	116,197	8.690
18	952	0.847	0.0076	112.005	8.789
19	1245	0,809	0.0089	91.022	9,410
20	1364	0.879	0.0073	120,199	8.283
21	1374	0.868	0.0066	130 723	8,134
22	1423	0.905	0.0062	147 144	7 465
27	1425	0.000	0.0090	407 695	1.465
23	1465	0.002	0.0000	103.000	0.904
24	1607	0.890	0.0065	136.850	7.616
25	1684	0.833	0.0080	104.542	9.014
26	1749	0.844	0.0079	106.785	9.009
27	1803	0.792	0.0100	79.153	9.360
25	1872	0.854	0.0074	114.907	8.157
29	1913	0.872	0.0067	130.063	B.182
30	2007	0.920	0.0102	90.475	6.270
31	2033	0.855	0.0078	109,983	8.580
32	2169	0.822	0.0085	97.156	9.343
33	2173	0 888	0.0059	151 518	7 565
34	2283	0.665	0.0063	141 501	7 400
37	2205	0.003	0.0005	141,001	7.983
35	23/1	0.874	0.0065	134,912	8.040
36	2444	0.820	0.0085	96.421	9.293
37	2467	0.902	0.0066	136.555	7.438
38	250 f	0.905	0.0073	123.850	7.808
39	2587	0.863	0.0069	124.923	5.299
40	2594	0.900	0.0053	169.916	7.066
41	2687	0.844	0.0075	112.831	8.632
42	2789	0.919	0.0068	135.610	7,158
43	2814	0.914	0.0056	163 899	6712
44	2873	0.829	0.0081	102 731	8 997
46	2023	0.805	0.0001	142.143	7.650
40	3033	0.095	0.0063	143.113	7.650
46	3084	0.894	0.0078	114.608	8.019
47	3245	0.912	0.0062	147.666	7.177
48	3304	0.795	0.0097	82.174	9.633
49	3346	0.884	0.0062	142.497	7.691
50	3358	0.840	0.0077	109.179	8.837
51	3359	0.857	0.0072	119.075	8.438
52	3361	0.895	0.0068	131,304	7.625
53	3364	0.785	0.0099	79.199	9,985
54	3394	0.871	0.0067	129 672	8 208
55	3411	0.851	0.0077	100 061	8 874
55	3417	100.0	0.0077	147.040	0.074
20	3437	0.833	0.0072	117.910	0.469
57	3593	0.908	0.0063	144.941	7.210
58	3606	0.898	0.0058	155.046	7.498
59	3702	0.876	0.0063	139.350	7.868
60	3709	0.887	0.0073	120.817	8.154
61	3725	0.831	0.0081	103.243	9.049
62	3753	0.854	0.0077	110.413	8.849
63	3821	0.882	0.0063	140,960	7.332
64	3908	0.835	0.0079	105 915	8.953
65	3921	6914	0.0073	125 767	7 771
66	3940	0.916	0.0058	158 240	7 097
67	2072	0.974	0.0070	171.006	B 065
67	3007	0.014	0.0070	123.890	0.000
66	399/	0.910	0.0071	129.071	1.395
69	4165	0.911	0.0062	147.088	7.097
70	4183	0.863	0.0062	141.967	7.696
71	4255	0.897	0.0056	159.035	7.231
72	4270	0.830	0.0081	102.755	8.767
73	4439	0.846	0.0081	105.055	9.069
74	4453	0.845	0.0076	111.594	8.297
75	4537	0.875	0.0069	126.595	8.106
76	4542	0.839	0.0077	108,168	8.778
77	4756	0.833	0.0080	104.676	8.971
79	4919	0.000	0.0000	SEA OFR	7 172
70	4010	0.001	0.0000	403 403	7 000
19	40/3	0.922	0.0075	122.983	1.202

--

80	4920	0.902	0.0060	151.148	7,358
81	4945	0 673	0.0065	133 468	8 091
67	4970	0.871	0.0065	177 765	7 994
62	4970	0.077	0,0005	133.300	7,004
83	5057	0.857	0.0075	113.719	8,731
84	5066	0.889	0.0069	128.577	7.802
85	5087	0.828	0.0082	101.354	9,103
86	5096	0.621	0.0084	97.565	9,196
87	5492	0.053	0.0072	110 246	8 463
	5102	. 0,000	0.0072	118.240	0,400
88	5204	0.848	0.0073	115.480	8.447
89	5255	0.898	0.0059	152.428	7.441
90	5279	0.917	0.0062	146.874	7.066
91	5264	0.667	0.0077	113.126	8,656
92	5296	0.612	0.0088	92,265	9.364
07	6344	0.002	0.0067	144 593	7 401
	5341	0.092	0.0002	144.000	7,401
94	5413	0.902	0.0060	150.810	7.201
95	5438	0.907	0.0060	151.944	7.103
96	5507	0.854	0.0087	98.663	9,114
97	5566	0.896	0.0061	146.452	7.351
88	6573	0 909	0.0055	166 706	7 295
00	5510	0,000	0.0035	100.100	0.007
83	2090	0.863	0.0075	115.922	8.62/
100	5697	0.818	0.0087	94.652	8.957
101	5708	0.846	0.0075	113.546	8.476
102	5837	0.857	0.0071	119.972	8.497
103	5865	0.869	0 0080	108 269	8 739
404	6000	0.000	0.0074	444 430	8 5 4 3
104	5909	0.040	0.0074	114.420	0,312
105	5921	0.899	0.0055	164.288	7.316
106	5997	0.845	0.0075	113.305	8.523
107	6048	0.944	0.0057	167.069	6.461
108	6078	0.832	0.0081	102.218	9.080
109	6088	0.876	0.0065	134 708	7 856
440	COOR	0.047	0.0000	464.474	0.000
110	0030	0,917	0.0057	161.171	6.634
111	6104	0.833	0.0080	104.186	8.717
112	6266	0.826	0.0085	97,479	9.396
113	6282	0.856	D.0071	120.908	B. 194
114	6306	0.884	0 0065	135 436	7.866
446	6343	0.020	0.0060	153 069	7 144
115	0343	0.920	0.0000	155.905	7.144
116	6499	0.905	0.0057	158.665	7.275
117	6543	0.887	0.0062	143,917	7.112
118	6549	0.811	0.0089	91.279	9.220
119	6556	0.926	0.0073	126.510	7.096
120	6557	0.892	0.0077	115 666	7 991
474	8674	0.002	0.0055	494 999	7.012
121	63/1	0.870	0.0005	134.232	7.913
122	6594	0.869	0.0069	126.483	8.305
123	6643	0.852	0.0076	112.862	8.772
124	6655	0.888	0.0061	145.900	7.208
125	6664	0.870	0.0065	134,176	7.771
126	6737	0.929	0.0073	127 434	7 305
120	0707	0.823	0.0073	127.454	7.505
127	6/44	0.877	0.0064	137.932	7.939
128	6745	0.886	0.0059	149,780	7.555
129	6755	0.777	0.0102	75.895	10.312
130	6761	0.886	0.0061	145.775	7.368
131	6792	0.896	0.0065	138 444	7 535
101	0,95	0.000	0.0005	100,444	1.000
132	6838	0,865	0.0071	122.340	8.437
133	6989	0.867	0.0068	126,788	6.268
134	6994	0.871	0.0067	129.512	8.094
135	7010	0.903	0.0063	142.926	7.716
136	7044	0 907	0.0061	149,122	7.212
497	705-	0.040	0.0004	140 680	7 474
13/	1001	0.810	0.0001	143.000	7.104
138	7069	0.878	0.0085	103.166	8.538
139	7073	0.842	0.0080	105.498	9.062
140	7100	0.891	0.0059	151.886	7.224
141	7123	0.859	0.0070	122.594	8.183
	7400	A 802	0.0000	147 794	7 664
142	1120	0.002	0.0062	192.139	1,004
143	7192	0.912	0.0052	176.337	6.952
144	7271	0.845	0.0074	113.570	8.557
145	7314	0.840	0.0077	108.903	8.493
146	7346	0.857	0.0073	117,721	8.591
447	7440	0.007	0.0010	105 544	E 047
147	1418	0.030	0.0079	100.044	0.572
148	7422	0.666	0.0069	126.221	8.312
149	7444	0.854	0.0071	119.673	8.455

.

.

•

150

151

152 153

154

155

156

157

158

159

160

161

162

163

164

165

166

167

168

169

170

171

172

173

174

175

176

177

178

179

180

181

182

183

184

185

186

187

188

189

190

191

192

193

194

195

196

197

198

199

200

201

202

203

204

205

206

207

208

209

210

211

212

213

214

215

216

217

218

219

7450

7463 7564

7583

7603

7606

7637

7655

7689

7791

7800

7807

7897

7914

8112

8169

6195

8239

8265

8289

6329

8333

B334

6342

8378

8384

8421

6439

8505

8535

8551

8579

8592

8668

8692

8722

8743

8806

8909

8938

8941

8964

9056

9090

9098

9110

9112

9114

9210

9221

9240

9242

9270

9303

9322

9443

9486

9522

9524

9589

9666

9696

9705

9779

9607

9810

9875

9879

9917

9961

0.665

0.895

0.879

0.912

0.684

0.900

0.917

0.936

0.899

0.815

0.687

0.873

0,686

0.921

0.859

0.865

0.895

0.694

0.906

0.858

0.827

0.820

0.905

0.819

0.890

0.889

0.856

0.871

0.902

0.814

0.883

0.823

0.810

0.925

0,855

0.928

0.869

0.814

0.888

0.905

0.824

0.911

0.867

0.0062

0.0063

0.0066

0.0054

0.0061

0.0059

0.0051

0.0064

0.0061

0.0087

0.0061

0.0071

0.0061

0.0061

0.0070

0.0068

0.0064

0.0059

0.0055

0.0083

0.0083

0.0085

0.0066

0.0086

0.0059

0.0061

0.0082

0.0073

0.0064

0.0087

0.0062

0.0083

0.0091

0.0065

0.0075

0.0059

0.0068

0.0087

0.0059

0.0059

0.0083

0.0066

0.0067

143.811

141.440

132,508

169.753

145.354

152.876

178.689

145.465

146.787

94.179

145.368

122.816

146.049

150.635

123.637

126.488

140.343

151.076

164.535

103,640

100.128

96.955

136.631

95.737

150,141

146.657

104.979

119.966

140.015

93.096

142.589

96.692

89.398

142.670

114.277

158.214

127.683

93.507

150.456

153,170

99.246

137.192

128.872

7.619

7.826

8.092

7.033

7,512

7.424

7.061

7.123

7.330

9.317

7.772

8.372

7.744

7.178

8.329

8.154

7.470

7.327

7.277

8,727

9.234

9.266

7.414

9.059

7.349

7.426

8.980

8.373

7.767

9,484

7.471

9.184

9.742

7.133

8.417

6.729

6.304

9.394

7.609

7,191

8.991

7.189

 ••••••			90 20 01 1 090	
0.858	0.0070	123.487	8.263	
0.869	0.0066	132.174	7.927	
0.875	0.0064	135.790	7,706	
0.885	0.0064	137.354	7.621	
0.889	0.0066	134,214	7.671	
0.908	0.0057	159.254	7,417	
0.912	0.0061	149.811	7.326	
0.823	0.0085	97.214	9.347	
0.850	0.0074	115,715	8.205	
0.860	0.0076	112.972	7.620	
0.869	0.0067	130.571	8.164	
0.900	0.0061	148.242	7,202	
0.874	0.0074	116.332	8.461	
0.683	0.0067	131,789	7.503	
0.898	0.0057	157.142	7.516	
0.901	0.0062	145.698	7.412	
0.840	0.0080	105.530	9.054	
0.603	0.0092	87.755	9.582	
0.886	0.0061	145.393	7.714	
0.816	0.0087	93,504	9.201	
0.910	0.0055	164.235	7.319	
0.851	0.0080	106.983	8.962	
0.920	0.0058	160.046	6.946	
0.853	0.0072	118.413	8.437	
0.844	0.0079	106.547	8.819	
0.877	0.0075	116.344	8.172	
0.821	0.0088	93.632	9.607	

-

:

.

Manual Parcels

05+#	ID #	Eet Madability	Std Ermr	T statistic	Aug In/TPM
4	26	C 401	0.0006	E4 424	4 920
	20	0.431	0.0030	51.124	4.030
<u>,</u>	104	0,140	0.0129	10.912	6.316
3	120	0.014	0.0077	80.124	4.623
4	336	0.516	0.0086	59.840	4.838
5	341	0.413	0.0095	43.653	5.242
6	523	0.620	0.0090	68.737	4.331
7	614	0.354	0.0101	35.081	5.469
8	621	0.192	0.0122	15.720	6.138
9	659	0.814	0.0085	96.041	3.649
10	686	0.376	0.0106	35.594	5.591
11	754	0.452	0.0108	41.928	4.856
12	779	0.495	0.0086	57,477	5.037
13	916	0.879	0.0077	114,101	3.714
14	952	0.489	0.0087	56.196	5.065
15	1245	0.441	0.0092	47,791	5,254
16	1309	0 152	0.0101	34 736	5 486
17	1974	0.665	0.0082	81 446	4 572
40	4479	0.000	0.0002	103.600	9,074
40	1423	0.704	0.0074	70.024	3.830
19	1404	0.646	0.0081	79,964	4,322
20	1485	0.773	0.0074	105.008	4.124
21	1607	0.434	0.0099	43.647	5.066
22	1684	0.341	0.0105	32.561	5.648
23	1749	0.282	0.0113	25.032	5.880
24	1803	0.669	0.0083	81.053	4.540
25	1872	0.257	0.0115	23.225	5.940
26	1913	0.401	0.0097	41.268	5.413
27	1940	0.696	0.0076	91.834	4.332
28	2033	0.522	0.0088	59,132	4.759
29	2169	0.708	0.0088	80.596	4.329
30	2173	0.797	0.0070	114.616	3.956
31	2283	0.683	0.0090	75,907	4.084
32	2371	0.579	0.0079	73 208	4 713
33	2386	0.331	0.0104	31 758	5 524
34	2444	0.633	0.0075	87 929	4 556
35	5454	0.000	0.0070	00.020	9.000
35	5457	0.757	0.0000	\$3,943 43,267	3.371
30	240/	0.459	0.0100	43.302	9.032
37	2301	0.290	0.0108	27.041	5.033
38	2587	0,416	0.0107	38.795	5,533
39	2687	0.351	0.0111	31.674	5.733
40	2696	0.922	0.0096	95.643	3.176
41	2752	0.587	0.0082	71,774	4.607
42	2769	0.623	0.0090	69.030	4.321
43	2814	0.552	0.0084	65.557	4,694
44	2823	0.712	0.0074	96.207	4.139
45	3033	0.746	0.0099	75.240	3.771
46	3084	0.332	0.0105	31.682	5.511
47	3304	0.303	0.0125	24.319	5.985
48	3346	0.515	0.0085	60.931	4.964
49	3364	0.330	0.0116	28.574	5,836
50	3394	0 667	0.0079	84,156	4.539
51	5411	0.535	0.0054	63 682	4 801
52	7427	0.505	0.0105	35 389	5 507
57	9405	0.575	0.0100	81.067	4 201
50	3547	0.832	0.0001	102 403	3 867
	3047	0.023	0.0000	102.493	3.007
55	35/9	0.934	0.0084	111,103	3.420
56	3594	0.666	0.0084	79.731	4.485
57	3606	0.871	0.0074	118.238	3.583
58	3702	0.480	0.0088	54.541	5.101
59	3709	0.477	0.0090	52.865	5.149
60	3725	0.186	0.0131	14,130	6.331
61	3753	0.369	0.0106	34.608	5.632
62	3782	0.885	0.0076	116.614	3.506
63	3821	0.338	0.0103	32.893	5.539
64	3908	0.569	0.0080	71.335	4.751
65	3923	0.665	0.0080	82.811	4.249
66	3940	0.723	0.0081	89.622	4.017

67	3972	0.441	0.0102	43.234	4.986
68	3997	0.541	0.0085	63 622	4 725
60	4183	0.369	0.0000	37.019	5.407
70	4105	0.500	0.0033	07.013	5.407
70	4255	0.000	0.0063	00.023	4.039
$\overline{\alpha}$	4256	0.329	0.0112	29.500	5.404
72	4270	0.148	0.0133	11.173	6.408
73	4284	0.670	0.0080	83.428	4.231
74	4347	0.668	0.0081	82.430	4.472
75	4384	0.587	0.0082	71.309	4.557
76	4385	0.784	0 0082	95 172	3777
77	4439	0.240	0.0120	20.035	5 764
70	4483	0.454	0.0120	45 430	5.040
70	4400	0.404	0.0092	43.133	5.040
79	4653	0.859	0.0071	121,460	3.834
80	4756	0.344	0.0104	32.933	5.638
81	4834	0.297	0.0108	27.441	5.659
82	4873	0.483	0.0093	52.216	4.939
83	4945	0.682	0.0080	85.568	4.525
84	4970	0.213	0.0123	17.370	6.152
85	5057	0.230	0.0121	19.053	6.088
86	5066	0.349	0.0111	31.599	5.315
87	5087	0.377	0.0100	37.640	5.508
A.	5096	0.594	0.0078	76 199	4 653
80	5000 5000	0.740	0.0070	99 200	7.000
69	5201	0.749	0.0065	00.300	3.671
90	5204	0.568	0.0081	69.878	4.691
91	5284	0.332	0.0104	31.841	5.618
92	5296	0.354	0.0103	34.301	5.599
93	5413	0.557	0.0084	66.452	4.672
94	5417	0.467	- 0.0093	50.238	4.965
95	5438	0.473	0.0089	52.847	5.009
96	5525	0.525	0.0087	60.098	4,758
97	5563	0 687	0.0088	100.607	3.376
0p	6566	0.618	0.0000	67 937	4 666
80	0000	0.030	0.0093	51.832	4.000 E 400
89	55/3	0.477	0.0093	51,434	5,188
100	5590	0.745	0.0103	72.256	3.745
101	5604	0.372	0.0100	37.269	5.357
102	5656	0.526	0.0086	61.737	4.787
103	5683	0.733	0.0082	89.717	3.965
104	5697	0.120	0.0143	8.417	6.605
105	5708	0.549	0.0081	67.376	4.831
106	5837	0.562	0.0091	61.613	4.961
107	5865	0 778	0.0072	107 873	3 928
100	5000	0.660	0.0001	61 200	4 873
108	5909	0.559	0.0091	61.399	4.973
109	5921	0.596	0.0103	58.063	4.310
110	5997	0.098	0.0141	6.956	5.607
111	6048	0.617	0.0081	75.823	4.435
112	6063	0.799	0.0083	96.486	3.723
113	6088	0.501	0.0087	57.394	4.893
114	6098	0.839	0.0102	B1.979	3.419
115	6104	0.068	0.0142	6,195	6.646
146	6218	0.547	0.0087	63 244	4 659
147	EDEE	0.047	0,0007 A 0420	12 751	6 770
117	0200	0.100	0.0130	12.791	0.339
118	6343	0.756	0.0076	100.180	4.111
119	6499	0.654	0.0081	81.320	4.292
120	6543	0.501	0.0087	57.402	4.897
121	6549	0.552	0.0089	61.810	4.988
122	6550	0.490	0.0088	55.586	4,937
123	6551	0.809	0.0074	109.277	3.812
124	6556	0.641	0.0084	76.112	4.583
125	6557	0.620	0.0081	76.685	4,452
126	6571	0.625	0.0076	62.494	4 527
107	6504	0,520	0.0076	81 077	4 407
127	00077	0.007	0.0070	95 504	
128	0643	0,361	0.0102	30.201	0.0/0
129	6664	0.484	0.0088	55.269	4.085
130	6676	0,548	0.0086	63.845	4,677
131	6737	0.683	0.0075	91.656	4.299
132	6744	0,791	0.0075	104.999	3.843
133	6755	0,154	0.0141	10.888	6.515
134	6761	0.670	0.0081	83.023	4.225
135	6763	0.444	0.0092	48.491	5.135
136	6792	0.231	0.0120	19.230	5.866

•

. .

137	6838	0.517	0.0097	53.332	5.136
138	6971	0.432	0.0109	39.727	4,936
139	6989	0.495	0.0104	47.424	4,709
140	6994	0.441	0.0097	47.7B1	5 131
141	7010	0 467	0.0090	51 020	5.027
542	7044	0.409	0.0000	40 447	5.027
142	7040	0.405	0.0101	40.413	5.102
143	7049	0.095	0.0093	/5.113	4.017
144	7051	0.471	0.0097	48.695	4.921
145	7069	0.773	0.0078	99.198	3.850
146	7093	0.491	0.0095	51.918	4.849
147	7097	0.529	0.0084	62.830	4.970
148	7100	0.394	0.0097	40.770	5.318
149	7126	0.340	0.0103	33.165	5.528
150	7127	0.708	0.0088	80.760	4,005
151	7192	0.510	0.0086	59,530	4,895
152	7198	0.804	0.0089	90,268	3,636
153	7271	-0.154	0.0182	-8.457	7 598
154	7344	0.264	0.0112	23 641	6 830
455	7419	0.650	0.0077	85 750	4 646
155	7475	0.009	0.0077	33 744	4,040
100	1944	0.304	0.0114	33,741	5.660
157	/444	0.325	0.0107	30.425	5.711
156	7450	0.775	0.0082	\$4.690	3.818
159	7480	0.584	0.0080	73.051	4.717
160	7512	0.467	0.0091	51 189	4.986
161	7564	0.372	0.0100	37.220	5.358
162	7583	0.606	0.0091	66,877	4.389
163	7603	0.574	0.0082	70,297	4.782
164	7606	0.839	0.0073	114.885	3.866
165	7626	0.590	0.0091	64,833	4.452
166	7637	0.415	0 0095	43,894	5 232
167	7655	0 267	0.0115	23 228	5 940
168	7690	0.201	0.0115	13 464	5.540
460	7704	0.103	0.0125	13,134	6.222
109	7781	0.364	0.0102	33.694	5.560
170	//94	0.833	0.0113	73.719	3,368
171	7800	0,292	0.0112	25,129	5.844
172	7884	0.663	0.0082	81.269	4.494
173	7914	0,349	0.0107	32,705	5.398
174	7942	0.735	0.0084	87,705	3.933
175	8004	0.571	0.0080	71.285	4.740
176	8112	0,511	0.0067	58.943	4.855
177	8115	0.368	0.0097	39,858	5.343
178	8145	0.538	0.0086	62,773	4,730
179	8153	0 381	0.0099	38 554	5 3 3 1
180	8208	0.565	0.0064	67 638	4.674
404	6200	0,003	0.0004	400 304	4.004
101	0303	0.007	0.0080	04.070	3.829
182	8315	0.263	0.0120	21.9/3	5.624
183	8329	0.879	0.0101	86,934	3.291
184	8333	0.469	0.0102	46.134	5.331
185	8342	0.309	0.0109	28.324	5.775
186	8421	0.422	0.0099	42.645	5.424
187	6439	0.666	0.0082	\$1.626	4.223
188	8505	0.755	0.0074	102.233	4.096
189	8535	0.416	0.0110	37.771	5.486
190	8551	0.744	0.0074	100.537	4.045
401	REEL	0.828	0.0110	75 552	3 409
107	8857	0.520	0.0083	70 397	4 580
402	8570	0.001	0.0003	10.001	4.500
193	00/3/ 0000	0.437	0.0093	41.472	2.34D
194	6592	0.522	0.0086	00.816	4.809
195	6668	0.940	0.0078	120.215	3.361
196	8692	0.704	0.0080	87.620	4.096
197	8743	0.489	0.0101	48.530	5.304
198	8606	0.753	0.0071	105.007	4.157
199	8938	0.423	0.0095	44.756	5.327
200	8942	0.524	0.0087	60.459	4.782
201	8964	0.335	0.0106	31,725	5.673
202	8965	0.446	0.0097	48.860	5.104
203	9035	0.815	0.0074	109.904	3.785
204	9056	0 307	0.0017	26 233	5 883
205	0000	0.407	0.0777	30 691	5 464
203	0000	0.407	0.0103	78.001	4 17F
<u></u>	20,20	v.o.3∠	0.0061	10//10	1.010

;

.

.

207	9110	0.711	0.0073	98.166	4.190
208	9114	0.508	0.0092	55.364	5.135
209	9210	0.395	0.0112	35.405	5.616
210	9221	0.489	0.0097	50.452	4.828
211	9240	0.464	0.0090	51.747	5.163
212	9242	0.542	0.0102	53.038	4.536
213	9263	0.635	0.0083	76.178	4.326
214	9270	0.466	0.0090	51.793	5.031
215	9303	0.396	0.0098	40.447	5.434
216	9486	0.085	0.0143	5.932	6.659
217	9522	0.793	0.0107	73.883	3.546
218	9524	0.069	0.0145	4,776	6.720
219	9567	1.001	0.0092	108.514	2.953
220	9589	0.158	0.0131	12.081	6.368
221	9605	0.785	0.0083	94.976	3.771
222	9607	0.482	0.0090	53.501	4.927
223	9653	0.393	0.0104	37.935	5,205
224	9666	0.582	0.0093	62.563	4,450
225	9698	0.376	0.0099	37.864	5.345
226	9749	0.911	0.0090	100.841	3.276
227	9775	0.529	0.0085	61.984	4,786
228	9779	0.323	0.0107	30.109	5.720
229	9807	0.250	0.0121	20.636	6.071
230	9809	0.798	0.0072	111.482	4.012
231	9810	0.035	0.0144	2.429	6,672
232	9863	0.417	0.0100	41.901	5.146
233	9875	0.750	0.0105	71.388	3.716
234	9882	0.714	. 0.0076	94.633	4.129
Manual Pr	iority				
Obs #	ID #	Est. Varlability	Std. Error	T-statistic	Avg In(TPH)
1	82	0.460	0.0089	51,772	6.178
2	120	0.461	0.0089	52.082	6.197
3	164	0.577	0.0080	72.062	5.628
4	242	0.407	0.0095	42.841	6.459
5	336	0.901	0.0081	111.611	4,166
6	341	0.774	0.0071	109.159	4.686
7	401	0.222	0.0118	18.851	7.321
8	415	0.291	0.0109	26.635	7.010
9	523	1.007	0.0083	121.208	3.667
10	621	0.449	0.0090	49,910	6.256
11	686	0.136	0.0131	10.399	7.753
12	754	0.218	0.0122	17.878	7.393

3	164	0.577	0.0080	72.062	5.628
4	242	0.407	0.0095	42.841	6.459
5	336	0.901	0.0081	111.611	4,166
6	341	0.774	0.0071	109.159	4.686
7	401	0.222	0.0118	18.851	7.321
8	415	0.291	0.0109	26.635	7.010
9	523	1.007	0.0083	121.208	3.667
10	621	0.449	0.0090	49,910	6.256
11	686	0.136	0.0131	10.399	7.753
12	754	0.218	0.0122	17.878	7,393
13	779	0.705	0.0068	104.116	5.033
54	877	0.444	0.0092	48.311	6.2 62
15	916	0.397	0.0106	37.441	6.570
16	952	0.359	0.0101	35.705	6.685
17	1245	0.367	0.0113	32.590	6.691
18	1309	0.659	0.0075	88.203	5.237
19	1364	0.465	0.0090	51.835	6.161
20	1374	0.678	0.0071	96.000	5.208
21	1423	0.973	0.0080	122.300	3.815
22	1485	0.306	0.0107	28.509	6.939
23	1607	0.682	0.0082	63.661	5,218
24	1684	0.319	0.0106	30.172	6.877
25	1749	0.380	0.0098	38.786	6.584
26	1803	0.242	0.0116	20.923	7.243
27	1872	0.569	0.0078	73.125	5.677
28	1913	0.792	0.0065	122.593	4.617
29	2007	0.385	0.0098	39.505	6.562
30	2033	0.499	0.0085	58.753	5,999
31	2169	0.359	0.0104	34,379	6.715
32	2283	0.731	0.0080	91.824	4.985
33	2371	0.784	0.0065	121,130	4.655
34	2375	0.421	0.0095	44,409	5.440
35	2386	1.006	0.0079	126.990	3.607
36	2444	0.519	0.0083	62.912	5.925
37	2467	0.458	0.0091	50.501	6.199
38	2501	0.581	0.0079	73.709	5.610

..

39	2587	0.447	0.0090	49.467	6.268
40	2687	0.625	0.0073	85,714	5.416
41	2789	0.978	0.0082	119.678	3.805
42	2623	0.235	0.0119	19.819	7.279
43	3033	0.971	0.0087	111.203	3.823
44	3304	0.260	0.0117	22.293	7.149
45	3346	0.474	0.0087	54,249	6.140
46	3358	0.379	0.0098	38.529	6.589
47	3359	0.428	0.0101	42,256	6.430
48	3364	0.070	0.0140	5.012	8.066
49	3394	0.483	0.0089	54.318	6.086
50	3411	0.507	0.0086	58.863	5.966
51	3437	0.460	0.0090	50,955	5.186
52	3495	0.954	0.0068	139.372	3.953
53	3606	0.917	0.0065	140.523	4.020
54	3702	0.739	0.0068	108.304	4.854
55	3709	0.511	0,0086	59.764	5.944
00 67	3725	0.393	0.0097	40.661	6.525
01 58	3123	0.562	0.0083	65 801	5.704
50 59	3021	0.544	0.0085	57 277	5.760
60	3921	0,420	0.0000	72 097	5.002
61	3923	1 107	0.0087	12.051	3.128
62	3940	0.653	0.0071	119 725	4 312
63	3972	0.586	0.0087	67.159	5.676
64	3997	0.778	0,0071	108,958	4.671
65	4166	0.674	0.0074	91,089	5.163
66	4255	0.964	0.0080	121,204	3.866
67	4256	0.863	0.0085	101.801	4.336
68	4270	0.517	0.0087	59.726	5.937
69	4347	0.952	0.0075	127.672	3.637
70	4385	1.158	0.0096	120.225	2.942
71	4439	0.482	0.0086	55.905	6.097
72	4453	0.450	0.0092	48.908	6.188
73	4537	0.746	0.0079	94,346	4.910
74	4542	0.568	0.0081	70,151	5.662
75	4756	0.254	0.0113	22.439	7.164
76	4818	0.804	0.0069	117,156	4.493
77	4834	0.855	0.0073	116.908	4,328
78	4873	0.915	0.0079	115.603	4.102
79	4920	0.761	0.0076	100.281	4.818
80	4970	0.431	0.0099	43.452	6.402
81	5057	0.457	8800.0	53.119	6.170
82	5087	0.323	0.0105	30.637	6.860
63 64	5106	0.301	0.0098	39.033	6.485
85	5182	0.521	0.0083	60.222 62.860	5 6 1 3
86	5284	0.684	0.0069	99.531	5 134
87	5296	0.129	0.0135	9 560	7.745
88	5417	1.071	D.0101	106.204	3.331
89	5438	0.939	0.0082	114.665	3.983
90	5507	0.543	0.0083	65.682	5.791
91	5566	0.902	0.0086	105.272	4.151
92	5590	0.648	0.0063	134.546	4.342
93	5604	0.754	0.0074	102.378	4.815
94	5697	0.379	0.0099	38.256	6.593
9 5	5708	0.462	0.0094	49,195	6.239
96	5757	0.631	0.0087	72,630	5.452
97	5837	0.590	0.0076	77.824	5.584
98	5865	0.514	0.0083	61.909	5.947
9 9	5909	0.395	0.0096	41.079	6.492
100	5921	0.838	0.0064	131.596	4.386
101	5997	0.429	0.0092	45.537	6.351
102	6088	0.488	0.0098	49.989	6.131
103	6098	1.007	0.0079	128.029	3.587
104	6104	0.382	0.0098	39.015	6.577
105	6218	0.954	0.0077	125.235	3.813
106	6266	0.441	0.0091	48,453	6.296
107	6282	0.408	0.0096	42.667	b.433
100	0493	0.929	0.0068	141.003	3./89

•

٠

•

				00 000	E 047
103	6549	0.305	0.0108	20.290	0.241
110	6557	0.767	0.0079	87.548	4.812
111	6571	0.495	0.0085	58.245	6.037
112	6594	0.626	0.0075	63.959	5.389
113	6643	0.493	0.0101	48.767	6.091
114	6655	0.576	0.0085	66.621	5.712
115	6664	0.653	0.0071	92.091	5,283
446	6676	0.483	0.0003	40 571	6 220
110	0070	0.403	0.0095	48.JIZ	0.220
117	6/3/	0.865	0.0075	115.2/4	4.310
118	6744	0.574	0.0078	73.224	6.634
119	6745	0.608	0.0083	73.435	5.547
120	6755	0.324	0.0107	30.346	6.851
121	6761	0.726	0.0072	100.854	4.917
122	6763	0.264	0.0113	23.336	7,129
123	6960	0.576	0.0077	74 827	5.510
120	7044	4.050	0.0007	433 780	0.049
124	7044	1.082	0.0087	122.730	3.403
125	7049	1.005	0.0085	118.287	3.568
126	7051	0.888	0.0090	96.300	4.205
127	7093	0.685	0.0079	112.727	4.249
126	7097	1.007	0.0080	126.535	3.613
129	7100	0.634	0.0076	63.261	5.357
130	7126	0.652	0.0075	86.706	5.271
493	7771	0 180	0.0124	14 465	7 649
101	7871	0.100	0.0124	64.500	F
132	7314	0.321	0.0085	01.092	0.094
133	7346	0.438	0.0096	45.746	6.301
134	7418	0.423	0.0099	42.931	6.423
135	7422	0.351	0.0109	32.241	6.795
136	7444	0.367	0.0100	36.853	6.647
137	7450	0.493	0.0085	57.900	6.046
138	7463	0.655	0.0074	88.442	5 749
130	7480	6 730	0.0075	08 300	4 003
440	7664	0.768	0.007.0	404 220	4.805
140	7 504	0.740	0.0074	101.320	4.645
141	7583	0.506	0.0094	53.902	6,060
142	7603	0.615	0.0080	77.316	5.477
143	7655	0.228	0.0118	19.363	7.312
144	7689	0.481	0.0088	54.619	6.083
145	7791	0.712	0.0067	105.563	5.003
146	7897	0.257	0.0114	22.604	7.172
147	7914	0.750	0,0079	94.895	4,894
148	B112	0.840	0.0071	118 242	4 372
140	8153	0.974	0.0076	122 243	4 013
193	0155	0.924	0,0076	140.004	9.013
150	6109	0.963	0.0081	119.021	3.877
151	8195	0.364	0.0100	36.331	6.664
152	8239	0.079	0.0142	5.600	8.016
153	8289	0.220	0.0119	18,537	7,349
154	8315	0.645	0.0064	77,246	5,396
155	8333	0.404	0,0096	41.851	6.476
156	8334	0,775	0.0073	106.341	4,709
457	8340	6 482	0.0086	55 840	E 099
151	8378	0.402	0.0107	31 023	6 806
196	6376	0.343	0.0107	31,833	0.000
159	8421	0.162	0.0131	12.383	7.594
160	8535	0.790	0.0068	115.372	4,605
161	8554	0,698	0.0089	78,766	5.119
162	8579	0.541	0.0083	55,241	5.601
163	8722	0.850	0.0081	108.349	4.264
164	8743	0.218	0.0121	18.011	7,362
165	8806	0.545	0.0060	68 172	6 799
465	0000	0.040	0.0004	177 197	4.4E4
100	0303	0.020	0.0000	161.161	4,404
167	8941	0.813	0.0078	104,215	4.592
168	8942	0.857	0.0074	116.094	4.331
169	8964	0.623	0.0073	85.255	5.425
170	8965	0.706	0.0068	103.500	5.013
171	9056	0.678	0.0074	91,867	5.144
172	9090	0 856	0,0080	107,148	4,380
172	9098	0.813	0.0090	90 329	4,561
474	0000	0.010	0.0064	132 181	4 354
475	0444	U.04/	0.0004	49 664	E 424
175	9114	0.412	0.0094	-3.024	0.434
176	9210	0.170	0.0126	13.499	7,590
177	9221	0.827	0.0080	103.667	4,522
178	9240	0.289	0.0113	25.623	7.008

.

:

179	9242	0.858	0.0073	118.402	4.317
180	9263	0.732	0.0074	99.017	4.915
181	9270	0.834	0.0071	117.490	4.401
182	9303	0.315	0.0106	29.586	6.899
183	9486	0.334	0.0104	32.219	6.803
164	9522	0.650	0.0075	86.268	5.282
185	9524	0.121	0.0133	9.129	7.823
186	9562	0.911	0.0085	107,255	4.109
187	9589	0.015	0.0148	1.117	5.322
188	9607	0.791	0.0073	108.435	4.637
189	9666	1.008	0.0085	118.384	3.656
190	9696	0.677	0.0087	77.918	5.226
191	9698	0.790	0.0085	92.712	4.681
192	9/49	0.974	0.0075	127.704	3.739
193	8//8	0.728	0.0066	110.407	4.827
105	9007	0.200	0.0114	23.009	7.123
195	9009 0863	0.020	0.0000	120.803	4 732
107	0855	0.807	0.0070	110 805	4 209
109	6875	0.893	0.0088	100 111	4.735
199	9979	0.332	0.0104	31 941	6 814
200	9917	0.718	0.0089	80 835	5.017
201	9961	0.633	0.0078	80 716	5 101
201	3301	0.005	0.0070	00.710	4.33 I
SPBS Nor	-Priority				
0. 20 . 10					
Obs #	ID #	Est. Variability	Std. Error	T-statistic	Avg In(TPH)
1	120	0.555	0.0142	39.049	6.656
2	242	0.506	0.0152	33.382	6.899
3	415	0.510	0.0148	34,401	6.836
4	686	0.355	0.0182	19.461	7.629
5	1245	0.391	0.0169	23.112	7.218
6	1485	0.454	0.0161	28.215	7.140
7	1803	0.521	0.0148	35.105	5.820
8	1872	0.575	0.0137	41.833	6.528
9	2007	0.528	0.0184	28.747	7.062
10	2444	0.375	0.0182	20.666	7.558
11	2823	0.485	0.0156	31.075	7.005
12	3304	0.451	0.0158	28.618	6.917
13	3364	0.218	0.0220	9.949	8.333
14	3394	0.550	0.0147	37.339	6.382
15	3411	0.463	0.0161	28.835	7.113
16	3709	0.545	0.0141	38.536	6.650
17	3725	0.584	0.0150	39.001	6.638
18	3753	0.508	0.0148	34.387	6.830
19	4270	0.463	0.0155	29.855	6.859
20	4400	0.551	0.0150	30.010	6,304
21	4539	0.404	0.0152	31.910	6.751
22	4000	0.040	0.0165	35.032	6.307 8.671
23	4730 6057	0.011	0.0145	30,160	6.071
29	5096	0.400	0.0153	20.574	7.589
20	5183	0.562	0.0141	30 R5R	6.623
20	5204	0,302	0.0156	30 901	7.013
27	5284	0.523	0.0148	35 478	6 801
20	5295	0.509	0.0151	33 792	6 879
30	5507	0.550	0.0152	36 152	6 771
31	5590	0,452	0.0161	28.755	7.117
32	5697	0.555	0.0142	39,173	6.644
33	5837	0.563	0.0141	40.041	6.612
34	6078	0.399	0.0168	23.737	7.345
35	6104	0.532	0.0147	36.258	6.772
36	6266	0.545	0.0144	37.805	6.706
37	6643	0,486	0.0155	31.287	6.994
38	6755	0,384	0.0175	21.563	7.482
39	6994	0.573	0.0137	41.958	6.508
40	7271	0,631	0.0129	48.775	6.285
41	7314	0.490	0.0174	28.145	7.133
42	7346	0.576	0.0151	38.265	6.227

42

43

7346

7450

0.576

0.532

0.0164

32.391

6.919

--

 O 	7	÷	o
- 9	1	4	o

;

44	7655	0.275	0.0192	14.363	7.728
45	7689	0 393	0.0169	23.254	7 205
			0.0100		
45	7897	0.543	0.0152	35.688	6.396
47	8195	0.458	0.0161	29.161	6.768
4 8	8345	0.654	0.0126	51 977	6 155
		0.001	0.0120	01.022	7.100
49	8378	0.364	0.0177	20.610	7.281
50	8384	0.729	0.0146	49.982	5.471
51	8421	0 687	0.0122	55 173	5 037
t n		0.000	0.0426		
52	8/43	0.366	0.0176	21.969	1.411
53	8909	0.580	0.0147	39.556	6.224
54	9112	0 3 13	0.0186	16 837	7 606
					7.000
22	9114	Q.44Z	0.0165	26.833	7.214
56	9210	0.404	0.0172	23.441	7.396
57	9240	0 302	0.0187	16 165	7.716
56	9303	0.566	0.0140	40.418	0.596
59	9486	0.335	0.0186	17.984	7,721
60	9524	0.666	0.0124	53.805	6.043
		0.000			
61	8293	0.313	0.0195	16.078	7.857
62	9807	0.552	0.0140	39.350	6.618
63	9879	0.266	0.0205	12 946	6 086
SPBS Pric	nity				
Obs #	1D #	Est. Variability	Std. Error	T-statistic	Avg In(TPH)
ſ	82	0.813	0.0245	33 240	6 201
_		0.010	0.0245	00240	0.201
2	242	0.824	0.0248	33.200	6.189
3	1245	0,796	0.0266	29.967	5,999
	2160	0.700	0.0366	20 809	6 767
-	2149	0.180	0.0230	30.030	0.303
5	2375	Q.813	0.0260	31.252	5.870
6	2444	0.837	0.0240	34,941	6.077
7	3304	0.760	0.0303	25 088	6 767
	3304	0.700	0.0000	23.000	9.702
8	3364	0.774	0.0268	28.879	6.510
9	3411	0.906	0.0265	34,257	5.774
10	3706	0.768	0.0280	76 667	6 662
	JIZJ	0.100	0.0205	20.001	0.002
11	3753	0.946	0.0198	47.655	5.154
12	4453	0.754	0.0276	27.161	6.380
13	5096	0.863	0.0303	28 508	6 167
		0.000	0.0000	20.000	0.107
14	5296	0.776	0.0271	28.636	6.525
15	5697	0.850	0.0226	37.589	5.907
16	5837	0.807	0.0258	31 316	5 949
			0.0000		
17	0266	0.814	V.U255	31.941	6.2/4
18	6643	0.940	0.0247	38.013	5.491
19	6755	0.607	0.0243	33,213	6 168
20	7074	0 700	0.0307	33 5 63	6 847
20	1211	0.122	0.0307	23.302	0.042
21	8195	0.751	0.0280	26.633	6.395
22	8239	0.732	0.0309	23.729	6.914
22	8347	0.052	0.0408	48.057	5 202
2.5		0.002	0.0100	40,002	
24	8384	Q.71B	0.0298	24,148	6.715
25	8421	0.841	0.0308	27.327	6.334
26	9240	0.894	0.0239	37.396	5 792
	0240				
27	9486	0.711	0.0302	23.527	6.778
28	9524	0.788	0.0261	30.216	6.412
29	9589	0 733	0.0299	24 491	6 7 2 4
	0000		0.0200		0.021
30	9879	0.785	0.0270	29.038	6.486
Cancel/Mt	r. Prep				
	•				
05- #	10.4	Fet Varishilik/	Std Error	Tetatistic	
UU5 #		Lat Tenatriky		,	*****
1	19	0.723	0.0081	89,807	7.566
2	26	0.680	0.0089	76.512	8.492
-	40.4	0 700	0.0084	87 403	7 885
3	104	V./V#	0.0001		7.000
4	120	0.621	0.0109	57 119	9.977
5	164	0.659	8600.0	67.020	8.924
e e	3.44	0 601	0 0086	80 435	8 252
•	341	v.us (0.0000		
7	401	0.630	0.0106	59.626	9,750
6	415	0.616	0.0110	56.150	10.046
۵	503	0.606	0.0115	52 767	10 299
		0.000			
10	507	0.740	0.0081	91.025	1.177
11	523	0.704	0.0082	85.442	7,989
17	R14	0.682	0 0089	76.651	8.459
14	~ 17	0.00L	0.0000		2

•

13	621	0.618	0.0112	54.989	9.791
14	659	0.712	0.0080	89.004	7.809
15	686	0.592	0.0121	49.139	10.594
16	754	0.687	0.0085	80.696	8.406
17	779	0.660	0.0094	70.572	9,153
18	852	0.609	0.0114	53.583	10.190
19	877	0.631	0.0105	60.124	9.772
20	\$16	0.636	0.0103	61,765	8,555
21	952	0.628	0.0106	59.140	9.838
22	1245	0.593	0.0120	49.254	10.584
23	1309	0.683	0.0089	77.219	8.427
24	1364	0.661	0.0096	68.870	8.895
25	1374	0.663	0.0092	71.944	9.080
26	1423	0.692	0.0083	83.399	8.408
27	1485	0.624	0.0108	57.791	9,930
28	1684	0.618	0.0111	55,704	10.078
29	1747	0.668	0.0092	72.601	8,759
30	1749	0.643	0.0100	64,259	9.512
31	1803	0.593	0.0120	49.251	10.584
32	1872	0.630	0.0105	59.878	9,789
33	1913	0.664	0.0092	72.185	9.067
34	2033	0.642	0.0101	63 540	9 526
35	2169	0.620	0.0109	56 803	9 999
36	2173	0.677	0.0087	77 600	B 799
37	2783	0.670	0.0092	72 911	8718
38	2200	0.665	0.0092	72.520	0.710
20	23775	0.545	0.0052	66 347	0.050
40	2375	0.049	0.0030	PE 034	1.202 7.054
44	2300	0.745	0.0002	00.494	7.804
42	2350	0.600	0,0075	53.500	10.735
-2	2444	0.009	0.0114	93.045	10.235
40	2407	0.700	0.0083	70 782	0.000
49	2301	0.030	0.0007	13.100	0.207
40	2007	0.650	0.0098	73 500	9.312
40	2594	0.672	0.0092	73.269	8.674
47	2007	0.032	0.0104	00.005	9.741
48	2696	0.760	0.0062	121.705	6.838
49	2814	0.716	0.0079	90.611	7.729
50	2823	0.634	0.0104	61.010	9.715
51	3033	0.688	0.0087	79.120	8.323
52	3084	0.705	0.0082	85.950	7.963
53	3246	0.691	0.0085	61.128	8.270
54	3304	0.588	0.0122	48.108	10.683
55	3329	0.747	0.0072	104.092	7.075
56	3346	0.656	0.0095	69.057	9.235
57	3358	0.643	0.0100	64.356	9.506
58	3359	0.642	0.0102	62.786	9.311
59	3361	0.674			
60			0.0091	73.836	8.619
61	3364	0.592	0.0091	73.836 49.011	8.619 10.605
	3364 3394	0.592 0.652	0.0091 0.0121 0.0097	73.836 49.011 67.514	8.619 10.605 9.321
62	3364 3394 3411	0.592 0.652 0.634	0.0091 0.0121 0.0097 0.0105	73.836 49.011 67.514 60.637	8.619 10.605 9.321 9.737
62 63	3364 3394 3411 3437	0.592 0.652 0.634 0.648	0.0091 0.0121 0.0097 0.0105 0.0100	73.836 49.011 67.514 60.637 64.682	8.619 10.605 9.321 9.737 9.184
62 63 64	3364 3394 3411 3437 3495	0.592 0.652 0.634 0.648 0.749	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071	73.836 49.011 67.514 60.637 64.682 105.170	8.619 10.605 9.321 9.737 9.184 7.023
62 63 64 65	3364 3394 3411 3437 3495 3593	0.592 0.652 0.634 0.648 0.749 0.696	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086	73.836 49.011 67.514 60.637 64.682 105.170 81.131	8.619 10.605 9.321 9.737 9.184 7.023 8.154
62 63 64 65 66	3364 3394 3411 3437 3495 3593 3606	0.592 0.652 0.634 0.648 0.749 0.696 0.681	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696
62 63 64 65 66 67	3364 3394 3411 3437 3495 3593 3606 3702	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.681	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485
62 63 64 65 66 67 68	3364 3394 3411 3437 3495 3593 3606 3702 3709	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.681 0.644 0.660	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0085 0.0100 0.0096	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913
62 63 64 65 66 67 68 69	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.598	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0085 0.0100 0.0096 0.0118	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471
62 63 64 65 66 67 68 69 70	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.598 0.626	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874
62 63 64 65 66 67 68 69 70 71	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753 3908	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.598 0.626 0.626 0.639	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596
62 63 64 65 66 67 68 69 70 71 71	3364 3394 3411 3437 3593 3606 3702 3709 3725 3753 3908 3921	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.698 0.626 0.639 0.639 0.678	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724
62 63 64 65 66 67 68 69 70 71 72 73	3364 3394 3411 3437 3593 3696 3702 3709 3725 3753 3908 3921 3923	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.598 0.626 0.639 0.626 0.639 0.678 0.773	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.816 50.615 58.605 62.886 76.938 98.038	8.619 10.605 9.321 9.737 9.184 7.023 8.154 6.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367
62 63 64 65 66 67 68 69 70 71 72 73 73 74	3364 3394 3411 3437 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940	0.592 0.652 0.634 0.648 0.696 0.681 0.644 0.660 0.626 0.626 0.639 0.678 0.733 0.712	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.816 50.615 58.605 62.886 76.938 98.038 88.068	8.619 10.605 9.321 9.737 9.184 7.023 8.154 6.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367 7.820
62 63 64 65 66 67 68 69 70 71 72 73 74 75	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.626 0.639 0.626 0.639 0.678 0.733 0.712 0.655	0.0091 0.0121 0.0097 0.0105 0.0100 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367 7.820 9.018
62 63 64 65 66 67 68 69 70 71 72 73 74 75 76	3364 3394 3411 3437 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972 4166	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.598 0.626 0.639 0.678 0.733 0.712 0.655 0.695	0.0091 0.0121 0.0097 0.0105 0.0100 0.0086 0.0085 0.0096 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098 0.0098	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237 81.419	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367 7.820 9.018 8.169
62 63 65 66 67 68 69 70 71 72 73 74 75 76 77	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972 4166 4183	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.598 0.626 0.639 0.678 0.733 0.712 0.655 0.695 0.667	0.0091 0.0121 0.0097 0.0105 0.0100 0.0086 0.0085 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098 0.0098 0.0095 0.0094	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237 81.419 70.937	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367 7.820 9.018 8.169 8.767
62 63 65 66 67 68 69 70 71 72 73 74 75 76 77 78	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972 4166 4183 4255	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.626 0.626 0.639 0.678 0.733 0.712 0.655 0.695 0.695 0.667 0.692	0.0091 0.0121 0.0097 0.0105 0.0100 0.0086 0.0085 0.0085 0.0096 0.0118 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098 0.0095 0.0094 0.0094	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237 81.419 70.937 80.475	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.874 9.874 7.367 7.820 9.018 8.169 8.767 8.249
62 63 64 65 66 67 68 69 70 71 72 73 74 75 76 77 78 79	3364 3394 3411 3437 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972 4166 4183 4255 4256	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.626 0.639 0.678 0.773 0.773 0.773 0.773 0.555 0.695 0.667 0.692 0.624	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098 0.0085 0.0094 0.0086 0.0080	73.836 49.011 67.514 60.637 64.682 105.170 81,131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237 81.419 70.937 80.475 90.094	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367 7.820 9.018 8.169 8.767 8.249 7.650
62 63 64 65 66 67 68 69 70 71 72 73 74 75 76 77 78 79 80	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972 4166 4183 4255 4256 4270	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.626 0.639 0.678 0.773 0.773 0.773 0.555 0.695 0.667 0.695 0.667 0.692 0.724 0.615	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098 0.0095 0.0094 0.0094 0.0086 0.0094	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237 81.419 70.937 80.475 90.094 55.373	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724 7.820 9.018 8.169 8.767 8.249 7.550 10.102
62 63 64 65 66 67 68 69 70 71 72 73 74 75 76 77 78 80 81	3364 3394 3411 3437 3495 3593 3606 3702 3709 3725 3753 3908 3921 3923 3940 3972 4166 4183 4255 4256 4270 4278	0.592 0.652 0.634 0.648 0.749 0.696 0.681 0.644 0.660 0.626 0.626 0.639 0.678 0.773 0.712 0.655 0.695 0.695 0.667 0.695 0.655 0.667 0.592 0.724 0.615 0.751	0.0091 0.0121 0.0097 0.0105 0.0100 0.0071 0.0086 0.0085 0.0100 0.0096 0.0118 0.0107 0.0102 0.0088 0.0075 0.0081 0.0098 0.0098 0.0098 0.0094 0.0085 0.0094 0.0085 0.0094	73.836 49.011 67.514 60.637 64.682 105.170 81.131 79.794 64.706 68.916 50.615 58.605 62.886 76.938 98.038 88.068 67.237 81.419 70.937 80.475 90.094 55.373 113.868	8.619 10.605 9.321 9.737 9.184 7.023 8.154 8.696 9.485 8.913 10.471 9.874 9.596 8.724 7.367 7.820 9.018 8.169 8.767 8.249 7.550 10.102 7.165

* *

44	7655	0.275	0.0192	14,363	7,728
45	7689	0.393	0.0169	23.254	7.205
46	7897	0.543	0.0152	35.688	6.396
47	6195	0.468	0.0161	29.161	6.768
48	8342	0.654	0.0126	51.922	6.155
49	8378	0.364	0.0177	20.610	7,281
50	8384	0.729	0.0146	49,982	5.471
51	8421	0.687	0.0122	56.173	6.037
52	8743	0.386	0.0176	21.989	7.477
53	8909	0.560	0.0147	39,556	6.224
55	9112	0.313	0.0186	16.637	7.000
55	9710	0.404	0.0103	20.033	7.214
57	9240	0.302	0.0172	16 165	7 716
58	9303	0.566	0.0140	40.418	6,596
59	9486	0.335	0.0186	17,964	7.721
60	9524	0.666	0.0124	53.805	6.043
61	9589	0.313	0.0195	16.078	7.857
62	9607	0,552	0.0140	39,350	6.618
63	9879	0.266	0.0205	12.946	8.086
SPBS Pric	rity				
Obs #	ID #	Est Variability	Std. Error	T-statistic	Avg In(TPH)
1	82	0.813	0.0245	33.240	6.201
2	242	0.824	0.0248	33.200	6.189
3	1245	0.796	0.0266	29.967	5.999
4	2169	0.790	0.0256	30.698	6.363
5	2315	0.813	0.0200	31.232	5.67V
7	3304	0.250	0.0240	25 088	6 762
A	3364	0.774	0.0268	29,879	5.510
9	3411	0.906	0.0265	34.257	5.774
10	3725	0.768	0.0289	26.557	6.662
11	3753	0.946	0.0198	47.655	5.154
12	4453	0.754	0.0278	27.161	6.380
13	5096	0.863	0.0303	28.508	6.167
14	5296	0.776	0.0271	28.636	6.525
15	5697	0.850	0.0226	37,589	5.907
16	5837	0.807	0.0258	31.318	5.949
17	6266	0.814	0.0255	31,941	6.274
18	6643	0.940	0.0247	38.013	5.491
19	6755	0.807	0.0243	33.213	6.168
20	7271	0.722	0.0307	23.562	6.842
21	8195	0.751	0.0280	26.833	5.395
22	8239	0.732	0.0309	23.729	6.914 E 000
23	8342	0.952	0.0198	48.062	5.202
24	8421	0.718	0.0296	24.140	6.715
26	9740	0.894	0.0239	37 396	5 792
27	9486	0.711	0.0302	23 527	6.778
28	9524	0.788	0.0261	30,216	6.412
29	9589	0.733	0.0299	24,491	6.724
30	9879	0.785	0.0270	29.038	6.486
Cancel/Mt	r. Prep				
Obs #	ID #	Est. Variability	Std. Error	T-statistic	Avg In(TPH)
1	19	0.723	0.0081	89.807	7.566
2	26	0.680	0.0089	76.512	8.492
3	104	0.709	0.0081	67.492	7.685
4	120	0.621	0.0109	57.119	9.977
5	164	0.659	0.0098	67.020	8.924
6	341	0.691	0.0086	80.435	8.252
7	401	0.630	0.0106	59.626	9.750
8	415	0.618	0.0110	56.150	10.046
9	503	0.606	0.0115	52.767	10.299
10	507	0.740	0.0081	¥1.020 85.447	7.1//
• • •	94.3	0.104	0.0002		1.000

76.651

0.0089

12

614

0.682

--

13	621	0.618	0.0112	54.989	9,791
14	659	0.712	0.0080	69.004	7.809
16	686	0 592	0.0171	49 139	10 594
45	754	0 697	0.0085	PO CDE	B 400
10	7.54	0.007	0.0085	80.030	0.400
17	779	0.660	0.0094	70.572	9.153
18	862	0.609	0.0114	53,583	10.190
19	877	0.631	0.0105	60.124	9,772
20	916	0.636	0.0503	61 765	9 666
	050	0.000	0.0100	50.440	0.000
21	822	0.626	0.0106	59.140	8,838
22	1245	0.593	0.0120	49.254	10.584
23	1309	0.683	0.0089	77.219	8.427
24	1364	0.661	0.0096	68.870	8,895
25	1374	0.653	0.0092	71 944	9 080
~~	44723	0.000	0.0002	82.200	0.000
20	1423	0.692	0.0065	83,348	0.400
27	1485	0.624	0.0108	57.791	9,930
28	1684	0.618	0.0111	55.704	10.078
29	1747	0.668	0.0092	72.801	8,769
30	1749	0.643	0.0100	64 259	9.512
	4800	0.502	0.0400	40.054	10.504
	1003	0.393	0.0120	48.231	10.304
32	1872	0.630	0.0105	59.878	9,789
33	1913	0.664	0.0092	72.185	9,067
34	2033	0.642	0.0101	63.540	9.526
35	2169	0.620	0.0109	56.803	9 999
36	2173	0 677	0.0087	77 600	8 700
	2170	0.077	0.0007	77.000	0,785
3/	2283	0.670	0.0092	72.911	8.718
38	2371	0.665	0.0092	72.529	9,050
39	2375	0.649	0.0098	66.347	9.262
40	2386	0,705	0.0082	85.931	7,964
41	2390	0 716	0.0079	90.491	7 735
	2000	0.000	0.0078	50,451	40.005
42	2444	0.609	0.0114	53.592	10.235
43	2467	0.700	0.0083	83.915	8.068
44	2501	0,690	0.0087	79.783	8.287
45	2587	0.650	0.0098	66.616	9,372
46	2594	0.672	0.0092	73 289	8 674
47	2687	0.012	0.0001	50.505	0.0/4
	2007	0.632	0.0104	00.003	8.741
48	2696	0.760	0.0062	121.705	6.838
'49	2814	0,716	0.0079	90.611	7.729
50	2823	0.634	0.0104	61.010	9.715
51	3033	0.688	0.0087	79.120	8 323
62	3084	0 705	0.0082	85 050	7 067
	0004	0.700	0.0002	00.000	7,200
53	3290	0,091	0.0085	61.120	6.270
54	3304	0.588	0.0122	48.108	10.683
55	3329	0,747	0.0072	104.092	7.075
56	3346	0.656	0.0095	69.057	9,235
67	3358	0.643	0.0100	64 956	9 506
	0000	0.040	0.0100	04.000	8.500
56	3329	0.642	0.0102	62.700	9.311
59	3361	0.574	0.0091	73.836	8.619
60	3364	0.592	0.0121	49.011	10.605
61	3394	0.652	0.0097	67.514	9.321
62	3411	0.634	0.0105	60 637	9 737
62	3437	0.649	0.0100	E4 683	0.194
0.5	0407	0.040	0.0100	445.435	
64	3495	0.749	0.0071	105.170	7.023
6 5	3593	0.696	0.0086	81.131	8.154
6 6	3606	0.681	0.0085	79.794	8.696
67	3702	0.644	0.0100	64,706	9,485
68	3709	0.650	0.0096	68 916	8013
60	3706	0.500	0.0000	60.010	0.810
09	3725	0.590	0.0110	00.015	10.471
70	3753	0.626	0.0107	58.605	9.874
71	3908	0.639	0.0102	62.886	9.596
72	3921	0.678	0.0055	76.938	8.724
73	3973	0 733	0.0075	98.038	7 367
74	3010	n 740	0.0084	80 060	7 8 30
	0940	0.712	0.0061	00,008	1.820
75	3972	0.655	0.0098	67.237	9.018
76	4166	0.695	0.0085	81,419	8.169
77	4183	0.667	0.0094	70.937	8.767
78	4255	0.692	0.0086	80,475	8.249
70	4755	0.724	0.0090	90.094	7 650
19	4070	0.124	0.0000	00.004 EE 974	1.000
80	42/0	0.015	0.0111	09.313 118	10.102
81	4278	0.751	0.0066	113.868	7.166
82	4347	0.693	0.0086	81.083	8.217

.

:

.

.

	83	4439	0.627	0.0107	58.731	9,865
	84	4453	0.633	0.0104	60.884	9.723
	85	4483	0.758	0.0070	108,786	6.845
	86	4537	0.664	0.0095	70.029	8.845
	87	4538	0.676	0.0096	70.302	8.539
	88	4542	0.656	0.0095	68.857	9.246
	89	4653	0.683	0.0090	76.077	8,785
	90	4756	0.626	0.0107	58,596	9.875
	91	4818	0.675	0.0095	70.787	8.567
	92	4834	0.735	0.0074	99.084	7.317
	93	4873	0 696	0 0084	83 165	8 166
	94	4920	0.658	0.0087	78.001	8.329
	95	4945	0.667	0.0091	73 246	9.013
	96	4970	0 668	0 0093	72 214	9 053
	97	5057	0.626	0.0106	59 299	9 827
	98	5066	0.682	0.0089	76 871	8 446
	89	5087	0.816	0.0000	55 510	10.092
	100	5096	0.619	0.0110	55.510	10.032
	101	5182	0.613	0.0103	61 974	9 653
	102	5204	0.637	0.0104	60 533	9 745
	102	5270	0.713	0.0076	03.550	8 071
	103	5213	0.713	0.0076	10.009 FE 572	0.071
	405	5204	0.647	0.0099	63.373	8.433
	105	5290	0.610	0.0113	33./// 80.540	10.221
	100	5341	0.709	0.0079	69.049	7.600
	107	5413	0.699	0.0061	00.401	0.200
	108	5417	0.741	0.0072	102.591	7.196
	109	5438	0.700	0.0083	83.962	8.065
	110	5507	0.650	0.0098	66.372	9.311
	111	5566	0.695	0.0085	81.404	6.170
	112	5590	0.645	0.0099	64,907	9,473
	113	5604	0.697	0.0084	82.838	8.124
	114	5683	0,707	0.0081	86.905	7.914
	115	5697	0.616	0.0111	55.646	10.082
	116	5708	0.635	0.0103	61.500	9.683
	117	5757	0.706	0,0081	66.919	7,947
	118	5837	0.624	0.0108	58.008	9.915
	119	5865	0.636	0.0103	61.914	9.657
	120	5909	0.654	0.0096	68.065	9.290
	121	5921	0.678	0.0087	78.152	6.772
	122	5997	0.608	0.0114	53.244	10.262
	123	6048	0.731	0.0075	96.939	7.420
	124	6063	0.739	0.0074	99.619	7.242
	125	6078	0.628	0.0106	59.150	9.780
	126	6083	0.709	0.0081	87.709	7.874
	127	6088	0.680	0.0090	76.020	8.494
	128	6098	0.705	0.0079	89.364	8.135
	129	6104	0.622	0.0108	57.466	9.953
	130	6218	0.697	0.0084	82.653	8,134
	131	6266	0.623	0.0108	57.766	9.932
	132	6306	0.657	0.0097	67.602	8.995
	133	6332	0.615	0.0111	55.417	10.051
	134	6343	0.702	0.0063	84,847	8.020
	135	6499	0.714	0.0076	93.946	7.942
	136	6543	0.709	0.0081	87.614	7.879
	137	6549	0.599	0.0118	50.770	10.458
	138	6550	0.735	0.0074	96.725	7.334
	139	6556	0.716	0.0079	90.510	7.734
	140	6557	0.660	0.0094	70.620	8.949
•	141	6571	0.661	0.0093	70.858	9.137
	142	6594	0.657	0.0095	69.556	9.208
	143	6635	0.710	0.0081	87.949	7.662
	144	6643	0.628	0.0106	59.482	9.741
	145	6655	0,696	0.0085	82.335	8.151
	146	6664	0.646	0.0099	65.400	9.443
	147	6676	0,680	0.0090	75,936	8.499
	148	6737	0 709	0.0081	87.556	7,882
	149	6744	0.660	0.0094	70.438	9.160
	460	6745	0.000	0.000	65 148	9459
	130	6765	0.040	0.0022	44,569	10.966
	467	6764	0.511	0.0120	72 175	8.73R
	102	0/01	Q.003	0.0030		

:

•

•

153	6792	0.682	0.0088	77.613	8.456
154	6838	0.639	0.0102	62.640	9.611
155	6989	0.650	0.0098	66 639	9 371
156	6994	0.651	0.0096	69 128	8 900
157	7044	0 706	0.0082	85 605	7.047
158	7049	0.792	0.0078	03 465	7 603
150	7051	0.722	0.0070	87.040	7.000
139	7031	0.705	0.0081	67.040	(.9/3
100	7073	0.024	0.0106	87.863	¥.¥25
101	7093	0.712	0,0080	89.021	7.808
162	7100	0.697	0.0085	62.234	8.125
163	7123	0.656	D.0096	68.662	9.162
164	7126	0.674	0.0092	73.566	8.634
165	7271	0.639	0.0103	61.907	9.653
166	7314	0.620	0.0109	56.649	9,944
167	7346	0.663	0.0093	71.671	8,094
168	7418	0.619	0.0110	56.558	10.017
169	7422	0.630	0.0102	62.290	9.633
170	7444	0.638	0.0102	62.435	9.624
171	7450	0.660	0.0094	70.638	9,149
172	7463	0.670	0.0091	73.605	8,920
173	7480	0.735	0.0074	98.842	7.328
174	7512	0.726	0.0076	95.607	7 526
175	7564	0.662	0 0095	69.630	8 869
176	7583	0.671	0.0092	73 200	8 695
477	7607	0.071	0.0032	00.007	0.03J
470	7005	0.731	0.0073	89.007	6.431
170	7606	0.000	0.0089	//.161	8,685
1/9	/63/	0.697	0.0084	82.579	8.138
180	7655	0.600	0.0117	51.215	10.422
181	7689	0.629	0.0106	59.506	9,755
182	7791	0.656	0.0095	5 9.052	9.235
183	7800	0.644	0.0100	64.422	9,502
184	7865	0.694	0.0086	80.876	8,199
185	7897	0.640	0.0101	63.103	9.582
186	7914	0.674	0.0091	74.552	8.625
187	7975	0.697	0.0088	79.720	8.108
188	8004	0.748	0.0071	104.843	7.039
189	8112	0.682	0.0089	76.778	8,452
190	8115	0.679	0.0090	75,719	8.511
191	8145	0.734	0.0075	98.381	7.350
192	8153	0.732	0.0075	97.679	7 384
193	8169	0.686	0.0091	75 156	8 346
194	8195	0.615	0.0111	55 3 (8	10 106
10F	8208	0.013	0.0111	99-910 80-400	7 845
195	0200	0.712	0.0001	00.109	7.012
190	8228	0.734	0.0070	104.670	7,495
197	8239	0.501	0.0117	51.289	10.415
198	8200	0.665	0.0092	72.732	9.039
199	8289	0.590	0.0122	48.503	10.649
200	6315	0.669	0.0093	72.343	8.729
201	5 329	0.684	0.0088	77.413	8.416
202	8333	0.610	0.0113	53.840	10.216
203	8334	0.716	0.0079	90.460	7.736
204	8342	0.638	0.0102	62.388	9.627
205	8378	0.616	0.0110	56.111	9.911
206	8421	0.632	0.0105	60.304	9.696
207	8505	0.682	0.0089	76.427	8.775
208	8535	0.673	0.0092	72.968	8.976
209	8554	0.701	0.0083	84.134	8.057
210	8592	0.710	0.0077	91,899	6 029
211	8692	0.697	0 0084	82.538	8 140
212	8722	0.696	0.0084	83.267	B 161
213	8743	0.606	0.0115	52 601	10 3 12
213	890F	0.000	0.0110	UL, DU 1	0.007
214 045	8000	0.007	0.0090	98.303 74.920	8.221 8.44**
215	9303	0.002	0.0093	(1.239	¥.11/
216	6938	0.700	0.0079	68.897	8.306
217	8941	U.688	0.0087	79,064	8.326
218	8942	0.727	0.0080	91,505	7.472
219					
	8964	0.641	0.0101	63.644	9.549
220	8964 8965	0.641 0.695	0.0101 0.0085	63.644 81.773	9.549 8.180
220 221	8964 8965 9056	0.641 0.695 0.659	0.0101 0.0085 0.0096	63.644 81.773 68.441	9.549 8.180 8.943

•

q	7	7	Δ
~		2	

-

.

223	9098	0.690	0.0086	80.017	8.274
224	9110	0.690	0.0082	B3.770	8.520
225	9112	0.636	0.0105	60.905	9.425
226	9114	0.593	0.0120	49.316	10.579
227	9210	0.615	0.0112	55.126	10.120
228	9221	0.685	0.0088	77.907	8.389
229	9240	0.602	0.0117	51.585	10.392
230	9242	0.685	0.0089	77.330	6.394
231	9263	0.673	0.0092	73.205	8.655
232	9270	0.676	0.0091	74.327	8.590
233	9303	0.636	0.0103	61.722	9.669
234	9322	0.652	0.0099	66.126	9.090
235	9486	0.596	0.0119	50.121	10.511
236	9522	0.684	0.0088	77.685	8.401
237	9524	0.605	0.0115	52.420	10.326
238	9562	0.723	0.0083	87.523	7.553
239	9589	0.595	0.0119	49.897	10.530
240	9605	0.707	0.0081	85.930	7.913
241	9607	0.723	0.0077	93.503	7.567
242	9696	0.654	0.0097	67.200	9.059
243	9698	0.720	0.0077	92.993	7.650
244	9749	0.733	0.0075	98.039	7.367
245	9775	0.772	0.0072	107.687	6.522
246	9779	0.656	0.0095	69,124	9.231
247	9792	0.695	0.0091	76.805	8.140
248	9807	0.608	0.0114	53,360	10.253
249	9865	0.704	0.0083	85.319	7.995
250	9879	0.628	0.0106	59.244	9.B31
251	9882	0.715	0.0080	69.301	7.757
252	9917	0.706	0.0087	81,140	7.904
253	9961	0.656	0.0097	67.419	9.007

•

Attachment 3 to Response to POIR 7-1 DISTRIBUTION OF THE CALCULATED SITE SPECIFIC VARIABILITIES

ACTIVITY	USPS-T14 TABLE 7	MEAN OF THE SITE SPECIFICS	STD. DEVIATION	LOWER BOUND	UPPER BOUND
MANUAL LETTERS	79.7%	77.2%	4.6%	67.7%	89.8%
MANUAL FLATS	86.6%	85.9%	5.1%	76.3%	98.1%
OCR	78.6%	75.9%	1.7%	71.2%	80.6%
BCS	94.5%	92.3%	2.6%	84.1%	96.8%
LSM	90.5%	91.6%	0.6%	90.6%	93.7%
FSM	91.8%	87.1%	3.4%	77.7%	94.4%
SPBS PRIORITY	80.2%	80.9%	6.7%	71.1%	95.2%
SPBS NON PRIOITY	46.9%	48.5%	10.6%	21.8%	72.9%
MANUAL PRIORITY	44.8%	59.8%	24.8%	1.6%	115.8%
MANUAL PARCELS	39.5%	52.4%	20.4%	-15.4%	100.1%
CANCEL/MTR. PREP	65.4%	66.8%	4.1%	57.1%	77.2%



- 2. In response to POIR No. 4, question 3, pages 9 and 10, witness Bradley assumes that the fixed effects α_i variables in his mail processing models reflect non-volume factors. Witness Bradley also asserts that it is unimportant that α_i may be correlated with volume.
- a. Please list the estimated fixed effects (α_i) implied by the fixed-effect models for the cost listed in Table 7 of USPS-T-14.
- b. To help evaluate the assumption that the α_i variables reflect only non-volume effects, for the cost pools in "a.," please perform a linear regression of α_i on a constant term and the mean over time of In(TPH_{it}) for facility i.
- c. If the coefficient of the mean over time of $In(TPH_{it})$ in the regression in "b" is positive please discuss why it is reasonable to assume that the α_i reflects only non-volume factors.

2. Response:

There are a couple of misconceptions in the preamble to these interrogatories that should be cleared up. First, although this may not be immediately obvious, one does not actually assume that the fixed effects are non-volume effects. Rather, this characteristic is guaranteed because it is a mathematical result generated by the structure of the fixed effects regression. Second, I have never suggested that it is unimportant that the site-specific effects may be correlated with volume. Just the opposite. It is quite important that these effects are correlated with volume. In fact, I present statistical evidence in my testimony that <u>demonstrates</u> that the correlation exists. Please see Table 5 on page 46 of my testimony which is entitled "Tests for The Correlation of Site-Specific Effects and

Right-Hand-Side Variables." Moreover, as I explain in my response to POIR #4, this correlation is a reason that estimated coefficients from the pooled model are biased upward. It is also important not to forget that correlation does not imply causation. For example, age and the level of education are correlated in young men, but education does not cause age. Similarly here, the fact that the fixed effects and volume are correlated does not imply that volume causes the fixed effects.

- a. Estimating an accurate fixed effects model for variabilities does not require estimation of the 2,369 site-specific coefficients referred to in the question and thus I have not estimated them. Moreover, because the instant request is based upon a misunderstanding of the issue, there is no need to estimate the 2,369 α_i now. As I have already provided evidence that the site-specific effects are correlated with volume, there is no need to estimate those additional 2,369 coefficients now to again demonstrate the same point.
- b. Because I have already established that the site specific effects are correlated with volume it is unnecessary to run this auxiliary regression. Moreover, the existence of a positive, statistically significantly coefficient in the proposed auxiliary regression in no way would indicate that the α_i variables would include volume-effects. In fact, this type of auxiliary regression is used to explain why the α_i could not contain

volume effects. Recall that regression coefficients in a multiple regression are actually partial regression coefficients and thus correspond to partial derviatives. That means that the coefficients are interpreted as the effect of a given right hand side variable on the dependent variable, holding the values of all other right-handside variables constant.

This characteristic of multiple regression coefficients can be explained and derived mathematically by use of an auxiliary regression of the type posed in the question. This is clearly explained in a well known econometrics book:

Consider the three variable multiple regression model

$$Y_{i} = \beta_{1} + \beta_{2}X_{2i} + \beta_{3}X_{3i} + \varepsilon_{i}$$
 (A4.3)

Our task here is to discuss in some detail how one might interpret the partial regression coefficient, say β_2 , in Eq. (A4.3). We argued in the text that β_2 measures the effect of X_2 on Y, with the effect of X_3 controlled or held constant. In theory, it makes sense to hold X_3 constant while increasing X_2 , but how is this concept actually applied when we obtain least-squares estimates for β_2 (as well as β_3)? The answer lies in the realization that the estimated coefficient in the three-variable regression can be calculated by performing two two-variable regressions. (This result generalizes to any multiple regression model.) The first regression adjusts the variable X_2 to"hold X_3 constant," while the second regression estimates the effect of this adjusted variable on Y. The procedure occurs in the following steps.

Step 1 Regress X_2 on X_3 . When the equation has been estimated, we can calculate the fitted values and residual of the model. To simplify we will work with the data in deviations form, so that the model is

 $x_{2i} = \alpha x_{3i} + \rho_i \text{ and } x_{2i} = x_{2i} + \rho_i$ where $x_{2i} = \alpha x_{3i}$ $\rho_i = x_{2i} - \alpha x_{3i} = x_{2i} - x_{2i}$ and $\alpha = \frac{\sum x_{2i} x_{3i}}{\sum x_{3i}^2}$

Our interest lies in ρ_{μ} , the residuals, since ρ_{μ} represents the portion of X_2 which is uncorrelated with X_3 . (Recall that the regression residuals are uncorrelated with the right-hand variable. In fact, holding X_3 constant means eliminating from X_2 that component that is correlated with X_3 .

Step 2 Regress Y on $\boldsymbol{\rho}$. If we work with the data in deviations form, the model is

$$y_i = \gamma \hat{\mu}_i + v_i$$

When it is estimated, we find that

$$\hat{\mathbf{y}} = \frac{\sum \mathbf{y}_i \hat{\mathbf{p}}_i}{\sum \hat{\mathbf{p}}_i^2}$$

 γ represents the effect of "adjusted X₂" on Y and according to our argument should measure the effect of X₂ on Y holding X₃

constant. If we are correct, it must be true that $\gamma = \beta_2$. To see this we need only perform a few algebraic calculations. (Emphasis added)⁷.

This mathematical exercise shows that in multiple regression, the individual coefficients are estimated by controlling for the effect of other included variables on the the dependent variable. Thus, because the variability equations include volume (in the form of TPH) it is by mathematical construction that the α_i capture only non-volume effects. Indeed, it is **impossible** for them to capture volume effects in this specification.

The mathematical exercise is precise but a bit technical. An intuitive understanding of this point can be gained by considering the following example.⁸ Suppose one is estimating an econometric regression for incomes of young men and trying to measure the effect of education on income. One could start with a regression of income on education and would expect to find a positive coefficient because higher levels of income are associated with higher levels of education. However, the coefficient on education would be biased because it ignores the non-education

⁷ <u>See</u>, Robert Pindyck and Daniel Rubinfeld, <u>Econometric Models and</u> <u>Economic Forecasts</u>, McGraw Hill, New York, 1981 at 97.

⁸ This example is taken from William Greene, <u>Econometric Analysis</u>, Macmillan, 1993 at 170.

effect coming from the fact that men earn higher income when they are older, irrespective of their education. Given that age and education are correlated, omitting age from the equation will cause education's coefficient to be biased upward as it is also capturing the age effect. Once one adds age to the regression, however, the bias disappears, the education coefficient captures just the education effect, and the age coefficient captures the "non-education" effect. Please note that despite the fact that they are correlated, education in no way causes age, and age cannot contain "education effects." It is this intuition which helps us understand why omitting the site-specific effects causes a biased regression coefficient for volume variability and why the site-specific effects do not contain any "volume effects" in the regressions in USPS-T-14.

In sum there is no inconsistency between agreeing that the site-specific effects are correlated with volume and recognizing that the site-specific effects in the regressions, the α_i , contain no volume effects.

c. It is reasonable to "assume" that the α_i contain only non-volume factors because, as shown above, they simply do not contain volume factors. In a fixed effect model, the α_i can be represented as:
÷

Response of United States Postal Service Witness Bradley to Presiding Officer's Information Request #7

$$\alpha_{I} = \overline{y}_{I} - b' \overline{x}_{I}$$

where the familiar dot subscript notation reflects site-specific values. Note that in the variability equations, the x_i include the volume terms. This equation thus proves mathematically that the α_i cannot include the effects of volume on hours as those effects are subtracted from hours before the α_i are calculated.

~

- 3. The form of the econometric model used to estimate the mail processing variabilities in USPS-T-14, page 36, equation (2) is not a full-form trans log equation in that products involving lagged variables are not included. Please discuss the reasons for not using the full-form of the model.
- 3. Response:

Equation (2) is known formally in the econometrics literature as an augmented translog. It is common practice to include a vector of control variables without their (cross) products such as the seasonal dummies or lag variables in an otherwise "complete" translog. These control variables do not add any information to the identification of the cost surface, but do add to the accuracy of the estimation of the regression coefficients. They are thus used to augment the basic translog specification.

4. In USPS-T-14, at page 40, witness Bradley states "in previous work I found that non-volume variations in facility characteristics have an important impact on productivity." The referenced paper is Michael D. Bradley and Donald Baron, "Measuring Performance in A Multi-Product Firm: An Application to the U.S. Postal Service," published in Operations Research, Vol. 41, No. 3., May-June 1993. At page 452, the paper states

This leads to the next step in our analysis: determining why some plants are more efficient than others. The answer to this question is also found through regression analysis; but now the regression is attempting to *explain* operating efficiency, not measure it. Operating efficiency is therefore regressed on all variables thought to influence it. **These variables might include factors like mail volumes processed** and delivered (to measure scale economies) . . . [Bold supplied]

On page 454, the referenced paper describes Table 1 as a list of "the primary factors that determine operating efficiencies at individual MPCs [Mail Processing Centers], based on the MPCs' vector of factors." Table 1 lists "total piece handlings" among these factors. The paper estimates that for each ten percent increase in total piece handlings, operating efficiency increases by 2.51 percent.

- a. Does this estimate of the effect of increases in total pieces handled on productivity, in part, "explain why operating efficiency varies across different locations and over time?" See page 453.
- b. If the answer to "a." is yes, is this conclusion consistent with witness Bradley's assumption in USPS-T-14 that the facility-specific effects on costs (represented by the variable α_i) are only non-volume effects?
- c. Please discuss why, or why not, each of the "primary factors that determine operating efficiency at MPCs" listed in Table 1 should, or should not be, included as explanatory variables in the models of mail processing labor variability proposed in USPS T-14.
- d. The referenced paper observes, at page 454, that:
 - crude labor productivities, like total pieces per labor hour, may be misleading because they ignore important differences in the compositions of mail volumes (letters, flats, parcels) handled

by different MPCs.

Please discuss why, or why not, facility differences in the composition of mail sorted should, or should not, be included as an explanatory variable in the models of mail processing labor variability proposed in USPS-T-14.

- e. At page 452, the referenced paper lists "[d]etermine the marginal costs of the firm's outputs" as the first step in measuring performance by the operating efficiency approach. At page 453, it observes that sorting the mail is one of the two primary functions performed at an MPC for which marginal cost must be calculated.
 - (1) Was a marginal cost for sorting the mail estimated to support the conclusions in the referenced paper?
 - (2) If the answer to "(1)" above is yes, please provide that estimate.
- f. At page 457, the referenced paper states that complete regression results are available from the authors upon request. Please provide them.
- 4. Response:
- a. For many mail processing activities, the piece-handling variabilities are less than one. This means that, holding all other factors constant, as volume changes in a mail processing activity, productivity will also change. Thus, if volume is rising for a variety of activities in a facility, its operating efficiency will be influenced. Presumably volume rises and falls through time, so changes in volume would be a factor which causes operating efficiency to change through time.

b. Absolutely. As I demonstrated in my answer to question 3 above, the α_i do not contain volume effects. In similar fashion, the other control variables discussed in this paper capture the non-volume effects. That is why the results discussed in the published paper represent the verification of the volume variabilities that the Presiding Officer was requesting. Tr. 11/5577. The published paper contains a pooled model, but that pooled model contains the proper variables to control for the site-specific effects in contrast to the naive and thus biased pooled model presented at Tr. 11/5579 as a cross examination exhibit. When non-volume, site-specific effects are important, they must be accounted for in the regression equation. One approach, which I took in my earlier, published paper, was to estimate a pooled model with variables included to account for non-volume site specific effects. This was appropriate because I was estimating a facility-wide equation for total cost.

In USPS-T-14, I am estimate activity level equations, not facility level equations for labor cost. Therefore, the appropriate way to account for site-specific effects is the alternative approach, through the use of the fixed effects model, or heuristically, the inclusion of the site-specific effects (α_i). It is well known that omission of these dummy variables will lead to biased coefficient estimates. For example, I am attaching a graph from a well known econometric text book that demonstrates why

it is wrong to simply plot the data and draw a straight line through it.⁹ If it does not account for the dummy variables, that straight line will be biased and erroneous. The graph contains a plot of points which would appear to have a steeply sloped regression line running through them, a regression line that runs through the origin. However, that regression line ignores the fact that the points in the plot are really generated by a much flatter regression line, one that shifts with variations in the values for the dummy variables. Failure to recognize the heterogeneity in the data generating process would cause one to mistakenly overstate the slope of the regression line. This is why the econometrics literature contains strong prohibitions against using simple pooled models in the face of unit-specific effects:¹⁰

Obviously, in these cases, pooled regression ignoring heterogenous intercepts should never be used. (Emphasis added)

⁹ See, G.S. Maddala, <u>Econometrics</u>, McGraw-Hill, New York, 1977, at 139.

¹⁰ <u>See</u>, Cheng Hsiao, <u>Analysis of Panel Data</u>, Cambridge University Press, Cambridge, 1986 at 6.

c. Table 1 below contains the factors from Table I of the published article and their disposition in USPS-T-14. Recall that there are four main differences between the analyses. First, the <u>Operations Research</u> article included analysis done at the facility level but USPS-T-14 includes analysis done at the level of the mail processing activity. Second, the <u>Operations Research</u> article included both mail processing costs and delivery costs but USPS-T-14 focuses solely on mail processing costs. Third, the <u>Operations Research</u> article features a pooled equation with appropriate control variables whereas USPS-T-14 features panel data with a fixed effects model. Because the fixed effects in the panel data model serve the same purpose -- controlling for site-specific non-volume effects -- as the control variables in the pooled model, it is not necessary to include control variables in the fixed effects model. Fourth, the <u>Operations Research</u> analysis investigates total costs; USPS-T-14 investigates only labor cost.

Table 1							
Factor	Disposition in USPS-T-14						
Degree of automation	Included in USPS-T-14 through the MANR terms.						
Volume of mail	Included in USPS-T-14 through the TPH terms.						
Age of facility	Included in USPS-T-14 through the fixed effects and time effects. (All facilities age at the rate of 1 year per year.)						
Degree of support costs	Not relevant for USPS-T-14 because it focuses on costs at the activity level.						
Space utilization	Not relevant for USPS-T-14 because it focuses only on labor costs.						
Degree of flex labor	To the extent this varies across facilities, it would be included in USPS-T-14 in the fixed effects. To the extent is rises or falls through time it would be included in USPS-T-14 in the time trends.						
Delivery network	Not relevant for USPS-T-14 because it does not include delivery costs.						
Number of locations	Included in USPS-T-14 in the fixed effects.						

The factors that are important for an activity level analysis of variability are included in USPS-T-14. These include volume (as measure by TPH), the effect of automation (as measured by MANR), the site specific effects and the time trends.

- d. Differences in the composition of mail (letters, flats, parcels) should not be included as explanatory variables in USPS-T-14 because the equations are at the activity level not the facility level. In my <u>Operations Research</u> article, the analysis was at the facility level, so a different mix of letters, flats and parcels could imply a different workload for the same number of TPH. In USPS-T-14, the manual letter activity contains only letters, the manual flat activity contains only flats and the manual parcel activity contains only parcels. Variations in the mix of mail are captured directly by virtue of the fact that separate equations are estimated for individual shape/technology mail processing activities. That is, not only are separate equations estimated for letters, flats, and parcels, but separate equations are also estimated different sorting technologies (e.g., manual letter processing, mechanized letter processing, and automated letter processing).
- e.(1) Yes.
- e.(2) The regressions for this article were run some six years ago. Unfortunately, neither of the coauthors can locate them. Thus, the marginal cost estimates are not available.
- f. The regressions for this article were run some six years ago. Unfortunately, neither of the coauthors can locate them. Thus, the results are no longer available.



Figure 9-2 Bias due to omission of dummy variables.

and dummy variables. Some further examples of analysis from grouped data will be given later.

As mentioned earlier, dummy variables are not necessarily (0,1) variables. As an illustration, consider the joint estimation of the demand for beef, pork, and chicken on the basis of data presented in Table 7-5. Waugh estimates a set of demand functions of the form

$$P_{1} = \alpha_{1} + \beta_{11}x_{1} + \beta_{12}x_{2} + \beta_{13}x_{3} + \gamma_{1}y + u_{1}$$

$$P_{2} = \alpha_{2} + \beta_{12}x_{1} + \beta_{22}x_{2} + \beta_{23}x_{3} + \gamma_{2}y + u_{2}$$

$$P_{3} = \alpha_{3} + \beta_{13}x_{1} + \beta_{23}x_{2} + \beta_{33}x_{3} + \gamma_{3}y + u_{3}$$
(9-6)

where P_1 = retail price of beef

- P_2 = retail price of pork
- $P_3 =$ retail price of chicken
- $x_1 = \text{consumption of beef per capita}$
- $x_2 = \text{consumption of pork per capita}$
- $x_3 =$ consumption of chicken per capita
- y = disposable income per capita

 x_1 , x_2 , x_3 can be obtained from Table 7-5. The prices in Table 7-5 are, however, retail divided by a consumer price index. Hence we multiplied them by the sumer price index p to get p_1 , p_2 , and p_3 . This index p and disposable income as follows:¹

¹ There appears to be a misprint in the price of beef given in Table 7-5 for the year 1950 (on the basis of other information given in Waugh). We corrected this to 83.3 from 88.3.

5. In USPS-T-14, at pages 80-84, witness Eradley performs an analysis to demonstrate the likely impact of measurement error in TPH on the estimated variabilities, using a first-difference estimator of equation (2) on page 36. He computes the first-difference estimator only. Differences in equation (2) estimated for longer lengths would also be useful in determining the likely impact of measurement error. For example, differencing equation (2) with its value lagged 13 accounting periods would help confirm the impact of measurement error and eliminate the accounting period dummy variables in the differenced model.

- a. Please compute the ordinary least squares estimate of the 13th difference version of equation (2), including all regressors that are not eliminated by the differencing process, for the cost pools listed in Table 7. As described on page 36, lines 10 through 12, please mean center the data before differencing.
- b. Please compare the variability estimates obtained in "a." with those obtained from the first-difference and fixed-effect model estimates given in Table 7 of USPS-T-14.
- c. Please comment on the degree to which the estimates from "a." confirm those reported in Table 7 and discuss the extent to which divergence between the two sets of estimates can be explained by the presence of measurement errors in TPH.
- 5. Response:
- a. The requested results are presented in Attachment 1 to this response.
- b. The variability estimates for the 13th differences, like the results for 1st differences, are similar to but a bit lower than the fixed effects presented in Table 7.
- c. The results certainly confirm the result that the variability for the mail processing activities is less than one. I don't think the differences between the two results can

be explained by measurement error for TPH for two reasons. First, the errors-invariables analysis presented in my testimony showed that measurement error did not have a big effect in the manual letter and flat activities. Second, measurement error is not an issue for the mechanized and automated activities because the TPH for these activities come directly from machine counts. Nevertheless, the 13th difference variabilities are lower to the same extent for these activities as they are for those activities for which measurement error might be an issue.

Attachment 1 to Response to POIR 7-5 Econometric Results from Estimating the Model on 13th Difference Data

	Manual Letters	Manual Flats	LSM	FSM	OCR	BCS	SPBS Non Priority	SPBS Priority	Manual Parcels	Manual Priority	Cancel & <u>Mtr. Prep</u>
Piece Handlings	0.5226	0.5263	0.8873	0.8266	0.7585	0.8419	0.6505	0.8772	0.3715	0.3469	0.3449
Manual Ratio	-0.1136	0.0245	-0.0347	-0.0220	-0.0056	0.0038	N.A.	N.A.	N.A.	N.A.	<u>N.A.</u>
Time Trend 1	-0.0017	0.0007	-0.0008	0.0005	-0.0030	-0.0021	-0.0017	-0.0107	0.0010	-0.0001	0.0019
Time Trend 2	0.0031	0.0001	0.0006	-0.0003	-0.0044	-0.0027	0.0047	0.0140	-0,0003	0.0005	-0.0024
R2	0.477	0.589	0.929	0.663	0.500	0.621	0.513	0.642	0.248	0.282	0.245
# of Obs.	20,764	20,089	16,627	15,096	15,455	19,006	3,840	1,577	14,303	13,123	16,268
# of Sites	309	300	239	219	234	287	63	30	234	201	253

. •

Designated Interrogatory Responses of Richard L. Patelunas (T15)

.

-

.

.

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS PATELUNAS TO INTERROGATORIES OF THE AMERICAN BUSINESS PRESS (Revised 10/31/97)

ABP-T15-3

a) Please explain in detail why you project that purchased transportation costs for regular-rate periodicals will increase 11.45% between 1996 and 1998, as compared with the 14.8% increase shown for periodical transportation between 1995-1996.

b) How much did private sector, national long-haul freight (provide separate answers for truck and rail) carriers on average increase their over-theroad rates between 1995 and 1996 for non-postal freight customers?

c) Does USPS compare its annual surface (or air) purchased transportation costs with national transportation industry data to evaluate if its costs are comparable to freight costs for other large national shippers? If it does make this comparison, please provide all studies, reports and analyses covering time periods since January 1988, since the current transportation cost allocation method derives from the decision of the Governors in Docket R87-1.

RESPONSE

a) The 14.8 percent increase is an overstatement of the cost increase from 1995-1996. Additionally, see my response to ABP-T15-1.

With regard to the increase from base year to test year after rates in this docket, please refer to Attachment I to this response. Lines 1 - 10 in columns (1-5) show the cost changes that appear in the rollforward model from Base Year 1996 through Fiscal Year 1997. Lines 12 - 19 in columns (1-5) show the cost changes that appear in the rollforward model from Fiscal Year 1997 through Test Year 1998 After Rates. Line 11 of columns (1-5) is the total change between Base Year 1996 and Fiscal Year 1997 and line 12 of the same columns is the percent change for that period. Line 21 of columns (1-5) is the total change between Fiscal Year 1997 and Test Year 1998 After Rates and line 22 of the same columns is the percent change for that period. Columns (1-5) have the total change between Fiscal Year 1997 and Test Year 1998 After Rates and line 22 of the same columns is the percent change for that period. Columns (0-10) show the

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS PATELUNAS TO INTERROGATORIES OF THE AMERICAN BUSINESS PRESS .(Revised 10/31/97)

RESPONSE continued:

individual impacts in terms of the total change. For example, line 3 of column (6) shows the 1.84% of the total base year to test year change that was the result of the FY 1996 to FY 1997 cost level effect in the rollforward model.

The development of the factors used in the rollforward model to calculate the amounts referenced in Attachment I can be found in USPS Library

Reference H-12.

b) I have not studied this matter.

c) It is my understanding the Postal Service does not make this comparison. Also, the current transportation "cost allocation method" does not derive from the decision of the Governors in Docket R87-1. While it is fair to say that our econometric-based volume variability methodology was adopted at that time, and updated and improved in this case, the distribution methology for Cost Segment 14 was initiated in Docket No. R90-1 with the development and implementation of TRACS. Passenger rail TRACS data were added in Docket No. R94-1, and new air distribution keys were added in this case. The Postal Service's transportation costing improvements are a matter of record in the rate and classification proceedings over the last decade.

Periodical Regular Rate

	Γ.		Absolut	te Total Chi	ange]	[Percent Change of Total					
		Air	Highway	Rail	Water	Total	Air	Highway	Rail	Water	Total		
	Column=>	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)		
Line													
1	96MODS	13,515	158,791	72,880	3,108	248,294							
2			_	_									
3	CL	896	5,574	867	105	7,442	1.84%	11.43%	1.78%	0.22%	15.27%		
4	MV	307	3,497	1,569	68	5,441	0.63%	7.17%	3.22%	0.14%	11.16%		
5	NV	0	0	0	0	0	0.00%	0.00%	0.00%	0.00%	0.00%		
6	AD	0	0	0	0	0	0.00%	0.00%	0.00%	0.00%	0.00%		
7	CR	-676	0	0	0	-676	-1.39%	0.00%	0.00%	0.00%	-1.39%		
8	OP	1,043	7,044	0	0	8,087	2.14%	14.45%	0.00%	0.00%	16,59%		
9					•								
10	97RCR	15,085	174,906	75,316	3,281	268,588	3.22%	33.06%	5.00%	0.35%	41.63%		
11	Change	1,570	16,115	2,436	173	20,294							
12	% Change	11.62%	10.15%	3.34%	5.57%	8.17%							
11	-												
12	CL	-443	2,449	2,154	94	4,254	-0.91%	5.02%	4.42%	0,19%	8.73%		
13	MV	30	365	160	7	562	0.06%	0.75%	0.33%	0.01%	1.15%		
14	NV	0	0	0	0	0	0.00%	0.00%	0.00%	0.00%	0.00%		
15	AD	0	0	0	0	0	0.00%	0.00%	0.00%	0.00%	0.00%		
16	CR	-31	-2,393	0	0	-2,424	-0.06%	-4.91%	0.00%	0.00%	-4.97%		
17	OP	1.096	4 671	0	0	5,767	2.25%	9.58%	0.00%	0.00%	11.83%		
18		• -	-										
19	98RCB	17.307	196,113	80,066	3,555	297,041	7.78%	76.56%	14.74%	0.92%	100.00%		
20			•	•	•								
21	Change	2,222	21.207	4,750	274	28,453							
22	% Change	14,73%	12.12%	6.31%	8.35%	10.59%							

Sources: Cols (1-5) Lines (1-10) USPS-T15 WP-A Cols (1-5) Lines (11-20) USPS-T15 WP-F Col (5) Lines (1-19) = Sum cols(1-4) Cols (1-5) Line 11 = Line 10 - Line 1 Cols (1-5) Line 12 = Line 10 - Line 1 Cols (1-5) Line 21 = Line 19 - Line 10 Cols (1-5) Line 22 = Line 21 / Line 10 Cols (6-10) = relevant change portion / total change

Response of United States Postal Service Witness Patelunas to Interrogatories of Douglas F. Carlson (Redirected from the United States Postal Service)

DFC/USPS-6

Please refer to Attachment I to Response to DFC/USPS-T5-2(b) and explain why the costs attributable to postal cards are significantly lower than the costs attributable to private single-piece post cards. In the response, please indicate whether witness Patelunas' explanation in Docket No. MC96-3 (OCA/USPS-T5-11; Tr. 2/252) still applies.

DFC/USPS-6

I know of no reason why my speculative reasons discussed in Docket No. MC96-3 (OCA/USPS-T5-11, Tr. 2/252) would no longer apply, but I have not studied the matter.

Response of United States Postal Service Witness Patelunas to Interrogatories of Douglas F. Carlson (Redirected from Witness Lion USPS-T-24)

DFC/USPS-T24-1

Are the costs of delivering mail to post-office boxes lower than the costs of carrier or rural delivery? Please explain your answer.

DFC/USPS-T24-1 Response:

Although no similar presentation appears in Docket No. R97-1, I presented an analysis of this topic in Docket No. MC96-3. See my direct testimony,USPS-T-5, Appendix B. In that appendix, I develop the cost differences between post office box delivery and street delivery and under the assumptions in that appendix, the costs of delivering mail to post office boxes was lower than the costs of carrier or rural delivery. I have no reason to doubt the continuing existence of those relationships.

Response of United States Postal Service Witness Patelunas to Interrogatories of Douglas F. Carlson (Redirected from Witness Lion USPS-T-24)

DFC/USPS-T24-2

Please identify the mechanism by which the costs of delivery to post-office boxes are reflected in the fees for post-office boxes. In doing so, please direct me to the appropriate portions of the Postal Service's direct case where I would find this information.

DFC/USPS-T24-2 Response:

The "costs of delivery to post office boxes" are not "reflected in the fees for post office boxes." The "costs of delivery to post office boxes" are borne by the classes of mail being delivered to those post office boxes. Specifically, if the "costs of delivery to post office boxes" are defined as "sorting mail to boxes", the costs are a portion of the costs shown in column (3.1), Mail Processing Direct Labor. The costs for Mail Processing Direct Labor (3.1) can be found in the following exhibits:

Fiscal Year 1997UTest Year 1998 Before RatesLTest Year 1998 After RatesL

USPS Exhibit-15B USPS Exhibit-15E USPS Exhibit-15H.

Response of United States Postal Service Witness Patelunas to Interrogatories of Major Mailers Association (Redirected from Witness Alexandrovich USPS-T-5)

MMA/USPS-T5-6

.

What percent of clerk and mailhandler direct labor costs are overhead costs in the test year 1) under the **Postal** Service's cost methodology and b) under the Commission's cost methodology?

MMA/USPS-T5-6 Response:

a. There are no clerk and mailhandler direct labor overhead costs in the test year under the Postal Service's cost methodology.

b. Objection filed August 26, 1997.

Response of United States Postal Service Witness Patelunas to Interrogatories of Nashua Photo, District Photo, Mystic Color Lab and Seattle Filmworks (Revised 10/16/97)

NDMS/USPS-T15-1

Please refer to your response NDMS/USPS-T33-24 (redirected to you from witness Sharkey), and to LR-H-12, page 100, referred to in your answer. The column "Incremental FY 98" shows an entry on the ninth row for \$100,000 thousand described as Priority Redesign (98) and charged to Account 53599/Comp 142. In the same column, on the penultimate row before "Subtotal Trans. Programs" is another entry for \$100,000 thousand, also labeled Priority Redesign and charged to Account 53131/Comp 143. The subtotal for transportation programs, \$252,447 thousand, would appear to include a total of \$200,000 thousand in FY 98 for Priority Mail Redesign.

a. Are the two \$100,00 thousand entries for "Priority Mail Redesign" duplicative?

b. What do Account 53599/Comp 142 and Account 53131/Comp 143 stand for? Are they for air or surface transportation? If either component is for air transportation, please explain what it represents; e.g., expansion of the Eagle Network, special "charter" flights not part of the Eagle Network to transport Priority Mail, etc.

c. Please confirm that the subtotal for Transportation Programs in FY 98 includes \$200,000 thousand for Priority Mail Redesign. If you do not confirm, or if the two figures cited above are not additive, please explain.

d. Your answer notes that LR-H-12 includes "a cost reduction in air transportation costs due to Priority Mail Redesign." That does not explain the \$50,164 thousand increase in Priority Mail air transportation costs between the Base Year and Test Year Before Rates. In fact, when the cost reduction of \$82 million is taken into account, other unexplained factors are causing an increase of \$132,164 thousand in air transportation costs for Priority Mail, which is an astounding increase of 34.5 percent over base year air transportation costs. Please explain what is causing both the ground and air transport costs for Priority Mail to increase so sharply.

NDMS/USPS-T15-1 Response:

a. No, one of the \$100,000 is Highway service costs for component 143 and the

other \$100,000 is Domestic Air service costs for component 142.

b. In the Postal Service's cost model, "Comp 142" stands for component 142, which

is Domestic Air transportation and "Comp 143" stands for component 143, which is

Highway transportation. Component 142 is air and component 143 is surface. These

Response of **United** States Postal Service Witness Patelunas to Interrogatories of Nashua Photo, District Photo, Mystic Color Lab and Seattle Filmworks (Revised 10/16/97)

NDMS/USPS-T15-1 Response continued:

costs are further described in USPS Library References H-1 (Section 14.1.1) and H-9 (Pages 123-125).

c. Part c. is confirmed.

d. Please refer to Attachment I to this response. Lines 1 - 19 in columns (2-5) show the cost changes that appear in the rollforward model from Base Year 1996 through Test Year 1998 Before Rates. Column (1) reflects the correction discussed in my second revised response to UPS/USPS-T33-36 redirected from Witness Sharkey. Line 21 of columns (1-5) is the total change between the base year and the test year. Line 22 of columns (1-5) is the percentage change; it is line 21 divided into line 1. Columns (6-10) show the individual impacts in terms of the total change. For example, line 3 of column (6) shows the 9.52% of the total change that was the result of the FY 1996 to FY 1997 cost level effect in the rollforward model.

As can be seen on line 22 of column (1), the total change in Priority Mail Air Transportation costs from the base year to the test year is 31.4% Most of the increase is the result of the other programs in Test Year 1998, of which, \$100,000 is Priority Mail Redesign. Likewise, most of the 104.4% increase for Priority Mail Highway Transportation costs from the base year to the test year is the result of Priority Mail Redesign.

Percent Change of Total

••••	16101 10 90	rcent Chan	94	*******	1	Absolute Total Change					
οŢ	Water	lieЯ	Чідһway	лiА	latoT	Water	lißЯ	Нідһway	Air		
l)	(6)	(8)	(<u>)</u>	(9)	(ç)	(7)	(2)	(Z)	(1)	<=nmuloO	
					256,355	430	908'Z	139,622	764,585	SOOM96	enij t
44	70 FU U	70100	/0 /0 }	1003 0			50				2
56 11	20C0 0	0/. I O.O	% + 0'l	%70'6	4/2'02	7 L	33	106'7	52'456	сг	3
, 17	%70.0	%₽1.0	%£0.7	%88 [.] 61	952,27	85	368	787,81	570,53	ΛW	7
, n	%00.0	%00.0	%00.0	%00'0	Ō	0	0	0	0	٨N	9
<u>-</u> 1	%00'0	%00.0	%00.0	%00.0	0	0	0	0	0	dΑ	9
/ + / -	%00'0	%00.0	%00.0	%96'2-	-21,218	0	0	0	812,15-	รร	L
F 1	%00.0	%00.0	%/9'Z	12.27%	665'62	0	0	158,6	32,748	ЧО	8
57	%20.0	%910	%£4 11	%262 22	991 219	203	200 0	+6+ 02+	303 621	80020	6
				0/7/:00	000' (#0	700	/07°C	1011071	070'0/#	NJN/6	۰۱ ۱
7-	%10.0	%£0.0	%68.0	%12.2-	-11 434	71.	26	2382	229 21-	10	21
71	%10.0	%80.0	%96°£	% 1 5.01	38.940	32	202	10 203	271 8C		ן ג איז
)	% 0 0`0	%00'0	%00'0	%00 0	0	0	0	0	0		01 74
)	%00'0	%00'0	%00`0	%00'0	0	U	0	0	0	U V	21
-33	%00.0	%00`0	%26'0-	-31 40%	905.98-	0	0	£97 C-	278 28-		31
92	%00`0	%00`0	39.25%	37.45%	162 702	0	0	162 701	000 001	90 No	21
						-	•	10/1101	0001001	10	81
10	%†0`0	%9Z [.] 0	%09`#9	%01'97	7 <i>35</i> ,567	248	3'201	282'404	\$03'604	85RCB	61
											50
					267,002	811	969	142,782	120,407	Change	12
					%£7.08	27.44%	%LL' † Z	% ! †`†0	31.40%	9gnsd⊃ %	55
						%ɛ᠘`0ᢒ	51.44% 50.73%	54.77% 27.44% 50.73%	104°41% 54'11% 51'44% 20'13%	31 *40% 10**41% 54 *2 % 50 **4% 20**34	%57.08 %17.42 %14.401 %04.16 9pnan0%

A-9W 81T-898U (01-1) senil (4-1) slob Sources:

٠

Cols (2-4) Lines (11-20) USPS-T15 WP-F

Col (1) Lines (11-20) reflecting Attachment I, second revised response to UPS/USPS-T33-36 redir. from Witness Sharkey

f ani1 - 6f ani1 = fS ani1 (8-f) alo0 (1-1) Lines (1-19) = Sum cols(1-4)

Cols (1-5) Line 22 = Line 21 / Line 3

Cols (6-10) = relevant change portion / total change

.

OCA/USPS-4. The following interrogatory refers to Postal Service library reference H7, data filename FY96mods.dat. Within the data file FY96mods.dat there are non-numeric characters.

a. Please confirm that each of the following characters found in the data file converts to a numeric value as follows:

<u>Character</u>	converts to <u>Numeric Value</u>	<u>Confirmed</u>	Not Confirmed
"{"	0	<u></u>	· · · · · · · · · · · · · · · · · · ·
"A"	1		· · · · · · · · · · · · · · · · · · ·
"8"	2	<u></u>	
"C"	3		t
''D''	4	<u> </u>	·
"E"	5	<u> </u>	·;
"F"	6	,	;
"G"	7		,
"H"	. 8		
"]"	9		
"}"	-0	<u> </u>	۱
"J"	-1		;
"K"	-2		
"L"	-3		1
"M"	-4		
"N"	-5		
"O"	-6	_ <u></u> ,,	
"P"	-7		;
"Q"	-8		; and
"R"	-9		

b. For each conversion that was not confirmed in part "a" of this interrogatory, please state the correct interpretation of each non-numeric character.

OCA/USPS-4 Response:

a. Not confirmed. It is not correct to think in terms of converting the characters in the first column to the numeric values in the second column. The positive sign associated with the first ten symbols should not be assumed, rather the positive sign should be displayed. For example, the first character, "{", is synonymous with "+0". Keeping these two points clearly in mind, the symbols in the first column have the identical meaning as the numeric values in the second column, as shown in part b below.

b. The positive sign should be displayed for the first ten characters, resulting in the following:

{"	+0
Ă"	+1
B"	+2
C"	+3
D"	+4
E"	+5
F"	+6
G"	+7
Ή"	+8
1) II	+9
}"	-0
- J"	-1
κ	-2
Ľ	-3
'M"	-4

OCA/USPS-4 Response continued:

"N"	-5
"O"	-6
"P"	-7
"Q"	-8
"R" .	-9

OCA/USPS-5. The following interrogatory refers to the Postal Service's Base Year data file format in USPS library reference H-7.

a. Please explain why the Postal Service provides base year data (FY96mods.dat) that includes non-numeric data.

b. Please explain why the Postal Service does not provide a base year data file containing only numeric characters.

OCA/USPS-5 Response:

a. The fields that contain these characters are not "non-numeric". COBOL defines these fields as "signed numeric".

b. See the response to part a of this question.

.

OCA/USPS-6. Please identify the Postal Service library reference that provides the base year data file format specifications and any required character conversion algorithm. Include in your response section identifiers and page numbers as appropriate. If there is no such library reference, please provide one.

OCA/USPS-6 Response:

These base year data file format specifications can be found in Docket No. R94-1, USPS Library Reference G-5, Costs and Revenue Analysis / Roll Forward, Listings of Programs, Job Control Language, and Command Procedures, Section 20, page 4. As explained in the response to OCA/USPS-4, there is no "character conversion algorithm" to be documented because there is no conversion. Nonetheless, in an effort to further explain the representation of the characters, the Postal Service searched its COBOL manuals, but was not able to find documentation of the character definition. These data file format specifications and character meanings are the same that have been filed in previous rate cases in which the base year/rollforward model data files have been filed. The character interpretations described in question 4, part a are common knowledge to any casual user of COBOL and thus further documentation, if such even exists, is not necessary.

to

Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich USPS-T-5)

OCA/USPS-T5-3. The following interrogatory refers to Postal Service library reference H-6, subdirectory "PS410DOI/FY96MODS" data file "I.DAT", USPS-T-5 workpapers A and B and USPS library reference H-9. In each of the following instances, the data file appears to disagree with the workpapers and the library reference cited in USPS-T-5 workpaper B. Please indicate which information is correct and provide corrected library references, workpapers, and a data file as appropriate. (Trailing zero's have been omitted from the data.)

- a. The Postal Service's library reference H-6, data file I.DAT, indicates that the segment 18, cost component 199, "Repriced Annual Leave" total "other" is "46,427." Both workpaper A at 80 and Postal Service library reference H-9 at 159 indicate that cost component 199 is "47,300." Please indicate what the correct amount is.
- b. The Postal Service's library reference H-6 data file I.DAT, indicates that the segment 18, cost component 200, "Holiday Leave Variance" total "other" is "2,650." Both workpaper A at 80 and Postal Service library reference H-9 at 157 indicate that cost component 200 is "2,700." Please indicate what the correct amount is.
- c. The Postal Service's library reference H-6 data file I.DAT, indicates that the segment 18, cost component 201, "CS Ret Fund Deficit Cur" total "other" is "223,898." Both workpaper A at 80 and Postal Service library reference H-9 at 159 indicate that cost component 201 is "228,108." Please indicate what the correct amount is.
- d. The Postal Service's library reference H-6 data file I.DAT, indicates that the segment 18, cost component 202, "CS Ret Fund Deficit Pri" total "other" is "408,080." Both workpaper A at 80 and Postal Service library reference H-9 at 159 indicate that cost component 202 is "928,521." Please indicate what the correct amount is.
 - e. The Postal Service's library reference H-6 data file I.DAT, indicates that the segment 2, cost component 9, "Time & Attend Supervision" total "other" is "61,056." Both workpaper A at 6 and workpaper B-2, worksheet 2.0.1 column 9, line 4, indicate that cost component 9 is "62,231." Please indicate what the correct amount is.

Response of United States Postal Service Witness Patelunas to Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich USPS-T-5)

OCA/USPS-T5-3 Response:

There are two attachments that accompany this response. Attachment I is a list of all the directories, subdirectories and file names found in Library Reference H-6.

Columns A through E are the subdirectories and Columns F through O are the file names. File name \ps410d01\fy96mods\ contains the base year file i.dat. File name \ps420d01\fy96mods\ contains the base year file names a.dat, b.dat and d.dat. File name \ps460d03\ contains all of the rollforward files.

Attachment II is a flowchart detailing how the files are used from Base Year 1996 to Fiscal Year 1997 Before the Volume and Workyear Mix Adjustments. The Base Year 1996 B Workpapers are the source of the Manual Inputs used in the I File. Distributing the volume variable less PESSA costs produces the A File. The A File is then the input for the B File in which the PESSA costs are distributed and the D Report, which contains the Final Adjustments, follows the B File.

The A File is also the input matrix to the next rollforward year. The C1 through C6 Files are each of the discreet adjustments in the rollforward model. These are then summed into the TY File and it is similar to the A File in the base year. The TY File is used as the input to the B File and the TY File is also the input to the next rollforward year.

A more detailed explanation of these steps can be found in the testimony of Witness Patelunas, USPS-T-15, pages 6-15. The technical explanation is available in

the following library references: Docket No. R94-1, LR-G-5, Costs and Revenue/RollForward, Listings of Programs, Job Control Language, and Command Procedures and Docket No. R97-1, LR-H-5, Cost and Revenue Analysis, Roll Forward, Processing Documentation.

Response a-e:

**

All of the amounts cited to USPS-T-5, Workpaper A and USPS Library Reference H-9 are correct. All of the amounts cited to USPS Library Reference H-6 cannot be found in file I.DAT. All of the relevant amounts in I.DAT match the Workpaper A and USPS Library Reference H-9 amounts. After browsing the files in an effort to clear-up the confusion, all the amounts cited to I.DAT were found in B.DAT. The original source CD ROM that was provided as USPS Library Reference should be reviewed for the amounts in I.DAT; it is possible that a copy made from the CD ROM has been mislabeled.

teb.yt	tep.mus	Jeb.b	tsb.ðo	tsb.ĉo	tsb. k o	jsb.£c	teb.So	tsb.fo	Jsb.d	ty98rcbm	<=				51
teb.yt	jep.mus	teb.b	teb.ðo	teb.ĉo	isb. k o	jeb.£o	teb.So	tsb.to	jeb.d	fy98rcb	 <=				14
jeb.yj	180.mus	16D.D	jsb. 3 0	18D.CO	16D. A O	165.63	18b.So	JSD. FO	16D.d	iyyakcam	 <=				รเ
1917-61		180.0	180.00	180.63	180.40	180.63	180.20		ט.טמו	Philophi	 				71
100 11	top with	10p p	100 80	101 30	100 10	100 50	100 50	tob to	P 404	0008014	<=/r				61
teb.vt	teb.muz	teb.b	teb. 3 0	isb.ĉo	teb.Ao	teb.£o	ieh.So	teb.to	tsb.d	10178vî	<= 				11
teb.yt	teb.mus	jsb.b	jab. 3 0	J&D. 20	16b. 1 0	18b.£3	16b .20	JBD. FO	J6D.d	ty97rcm	<= 				01
tsb.yt	teb.muz	tsb.b	jeb. 8 0	teb.20	teb.4o	18b.Eo	teb.So	teb. to	jsb.d	οοη Γίλας	<= 			,	6
											be 4 60403	<= 			8
							jsb .b	tsb.d	jsb.e	spom36yì	<=	 			L
											robos h eq II	 <=			9
									jab.i	spom98{i	<=	1) 			S
				·							ll LOPOL I SO	 <=			7
												- 5411131112	~-1		c
												andole	 		Ŀ
								а					0 -tht	=> 	2
														aldran	L
0	Ν	Ν	٦	К	ſ	ł	н	Ð	ы.	Ξ	٥	С	8	¥	

•



Response of United States Postal Service Witness Patelunas to Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich USPS-T-5)

OCA/USPS-T5-4. The following interrogatory refers to Postal Service library references H-6 and H-7. Both library references include diskettes. Library Reference H-6 states, "Eight computer tapes contain[] data files used in the Base Year / RollForward To facilitate use of these tapes, printouts of the job control language (JCL) used to create the tapes, and associated processing messages are also provided. "Library Reference H-7 states "This library reference contains one diskette that includes the cost matrices for the following years:..."

- a. Please explain why the data file I.DAT in library reference H-6, subdirectory "PS410DOI/FY96MODS" differs from the data file FY96MODS.DAT provided in library reference H-7. Which data file I.DAT or FY96MODS.DAT is correct? If neither file is totally correct, please submitted a corrected data file.
- b. In library reference H-6, subdirectory "PS420DOI/FY96MODS" there are three data files, A.DAT, B.DAT and C.DAT. Please explain the purpose of each data file.
- c. Please explain the difference between the data file FY97RCC.DAT in library reference H-7 and the data files in library reference H-6, subdirectory
 "PS460D03/FY97RCC". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.
- d. Please explain the difference between the data file FY97RCM.DAT in library reference H-7 and the data files in library reference H-6, subdirectory
 "PS460D03/FY97RCM". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.
- e. Please explain the difference between the data file FY97RCR.DAT in library reference H-7 and the data files in library reference H-6, subdirectory "PS460D03/FY97RCR". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.
- f. Please explain the difference between the data file FY98RCA DAT in library reference H-7 and the data files in library reference H-6, subdirectory
 "PS460D03/FY98RCA". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.

- g. Please explain the difference between the data file FY98RCAM.DAT in library reference H-7 and the data files in library reference H-6, subdirectory "PS46OD03/FY98RCAM". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.
- h. Please explain the difference between the data file FY98RCB.DAT in library reference H-7 and the data files in library reference H-6, subdirectory
 "PS460D03/FY98RCB". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.
- i. Please explain the difference between the data file FY98RCBM.DAT in library reference H-7 and the data files in library reference H-6, subdirectory "PS460D03/FY98RCBM". What data file accurately reflects the cost matrix data? If neither library reference contains a data file that accurately reflects the cost matrix data, please provide a corrected data file.

OCA/USPS-T5-4 Response:

For each of these responses, please refer to Attachments I and II to the

response to OCA/USPS-T5-3 for further assistance.

a. The I.DAT in Library Reference H-6 is the I File in Base Year 1996 and the

FY96MODS.DAT file is the D File in Base Year 1996. Both files are correct.

b. There is no C.DAT File; it is assumed that this should be D.DAT. The

explanation provided at the beginning of the response to part a of OCA/USPS-T5-3 and

the two attachments to that response explain the purpose of each data file.

c-i. The files found in Library Reference H-7 are the D Files for each of the years

listed. The two attachments to the response to OCA/USPS-T5-3 describe the files

contained in Libary Reference H-6. The two attachments and the explanation at the
Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich USPS-T-5)

beginning of that response provide the detail necessary to understand the different

files. All the files reflect the cost matrices that they are intended to reflect.

. .

۰.

44

÷

OCA/USPS-T5-5. The following interrogatory refers to Postal Service library reference H-6, data file "I.DAT" and your workpaper A-1, base year 1996, manual input requirement.

- a. Can the "I.DAT data file provided on diskette in Postal Service library reference H-6, subdirectory "PS410D01 /FY96MODS" be used in the Postal Services CRA roll-forward program to replicate workpaper A-1, manual input requirement for the base year 1996?
- b. If your response to part "a" of this interrogatory is negative, please indicate what Postal Service library reference and data file could be used to replicate the workpaper A-1, manual input requirement for the base year 1996.
- c. If no data file has been submitted on a diskette that could be used to replicate the workpaper A-1, manual input requirement for the base year 1996, please provide one. The file provided on a diskette should be in a format similar to the file format used in the Postal Service library reference H-6 data file "I.DAT."

OCA/USPS-T5-5 Response:

- a. The LDAT data file provided on CD ROM in Postal Service Library Reference
- H-6, subdirectory "ps4IOdO1/fy96mods" is the same file as USPS-T-5, Workpaper A-1,

Manual Input Requirement.

- b. Not Applicable.
- c. Not Applicable .

Response of United States Postal Service Witness Patelunas to Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich USPS-T-5)

OCA/USPS-T5-6. The following interrogatory refers to Postal Service library reference at 62. Please confirm that op code 12 takes the sum of components 427 and 21 distributes the total to component 528 on the basis of component 527. If you unable to confirm, please explain fully and include cites.

OCA/USPS-T5-6 Response:

Not confirmed. In addition to Postal Service library reference H-4, please refer to Docket No. R94-1, USPS Library Reference G-5, Costs and Revenue/Roll Forward, Listings of Programs, Job Control Language, and Command Procedures and Docket No. R97-1, Library Reference, H-5 for further explanation.

Briefly, control string 12 (this is not an op code), distributes the total amount of component 29, Supervision of E & LR, on component 527, All Salaries. This amount is stored in component 528. Component 427 is the PESSA portion of the E & LR component that is distributed in the B control strings and this amount is subtracted from component 29 to eliminate double counting. That is why components 427 and 29 can be added together to yield the same total as component 528.

Response of United States Postal Service Witness Patelunas to Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich USPS-T-5)

OCA/USPS-T5-9. Your response to OCA/USPS-T5-1, indicates that Postal Service library reference H-4 at 59-72 is a description. However, the Postal Service library reference H-4 at 59-72 is primarily a series of numbers. For example, the following appears on page 59,

04 CALCULATE SUBTOTAL ALL SALARIES 0525,0080 0680...;

on page 61,

04 CALC TOTAL C/S 16 CUSTODIAL & BUILDING 0297 0176 0177...;

and on page 62,

12 DISTRIBUTE C/S 18 PESSA CSC RETIREMENT CURRENT 0528,0432,0201,0433....

For each line on pages 59-72, please provide an English translation of the program operation. Please explain all mathematical calculations that are being performed.

OCA/USPS-T5-9 Response:

Please refer to Docket No. R94-1, USPS Library Reference G-5, Costs and Revenue/Roll Forward, Listings of Programs, Job Control Language, and Command Procedures for an English explanation of the program operations and the arithmetic involved. Additionally, Docket No. R97-1, Library Reference, H-5 provides further documentation.

Response of United States Postal Service Witness Patelunas to Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich, USPS-T-5)

OCA/USPS-T-5-28. Please list all BY 1996 cost segments and components (other than segment 3) for which the attributable costs are distributed (in whole or in part) to the classes and subclasses according to the distribution of costs for segment 3 totals.

OCA/USPS-T-5-28 Response:

See my response to OCA/USPS-T5-27, redirected from Witness Alexandrovich, USPS-T-5.

Response of United States Postal Service Witness Patelunas to Interrogatories of Office of the Consumer Advocate (Redirected from Witness Alexandrovich, USPS-T-5)

OCA/USPS-T-5-29. Please list all BY 1996 cost segments and components (other than segment 3) for which the attributable costs are distributed (in whole or in part) to the classes and subclasses according to the distribution of costs for one of the segment 3 components. In each case, indicate which component is used to distribute the attributable costs.

OCA/USPS-T-5-29 Response:

See my response to OCA/USPS-T5-27, redirected from Witness Alexandrovich, USPS-T-5.

Sources		Distribution Key	Component Title	Component
1.1.4 2\W	8 9W	Subclasses distributed on Component 35	CAG K Clerks	45
1.81	Wb Y-3	Distributed on Component 35	Supy. Direct Labor and Overhead	*
1.81	WP A-2	Distributed on Component 35	Services Window Services	L
1.02	WP A-2	Distributed on Component 525 All Salaries Key	Supv. Time & Attendance	6
1.82	WP A-2	(exc. CO2 1 & and Early, CO3 1 & A) Distributed on Component 525 All Salaries Key (exc. CS2 T&A and Early CC3 T&A)	Employee & Labor Relations	58
1.82	Wb A-2	(exe: Cost) هم هاند حمد لر. Cos) هم) Distributed on Component 40 and CS 6&7 exe. CAG K	Cen Supy. Collection & Delivery	32
30.1	WP A-2	Distributed on Component 295 Mail Processing and Specific Fixed Total	Supv. QC/Rev Protection	929
1.05	WP A-2	Dis A&T gribulaxe & 20 no betruintein	Joint Supy. Clerks & Carriers	878
1.29	WP A-2	Distributed on Component 1259 of which 1258 is part	Postal Operating Equipment	9L
1.28	WP A-3	Portion of Component 1258 is Component 35		•••
1.421	WP A-2	Distributed on Component 526 All Salaries Key and Personnel costs from CS 13, 16, 18 and 19	evsej leunnA besiqeS	66 L
1.421	WP A-2	Distributed on Component 526 All Salaries Key	CSRS Current	500
124.1	Wb	Distributed on Component 526 All Salaries Key	CSRS Prior	501
1.851	WP A-2	Distributed on Component 526 All Salaries Key Distributed on Component 526 All Salaries Key and Personnel costs from 52 13. 16, 18, and 19	Workers' Comp	504
1.81	2-A 9W	Distributed partially on CS 3 Admin. T&A and Other	Office Factor	944
1.81	WP A-3	Distributed on All Salaries key, exc. HQ & Region	Employee Facilities Factor	L#6
1.82	WP A-3	Distributed on Component 40	Window Service Space	1001
1.05	6-A 9W	Distributed on Component 66	Slaims & Inquiry Space	0101
45.1	6-A 9W	Distributed on Component 944	eseq2 esito	1044
1.24	Wb	C4e transported on Component 14e	Employee Facilities Space	201
1.34	WP A-3	Distributed on Component 35	Mail Transport Equip Centers	1025
1.84	6-A 9W	Sum including comps: 1001, 1010, 1044, 1047 and 1052	I OTAL SPACE KEY	6601
1.8 4	WP A-3	04 Instruction Component 40	Isine Service Rental	1011

4

٠

•

9785

Attachment I OCA/USPS-T5-27 through 29 (Redirected from Witness Alexandrovich, USPS-T5)

٠

Se	Source	Distribution Key	Component Title	Component
184	£-A qW	Distributed on Component 66	Claims & Inquiry Rental	ULL
1.28	6-A 9W	Distributed on Component 944	Office Space Rental	1144
r.2a	WP A-3	Distributed on Component 947	Employee Facilities Rental	7411 TA11
1.88	6-A 9W	Distributed on Component 35	Mail Transport Equip Centers Rental	1125
r.88	WP A-3	Sum including comps: 1010, 1010, 1044.	Total Rental Key	6611
		201 pre 7401		
1.28	Wb Y-3	Distributed on Component 35	Mail Transport Equip Centers	1520
82.1	WP A-3	Includes Component 1250	Total Key	1568
1.06	WP A-3	Distributed on Component 35	Mail Transport Equip Centers	1280
1.08	Wb ¥-3	Includes Component 1280	Total Key	1589
r.a	WP A-4	Distributed on Component 527 AII Salaries	noisiv19qu2 A & T	458
		exc. CS 2 T&A and E&LR and CS3 T&A		2,07
1.9"	₩-∀ dM	PESSA distributed on Component 522 ABS 44 ASS and 20 ASS 44 ASS and 20 ASS 44 A	Employee and Labor Relations	/7.
FR		202 202 100 Condition and Later and 202 100	anoiteleg and i hus aevolum3	667
1.0		AST 620 And 183 And AST 0 20 209		AT L
101	1/// V~V	PROF reaction Comparising ASCH	Cleaning & Protection Personnel	* L
1.01	Mb ¥-4	eent menequies no betraintis ASSE	Contract Cleaners	18
1.01	WP A-4	BEOL monographic his boundarisib ASSE	Inemaina Eaviant	6 <u>/</u>
1.21	Mb V-4	PESS A statement of Component 1989	Kents	591
1 61	WP A-4	PESS Processing on Component 1989	Fuel & Utilities	298
L 7L	1.4 A.4	9601 Inerroymo on betudintsib A2239	Custodial & Building	797
191	MP A-4	BBOT Instruction on betructing AS239	USPS Protection Force	194
1.81	WP A-4	PESSA distributed on Component 433 All Salaries Key	CSRS Current	435
		and Personnel costs from CC 13, 16, 18 and 19		
1.81	₽-A 9W	PESS distributed on Component 433 Blanes Kev	CSRS Prior	434
		and Personnel costs from CS 13, 16, 18 and 19		
1.81	M- A-4	Includes Components 432 and 434	CSRS Summation	4 32
50.1	WP A-4	PESSA distributed on Component 433 All Salaries Kev	stitene Haalth Benefits	208
		and Personnel costs from CS 13, 16, 18 and 19		
1.02	M6 Y-4	PESSA distributed on Component 433 All Salaries Kev	eonsruant etil tratiunnA	12
		and Personnel costs from CS 13, 16, 18 and 19		
1.02	M6	PESSA distributed on Component 433 All Salaries Key	Annuitant COLA/Principal	367L
		-		

Attachment I OCA/USPS-T5-27 through 29 (Redirected from Witness Alexandrovich, USPS-T5)

1.25

₩ A-4

F UC	V V GIVI	and Personnel costs from CS 13, 16, 18 and 19		
1.02	₽-A Ч₩	PESSA distributed on Component 433 All Salanes Key and Personnel costs from CS 13, 16, 18 and 19	Workers' Comp Current	436
52.1	₩P A-4	PESSA distributed on Component 433 All Salaries Key	noilsaneqmoD InemyolqmenU	423
22.1	₩P A-4	PESSA distributed on Component 433 All Salaries Key	Holiday Leave Variance	654
1.22.1	₩ ₽-4	PESSA distributed on Component 433 All Salaries Key and Personnel costs from CS 13, 16, 18 and 19	өvвөд ІвиллА beonqeЯ	077
30.1	M6 Y-4	Distributed on Component 1199	blodessed & pbla betuami	596
30.1	Wb Y-4	Includes Component 296	bloriesed & gbig isto betruibA	450
30.1	Wb Y-4	Includes Component 296	Total Depreciation	454
1.55	₩-A 9W	Distributed on Component 296	Interest for Equip, Land/Bldg & Vehicles	782 7
32.1	₩P A-4	Distributed on Component 433 All Salaries	Retirement Interest	1438

Includes Components 587 and 1436

Jaged Total Interest

583

Response of United States Postal Service Witness Patelunas to Interrogatories of Office of Consumer Advocate (Redirected from Witness Tayman USPS-T-9)

OCA/USPS-T-9-21 Please refer to Library Reference H-12, Chapter IIIa, Roll Forward Model Factors and Chapter XII, Rollforward Model Change Reports.

a. Two different line headings, "Interest on Debt, cost component 217," for three periods (FY97, FY98, and FY98 After Rates) in Chapter IIIa and "Imputed Interest Land/Building and Equip., cost component 587," in Chapter XII, Sections a, d, and f are used to refer to identical dollar amounts. Please indicate which designation is correct, where any conforming adjustments are required, and provide revised schedules as appropriate.

b. Please explain why the "Interest on Debt, cost component 217," of \$82,152,000 in the "Roll Forward Model Factors for FY 1998," referenced in a, above, differs from those in a similar table sponsored by witness Patelunas (Exhibit 15A, FY 1998 page 4), which cites to LR H-12 and lists \$113,192,000 as "Interest on Debt, cost component 217." Please indicate which amount is correct, where any adjustments are required, and provide revised schedules as appropriate.

OCA/USPS-T9-21 Response:

a. The component headings "Interest on Debt" and "Imputed Interest

Land/Building and Equip." are synonymous and can be used

interchangeably. In the CRA/Rollforward model, the proper cost component

associated with these headings is 587. Cost component 217 is Total

Interest Expense.

b. The \$82,192,000 amount shown in USPS Library Reference H-12, Section XII, part d is correct. Please see my USPS Exhibit-15A, page 4, revised September 2, 1997. Exhibit USPS-15A Change the following:

Page 4 of 6

Delete "Interest on Debt" line in SEG 20 section - see addition below

Add the following row to the bottom of the page:

			FY 1997	TY 1998BR	TY 1998AR
20	Interest on Debt	587	0	82,192	26,192

Response of United States Postal Service Witness Patelunas to Interrogatories of 9/19/97 Office of Consumer Advocate 9790 (Redirected from Witness Lion, USPS-T24)

;

OCA/USPS-T24-25. Please refer to your testimony at page 20, line 7, and the following table, which shows the development of attributable costs for the "All Other" category.

.

.

DETAIL FOR "ALL OTHER" CATEGORY TYBR 98

COST SEGMENT	ACC	RUED COSTS (\$1,000)		ATTRIBUTABLE TO PO BOXES (\$1,000)	
		[1]		[2]	
C/S 1		1,714,555	1/	\$3,183	1/
C/S 2		\$3,514,728	1/	\$7,531	1/
C/S 3		\$17,707,467	1/	\$71,527	1/
C/S 4		\$10,053	1/	\$0	
C/S 6&7		\$11,987,730	1/	\$353	1/
C/S 8		\$452,791	1/	\$0	
C/S 9		\$115,083	2/	\$0	
C/S 10		\$3,730,577	2/	\$0	
C/S 11		\$1,065,756	3/	\$0	
C/S 12		\$648,559	2/	\$0	
C/S 13		\$291,673	2/	\$0	
C/S 14		\$4,364,702	2/	\$0	
C/S 15		\$423,682	4/	\$0	
C/S 16		\$2,121,647	5/	\$0	
C/S 17		\$57,201	6/	\$0	
C/S 18		\$4,235,424	7/	\$14,550	8/
C/S 19		\$38,973	9/	\$0	
C/S 20		<u>\$3,211,638</u>	10/	<u>\$7,431</u>	11/
SUBTOTAL		\$55,692,237		\$104,575	
TOTAL	ALL C/S	\$60,766,222	12/		

NOTES AND SOURCES

1/	USPS-T-15. WP E. Table D, at 2.
2/	USPS-T-15. WP E. Table D, at 4.
3/	USPS-T-15. WP E. Table D, at 36.
4/	USPS-T-15. WP E. Table D, at 48.
5/	\$2,121,647 = \$3,529,646 - \$1,407,999 USPS-T-
	15, WP E Table D, at 52 & 54.
6/	USPS-T-15. WP E, Table D, at 6.

Response of United States Postal Service Witness Patelunas to Interrogatories of 9/19/97 Office of Consumer Advocate 9791 (Redirected from Witness Lion, USPS-T24)

OCA/USPS-T24-25 continued:

...

7/	\$4,235,424 = \$4,595,701 - \$360,277 USPS-T-15, WP
	E, Table D, at 56 & 64.
8/	\$14,550= \$21,804 - \$7,254 USPS-T-15, WP E
	Table D, at 56 & 64.
9/	USPS-T-15, WP E, Table D, at B.
10/	\$3,211,638 = \$4,155,532 - (\$581,680 + \$362,214)
	USPS-T-15, WP E, Table C, at 32, and Table D, at 66 & 68.
11/ ·	USPS-T-15, WP E, Table C, at 32.
12/	USPS-T-15, WP E, Table D, at 8.

a. Please confirm that the figures in column [1] are correct. If you do not confirm, please explain and provide the correct figures. Please show all calculations and provide citations to any figures used.

b. Please confirm that the figures in column [2] are correct. If you do not confirm, please explain and provide the correct figures. Please show all calculations and provide citations to any figures used.

c. Please refer to the "Notes and Sources." Please confirm that the citations, and calculation of figures based upon those citations, in the "Notes and Sources" accompanying the table above are correct. If you do not confirm, please explain and provide the correct citations and figures. Please show all calculations and provide citations to any figures used.

OCA/USPS-T24-25 Response:

a. Part a is confirmed.

b. Part b is not confirmed. I misunderstood the question when I originally responded. I interpreted the question as asking me to confirm that the amounts accompanied by a footnote could be found on the paged cited in the "Notes and Sources" section and that is what I did. I should have verified that not only could the amounts be found on the cited pages, but also that these were indeed the correct amounts of Post Office Box volume variable costs. There are two amounts in column [2] that are not correct amounts to use in this calculation: C/S 12 should be \$3 and C/S 20 should be \$7,432. As such, these two amounts are not confirmed.

OCA/USPS-T24-25 Response continued:

In an effort to clarify the confusion this has caused, I am providing Attachment I to this response. Attachment I shows the detail and sources of the underlying Space Provision, Space Support and All Other costs for Test Year 1998 for both Before Rates and After Rates. Using the three categories as defined by Witness Lion, USPS-T-24, page 1 displays the detail for the Space Support and Space Provision categories, page 2 displays the detail for the All Other category for Before Rates and page 3 displays the detail for the All Other category for After Rates.

c. Part c is confirmed.

-

1005'500\$	171'069'09\$	\$601'109	: 777'99/'ng¢		
CC7'1 CC	oci '7 /o'act	6/0'+01¢	- 107'760'0C¢		WEE OLIVER
	00010/0110	077'0776	: 200 003 333		
010 0103	901 923 F8				
818 103	083 1939	311 402	003 1039		
026 71 5	112.3052	612.215	PLC 2955	I EASEHOLD (COMPONENT 215) 4/	
_				C/S 18.2.6 (FY94) C/S 20.6 (FY96)	
120'111\$	F03,883 \$	662'111\$	109'889\$	RENTS	PROVISION
				C/S 16.1 BUILDING OCCUPANCY,	SPACE
128'822\$	069'L##'C\$	826'622\$	069'1+++'2\$	TROPPORT SPACE SUPPORT	
\$1,226	\$360,277	\$1,264	222'092\$	SERVICE	
				C/S 18.1.2 POSTAL INSPECTION	
901'921\$	666'207'1\$	869'421\$	666'207'1\$	C/S 16.3.1 CUSTODIAL & BUILDING	
69/*/2\$	209'8275	616'22\$	209'8275		
				C/S 18.2 BUILDING OCCUPANCY, FUEL	
810400	2283'240	934'424	99616825	1NIAM	
	0,0000				
10.154	1 nw ¹ cot	97/144	104'000		
	000 C34	115'015	600'709t		SUPPORT
303 072	290 0003	110 01\$	320 0003	C/S 11.1.1 CLEANING & PROTECTION	TOODOUS
(0001) A		(000'1 6)			EDACE -
(000 15)					VAODETAD
POST OFFICE BOXES	1000.121 GBURDDA LATOT	POST OFFICE BOXES	TOTAL ACCRUED (\$1,000)	TO COST SEGMENT AND COMPONENT	LSOD
VOLUME VARIABLE TO		VOLUME VARIABLE TO			
ME VARIABLE COSTS 2/	UJOV GNA GEURODA 86RAYT	IME VARIABLE COSTS 1/	TYBR98 ACCRUED AND VOLI		

NOTES AND SOURCES

9793

1/ USPS-T-15, Exhibit E, for the cost segments (C/S) listed.

2/ USPS-T-15, Exhibit H, for the cost segments (C/S) listed.
3/ See Sheets "BR AD Detail" and "AR AD Detail" for development of All Other costs in the test year before rates and the test year after rates, respectively.

4/ USPS-T-15, WP E for Before Rates or WP G for After Rates, Table C at 32.

DETAIL FOR "ALL OTHER" CATEGORY TYBR 98

	TOTAL		VOLUME	
	ACCRUED		VARIABLE TO	
COST	COSTS		PO BOXES	
SEGMENT	(\$1,000)		(\$1,000)	
C/S 1	\$1,714,555	1/	\$3,183	1/
C/S 2	\$3,514,726	1/	\$7,531	1/
C/S 3	\$17,707,467	1/	\$71,527	1/
C/S 4	\$10,053	1/	\$0	1/
C/S 6&7	\$11;987,730	1/	\$353	1/
C/S 8	\$452,791	1/	\$0	1/
C/S 9	\$115,083	2/	\$0	2/
C/S 10	\$3,730,577	2/	\$0	2/
C/S 11	\$1,065,756	3/	\$0	3/
C/S 12	\$648,559	2/	\$3	2/
C/S 13	\$291,673	2/	\$0	2/
C/S 14	\$4,364,702	2/	\$0	2/
C/S 15	\$423,682	4/	\$0	4/
C/S 16	\$2,121,647	5/	\$0	5/
C/S 17	\$57,201	6/	\$0	6/
C/S 18	\$4,235,424	7/	\$14,550	8/
C/S 19	\$38,973	9/	\$0	9/
C/S 20	\$3,211,638	10/	\$7,432	11/
SUBTOTAL	\$55,692,237	<i>*</i>	\$104,579	

TOTAL ALL C/S \$60,766,222

NOTES AND SOURCES

1/	USPS-T-15, Exhibit E, at 2.
2/	USPS-T-15, Exhibit E, at 4.
3/	USPS-T-15, Exhibit E, at 36.
4/	USPS-T-15, Exhibit E, at 48.
5/	\$2,121,647 USPS-T-15, Exhibit E, at 52 & 54.
6/	USPS-T-15, Exhibit E, at 6.
7/	\$4,235,424 USPS-T-15, Exhibit E, at 56 & 64.
8/	\$14,550 USPS-T-15, Exhibit E, at 56 & 64.
9/	USPS-T-15, Exhibit E, at 8.
10/	\$3,211,638 USPS-T-15, Exhibit E, at 66 & 68.
11/	\$7,432 USPS-T-15, Exhibit E, at 66 & 68.

9795 Attachment I OCA/USPS-T24-25

(Redirected from Witness Lion) Revised 9/19/97

.

DETAIL FOR "ALL OTHER" CATEGORY TYAR 98

	TOTAL		VOLUME	
	ACCRUED		VARIABLE TO	
COST	COSTS		PO BOXES	
SEGMENT	(\$1,000)		(\$1,000)	
C/S 1	\$1,712,615	1/	\$2,721	1/
C/S 2	\$3,517,945	1/	\$6,465	1/
C/S 3	\$17,759,605	1/	\$61,217	1/
C/S 4	_\$10,073	1/	\$0	1/
C/S 6&7	\$11,960,532	1/	\$302	1/
C/S 8	\$448,972	1/	\$0	1/
C/S 9	\$114,111	2/	\$0	2/
C/S 10	\$3,721,604	2/	\$0	2/
C/S 11	\$1,070,905	3/	\$0	3/
C/S 12	\$647,994	2/	\$3	2/
C/S 13	\$291,625	2/	\$0	2/
C/S 14	\$4,326,522	2/	\$0	2/
C/S 15	\$423,682	4/	\$0	4/
C/S 16	\$2,123,396	5/	\$0	5/
C/S 17	\$57,201	6/	\$0	6/
C/S 18	\$4,235,424	7/	\$13,625	8/
C/S 19	\$38,973	9/	\$0	9/
C/S 20	\$3,210,957	10/	\$6,960	11/
SUBTOTAL	\$55,672,136	•	\$91,293	-

TOTAL ALL C/S \$60,690,121

•

NOTES AND SOURCES

1/	USPS-T-15, Exhibit H, at 2.
2/	USPS-T-15, Exhibit H, at 4.
3/	USPS-T-15, Exhibit H, at 36.
4/	USPS-T-15, Exhibit H, at 48.
5/	\$2,123,396 USPS-T-15, Exhibit H, at 52 & 54.
6/	USPS-T-15, Exhibit H, at 6.
7/	\$4,235,424 USPS-T-15, Exhibit H, at 56 & 64.
8/	\$13,625 USPS-T-15, Exhibit H, at 56 & 64.
9/	USPS-T-15, Exhibit H, at 8.
10/	\$3,210,957 USPS-T-15, Exhibit H, at 66 & 68.
11/	\$6,960 USPS-T-15, Exhibit H, at 66 & 68.

Answer of Richard Patelunas to the Interrogatories of Office of the Consumer Advocate to United States Postal Service (Redirected from Witness Lion USPS-T24)

OCA/USPS-T24-60. Please refer to your testimony at page 20, lines 5-7, concerning the total cost for each of the three cost categories of Space Support, Space Provision and All Other.

a. Please confirm that you assumed there would be no change in total Space Support and total Space Provision costs in the test year associated with the decrease in the total number of post office boxes. If you do no confirm, please explain.

b. Please confirm that only the total of All Other costs will vary with the decrease in the number of post office boxes in the test year. If you do no confirm, please explain.

OCA/USPS-T24-60 Response:

•

a. See Witness Lion's response.

b. Part b is not confirmed. In the rollforward, in addition to the mail volume effect

for the components comprising the "All Other" category, the components that are used

to build the distribution keys for the PESSA costs also receive a mail volume effect. As

such, the Post Office Box portion (component 903), receives a mail volume effect that

causes it's portion of the total distribution key to change slightly. For instance, the

following changes occurred from Base Year 1996 to Test Year After Rates 1998 for

components 1099 (Total Key of Space Components) and 1199 (Total Key of Rental Value Components):

		(1099)	(1199)
BY96	USPS-T-5, WP-A-3, pp. 46 and 66	8.89%	9.67%
TY98AR	USPS-T-15, WP-G, Table B, pp. 46 and 66	8.81%	9.57%

.....

.......

OCA/USPS-T24-74. Please refer to your testimony at page 20, line 8.

a. Please confirm that the cost of post office boxes located in contract stations is not included in the TYBR "Total Volume-Variable Costs" of \$607,734,000. If you do not confirm, please explain.

b. Please confirm that the cost of post office boxes located in contract stations is treated as an institutional costs. If you do not confirm, please esplain.

OCA/USPS-T24-74 Response:

..

a. Part a is answered by Witness Lion, USPS-T24.

b. It is confirmed that the cost of post office boxes located in contract stations is

treated as non-volume variable.

Response of United States Postal Service Witness Patelunas to Interrogatories of United Parcel Service (Redirected from Witness Sharkey USPS-T-33) Revised 12/03/97

UPS/USPS-T33-58

Please provide that portion of the total price to be paid by the Postal Service under the PMPC contract that relates to test year (FY 1998) operations for the PMPC network.

UPS/USPS-T33-58 Response:

My response to UPS/USPS-T33-35, redirected from Witness Sharkey, referred to USPS Library Reference H-12 pages: 98, 100, 122 and 127 as the sources of the of the PMPC Phase I contract costs. For Test Year 1998, the costs are found on pages 100 and 122 of USPS-LR-H-12 and they are (in 000's):

HQ Programs	Segment 16	Component 187	\$101,813	page 122
Air Transportation	Segment 14	Component 142	\$100,000	page 100
Highway Transport	Segment 14	Component 143	\$100,000	page 100.

Summing the amounts shown above yields \$301,813,000 in PMPC Contract

costs projected for Test Year 1998 in USPS-LR-H-12.

14. USPS Library References H-2 and H-3 are the FY 1996 Cost and Revenue Analysis report and the Cost Segments and Components report. These reports are the Fiscal Year 1996 equivalent of witness Alexandrovich's Exhibits 5A through 5C. Please provide the following workpapers and backup material that were used to develop the library references, above.

a. Cost Segment workpapers, equivalent to witness Alexandrovich's "B" workpapers. Also, please provide the electronic version of the workpapers as was provided for the Base Year workpapers in USPS LR-H-201.

b. The CRA Manual Input reports, the A report, the B report, and the C report. These are equivalent to witness Alexandrovich's workpapers A-1 through A-4. Please provide an electronic version of the Manual Input report similar to that found in USPS LR-H-6.

14. Response:

a. The hardcopy version of the "B" workpapers is provided in Part I of USPS

LR-H-308. The electronic version of the "B" workpapers is provided on the disk

found at the end of Part II of USPS LR-H-308.

b. The hardcopy version of the following reports is provided in Part II of

USPS LR-H-308: the Manual Input report, the A report, the B report, the F report

and the C report. The electronic version of the Manual Input report is provided on

the disk found at the end of Part II of USPS LR-H-308.

9799

£

Designated Interrogatory Responses of Peter D. Hume (T18)

.

•

Response of United States Postal Service Witness Peter Hume to interrogatory of NNA

NNA/USPS-T18-1

Please explain in your Tables 1-5, line 16 and Tables 6, line 17 what "Publications Service" describes and measures.

<u>Response</u>

The term "Publications Service" was used in my previous testimony, USPS-T-7 of Docket No. MC95-1, to represent the former CRA line item "Second Class Regular Rate" of the former Second Class. See page 32, lines 11-13 of USPS-T-7 and Tables B-1 through B-5 of USPS-T-7B of Docket No. MC95-1. Similarly, "Nonprofit (all categories)" was used in my previous testimony, USPS-T-2 of Docket No. MC96-2, to represent the former CRA line item "Nonprofit Publications" of Second Class. See page 27, lines 4-7 of USPS-T-2 of Docket No. MC96-2. Since I retained the original (MC95-1 and MC96-2) computational formats of all my tables 1-5 in my present testimony, the lines 16 (and line 15 in Table 6) still represent the CRA line items "regular rate publications" or "nonprofit publications" in my Exhibit B tables and Exhibit C tables respectively.

It may be noted that the CCS data collection, which determines cost distributions for city carrier street time and rural carrier components, treats Second Class (periodicals) as a whole without differentiating among the periodicals subclasses.

Designated Interrogatory Responses of Michael A. Nelson (T19) :

.

Response of Postal Service Witness Nelson to OCA Interrogatory Redirected from Witness Alexandrovich

OCA/USPS-T5-15. Please confirm that the procedure for determining attributable costs for cost component 6.1 (city carriers office activity, direct labor) in the base year is the same as that described on page 6-4 of library reference H-1. If you do not confirm, please describe all deviations from the H-1 methodology.

Response:

Not confirmed. Methodological refinements for cost component 6.1 that were

introduced in the base year are described in the following:

- USPS-T-19, section I.A (pages 3-5),
- Exhibit USPS-19A, part 4.d (page 5), and
- USPS-LR-H-161, sections I and II (pages 1-2).

Designated Interrogatory Responses of David E. Treworgy (T22)

.

÷

U.S. POSTAL SERVICE WITNESS DAVID E. TREWORGY RESPONSE TO PRESIDING OFFICER'S RULING NO. R97-1/40

Page 1 of 1

OCA/USPS-T22-12. Please refer to your Worksheet C-1 and C-2, concerning the scanning infrastructure capital and program costs and the distribution key for volume variable costs. Please update your Worksheet C-1 and C-2 to reflect the \$218 million contract awarded to Lockheed Martin.

RESPONSE:

Pursuant to Presiding Officer's Ruling No. R97-1/40, updated Worksheets C-1 and C-2 are attached.

.

×,

Worksheet C-1 (revised in response to Presiding Officer's Ruling No. R97-1/40) Worksheet C-1 (revised in response to Presiding Officer's Ruling No. R97-1/40) Manual Program Scanning Infrastructure Capital and Program Costs

(spuesnoų; uį)

eidensv emuloV			
with respect to		Test year	
ivery confirmation	deli deli della de	costs 1	Capital costs
0.0\$	Not volume variable	\$14 ^{886.4}	Information systems
1.537,852	Variable with overall carrier cost system (CS 6, 7, and 10)	1.637,852	Carrier scanners
0'0\$	eldshav emulov jovi	2.999.2	Box section scanners
6'26\$	Variable with overall carrier cost system (CS 6, 7, and 10)	6'26\$	Support for carrier scanners
0.0\$	eldsinsv emulov toN	9'91\$	Support for box section scanners
0.0\$	eldenev emulov joN	2'890'1\$	Miscellaneous
\$ 52,861.0		6'026'97\$	Total capital costs
•	Volume variable with respect to \$25,861.0 \$20,0 \$25,763.1 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0	Volume variable Volume variable With respect to with respect to Wot volume variable 46/1/volume variable Vot volume variable \$25,763.1 Vot volume variable \$0.0 Vot volume variable \$0.0	Test year with respect to Test year with respect to Costs ¹ Attribution of costs \$14,692.0.9 Variable with overall carrier cost system (CS 6, 7, and 10) \$25,763.1 \$15,66.1 Variable with overall carrier cost system (CS 6, 7, and 10) \$25,763.1 \$15,66.1 Variable with overall carrier cost system (CS 6, 7, and 10) \$25,763.1 \$15,686.4 Not volume variable \$0.0 \$14,699.2 Not volume variable \$0.0 \$15,686.4 Not volume variable \$0.0 \$14,699.2 Not volume variable \$0.0 \$15,686.4 Not volume variable \$0.0 \$15,696.1 Variable with overall carrier cost system (CS 6, 7, and 10) \$25,686.1.0 \$15,60.9 Variable with overall carrier cost system (CS 6, 7, and 10) \$25,60.0 \$15,60.9 Volume variable \$0.0 \$15,60.9 Volume variable \$0.0

	£'69Z'6\$		\$150'530'6	Total program costs
No attributable costs to distribute	0'0\$	eldanev emulov toN	222,558.0	suoenelleosiM
No attributable costs to distribute	0.02	Pidsingv emulov joN	8 ⁻ 22'035.9	Prinipa
No attributable costs to distribute	0.0 \$	eldshav emulov toN	\$183'S	Call center development
No attributable costs to distribute	0.02	eldshav emutov toN	£.ET4,12	Box section scanner support and maintenance
Overall carrier cost system (CS 6, 7, and 10	2'692'6\$	Variable with overall carrier cost system (CS 6, 7, and 10)	7.68 2 ,9 8	Carrier scanner suppport and maintenance
No attributable costs to distribute	0.02	eldensy emuloy job	\$'EZ1'#9 \$	Information systems
Distribution of costs	very confirmation	Attribution of costs dell	eteos	Program costs
	with respect to		Test year	
	Volume vartable			

£35,120.7

Total capital and program costs

2.121,881**\$**

29joN

1 USPS Marketing Department.

.

Distribution Key for Volume Variable Scanning Infrastructure Capital and Program Costs

(spuesnout ui)

Distributed	noltudhteiQ	IstoT	t nr an	1 7 8 8 9 9	wonates ated
JUROUR	Key	01944050	01.60	18967	
a art 22	%E9 PL	800 021 0	897 966	OAT ETR 1	inder et alle alle alle alle alle alle alle a
A. AEO.E2	%79 [.] 8	1.282.046	263.567	621/0101	Presont itr & parcel
1.72528	%22.0	719 80L	10.248	695 69	Sinale piece cards
2112.3	%75.0	997 27	850°FF	36,403	Presont prvt p cs
¥'075'8\$	54.32%	74£,803,E	966'069	110,810,5	Total First
\$582.0	%18.0	914,021	679,21	964,701	Priority Mail
8.132	%81.0	201'92	67Ľ¥	726,12	lisM eeenqx3
Þ [.] 0\$	%00.0	221	۲1	991	2msigfisM
					Second-class mail:
8.782	%92.0	601'28	019'81	53'466	Mithin county:
L 30L#	<i>M</i> C C	030 700		123 000	Ontaide county:
1.0016	7629 U % 77'7	221'223	997'901	1/9'577	and and for the second
9`9 \$ 0'777¢	%20 [.] 0	5'269	643 181'#C	998'l *70'60	Classroom pub
\$ 601 13	7016 6	C39 33V	200 291	306 660	becce3 toteT
1.201,14	%00°0	700'00+	700,101	000'800	000020 1810 1
8.632	%81°O	846.92	6711	667.25	Sinde piece rate
			f		Bulk rate-reg
6'60£'Z\$	%85.9	616,876	529'640	622'912	tosarq 160
8.963,52	%1972	1,114,033	204,392	149,008	Other
9`976 '7\$	%80. ≯ ⊺	226,950,S	260, 4 88	1,525,920	, Total regular
					Bulk rate- nonprof
2143.9	%170	962'09	13,634	796'97	Car presort
2620.0	%22.1	096'192	010'02	076'161	Other
6'£94\$	2,18%	322,746	83,844	238'605	forgnon lefoT
£'722'9\$	% 77 '91	2*439 [,] 646	970,649	129'062'1	biidT letoT

;

•

÷

.

.

Distribution Key for Volume Variable Scanning Infrastructure Capital and Program Costs

(spuesnoy) uj)

betuditteld truoms	noltudinteiQ Key	1610T CS 6, 7, 8, 10	01 SO	2 \$ 9 \$0	Kate category
<u> </u>					Fourth-class mail:
\$124.8	%96.0	25,739	Þ08 '6	45'632	Parcel zone rate
8.2418	0.42%	609,18	195,01	21'555	Bound print matter
8'77\$	0.22%	32,689	661'S	069'72	Spc 4th-cl. rate
8.61 2	%#0`0	5,828	1,243	585, 4	Library rate
£.295 \$	%EO.1	650,531	26,627	156,432	Total Fourth
\$ 39'4	%01.0	14'940	768,1	13'403	Service Postal Service
2.92	0.03%	3'893	129	3,222	lism earl
2.09\$	%210	55,628	585,2	53,043	lism Isnoi jsme jni
9.1C2,01 2	46.22%	098,728,8	1'442'205	835,314,8	lisM IIA IstoT
					Special services:
Z.ZZ\$	%90.0	22°6	5,335	240'L	Kegistry
C.942.6	%00°L	640 J	860,46	33'236	Cenned
0715	%•0.0	616'9	951'Z	1997	Insurance
0.016	7610 0 %/b0'0	C/0'0	#10,C	66/7	
0.24	%+0:0	CD0	556 F	U trte0	
0.03	%UU U	0	0	0	signing to home
0.02	%00°0	0	0	0	Soncial handling
8.02	%000	665	0	002	Post office box
0.00	%90 U	260 Z	90	1262	Other
2.424.7	%IZ.F	544,971	£84' 1 9	296'711	Total Spc Svcs
£.959,91 \$	%E4.7A	90E'2E0'2	586'605'L	6,527,320	əldətudinthA
4.464,812	%78.28	7,801,232	770,788,1	561,456,8	Other
2.021,852	%00 [.] 001	14,838,537	290,775,5	574,164,11	Total Costs

Votes 1 See USPS-T-5, Workpaper B.

.

U.S. POSTAL SERVICE WITNESS DAVID E. TREWORGY RESPONSE TO PRESIDING OFFICER'S RULING NO. R97-1/40

Page 1 of 1

OCA/USPS-T22-20. At page 18 of your direct testimony, you state: "I have developed certain capital and program costs for the scanner infrastructure program " You also refer to Worksheet C-1, Scanning Infrastructure Capital and Program Costs.

- b. Please provide all documents relating to your development of "certain capital and program costs for the scanner infrastructure program" that you consulted or generated, and that have not previously been submitted to this docket.
- e. When H-247 was first distributed within the Postal Service, were there any attachments to it? If so, please provide them to the extent they have not been submitted to this docket.
- g. Please provide all documents relating to return on investment of the proposed delivery confirmation.

RESPONSE:

.

b,e,g. Please see LR-H-299, Materials Responsive to Presiding Officer's Ruling No. R97-1/40

filed under protective conditions, as specified in Presiding Officer's Ruling No. R97-1/40.

.

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS DAVID E. TREWORGY TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5, QUESTION 17

Page 1 of 1

POIR No. 5, Question 17. USPS-T-22, page 18, states that "worksheet C-1, include costs such as scanning equipment depreciation, information systems hardware and software development, and training." Please identify which of the costs in Table [sic] C-1 are depreciation costs.

RESPONSE:

All costs listed under "Capital costs" in worksheet C-1 are depreciation costs.

U.S. POSTAL SERVICE RESPONSE TO ORAL CROSS-EXAMINATION OF OFFICE OF THE CONSUMER ADVOCATE TO WITNESS TREWORGY (T-22)

Page 1 of 3

QUESTION:

- Tr. 3/1295. Regarding the depreciation method used in USPS-T-22 Worksheet C-1:
- a. Over how many years is the equipment depreciated?
- b. Were any alternative depreciation methods considered?
- c. Why was the chosen method of depreciation appropriate to the equipment used?
- d. Please provide a general description of the depreciation method.

RESPONSE:

- a. All equipment costs are depreciated over three years.
- b. The one alternate method considered was depreciating the equipment over five years instead of three.
- c. Since the actual life of the scanners is unknown, a three year straight-line depreciation schedule is employed, generating a conservatively high estimate thus maximizing confidence that all costs are fully covered.
- d. The general depreciation method which is used is a straight-line method. See LR-H-299,
 page 1, filed under protective conditions as specified in response to Presiding Officer's
 Ruling No. R97-1/40, for a more complete description.

U.S. POSTAL SERVICE RESPONSE TO ORAL CROSS-EXAMINATION OF OFFICE OF THE CONSUMER ADVOCATE TO WITNESS TREWORGY (T-22)

Page 2 of 3

:

QUESTION:

Tr. 3/1296-98. Regarding the spreadsheet titled "Corporate Call Management Volume Variable Costs" from interrogatory response to OCA/USPS-T22-24:

- a. To what extent are the numbers in this spreadsheet based on completed negotiations, with prices decided, and what percentage would be unresolved at this time?
- b. What is the source of the figures contained in the spreadsheet?
- c. Please show how the contractual services cost element in the spreadsheet was derived.

RESPONSE:

a. The numbers in this spreadsheet are based in part on actually completed negotiations where prices have been decided and in part on projections. One of the call centers is currently operating, pursuant to a contract, and these costs provide a baseline on which the cost of the other call centers are based. While it has not been determined how many more call centers will be necessary, additional call centers are the subject of ongoing procurements. The currently operating call center makes up approximately 20 percent of call center costs with the remaining 80 percent not negotiated. Since it has not yet been determined how many more call centers will be necessary, there is no way to calculate an exact percentage identifying the extent that numbers in this spreadsheet are based on completed negotiations. The learning centers costs are based on completed negotiations.

U.S. POSTAL SERVICE RESPONSE TO ORAL CROSS-EXAMINATION OF OFFICE OF THE CONSUMER ADVOCATE TO WITNESS TREWORGY (T-22)

Page 3 of 3

- The figures contained in the spreadsheet are based on the actual amount spent on the currently functional call center and learning centers, in addition to the estimated amount for the remaining call centers. Cost projections for future call centers are based on the known cost of the currently functional call center. All figures were provided by the Postal Service Marketing Department.
- c. The contractual services cost element is made up of fixed start-up costs, fixed management and associated administrators costs and variable customer service agent costs. The customer service agent costs were derived from estimating the number of calls and call duration, and subsequently determining the number of agents needed.

Designated Interrogatory Responses of Paul M. Lion (T24)

,

.

.

•
Response of Witness Lion to Interrogatories of the OCA, Questions 96-98, Docket No. R97-1, revised November 4, 1997

OCA/USPS-T24-96. Please refer to your response to OCA/USPS-T24-87.

- a. Please confirm that the 1.2 [percent] annual growth rate from April 1996 to April 1997 represents a monthly growth rate of 0.0995 percent ((0.012001+1)^{1/12}). If you do not confirm, please explain and provide the correct figures.
- b. Please confirm that the 1.9 percent growth factor represents the estimated growth for the 18-month period April 1997 to October 1998. If you do not confirm, please explain.
- c. Please confirm that the growth factor, assuming a monthly growth rate of 0.0995 percent for an 18 month period, is 1.8056 percent (1.000995¹⁸-1). If you do not confirm, please explain and provide the correct figures.
- d. Please provide the formula and all calculations used to derive the 1.9 percent estimated growth factor from the observed growth rate between April 1996 and April 1997. Please provide citations to any figures used.

RESPONSE:

a. Confirmed that a monthly rate of .0995 percent, compounded over 12

months is equivalent to 1.2 percent annual growth.

b. Not confirmed. The 1.9 percent represents the estimated growth from

mid-1997 to mid-1998, to provide a box count that is representative of the

test year.

- c. Confirmed that a monthly rate of .0995 percent, compounded over 18 months is equivalent to 1.8056 percent sesquiannual growth.
- d. Please see my response to OCA/USPS-T24-22 and the revised response to OCA/USPS-T24-87i.

a. Please explain what is meant by the phrase "an earlier estimate."

b. Please provide the growth factor for post office boxes used in the rollforward model.

RESPONSE:

Redirected to witness Patelunas.

OCA/USPS-T24-98. Please refer to your response to OCA/USPS-T24-87. Suppose that Tables 3-8 of your testimony were produced from the PO Box Survey data and the September 97 DSF data contained in LR-H-278, instead of June 97 DSF in LR-H-188, and that the expansion factors of Table 3 are constructed to adjust data to the September 97 DSF. Please confirm that the 1.9 percent estimated growth factor would still apply for Table 8, developed from LR-H-278. If you do not confirm, please explain. If the 1.9 percent estimated growth factor would no longer apply, please provide the appropriate factor and formulas for computing it.

RESPONSE:

Not confirmed. The 1.9 percent provides a representative box count for the test

year by estimating the growth from April 1997 to the middle of the test year. One

would need to reduce the growth rate to reflect the fact that the growth between

April and September 1997 has already been accounted for.

OCA/USPS-T24-99. Please refer to your response to OCA/USPS-T24-96b.

- a. Please give the duration of, and provide the beginning and ending dates for, the period over which you assumed the 1.9 percent growth factor would apply.
- b. Please provide the monthly growth rate associated with the 1.9 percent growth factor.

RESPONSE:

a. The 1.9 percent growth factor was applied to the April, 1997 box counts

(from the Delivery Statistics File) to estimate box counts as of April, 1998,

a representative mid-point of the test year.

b. Assuming that 1.9 percent is an annual growth factor and that growth is

steady over the year, the monthly growth rate is .157 percent.

OCA/USPS-T24-100. Please refer to your response to OCA/USPS-T24-96d, which references your response to OCA/USPS-T24-22.

- a. Please provide all studies, reports, analyses or other documents showing how "It was decided to use a more conservative factor of 1.9 percent," if such documents are not already on file with the Commission. Otherwise, please provide page and line citations to documents already on file.
- b. If the decision to use a factor of 1.9 percent was based on discussions with individuals employed by, or under contract with, the Postal Service, please identify those individuals (including position held) and summarize those discussions.

RESPONSE:

- a. The estimate was based on professional judgment and not on any specific studies. It is a reasonable estimate, given the growth rate of 1.2 percent between April 1996 and April 1997 as calculated from the DSF, and the historical growth rate of 3.9 percent (see my response to OCA/USPS-T24-22).
- b. The estimate of 1.9 percent was discussed with pricing specialists in the Marketing Department of the Postal Service and with colleagues at Foster Associates. They concurred that it was reasonable.

9820

OCA/USPS-T24-101. Please refer to your response to OCA/USPS-T24-96b ("the 'implementation date' [] has not been determined"), and your response to OCA/USPS-T24-98, where it states, "If the implementation date were to remain the same, one would need to reduce the growth rate to reflect the fact that the growth between April and September 1997 has already been accounted for."

- a. Please specify the implementation date alluded to in the quoted response to OCA/USPS-T24-98 (or state your assumption with regard to the implementation date).
- b. Please explain how an implementation date that has not been decided can "remain the same."
- c. Please explain the logic of reducing the 1.9 percent growth rate to reflect growth between April and September 1997 if there is no specific assumption as to the implementation date.
- d. Please confirm that, in the absence of a specific assumption as to the implementation date, the 1.9 percent growth factor represents an arbitrary figure. If you do not confirm, please explain.
- e. Please confirm that, in the absence of a specific assumption as to the implementation date, the 1.9 percent growth factor is applicable to a time period of any duration. If you do not confirm, please explain.

RESPONSE:

a-e. See the revised responses to OCA/USPS-T24-96b and OCA/USPS-T24-

98.

QUESTION:

Refer to Attachment 1 to OCA/USPS-T24-42. Please confirm that the 30 data points in Group A represent 30 different ZIP Codes. See Tr. 3/ 1192-1193.

RESPONSE:

Not confirmed. The 30 data points represent 30 facilities, but only 23 distinct

ZIP Codes. They are broken down as follows:

Occurrences	Facilities
3	3
2	10
1	17
	30
	Occurrences 3 2 1

.

.

Designated Interrogatory Responses of Leslie M. Schenk (T27) 5

1

-

RESPONSE OF THE UNITED STATES POSTAL SERVICE WITNESS SCHENK TO THE INTERROGATORIES OF THE OCA

OCA/USPS-T27-1. Please refer to your direct testimony on page 3 where you state that non-advance deposit BRM recipients do not pay the postage due and per-piece fees through an advance deposit account, but may have postage "deducted from a Postage Due account." Please also not the postage due account explanation at DMM S922.3.7.

- Please explain all other differences between advance deposit accounts and postage due accounts.
- b. Include in your discussion any differences in administration of the accounts (as administration is explained at page 7 of your direct testimony).
- c. For all differences discussed in response to (a) and (b) herein, explain whether Postal Service costs differ (e.g., different administration costs).

RESPONSE:

- a. Advance deposit accounts are also known as trust accounts. They are accounts that are maintained by the Postal Service for mailers who regularly receive volumes of mail for which postage is due upon receipt. Postage due accounts are a subset of all trust accounts. Postage due accounts can be used for Business Reply Mail for which no accounting fee is paid, as well as for short paid mail (e.g., a utility receives bill payments from a customer which does not have sufficient postage, but the utility agrees to accept the piece and pay the postage due on it). Postage due accounts are established by mail recipients who receive pieces on a non-periodic basis for which postage is due. These accounts receive very low volumes of mail, and on an infrequent basis. Therefore, these accounts are unlikely to be debited on a daily basis.
- b. see my response to part a.
- c. Postal Service costs will differ between advance deposit accounts and postage due accounts, as the workhours per account will differ (because of the differences in the incidence of account administration).

RESPONSE OF THE UNITED STATES POSTAL SERVICE WITNESS SCHENK TO THE INTERROGATORIES OF THE OCA

OCA/USPS-T27-2. Table 9 in LR H-179 lists "Reject Rate of BRM" on two type of automation sortation operations. Does this comprise the entire reject rate for BRM mail? Please explain. If it does not, please set forth the entire reject rate for BRM mail.

RESPONSE:

Confirmed. To my knowledge, the only two types of automation sortation operation

in which BRM are sorted to account or mailer are BRMAS operations and other (non-

BRMAS) sortation operations on barcode sorters. Therefore, the reject rates

reported in Table 9 in LR H-179 comprise the entire reject rate for BRM.

OCA/USPS-T27-3. Please refer to Appendix A: BRMAS Cost Survey – Data Collection and Processing. You state that a survey of the five sites was conducted in April-May, 1997. When were the tabulation of results and analysis thereof completed?

RESPONSE:

Results were tabulated and analysis done for individual test sites on an ongoing

basis as results were received from the sites (they were instructed to fax or mail

results in daily). On May 21, 1997 the final survey forms from the last site to

complete the survey were sent to us. In the week after those results were received,

the final results were tabulated and analysis of the survey results were completed.

RESPONSE OF THE UNITED STATES POSTAL SERVICE WITNESS SCHENK TO THE INTERROGATORIES OF THE OCA

OCA/USPS-T27-4. When did you discover that the Postal Service no longer expected to have a new version of the BRMAS program in place during the test year?

RESPONSE:

.

.

I do not recall the exact date on which I was informed by the Postal Service that

they no longer expected to have a new version of the BRMAS program in place

during the test year, but it was either May 22, 23 or 24, 1997.

OCA/USPS-T27-5. Is the Postal Service currently surveying and analyzing BRMASqualified BRM productivity at a cross-section of postal facilities (or a selection of such facilities have "average" efficiency)?

- a. If not, why not?
- b. How long would such a survey and analysis thereof be expected to take?
- c. Confirm that using average productivity at relatively efficient sites overstates BRMAS productivity. If not confirmed, please explain.
- d. If (c.) is confirmed, please provide an estimate of the magnitude of the soverstated productivity, showing derivations for the estimate.

RESPONSE:

No, to my knowledge the Postal Service is not currently conducting a survey or

analysis of BRMAS-qualified BRM productivity at a cross-section of postal facilities.

- a. By the time that it was realized that the new BRMAS program would not be available in the test year, there was not enough time to design and conduct a survey at a cross-section of postal facilities so that the data could be available for presentation in my testimony.
- b. The time it takes to conduct a survey and analyze the results depends on the design of the survey, and what questions it is supposed to address. Without more information, I cannot say how long such a survey would take.
- c. Confirmed.
- d. It is not possible to estimate the magnitude of the difference in productivities between the most efficient sites and the "average" efficient site, without data on what the average productivity is. The "average" productivity for BRMAS operation at a cross-section of facilities is not available, so this comparison cannot be done.

RESPONSE OF THE UNITED STATES POSTAL SERVICE WITNESS SCHENK TO THE INTERROGATORIES OF THE OCA

OCA/USPS-T27-6. Please refer to page 8 of your direct testimony where you state: "The cost of BRMAS-qualified BRM was developed in part using the results of another survey done at selected postal facilities." At page 10 you state: "The BRMAS Cost Survey is discussed in more detail in Appendix A." Does the "BRMAS Cost Survey" exist as a separate document? If so, please supply it.

RESPONSE:

The BRMAS Cost Survey does not exist as a separate document. All background

information on the survey design and how the survey was conducted are provided in

my testimony, in either the main text, Appendix A, or in the accompanying

spreadsheets.

Designated Interrogatory Responses of Charles L. Crum (T28)

.

.

.

Please confirm that the questions and answers attached as Exhibit A were interrogatories put to and answered by you in MC97-2.

- a. Would your answers to those questions be the same today?
- b. If not, please provide the answers that you would give today.

DC1:58116.01

t

ہ ۔

RIAA/USPS-T7-1. Please provide (separately stated for carrier route and "other.") the FY1995 IOCS LIOCATT third-class bulk rate regular mail costs, average weight and mail volume for IPPs and parcels by weight in one-ounce increments from one to sixteen ounces with the three ounce interval separately providing the information for pieces weighing 3.3 ounces or less and pieces weighing more than 3.3 ounces in substantially the same format employed in Tables 1 and 2 of the answers to UPS/USPS-7 in MC95-1 (copies of those tables are provided for your ease of reference).

RESPONSE

IOCS LIOCATT costs are not available by tenth-of-ounce increment, so the requested breakdown at 3.3 ounces is not available. The cost data by full ounce increment are attached. The corresponding volume information to determine average costs can be found in LR-PCR-25. The requested average weight information is also attached. It is important to note that the cost data you are requesting here come from the In-Office Cost System (IOCS) only and are, therefore, not directly comparable to the numbers I use in my analysis.

Weight Increment		
(0Z)	Carrier Route	Other
1	\$ 5,916,267	\$ 8,759,141
2	881,828	6,859,528
3	912,470	7,876,515
4	1,597,738	17,611,589
5	522,216	8,729,425
6	262,814	9,616,726
7	51,659	6,344,287
8	352,318	11,104,637
9	169,676	7,325,453
10	202,929	6,988,116
11 .	240,309	4,530,676
12	146,069	8,729,796
13	•	5,547,235
14	457,452	9,764,014
15	159,118	7,125,985
16	395,410	4,759,426
Total	12,268,273	131,672,549

FY 1995 IOCS LIOCATT COSTS STANDARD MAIL (A) IPPS & PARCELS

•

9832

ATTACHMENT TO RESPONSE TO RIAA/USPS-T7-1, page 2

.

FY 1995 Standard Mail (A) Average Weight by Ounce Increment

•

	Fla	ats	IPPs and	l Parcels
Weight				
Increment	Carrier-		Carrier-	
(0Z)	Route	Other	<u>Route</u>	<u>Other</u>
1	0.66	0.71	0.63	0.77
2	1.56	1.52	1.74	1,57
3	2.44	2,54	2.42	2.51
3.3	3.17	3.15	3.28	3.13
4	3.68	3.67	3.47	3.65
5	4.48	4.46	4.35	4.51
6	5.41	5.44	5,45	5.58
7	6.45	6.47	6,40	6.57
8	7.43	7.49	7.54	7.54
9	8.52	8.49	8.62	8.47
10	9.43	9.45	9.31	9.52
11	10.48	10.49	10.48	10.57
12	11.44	11.47	11.54	11.53
13	12.31	12.50	12.53	12.52
14	13.37	13.48	13.44	13.46
15	14.32	14.42	14.56	14.38
16	15.43	15.41	15.24	15.51

9833

.

--- ·

RIAA/USPS-T7-2. Please provide the information requested in RIAA/USPS-T7-1 for flats.

RESPONSE

τ

1

Please see my response to RIAA/USPS-T7-1 and the attached information.

ATTACHMENT TO RESPONSE TO RIAA/USPS-T7-2

.

.

Weight		
Increment		
<u>(oz)</u>	Carrier Route	Other
•		
- 1	\$ 52,410,700	\$ 114,408,377
2	62,785,219	178,961,574
3	47,232,659	127,544,701
4	53,784,139	148,057,592
5	18,671,314	46,241,937
6	9,485,828	30,259,989
7	5,755,988	19,708,748
8	4,515,059	15,855,136
9	3,001,494	10,544,434
10	1,546,606	8,031,826
11	1,138,837	5,685,770
12	1,199,542	4,675,456
13	915,383	2,773,355
14	693,060	4,573,755
15	431,245	2,728,987
16	1,219,293	2,891,374
Total	264,786,366	722,943,011

FY 1995 IOCS LIOCATT COSTS STANDARD MAIL (A) FLATS

۰.

-

RIAA/USPS-T7-3. Please provide the information contained in Sections 2 (Cost Avoidance \$/lb") and 5 ("Delivery Cost Avoidance \$/pc") in Table 7 of Library Reference PCR-38 by the weight of pieces in one ounce weight increments from one to sixteen ounces separately stating the requested information for flats and parcels.

RESPONSE

The "Cost Avoidance \$/lb" listed in Table 7 applies to all ounce increments. The data are not available to break out the "Delivery Cost Avoidances \$/pc" by ounce increment.

RIAA/USPS-T7-4. Please provide the average weight in ounce increments, from one to 16 ounces with the three ounce category divided between pieces that weigh 3.3 ounces or less and those that weigh more than 3.3 ounces of pieces in each of the cells in the Table C-2 "5" ("Appearance/Contents Array") of Library Reference PCR-38 showing the number, average weight and average cube of the pieces in each weight interval.

RESPONSE

The requested information is attached. Please note that this information is not necessarily consistent with the volumes in LR-PCR-25. Refer to my response to DMA/USPS-T7-24(a).

ATTACHMENT TO REL NSE TO RIAA/USPS-T7-4

						Ple	C65					
Welght						Film		Clothing	Prescript			
Incr. (0z)	CD Box	Video Box	Check Box	Other Box	Other	Envelope	Roll/Tube	Bag	Drug	Sample		Total
1	-	-	-	3,754	1,270,640	81,095	-	-	8,643	16,080	#	1,380,212
2	1,538	15,571	219,911	59,821	1,235,431	273,346	-	-	71,709	804,082	#	2,681,409
3	14,042,257	285,820	3,674	901,672	947,627	314,317	46,448	5,279	199,067	524,230	#	17.270.391
3,3	62,995	-	10,673	13,798	1,014,092	147,081	-	4,768	14,292	414	#	1,268,113
4	315,131	• -	17,543	980,542	1,555,421	798,383	-	38,579	37,275	1,242,055	#	4,984,929
5	780,476	-	62,296	135,984	725,802	348,276	497	29,678	188,187	232	#	2.271.428
6	2,000,156	25,380	100,758	343,649	686,158	315,820	-	63,552	22,733	3,669	#	3.561.873
7	371,423	50,283	25,394	468,389	473,097	210,423	3,846	107,188	66,956	490	#	1,777,489
8	587,829	107,433	22,310	1,656,414	503,167	181,412	2,270	86,002	23,709	. 394	#	3,170,940
9	652,335	241,245	4,038	701,564	471,229	211,623	8,150	135,923	19,119	327	#	2,445,553
10	569,799	997,585	37,229	441,696	840,211	101,238	5,196	163,458	3,552	3,740	#	3,163,704
11	155,091	219,328	395,713	521,248	1,111,532	86,533	1,489	141,274	2,725	1,725	#	2,636,658
12	90,947	302,183	1,937,659	379,400	1,066,873	82,662	-	173,360	9,280	1,903	#	4,044,267
13	828,021	120,034	3,143,166	580,141	2,018,286	41,411	-	151,117	2,811	708	#	6,885,695
14	316,420	150,107	2,165,057	602,096	1,930,682	34,756	14,184	154,834	4,991	625	#	5,373,732
15	990	457,073	1,765,067	602,599	1,015,074	42,514	200	90,901	5,156	548	#	3,980,122
16	149,735	305,887	380,285	598,365	498,742	24,748	3,833	35,618	2,149	64	#	1,999,426
	20,925,143	3,277,929	10,290,773	8,991,132	17,364,062	3,295,638	86,093	1,381,531	682,354	2,601,286		68,895,941

•

Ĺ

•

.

·

ATTACHMENT TO RESPONS. TO RIAA/USPS-T7-4

•

,

ļ

.

PAGE Z

1 24

		Average Weight (Oz)									
Weight						Film		Clothing	Prescript		
Incr. (0z)	CD Box	Video Box	Check Box	Other Box	Other	Envelope	Roll/Tube	Bag	Drug	Sample	Total
1.				0.7	0.4	1.0			1.0	1.0	0.5
2	1.8	1.3	1.3	1.3	1.7	1.8			1.9	1.8	1.7
3	2.5	2.9	2.5	2,9	2.5	2.7	2.9	2.9	2.6	2.3	2.5
3,3	3,0		3.1	3.1	3.2	3.2		3.0	3.1	3.2	3.2
4	3,4		3.7	3.8	3.8	3.6		3.7	3,7	3.8	3.7
5	4.8		4.5	4.5	4.5	4.7	4.2	4.4	4.7	4.5	4.7
6	5.4	5.2	5.8	5.4	5.5	5.8		5.6	5.6	5.5	5.5
7	6.7	6.6	6.7	6.5	6.5	6.7	6,4	6.5	6.7	6.7	6.6
8	7.2	7.5	7.4	7.7	7.6	7.7	7.6	7.4	7,5	8.0	7.6
· 9	8,5	8.6	8.2	8,6	8.4	8.6	8.8	8.5	8,6	8.6	8,5
10	9,3	9.8	9.5	9,4	9.6	9.7	9,9	9.5	9.9	9.8	9.6
11	10.4	10.6	10.5	10.5	10.5	10.7	10,3	10.5	10.6	10.8	10.5
12	11.7	11.5	11.7	11.6	11.6	11.8		11,6	11.8	11.6	11.6
13	12.5	12.3	12.5	12.5	12.6	12.6		12.4	12.5	12.6	12.5
14	13.6	13.5	13.5	13.6	13.6	13.7	13.8	13.5	13.5	13.8	13.5
15	14.3	14.5	14.5	14.5	14,4	14.8	14.2	14.4	14.7	14.7	14.5
16	15.7	15.3	15.2	15.3	15.5	15.5	15.5	15.4	15.0	15.5	15.4

9839

ATT ACHMENT

•

ļ

TO

.

RESPONS_ TO

RIAA/USPS-T7-4

PAGE 3

			Average Cube (IN ³)								
Weight				,		Film	•	Clothing	Prescript		
Incr. (0z)	CD Box	Video Box	Check Box	Other Box	Other	Envelope	Roll/Tube	Bag	Drug	Sample	Total
1				44	34	77			167	12	37
· 2	20	337	57	151	-53	65			130	17	50
3	31	32	53	73	190	79	24	76	132	446	57
3.3	108		54	145	137	100		215	174	578	131
4	30		- 38	74	79	96		261	142	78	79
5	49	•	45	77	128	68	63	262	137	67	89
6	44	36	31	98	212	75		876	166	40	99
7	89	113	37	98	228	77	72	412	143	176	149
8	76	119	118	87	296	87	38	1300	170	172	153
9	66	123	76	167	358	84	75	574	217	264	188
10	67	125	121	203	430	107	65	930	423	113	248
11	87	341	56	212	299	91	74	762	311	183	254
12	30	200	53	271	386	88		660	225	175	199
13	75	374	54	255	265	114		677	423	247	155
14	79	474	53	312	261	115	80	723	231	299	190
15	85	279	54	287	346	101	175	699	335	383	205
16	111	229	54	281	444	110	261	529	277	330	260

RIAA/USPS-T7-5. Please separately indicate for the carrier route and "other" categories the number of pieces characterized in Table C-2 Section 5 ("Appearance/Contents") of Library Reference PCR-38 as "All Other" that were specified on the survey sheets (C-21 question 5, C-23, 24 right-most column) as "hazardous medial (sic) materials" (as that term is defined in USPS-T-11 and USPS-LR-PCR-26).

RESPONSE

The raw data responses related to "All Other" were scanned into an electronic format and provided in the CD/ROM version of LR-PCR-38. See my response to RIAA/USPS-T7-6 below. I briefly searched through the approximately 5000 entries where "All Other" data is listed and saw no pieces that I believe could be characterized as "hazardous medical materials". Additionally, I can not imagine a scenario where any items characterized as such would be mailed Bulk Standard Mail (A).

RIAA/USPS-T7-6. Does the content of specifications made in conjunction with the "All Other" characterization referred to in Interrogatory RIAA/USPS-T7-5 above exist in electronically stored form? If your answer is in the affirmative, please provide that information.

RESPONSE

Yes. That information has already been provided in the CD/ROM version of LR-PCR-38. Look under ap~00004/data/parcel.txt, column I.

RIAA/USPS-T7-7. You characterize data presented at Appendix D of Library Reference PCR-38 as "relatively consistent from year to year " USPS-T-7 at 9. The per piece attributable cost associated with parcels increased by 45% between FY1993 and FY1994 (($34.4 \div 23.7$) - 1) and decreased by 14.5% between FY1994 and FY1995 (($29.4 \div 34.4$) - 1). By what standard did you judge volatility at these levels to represent relative consistency?

RESPONSE

Please see my response to DMA/USPS-T7-6(h).

RIAA/USPS-T7-8. Table D-3 of Library Reference PCR-38 appears to show an inverse relationship between the annual volume of parcels and annual average attributable cost per piece (higher volume is associated with lower average cost per piece).

- a. Do you know of any other evidence tending to support or detract from the likelihood of the validity of this relationship? If so, please provide copies of all documents relating to such evidence.
- b. Did you examine this possible relationship in your analysis of the three years of data presented in Table D-3? If so, please describe your conclusion or conclusions to the extent that it or they is/are not fully and accurately conveyed in your response to RIAA/USPS-T7-8.

RESPONSE

- a. No.
- b. No.

RIAA/USPS-T7-9. Please provide copies of all instructions distributed in conjunction with the study described in Appendix C to Library Reference PCR-38, and all drafts of such instructions including instructions or drafts of instructions associated with any testing of the instruments displayed at pages C-21-24 of that Appendix.

RESPONSE

I have produced Library Reference PCR-53 in response to your question.

RIAA/USPS-T7-10. Please provide:

- (a) a detailed functional mail flow for IPPs and parcels, or subcategories of such mail flows to the extent that different types of IPPs and parcels are handled differently in any processing, transportation, or delivery function; and
- (b) any instructions issued to BMC's or other postal facilities (including delivery offices) regarding the processing, transportation or delivery of IPPs and parcels.

RESPONSE

a. I did not produce nor do I know of any detailed functional mail flow for Standard Mail (A) IPPs and Parcels.

b. City carrier instructions are listed in Handbook M-41 (Docket No. MC96-3, LR-SSR-138, particularly pages 25, 58-61, 83-88). Rural carrier instructions are listed in Handbook PO-603 (Docket No. MC96-3, LR-SSR-139, particularly pages 35-36, 42, 65). I am providing Handbook PO-419, Bulk Mail Processing at Bulk Mail Centers - Operator Instruction as Library Reference PCR-54. This is the basic document describing Bulk Mail Center processing and is the most recent version available.

RIAA/USPS-T28-5. Please confirm that the questions and answers attached as Exhibit A were interrogatories put to and answered by you in MC97-2.

- a. Would your answers to those questions be the same today?
- b. If not, please provide the answers that you would give today.

RESPONSE

Confirmed.

a.,b. Yes, except for a small error I noticed in one part of one response. The corrected page of the attachment to the response to RIAA/USPS-T7-1 from Docket No. MC97-2 is attached. Also, please note that questions 1 and 2 to which you refer ask for FY 1995 data while the Base Year for Docket No. R97-1 is 1996.

ATTACHMENT TO RESPONSE TO RIAA/USPS-T7-1, page log2 (Docket No. MC97-2) 9848 REVISED IN RESPONSE TO RIAA/USPS-T28-5 TY 1995 IDCS LIDCATT COSTS (Docket No. R97-1)

:

FY 1995 IOCS LIOCATT COSTS STANDARD MAIL (A) IPPS & PARCELS

Weight		
Increment		
(oz)	Carrier Route	Other
. 1	\$ 5,871,947	\$ 8,803,461
· 2	881,828	6,859,528
3	912,470	7,876,515
4	1,533,867	17,675,460
5	522,216	8,729,425
6	262,814	9,616,726
7	51,659	6,344,287
8	81,033	11,375,922
9	169,676	7,325,453
10	202,929	6,988,116
11	115,293	4,655,692
12	146,069	8,729,796
13	-	5,547,235
14	306,918	9,914,548
15	97,731	7,187,372
16	395,410	4,759,426
Total	11,551,860	132,388,962

-

.

.

.

8. Alaskan Bypass Mail

c. Avoided Costs

.

Please confirm that the FY 1996 Parcel Post volume entered upstream of BMC/ASF (112,738,474) on USPS-T-28, Exhibit C, includes the Alaskan Bypass volume.

If confirmed, please explain why the Bypass volume should be included in calculating the outgoing mail processing costs avoided by DBMC parcel post at non-BMC facilities. Also, provide the processing costs incurred by the Bypass mail.

RESPONSE:

Confirmed.

Bypass volume was included to be consistent with past studies that were

used by the Commission and to be conservative. If one were to exclude

Bypass volumes, my estimate of DBMC mail processing savings would

increase by \$.007. Witness Alexandrovich's response to POIR #4, 8(a)(2)

suggests that there are no mail processing costs associated with Bypass

mail. This implies that the volumes should be excluded as well.

At Tr. 17/8068, AMMA counsel requested that the Postal Service supply the formula used for calculating cubic volume for the 18 percent of the pieces where only length and girth was recorded in the segment of the parcel characteristics study estimating the density of parcels for use in the analysis described in Table 3 of USPS--T-28. At Tr. 17/8054-57 and 8067, AMMA counsel asked whether the mathematical maximum for a piece with a given length and girth occurs when that piece is cylindrical or "round."

RESPONSE:

The formula is as follows:

Cubic Volume $\approx 0.148 * \text{Length} * \text{Girth}^2 / 16$

For the example discussed in the transcript, the maximum theoretical volume of a piece with a length of 10 inches and a girth of 20 inches occurs when that piece is "round" or cylindrical, resulting in a volume of 318 cubic inches.

Applying the above formula, my analysis would assign a volume of 37 cubic inches to that piece. To determine the implications of the difference between the maximum theoretical volume and the volume derived from the formula, consider the following. For the 82 percent of parcels for which length and width and height were recorded, if the formula instead of the actual measurements had been applied, the estimated cubic volume of the pieces would have been underestimated 99.9 percent of the time. Carrying this relationship through to the other 18 percent for which volume was estimated by the above formula suggests that the true average cubic volume of parcels is higher than the estimated average cubic volume used in my analysis. If it had been possible to use the true average cubic volume for the 18 percent, one would expect this
RESPONSE OF WITNESS CRUM TO QUESTIONS POSED AT HEARING (December 4, 1997)

to have resulted in a lower average density for parcels and a larger cost difference between flats and parcels in Standard Mail (A).

Based on the above, I fully stand by my belief that use of the simplifying formula to approximate cubic volume for the 18 percent of parcels for which only length and girth was recorded produces quite conservative results. Designated Interrogatory Responses of Sharon Daniel (T29)

.

į

.

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS DANIEL TO INTERROGATORY OF ADVERTISING MAIL MARKETING ASSOCIATION

Revised 12/2/97

<u>AMMA/USPS-USPS-1</u> The response to AMMA/USPS-LR-H-103-3a, states, "There are no results from LR-H-105 used directly or indirectly in USPS-T-29 Appendix I pages 5, 7, or 9." However, LR-H-105 is referenced by Witness Daniel as the source of the mail entry profile (USPS-T-29: page 3 line 23; Appendix I pages 36 and 37). If LR-H-105 is not the source of the "Mix of Handlings" (column [1] of pages 5, 7 and 9 of USPS-T-29 Appendix I) please provide the source of the "Mix of Handlings" including page, line, and column locations and any required derivations.

RESPONSE:

Pages 5, 7 and 9 of Appendix I are cost summaries of Standard (A) Automation 5-Digit, Automation 5-Digit 100% DBCS, and Automation ECR letter mail flows. Because of the high degree of worksharing involved, the mail flows for these mail streams are simple. As a consequence, mail characteristics data are not needed to determine the mailflows for these types of mail. Below, I demonstrate why the initial mix of handlings of each of the three categories on pages 5, 7, and 9 is self-evident.

- Automation 5-Digit. Because Automation 5-Digit letters are by definition barcoded and presorted to the 5-Digit level in full trays, they will be processed in an incoming secondary operation either on barcode sorters or manually. As stated on page 4 of USPS-T-29, "[t]he number of pieces entered on automation equipment, *i.e.*, the BCS and OCR, is then usually adjusted by subclass-specific coverage factors¹ (USPS LR-H-128) to reflect the fact that not all sites have automation equipment."
- Automation 5-Digit 100% DBCS. Automation 5-Digit 100% DBCS by definition will be processed in an incoming secondary operation on DBCSs and no coverage factors are needed to determine where the mail is entered.
- Automation ECR. Automation ECR letters begin processing on CSBCSs or manually based on coverage factors.

The sources of the mix of handlings in the first column appearing on pages 5, 7, and 9 of Appendix I consists of the figures presented in the boxes of the corresponding operation in the mail flow diagrams on pages 6, 8, and 10 of Appendix I.

¹ Coverage factors used are found in Appendix I, pages 38 and 39.

RESPONSE OF U.S. POSTAL SERVICE WITNESS DANIEL TO INTERROGATORY OF THE OFFICE OF THE CONSUMER ADVOCATE REDIRECTED FROM WITNESS DEGEN

OCA/USPS-T12-43. Please refer to USPS-T-1, Exhibit USPS-1B, page 4, Docket No. MC93-1. In the column captioned "Volume Share," the following proportions were presented for Special Rate Fourth Class:

Intra-BMC	.2639
Inter-BMC	.6396
Inter-BMC, 1 transfer	.0927
Inter-BMC, 2 transfers	.0038

[Sum] [1.00]

a. Is it reasonable to assume that these proportions are substantially the same for BY 1996?

b. If not, why not? If this assumption is not reasonable, then please update the proportions presented above for BY 1996.

c. Please present a similar set of proportions (summing to 1.00), by inter-BMC and intra-BMC groupings, for library rate mail for BY 1996.

RESPONSE:

a. In Docket No. MC93-1, Parcel Post Inter-BMC and Intra-BMC proportions were used as proxies for Special Rate Fourth Class Mail. Since no other special study has been conducted, parcel post proportions are again used as proxies for Special Standard Mail for BY96; however, these proportions are not substantially the same as the ones used in MC93-1.

b. Transfers, or transhipments, have been eliminated. Please see page 12 of my testimony. The relative proportions of Inter-BMC and Intra-BMC Parcel Post are used as a proxy for the proportion of Inter-BMC (80 percent) and Intra-BMC (20 percent) in the Special Standard Mail Models, as stated in Table 5 of Exhibit USPS-29F.

c. As is the case for Special Standard Mail, a special study of the proportions by inter-BMC and intra-BMC groupings for Library subclass mail for BY 1996 has not been conducted for this proceeding.

1

Designated Interrogatory Responses of Donald J. O'Hara (T30)

e

- •

•

ABA&EEI&APM/USPS-T-30-2. For the base year and test year (before and after rates), please provide the following costs for First Class and Standard (A) mail by subclass and by rate category: (a) volume variable; (b) incremental; and accrued (or institutional).

RESPONSE:

For the subclasses requested, base-year volume-variable costs can be found in Exhibit USPS-5B; test-year volume-variable costs can be found in my Exhibits USPS-30A (before rates) and USPS-30B (after rates). Incremental costs are in Exhibit USPS-41B, column 2 (base-year), column 5 (test-year after rates); test-year before-rates incremental costs can be obtained by multiplying the ratio in column 3 of Exhibit USPS-41B by the volume-variable costs in my USPS-30A. These costs are not available for rate categories. As far as I am aware, the term "accrued costs" is not applied to subclasses, but rather to cost segments, where it is simply the total (volume-variable plus non-volume-variable) cost for a segment.

RESPONSE OF POSTAL SERVICE WITNESS O'HARA TO JOINT INTERROGATORIES OF AMERICAN BANKERS ASSOCIATION, EDISON ELECTRIC INSTITUTE, AND NATIONAL ASSOCIATION OF PRESORT MAILERS

ABA&EEI&NAPM/USPS-T-30-3. Please explain and, if possible, quantify how the degree of mailer preparation influenced your proposed coverages for the following: (a) First-Class single piece; (b) First-Class automation presort (i) basic, (ii) 3-digit, (iii) 5-digit, and carrier routs; and (c) Standard (A) (i) basic, (ii) 3digit, (iii) 5-digit, and enhanced carrier route.

RESPONSE:

I am proposing coverages only for subclasses, not for rate categories. I would

note that in my discussion of increased worksharing over time on pages 8-9 of

my testimony, I indicate that it is appropriate to assure that increased

worksharing in one subclass does not produce unintended consequences for the

rates of another.

RESPONSE OF POSTAL SERVICE WITNESS O'HARA TO JOINT INTERROGATORIES OF AMERICAN BANKERS ASSOCIATION, EDISON ELECTRIC INSTITUTE, AND NATIONAL ASSOCIATION OF PRESORT MAILERS

ABA&EEI&NAPM/USPS-T-30-4. Re your example at 15, I. 10-17. You conclude this paragraph by stating: "This seems to me unfair, given that the two products received equal evaluations on the non-cost criteria."

(a) Does "This" refer to the 2 to 1 ratio or that any difference in the each products contribution to other costs exists? if the latter, would such a result "seem to you unfair" regardless of the difference in each product's contribution to other costs? if neither, please explain.

(b) Eliminating the assumption that the products have the same cost coverage, at what level, if any, would the difference in each product's contribution to other costs be deemed by you to be unfair? Please explain, identifying those factors which would shape your judgment.

RESPONSE:

(a) The latter, although the degree of unfairness would diminish as the difference

in contribution diminished.

(b) If the products have different evaluations on the non-cost criteria, then

differences in contribution reflecting these evaluations are not unfair.

RESPONSE OF POSTAL SERVICE WITNESS O'HARA TO JOINT INTERROGATORIES OF AMERICAN BANKERS ASSOCIATION, EDISON ELECTRIC INSTITUTE, AND NATIONAL ASSOCIATION OF PRESORT MAILERS

ABA&EEI&NAPM/USPS-T-30-6. Re Testimony at 30, lines 16-19.

(a) If the coverage from Docket Mo. R94-1 had been used, would the percentage change in rates be approximately 3.8% as opposed to 3.54? (see Exhibit USPS-30D; revised 8/22/97.) If not, what would the percentage increase have been?

(b) Explain what you mean by the phrase "only intensify the problem." <u>Id</u>. at line 19.

RESPONSE:

(a) No; the cited lines say "nine percentage points higher," which implies a rate

increase of approximately 12.5% (=3.5 + 9.0).

(b) The problem referred to is that of the effect of rate increases on Periodicals

mailers; adjustment for the change in system-average coverage would result

in rate increases greater than 12.5%, which would intensify the effect of rate

increases on Periodicals mailers.

Designated Interrogatory Responses of David R. Fronk (T32)

.

.

.

:

ABA/USPS-T25-2. What evidence do you have that private sector worksharing bureaus can cover the additional cost burden that reduced discounts are imposing on them? Do you have any evidence concerning their cost increases since R94-1 that would enable you to conclude that discounts can be cut or frozen and enable these bureaus to still operate profitably?

RESPONSE: In comparison to Docket No. R94-1, the 3-digit discount is increased from 5.6 cents per piece to 6.5 cents in my proposal. Similarly, the 5-digit discount is increased from 6.2 cents to 8.1 cents in my proposal. Please note that 3-digit and 5-digit letters are the largest categories of workshared mail, accounting for about 75 percent of workshared letters in the Test Year. There was no Basic Automation rate following Docket No. R94-1, precluding a comparison. I would think that these increases would enhance the ability of private sector workshare bureaus to operate profitably over that time frame.

I do recognize that our proposal calls for slight reductions in the 3-digit and 5-digit discounts. Nevertheless, this shows the longer term trend of these discounts.

While my proposals are based on Postal Service costs avoided rather than the costs of the worksharing bureaus, given the increase in these discounts since Docket No. R94-1, I am unsure what additional cost burden is being referenced in the question.

ABA/USPS-25-3.

a. Please confirm that the single piece mailstream that would benefit from the proposed discounts for Prepaid Reply Mail (PRM) and Qualified Business Reply Mail (QBRM) is already mostly barcoded and already generating cost savings.
b. Please confirm that the 3 cent "incentive" proposed for PRM and QBRM mail is unlikely to result in many more (or any more) barcodes than now exists, being put on household to nonhousehold mail in the form of bill payments and the like.

RESPONSE:

(a) Confirmed.

(b) I agree with this statement for the Test Year. In the future, it is possible that PRM could generate some new mail volume by converting some in-person payments to the mail (see page 38 of my testimony at lines 16-21). Also, it is possible that the new QBRM rate will attract new volume in the future, but this volume is uncertain and I have not attempted to quantify it (see page 47 of my testimony at lines 1-3). Please see my response to ABA/USPS-T25-4 for the rationale underlying the discount.

ABA/USPS-T25-4. Is it your intention that all the 3 cents in your proposed PRM and QBRM rate be passed on to consumers or should the division between consumers and business preparers of these envelopes be divided according to market principles, much like the current dynamic between worksharing discounts and charges to those using worksharing bureaus?

RESPONSE: My intention with both of these proposed rates is to permit a broader base of customers to more directly share in the benefits of automation. The proposed PRM rate is also designed to help address the threat of electronic diversion and, at the same time, to provide added convenience for the general public (please see pages 33-37 and 45 of my testimony). How this benefit is divided depends on how a business chooses to fund PRM or QBRM. If a business funds PRM by explicitly billing the consumer for the cost of the postage, then the 3 cents savings would be passed directly on to consumers. If a business treats PRM or QBRM as a cost of doing business and recovers the cost through other product or service prices (similar to current BRM), then the 3 cents could be divided between the business and its consumers.

ABA/USPS-T25-5. The benchmark used for the development of the PRM and QBRM automation discount is the nonpresort single piece while the benchmark used for the development of other automation discounts in First Class is bulk metered mail. If nonpresort single piece letter mail is convertible into (some) automation rate, as implied by the proposed PRM discount, then the supposition underlying the bulk metered benchmark that only the bulk metered mail stream is convertible is false, is it not?

RESPONSE: No. As the Commission stated in Docket No. MC95-1 (paragraph 4302 at page IV-136), "...the single-piece mail most likely to convert to the automation categories is limited to the bulk metered mail component." Also, see my testimony at page 20. As such, I used this benchmark to set the worksharing discounts for bulk automation letters. The benchmark represents a pricing reference point to appropriately identify workshare cost savings; the benchmark is not meant to imply that every piece that converts to worksharing physically comes from a pool of bulk metered pieces. I believe the phrase "most likely" is appropriate and does not convey all inclusiveness.

RESPONSE OF U.S. POSTAL SERVICE WITNESS FRONK TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5

POIR NO.5, QUESTION 18. Response to ABA&EEI&NAPM/USPS-T32-6 states that bulk metered mail "has the features commonly associated with First-Class metered mail." Please describe these features.

RESPONSE: The phrase quoted above was included in my response to ABA&EEI&NAPM/USPS-T32-6 because bulk metered mail costs are developed by starting with the costs for First-Class single-piece metered mail as a whole, and then subtracting certain costs avoided when processing bulk metered mail (please see USPS LR-H-106, page II-10). The costs that remain are assumed to apply to all single-piece metered mail, both bulk and nonbulk.

The way the response was phrased, it may suggest that I had in mind a specific set of mail characteristics or features, for example, whether the address is handwritten. While this was not the case, I will try to respond to the question as posed.

Features of First-Class metered mail include an address that is typically not handwritten. According to 1996 ODIS data, 11.1 percent of metered singlepiece letters have handwritten addresses while 37.5 percent of nonmetered single-piece letters have handwritten addresses. In addition, single-piece metered mail carries a meter imprint or strip and typically originates from a business. Also, single-piece metered letters typically do not have a FIM; 2.5 percent have a FIM, according to 1996 ODIS data. In general, single-piece metered mail is fairly homogeneous. 9865

RESPONSE OF WITNESS FRONK TO QUESTION POSED AT HEARINGS

Tr. 4/1686-87.

Q: Can you tell me whether any Postal Service equipment at the present time, in particular the facer cancelers that cancel First-Class Mail, whether they can detect pieces that weigh more than one ounce?

Response:

.

•

I am informed that the AFCS does not distinguish mail pieces on the basis of weight.

.

Designated Interrogatory Responses of Thomas M. Sharkey (T33)

.

-

--

•

ł,

Response of Postal Service Witness Sharkey to Interrogatories of David B. Popkin

DPB/USPS-8[r]: [Referring to the mail processing of Priority Mail as distinct from the processing systems for "Letters and Sealed Parcels" and "Cards":] If so, please explain the details of the system and the differences between it and the system used for other subclasses of mail.

Response:

For a description of First Class mail processing see the testimony of Postal Service

witness Pajunas in Docket No. MC95-1 (USPS-T-2). See, for example, section 4 which

describes the processing of nonautomation compatible letters and section 7 which

describes the processing of nonbarcoded flat mail.

For a description of Priority Mail Processing see witness Sharkey's response to

UPS/USPS-T33-1 and witness Moden's responses to UPS/USPS-T4-6, 31 and 32.

DBP/USPS-11 Furthermore, with respect to Express Mail Service Commitments performance goals,

- [a] describe the method that is utilized to establish the extent of the overnight delivery area.
- [b] To what extent are cutoff times made which are earlier that the closing time for window hours at a given office?

Response:

[a] An analysis is made of available transportation from originating areas

to determine overnight delivery areas from originating areas.

[b] At some post offices Express Mail addressed to certain destination

ZIP Codes may have a cutoff time which is earlier than the post

office's window closing time in order to meet the best possible

delivery commitment to the destination. I do not know the

exact extent to which this occurs.

DBP/USPS-12 Furthermore, with respect to Express Mail Service Commitments/performance goals

- [a] Will Express Mail be delivered as expeditiously as possible or will it be delivered by the regular carrier so long as it will meet the established delivery time?
- [b] Provide copies of all regulations which describe the method of delivery to be utilized.

Response:

[a] Express Mail is delivered by the regular carrier as long as the

commitment for the Express Mail can be met.

[b] To my knowledge there are no regulations governing this type of delivery.

.

Postal Service Witness Sharkey Response to Presiding Officer's Information Request No. 7, Question No. 20

20. Please refer to Exhibit USPS-33W (sic) (revised 10/06/97). The "net nontransportation cost" shown on line 8 is found by subtracting line 7 from the "total [adjusted] nontransportation costs" shown on line 3. The figure on line 7, however, appears to have the character of a revenue, since it is found by multiplying the number of postage pounds (line 6) by marked-up cost element (line 5). Accordingly, please explain the meaning and the use of the "cost" figure on line 8.

Response:

The use of the word "cost" on line 8 of Exhibit USPS-33N is unintentionally misleading. If fact, the figure represents the residual costs after subtracting the marked up and contingency adjusted total nontransportation weight related cost. The marked up and contingency adjusted nontransportation weight related cost per pound is added to the marked up and contingency adjusted transportation cost per pound to derive the pound charges by zone shown in USPS-33O, column 14 (USPS-33O, column (12) + column (13) = column (14)). The figure in USPS-33N, line 8 is than used to develop the marked up and contingency adjusted net nontransportation cost per piece also shown on line 13. USPS-33N, line 8 cost is divided by the test year after rates volumes including new delivery confirmation volume (USPS-33N, line 21), the result, net nontransportation cost per piece is shown on USPS-33N, line 10. This figure, in turn, is adjusted for the markup and contingency factor with the result shown on USPS-33N line 13. The development of this figure is consistent with the development of the marked up and contingency adjusted nontransportation cost per pound shown on USPS-33N Line 5 and included in the pound charge in USPS-33O, column 14.

Designated Interrogatory Responses of Altaf H. Taufique (T34)

.

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS TAUFIQUE . 9873 TO PRESIDING OFFICER INFORMATION REQUEST NUMBER 6

Question 2.

Witness Taufique (USPS-T-34) and Kaneer (USPS-T-35) propose a new approach to developing the pound rate for editorial (defined as non-advertising) matter in Regular, Nonprofit, and Classroom Periodicals. One justification for this new approach focuses on an interest in keeping the implicit cost coverage on editorial matter from being below 100 percent. This coverage, however, is heavily influenced by *both* the editorial pound rate and the editorial per-piece benefit. Accordingly, please discuss the justification for proposing to elevate this coverage by adjusting only the editorial pound rate.

RESPONSE

I agree that the implicit cost coverage on editorial matter is heavily influenced by both the editorial pound rate and the per-piece discount for editorial matter, and would acknowledge that both of these elements eventually may need to be adjusted to achieve a 100 percent implicit cost coverage for editorial matter. The proposed rate design change in the calculation of the editorial pound rate results not only in a straightforward methodology to eventually achieve 100 percent implicit cost coverage for editorial pounds, but also provides a better allocation of distance related transportation cost to the zones. This methodology avoids the additive scalar of the residual distancerelated transportation cost as was done in the past rate design for Periodicals.

Given the relatively low cost coverage proposed for Periodicals, and a desire to avoid large increases in any rate cells, the Postal Service decided to propose an editorial pound rate that is 90 percent of the calculated pound rate needed to achieve the 100 percent implicit cost coverage for editorial pounds.

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS TAUFIQUE TO PRESIDING OFFICER INFORMATION REQUEST NUMBER 6

Question 2 Continued. Page 2 of 2

The Postal Service also proposes to increase the editorial per-piece discount at the rate of the overall increase for the class. The alternative would be a smaller increase, or no increase at all, in the editorial per-piece discount, which would bring the implicit cost coverage for editorial matter closer to 100 percent. The Postal Service chose to propose a change in the editorial pound rate methodology, but avoided a smaller piece rate adjustment to mitigate the impact on high editorial content pieces. The Postal Service wants to move toward the cost coverage goal for editorial matter but at the same time mitigate the impact of these changes on high editorial content pieces given the relatively low cost coverage proposed for Periodicals in this docket.

Witness Kaneer has read this response and is in agreement with it, as it relates to Nonprofit and Classroom Periodicals.

9874

Designated Interrogatory Responses of Joseph D. Moeller (T36)

.

.

•

Under current preparation requirements, a mailer may prefer option 2, because the required presort for machinable parcels is easier due to the fewer separations required and the fact that machinable parcels are not packaged prior to sacking. Thus, instead of sorting pieces to 5-digit, 3-digit, ADC, and Mixed ADC packages and then placing those packages in 5-digit, 3-digit, ADC, and Mixed ADC sacks, the mailer need only sack mail to 21 BMCs, and place remaining pieces in a Mixed BMC sack. Machinable parcels may also be sorted to 5-digit sacks prior to preparing BMC sacks if the mailer desires to qualify for the 3/5-digit rates. Some mailers find machinable parcel preparation advantageous, because, as stated in the DMA Washington Report for January 1997 (www.the-dma.org/home_pages/home-jan97wr.html), see Tr. 7/3166 and attachment to this response, they can avoid the higher mail preparation costs of flats. This Report also includes the suggestion that mailers can avoid the surcharge by preparing small parcels as flats. It should be noted that the DMA Washington Report was posted on the web in reaction to parcel classification reform and prior to the filing of Docket No. R97-1 that contained the clarifying phrase "[or] prepared as a parcel" in the classification language. Given this, it is evident that mailers were apparently anticipating that pieces prepared as machinable parcels (regardless of whether they also met the flat criteria) would be subject to the surcharge.

RESPONSE OF U.S. POSTAL SERVICE WITNESS MOELLER TO QUESTION POSED AT HEARING

Since there are pieces which meet the dimensional criteria of a flat, but are prepared and entered as machinable parcels, the scope of the classification language for the residual shape surcharge includes the phrase "is prepared as a parcel" so that any overlapping pieces would be subject to the surcharge if they are entered as parcels, instead of flats. The language as proposed will also simplify administration of acceptance and verification in that all pieces prepared as parcels would be subject to the surcharge, not just the ones that could not also be defined as flats. The language also makes intuitive sense in that a piece prepared as a parcel will be handled similarly to the "nonoverlapping" shaped pieces subject to the surcharge.

Adoption of the requested classification language does not change the options available to mailers of overlapping-shaped pieces. Mailers of such pieces could continue to take advantage of the easier presortation requirements; however, if they do so, such pieces will be subject to the surcharge. If mailers of overlapping shaped pieces wish to avoid the surcharge, they can prepare overlapping shaped pieces as flats. In either event, the customer chooses the option which best suites his or her unique needs.

RESPONSE OF U.S. POSTAL SERVICE WITNESS MOELLER TO QUESTION POSED AT HEARING

The proposed language is intended to create consistency between rate eligibility and preparation requirements. DMM section C050.4.4³ is similar in purpose in that pieces categorized for rate purposes as flats in order to take advantage of the flat barcode discounts, for example, cannot take advantage of the machinable parcel preparation requirements.

³ DMM C050.4.4 provides that: "Items categorized as flats, irregular parcels, or outside parcels may not be prepared as machinable parcels."

DMA V ashington Report

http://www.the-dma.org/home_pages/home-jan97wr.html

dropped slightly for the accounting period (down 2.6% from the same period last year), and it's completely flat for the year. Year-to-date, First-Class mail is only 50% of total mail volume and 58% of total revenue.

Standard (A) mail is up to 41% of total volume and 23% of total revenue for Accounting Period 3, which is an increase over the same period last year but a drop from the year-to-date numbers (43% and 25% respectively). These numbers suggest a future in which Standard mail could be forced to pay an ever-increasing share of postal overhead.

PARCELS RECLASS CASE WILL CREATE SURCHARGE PROBLEM

The Governors of the Postal Service have approved filing the Parcels Reclassification Case, which will include a ten-cent surcharge for all Standard (A) parcels. According to the USPS, parcels under one pound cost the Postal Service .30 more to process per parcel than letters and flats, and the surcharge is intended to offset this differential.

Surcharge May Be Avoidable

Some parcel mailers may, however, be able to avoid the surcharge by mailing their smaller parcels as flats. Small machinable parcels can currently be mailed as flats, but existing physical size requirements are tight. For instance, "Rigid Flats" must be able to negotiate a curved conveyor belt on current flats sorting machines, which means they must fit between two concentric arcs with radii of 15.72 and 16.72 inches: if a parcel is 0.75 inches thick, its length must be less than six inches to fit within the arcs - an impractical requirement.

New Flats Sorters Should Help

However, the FSM-1000 Flats Sorting Machines now being deployed by the USPS reduce the minimum and increase the maximum allowable dimensions of flats and remove turnability and rigidity requirements as well. The new machine will handle pieces from $4^{\circ} \times 4^{\circ} \times 0.007^{\circ}$ to 15-3/4" $\times 12^{\circ} \times 1-1/4^{\circ}$; the maximum weight of a Flat will rise to six pounds. Therefore some pieces now mailed as Standard (A) parcels will more easily qualify as flats.

Avoiding a potential parcel surcharge comes at the price of higher mail preparation costs. Machinable parcels currently need to be sorted only to Bulk Mail Centers; obtaining the 3/5-digit discount requires first preparing all possible five-digit containers. Current flats preparation requires a more complicated 5-digit, 3-digit, AADC, and mixed AADC sort. Consequently savings from avoiding a parcel surcharge may be diminished by increased preparation costs.

Nonetheless, the deployment of FSM-1000 machines, scheduled for completion in August of 1998, is good news for mailers of heavier Standard (A) pieces, especially parcels.

SMALL FLATS TEST RESULTS MOSTLY GOOD

The Postal Service has released preliminary test results, and the results are encouraging for all but slim-jims. The tests have identified a number of

.

Designated Interrogatory Responses of Virginia J. Mayes (T37)

.

.

t

RESPONSE OF POSTAL SERVICE WITNESS MAYES TO DBP INTERROGATORIES REDIRECTED FROM THE POSTAL SERVICE

DBP/USPS-39. [I] In an effort to avoid the necessity of follow-up interrogatories, please provide the logic behind and the cost data which justifies any variation in the various one pound changes as well as any variation in the changes necessitated by the requirement to keep the parcel post rates less than the Priority Mail rates.

Response:

[I] The increases in rates from one weight increment to the next are not uniform because the increases in costs from one weight increment to the next are not uniform. As can be seen from the testimony of witness Hatfield (USPS-T-16), the transportation costs for Parcel Post are incurred on the basis of cubic feet utilized in the truck, rail van, or other transportation. Because the rate design for Parcel Post is applied on the basis of the weight of the piece, and not the cube of the piece, the transportation costs which were incurred on the basis of cube must be translated into a weight-related pricing structure. The Postal Service has detailed information for Parcel Post which shows that there is not a linear relationship between cube and weight. Thus, this translation from cuberelated costs to weight-related rate design is performed by means of regression analyses which show how cube and weight are related. The results of those regressions are shown at page 1 of my workpaper WP I.E.

The cube-weight relationships are used in conjunction with the transportation costs per cubic foot by zone in my workpaper WP I.E., pages 3 through 12 to develop the transportation element of the rate design. As can be seen from

these workpapers, the increase in transportation cost – which represents a large portion of Parcel Post costs – is not smooth from weight increment to weight increment.

The unconstrained rates as developed from the underlying costs and recovery of revenue leakages are shown in my workpaper WP I.K., pages 1 through 6. My workpapers WP I.L. and WP I.M. show the rate cells which were constrained in accordance with the precedent of the Postal Service and the Postal Rate Commission that the machinable inter-BMC Parcel Post rates remain at least 5 cents below the comparable Priority Mail rates.

RESPONSE OF POSTAL SERVICE WITNESS MAYES TO DBP INTERROGATORIES REDIRECTED FROM THE POSTAL SERVICE

DBP/USPS-82. Your response to DBP/USPS-47 did not explain why, since there were lower costs for the higher zones, that this did not result in lower rates [rather than no change in rates as is being proposed] for the higher zones.

Response:

DBP/USPS-47 asked, "If the total transportation costs were the same and the reallocation resulted in higher costs for the lower zones, why didn't they result in lower <u>costs</u> for the upper zones?" [Emphasis added.] Witness Hatfield's response correctly indicated that the analysis contained in his testimony did result in lower unit transportation <u>cost</u> estimates for the upper zones. For the reasons that the lower transportation cost estimates for the upper zones did not translate into <u>rate</u> decreases for the upper zones, please refer to my response to UPS/USPS-T37-37(b), and to the transcript at 8/4259-60. Please also refer to my response to your interrogatory DBP/USPS-43[c].

OCA/USPS-T37-1. In Docket No. MC97-2, the Office of the Consumer Advocate ("OCA") submitted a number of interrogatories to which you provided replies. Please indicate the Postal Service's position as to whether the responses you gave to interrogatories 7, 8, 9, 27, 28, 29, 30, 31, 32, 33 in Docket No. MC97-2 are still valid. If not, please explain.

Response:

Redirected in part to the Postal Service.

If you are requesting that I verify that my responses to the listed interrogatories from Docket No. MC97-2 remain the same, then I can verify that the responses to 7, 8, 9, 27, 30, 32 and 33 would be unchanged. The responses to 28 would remain the same, with clarification of the response to part c provided in my response to OCA/USPS-T37-6. The responses to 29 would remain unchanged except as noted in my response to OCA/USPS-T37-7. The responses to 31 would remain unchanged except as noted in my responses to OCA/USPS-T37-8 and OCA/USPS-T37-9. I would note that the quote from the Scherer text that you provided in your original question OCA/USPS-T13-31d misquoted the statement that appears in the textbook. I would also note that the quote that you provided in your original question OCA/USPS-T13-31e appears in the textbook in the context of a discussion regarding the "coordination problem" which occurs as oligopolists coordinate pricing efforts to maximize profits, and that the

RESPONSE OF POSTAL SERVICE WITNESS MAYES TO OCA INTERROGATORIES

worth noting, especially with respect to the interrogatories 29, 30 and 33, that the Postal Service is not proposing to raise the weight limit for parcels. 13. Please explain why the "Additional Nontransportation Costs of New Volume over 108 Inches" (Line 5, USPS-T-37, Workpaper 1.1, page 2) should have a markup applied while the other adjustments to costs, such as "Prebarcode Cost Savings" (Line 17) do not have a markup applied.

Response:

! •

"Additional Nontransportation Costs of New Volume over 108 Inches" appear not at line (5), but at line (4) of workpaper USPS-T-37, WP I.I., page 2. Neither the "Additional Nontransportation Costs of New Volume over 108 Inches" nor the "Prebarcode Cost Savings" adjustments to costs, as developed at lines (4) and (17) of workpaper USPS-T-37, WP I.I., page 2 Incorporate a markup. In the event that the question meant to refer to line (5), I would note that there is likewise no markup incorporated into the formula at line (5). The formula associated with line (4) refers to line (27), the per-piece rate element, which does include a markup. However, when line (27) is incorporated into the formula for line (4), it is divided by line (8), which is the markup factor. Thus, the markup is removed from the per-piece rate element, and is not included in the calculation of the "Additional Nontransportation Costs of New Volume over 108 Inches."
Response of Witness Mayes to Presiding Officer's Information Request No. 6

ليرب الاراجيج المراضيجين والالمريسية وليتوافروا

3. Due in part to variations in proposed average rate increases, the base year to test year volume changes are markedly different for each of the three parcel post components, intra-BMC, inter-BMC, and DBMC. As explained in USPS-T-37 (including Workpapers I.O and II.C), Alaskan Bypass is part of the intra-BMC component and the Official Mail Accounting System (OMAS) is part of the inter-BMC and DBMC components. In view of the different volume changes, please explain why the ratios of (a) Alaskan Bypass revenue to total parcel post revenue and of (b) OMAS revenue to total parcel post revenue are each the same in the test year as in the base year. Also, please discuss whether it would be appropriate, as an alternative, to project the revenues of Alaskan Bypass and OMAS as fixed proportions of the parcel post components in which they are included.

Response:

The Alaska Bypass and Official Mail Accounting System (OMAS) volumes do not exhibit the same weight per piece or distance characteristics as other subcategories of Parcel Post. Therefore, the projected revenue accruing from these types of Parcel Post was tied to the total Parcel Post revenue. In the absence of additional information regarding the behavior of these categories of mail, it would not be inappropriate to tie the projected Alaska Bypass revenues to the intra-BMC revenues, and the projected OMAS revenues to the inter-BMC and DBMC revenues proportionally to the shares of inter-BMC and DBMC in OMAS. An examination of the most recent five years of data demonstrated that the Alaska Bypass revenues exhibited slightly higher correlation with the non-Alaska Bypass Intra-BMC revenues (0.939) than with the total Parcel Post revenues (0.921). Inter-BMC OMAS revenues seemed to be more closely tied to total Parcel Post revenues (0.552) than with non-OMAS Inter-BMC revenues (-0.117). DBMC OMAS revenues were highly negatively correlated with both total Parcel Post revenues (-0.953) and non-OMAS DBMC revenues (-0.892).

Designated Interrogatory Responses of Mohammad A. Adra (T38)

•

;

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS ADRA TO POIR NO. 5, QUESTION 12

12. Final Cost and Revenue Adjustments

Final cost and revenue adjustments for BPM are developed in USPS-T-38, Workpaper BPM31. The unit cost with contingency for unbarcoded volume changes from the TYAR Forecast (\$0.598755) to TYAR Adjusted (\$0.609916). Both include an adjustment for current volume presently barcoded. Two additional adjustments are made in the development of the TYAR adjusted unit cost (Cell L49 on worksheet "Final adjustments:")

- additional barcoded volume; and
- new volume over 10 pounds.

Please justify these two additional adjustments. If the adjustment for new volume over 10 pounds is justified, should an adjustment be made to the unit cost of new volume over 10 pounds (\$1.122256)? If not, why not? If so, please provide the correct adjustment.

If these two adjustments are justified for BPM, please explain why similar adjustments are not included in developing the unit cost of unbarcoded volume for Library Rate (USPS-T-38, Lib 8, page 2).

If the adjustment for the additional barcode volume is justified, please explain why a similar adjustment is not included in the development of the unit cost of unbarcoded volume for Special Standard (USPS-T-38, Workpaper SR7, page 2).

Please provide any revised documentation.

RESPONSE:

The two additional adjustments that you refer to in your question and are made

in Cell L49 on worksheet "Final Adjustments:" are not justified. The unit cost with

contingency for unbarcoded volume does not change from TYAR Forecast (i.e,

Cell K49) to TYAR Adjusted (i.e., Cell L49). The correction has been made in

the attached revised workpapers. However, your question led me to revise the

estimated unit cost of new volume over 10 pounds (\$1.122256) to include an

adjustment for newly barcoded volume. I have also made the same adjustment

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS ADRA TO POIR NO. 5, QUESTION 12

RESPONSE (continued)

on the revenue side (i.e, the \$1.7204 revenue per piece for new volume over 10

Ibs, in Cell L28). All corrections are incorporated in the revised workpapers:

WP BPM31, WP BPM32. These corrections impact the cost coverage, thus, I

have also attached the revised workpaper WP-BPM1.

The calculations for Special Standard and Library are correct. Thus, no similar adjustments and/or corrections are needed.

Financial Summary Standard (B) Bound Printed Matter

124 37% 123.04% %18.971 Cost Coverage - including fees 8339,729,338 \$335'280'380 2336,113,860 Cost including contingency \$0.9125 2906 0\$ 6898 OS Revenue Per Piece - Including Fees 2254'439'849 SS6, 100, 602\$ 2403'445'025 Revenue Including Fees 2432'000 0\$ **\$4**57,000 2997 2116.0\$ 2906.0\$ Revenue Per Piece - Excluding Fees 1898.0\$ **\$**254'004'849 996'100'609\$ 2403'012'025 Revenue Excluding Fees 009'172'729 000,817,188 002'968'299 **emulo**V [E] AAYT [S] **AAYT** [1] **ABYT** leni7 Forecast

BPM31

Volume - BPM8; Revenues - BPM12; Cost -- USPS-T-15, WP-E, Table E

[2] [1]

%89[.]971

Volume -- BPM26 ; Revenues -- BPM30; Cost -- USPS-T-15, WP-G, Table E

123.04%

124 54%

9892

[3]

Cost coverage - excluding fees

WP BPM1 86-T-292U 76-von-71 besiveA

[1] alaoD AAYT			[3]	ue per Piece	ineveR bus tsoO	яаут
			lsoD	Buneveñue	teoD	
2332,590,980	Total before Final Adjustments		Coverage	Per Piece	Per Piece	Weight
64,237,333	41 Joanged IsoO	1'2 4		1418.0\$	9/79:0\$	<u>9.1</u>
2 568,353,647	Nontransportation Costs	1.54		\$0 ,8588	2999°0 \$	5
13,711,746	Nontransportation Weight-Related Costs	1-54		281-6-0\$	8719.0\$	3
\$ 524'641'601	Unadjusted Non-Weight Related Costs	1.54		\$1:0375	2 0.6730	4
906'208'2\$-	Cost savings due to newly barcoded volume [4]	79°1		\$ 111598	\$0,7312	G
\$ 541'333'882	Adjusted Non-Weight Related Costs	1.54		\$1.2162	£682 0 \$	9
670,646,77	Weight-Related Costs	43.F		\$1'3022	\$ 7 4 8.0 \$. L
		1.54		6 1.3949	2906'0\$	8
		43.F		\$ 1.4842	20:3638	6
		1'24		\$£73.1 \$	21'0550	01
		1.54		\$1.6629	2080.1	11
2385'041'262	{c] sunsve belated Revenue [c]	1.54		9202.1\$	2601.12	8.F
\$119,724,842	Pound-Related Revenue	1.64		21:752	E861-1\$	15

sbnuog SAYT 48.1

2909ig RAYT 46.1

1-54

\$5.0203

\$1'6306

9148.1\$

\$1.3128

21.2547

\$961°1\$

9 7 7,117,51 8		1'340'014'325				leioT
569,512,1 754,852,01	0000.1 0000.1	269,557,102 2,055,843,692	0.02	9'0 926'0	Local Von-Local	
896'819'1 898'119'1	0000 l	1,929,864 80,568,396	\$0.02	1 92.0	Local Non-Local	<u>Bulk</u>
Nontransp. Per Lb. Costs	<u>jbA loV</u>	spunod	<u>פ/רף</u>	Factor		
	[2] siso) beis	leЯ-JdgieW noitst	ntenspor	ION SAYT to noi	Calcula	

2 to 1 ageq Mb Bbk33 **86-T-292U** 76-von-71

REVISED

.

1,340,074,352

000'812'199

9893

9F

14

13

295'041'285\$ Adjusted Piece-Related Revenue -\$1 532 220 Barcode Adjustement 40.0-Barcode Dsicount 757,888,081 Newly Barcoded Volume £11,772,985**\$** Unadjusted Piece-Related Revenue :[5] 906'208'2\$ emulov bebooted viwen of euclided volume 0.0404 Barcode cost savings per piece with contingency 737 888 081 Newly Barcoded Volume 32.20% Percent of New barcode emulov letoT 000,817,186 Cost savings = Newly barcoded volume * barcode cost savings per piece.

[3]: Cost per piece: (non-weight related cost / TYAR pieces) + weight * (weight related cost / TYAR pounds) Revenue Per piece: (piece related revenue / TYAR pieces) + weight * (pound related revenues/TYAR pounds)

[2]:
 Assumes 2 cents per lb for weight-related nontransportation cost

Noles: Total costs from USPS-T-15, WP-G, Table E. Transportation costs - same % as in TYBR Non-transportation weight-related costs from [2] Revenues - BPM20 TYAR Pieces - BPM26 TYAR Pounds - BPM20

9894

:[+]

6366 5 01 5 Mb BbW35 12-Nov-97 17-Nov-97 REVISED

CALCULATION OF BOUND PRINTED MATTER FINAL ADJUSTMENTS

. .

emuloV

leioT	005,968,762	000'812'199	009'1#2'#29
New Volume over 10 Pounds	eu	eu	13'023'200
New Volume from Delivery Confirmation	eu	eu	0
Additional Volume Barcoded from Market Research	eu	eu	727,888,081
Currently Barcoded Volume	33'010'122	117,162,59	112'169'26
Unbarcoded Volume	414,286,178	469,126,289	588'535'235
	<u>TYBR</u>	Forecast	<u>bətrujbA</u>
	1	AAYT	
		<u>emuloV</u>	

Revenue Impact

6271123	0.906152	£\$1898.0	letoT
£99202°1	eu	eu	New Volume Over 10 Pounds
ยน	eu	eu	New Volume from Delivery Confirmation
0.872746	eu	eu	Additional Volume Barcoded from Market Research
0.872746	0.872746	£\$1898.0	Currently Barcoded Volume
20 ,912746	20.912746	\$0.868143	Unbarcoded Volume
betzuibA	Forecast	TYBR	
	AAYI		
	Revenue per Piece		

10131	463'016'025	996'100'609	254'004'846
	eu	eu	55'538'442
New Volume In Very Confirmation	eu	eu	0
Additional Volume Harcoded from Market Research	eu l	eu	£98'698'291
Currently Barcoded Volume	81,266,948	200,608,08	200'608'08
Unbarcoded Volume	+01,8+7,11 +2	8+6'261'82+\$	\$263,087,534
	<u>IABR</u>	<u>Izecest</u>	betsulbA
		AAYI	
		Revenue	

9686

6366 2 01 3 Mb 86W31 12-Nov-97 86VISED ,

.

togen inpact

		Χουρύμος	Cost per Piece with o	
	<u>HAYI</u>			
	betzulbA	Forecast	TYBR	· · · · · · · · · · · · · · · · · · ·
997868.0 2	55	2869'0 \$	21986910 \$	Jubarcoded Volume
80.558355	99	6855.0	711822.0	Surrently Barcoded Volume
226833.0 2		eu	eu	dditional Volume Barcoded from Market Research
eu	l	eu	ខប	nousemitro. Vievited mort emulov web
34 2601.1 \$		eu	eu	lew Volume over 10 Pounds
660169.0	96	0.5920	828192.0	lato

1610 1	336,113,860	332,590,980	855,627,955
New Volume over 10 Pounds	eu	en	\$14'44 6'56 4
New Volume from Delivery Confirmation	eu	BR	eu
Additional Volume Barcoded from Market Research	eu	eu	\$101,000,214
Currently Barcoded Volume	25'542'450	280,669,18	290'669'19\$
Unbarcoded Volume	2583'898'440	868,168,082\$	8172,583,778
	TYBR	Forecast	betsulbA
		AAYI	
	i	Cost with coningency	

Designated Interrogatory Responses of Susan W. Needham (T39)

- ·

-

...

DBP/USPS-16 (a) Confirm that the United States Postal Service issued in May 1997 a card with a 20-cent Bugs Bunny stamp on the front and a picture of Bugs Bunny on the reverse. (b) Confirm that these were supplied in a cellophane wrapped book of ten cards. (c) Confirm that the price tag on the back of the package states, "BUGS BUNNY POSTAL CARD BOOK / 10 POSTAL CARDS / ITEM NO. 8982 / PRICE: \$5.95. (d) Confirm that there is a gold seal on the front of the package that states, READY-TO-MAIL / POSTAL CARDS.

RESPONSE:

- a) Confirmed.
- b) Confirmed.
- c) Confirmed.
- d) Confirmed.

DBP/USPS-21. (m) Confirm, or explain if you are unable to do so, that the maximum proposed cost for a Priority Mail parcel weighing ten pounds or less will be \$14.85 and that the fee for Special Handling for parcels weighing ten pounds or less will be \$17.25. (n) Confirm, or explain if you are unable to do so, that a Priority Mail parcel weighing ten pounds or less will always cost less than the Special Handling parcel of the same characteristics and destination. (o) Confirm, or explain if you are unable to do so, that the fee for Special Handling for parcels over ten pounds will be \$24.00. (p) Confirm, or explain if you are unable to do so, that when the Special Handling fee is added to the Inter-BMC Standard Mail rates that Priority Mail will be less expensive than the Standard Mail rate for all but the following cells: Zones 1 and 2, over 63 pounds; Zone 3, none; Zone 4, over 48 pounds; Zone 5, over 49 pounds; Zone 6, over 44 pounds; Zone 7, over 46 pounds; and Zone 8, over 44 pounds. (r) Confirm, or explain if you are unable to do so, that when the Special Handling fee is added. to the Intra-BMC Standard Mail rates that Priority Mail will be less expensive than the Standard Mail rate for all but the following cells: Local, over 60 pounds; Zones 1 and 2, over 61 pounds; Zone 3, over 67 pounds; Zone 4, over 43 pounds; and Zone 5, over 46 pounds. (v) If you are unable to confirm subpart u, provide those categories and weight cells where Special Handling would be less expensive than Priority Mail. (y) Confirm, or explain if you are unable to do so, that the maximum weight for Bound Printed Matter will be 15 pounds and that the maximum postage for a 15 pound Priority Mail parcel will be \$21.05. (z) Confirm, or explain if you are unable to do so, that a Priority Mail parcel will always cost less than a Bound Printed Matter parcel sent by Special Handling. (aa) Confirm, or explain if you are unable to do so, that when the Special Handling fee is added to the Special Standard Mail rates that Priority Mail will be less expensive than the Standard Mail rate for all but the following cells: Zones Local, 1, 2, and 3, none; Zone 4, over 49 pounds; Zone 5, over 44 pounds; Zone 6, over 34 pounds; Zone 7, over 30 pounds; and Zone 8, over 23 pounds. (cc) Confirm, or explain if you are unable to do so, that when the Special Handling fee is added to the Library rates that Priority Mail will be less expensive than the Standard Mail rate for all but the following cells: Zones Local, 1, 2, and 3, none; Zone 4, over 53 pounds; Zone 5, over 47 pounds; Zone 6, over 36 pounds; Zone 7, over 32 pounds; and Zone 8, over 25 pounds.

DBP/USPS-21 (Continued)

RESPONSE:

- m. Confirmed.
- n. Confirmed that a Priority Mail parcel weighing ten pounds or less will always cost less than a parcel with special handling to the same destination from the same origination. However, not confirmed that Priority Mail and special handling have the same characteristics.
- Confirmed that the proposed fee for special handling for over 10 pounds is \$24.00.
- p. Not confirmed. There are additional cells in which the rate for Priority Mail will exceed the inter-BMC rate plus the special handling fee. An example of this is a Zone 2 parcel weighing 63 pounds.
- r. Not confirmed. There are additional cells in which the rate for Priority Mail will exceed the intra-BMC rate plus the special handling fee. An example of this is a local parcel weighing 60 pounds.
- v. See my response to DBP/USPS-21(r).
- y. Confirmed that this is the Postal Service proposed rate.

DBP/USPS-21 (Continued)

RESPONSE:

- z. Confirmed.
- aa. Not confirmed. There are additional cells in which the rate for Priority Mail will exceed the Special Standard Mail B rate plus the special handling fee.

An example of this is a Zone 4 parcel weighing 49 pounds.

cc. Not confirmed. There are additional cells in which the rate for Priority Mail will exceed the Library rate plus the special handling fee. An example of this is a Zone 4 parcel weighing 51 pounds.

DBP/USPS-37 [a] Confirm, or explain if you are unable to do so, that prior to Docket MC96-3 a mailer desiring Registered Mail service for an article with a declared value of up to \$25,000 could mail the article both with or without postal insurance. [b] Confirm, or explain if you are unable to do so, that as a result of Docket MC96-3, the maximum value for making the choice of purchasing postal insurance or not was reduced to \$100. [c] Confirm, or explain if you are unable to do so, that in this Docket, it is proposed to reduce that amount to \$0, namely, for an article having a declared value of one cent or more, it is required to purchase postal insurance [] understand that the maximum insurance liability is limited to \$25,000]. [d] In the preparation for Docket MC96-3 was it the intention of dropping the limit from \$25,000 to \$100 only because the Postal Service wanted to eliminate non-postal insurance in two steps rather than doing it all at once? [e] Confirm, or explain if you are unable to do so, that with respect to the Registered Mail service that there are some costs which are independent of the value of the article, there are some costs which are only slightly related to the value of the article, and those costs which are directly related to the declared value. [f] Confirm, or explain if you are unable to do so as well as provide any other additional items, that the following costs are the same regardless of the declared value of the article: preparation, storage, and utilization of forms; training of employees, publicity of the service, acceptance of the article, and processing (not the payment of) any inquiries and claims. [g] Confirm, or explain if you are unable to do so as well as provide any other additional items, that the following costs are only slightly related to the declared value of the article: security and transportation of the article from the time it is accepted until it is delivered to the addressee. [h] Confirm, or explain if you are unable to do so as well as provide any other additional items, that the following costs are directly related to the declared value of the article: payment of any claims for damage or loss. [i] Provide the cost per article for all of the items that are listed in response to subpart f. [j] Provide the cost per article for all of the items that are listed in response to subpart g. This should be shown for each of the 27 or 28 rate categories. [k] Provide the cost per article for all of the items that are listed in response to subpart h. This should be shown for each of the 27 or 28 rate categories. [I] Provide a table over a period of a recent 12-month period showing the number of articles mailed in each of the 27 rate categories, the number of claims that were filed in each of the 27 rate categories, and the average value paid out per claim in each of the 27 categories. [m] Confirm, or explain if you are unable to do so, the requirement, and provide the appropriate reference, that a mailer must declare the full value of an article for which registration is desired. [n] Confirm, or explain if you are unable to do so, that

DBP/USPS-37 Continued

the mailer will communicate the declared value to the acceptance clerk at the time of mailing the article. [o] Confirm, or explain if you are unable to do so, that for any other postal employee to know the declared value of an article, that information must be specifically communicated to them from the original acceptance clerk. [p] Confirm, or explain if you are unable to do so, that if this communication chain between any two postal employees is broken, it will not be possible to accurately determine the declared value of the article. [g] Confirm. or explain and provide specific information if you are unable to do so, that no record of the declared value is transmitted as a matter of course as the article moves through the mail system. [r] Confirm, or explain if you are unable to do so, that it is not possible to accurately determine the declared value of an article by just looking at the article. Note: This may be due to the overpayment of postage or part or all of the postage falling off. [s] Confirm, or explain if you are unable to do so, that the likelihood of any given postal employee looking at a registered mail article, determining the postage paid on the article, and calculating the registry fee by weighing the article and subtracting the postage for that weight along with the fees for any other services, such as Return Receipt or restricted delivery, and then converting that registry fee just to determine the declared value will be extremely small. [t] Confirm, or explain if you are unable to do so, that for articles with a declared value of \$25,000 or less that it will be unlikely that the value of the article will be specifically communicated from employee to employee. [u] If you are unable to confirm subpart t, are there any regulations or directives indicating a specific value for which the communication of the declared value of the article must be communicated between employees. If so, specify the value, provide copies of the directive or regulation, and enumerate the way the communication will take place. [v] If there are no regulations or directives in your response to subpart t, provide the values at which you believe 25%, 50%, 75%, and 100% of the employees will resort to communicating the declared value as the article moves through the system and the method that will be utilized to pass such information. [w] In light of your responses to subparts n through v, explain how it is possible to justify any higher costs for the transportation and security of articles with a declared value of \$25,000 or less and provide a breakdown between the costs for each of the 27 or 28 different value steps. [x] Confirm, or explain if you are unable to do so, that Registered Mail may only be utilized for First-Class Mail. [y] Confirm, or explain if you are unable to do so, that First-Class Mail is sealed against postal

DBP/USPS-37 Continued

inspection. [z] If a mailer does not file a claim for loss or damage, how will it be possible for the Postal Service to know the contents or actual value of an article which is registered? [aa] If a mailer does not file a claim for loss or damage, what sanctions can be applied to the mailer for failing to declare the full value? [bb] How will it be possible for the Postal Service to determine the existence of such a condition? [cc] Isn't such a rule unenforceable with respect to articles for which the mailer is not interested in obtaining postal insurance. [dd] If not, explain. [ee] Because of the inability to enforce this rule, doesn't it fall into the same category as the Postal Service's change of the rule with respect to Return Receipt for Merchandise where the use of First-Class Mail under 11 ounces was no longer authorized as of Docket MC96-3 because of the inability of the Postal Service to determine that the article actually contained merchandise. [ff] If not, explain. [gg] Confirm, or explain if you are unable to do so, that there are customers who, for whatever reason they may have, do not want to purchase postal insurance for their registered articles. [hh] Confirm, or explain if you are unable to do so, that some of the reasons a mailer might not want to purchase postal insurance would be: they already have their own insurance, they are only interested in obtaining the secure handling that registered mail provides, or the cost vs. value ratio was low enough to assume the risk. [ii] Provide any other reasons in addition to those in subpart hh. [ji] What is the logic for requiring a mailer to purchase a service that do not want or need? [kk] Is postal insurance primary or secondary to any other insurance that a mailer may have? [II] If it is secondary, then explain why a mailer should be required to purchase it. [mm] Confirm, or explain if you are unable to do so, that the only article for which no postal insurance is required is one which has a value of \$0.00 [as opposed to one which has a value of \$0.01 for which postal insurance must be purchased]. [nn] If a registered article is completely lost, may the claim include not only the value of the contents but any or all of the following: the value of the container or envelope that the contents were in, the postage paid for mailing the article [not including any fees], the registration fee, the postage paid for any other special services such as Return Receipt or restricted delivery? Indicate which, if any, of the items are covered and provide a copy of the regulation supporting your responses. [oo] If any of the items

DBP/USPS-37 Continued

specified in subpart nn are covered, wouldn't that automatically provide a value. albeit only perhaps a penny, which would preclude declaring a value of \$0.00. [pp] If not, explain. [qq] Refer to POM Section 811.22 and confirm, or explain if you are unable to do so, that if I purchase stock at a cost of \$1,000 and at the time of mailing it has a market value of \$5,000, and if I mail the stock certificate endorsed in blank, I must pay for a declared value of \$5,000. [rr] Same as subpart qq, except that if I purchase jewelry for \$1,000 and it now has a market value of \$5,000. I would be permitted to pay for a declared value of only \$1,000. [ss] If you confirm both subparts qq and rr, explain why the two articles are treated differently. [tt] Refer to POM Section 811.22 and confirm, or explain if you are unable to do so, that if I mail a negotiable instrument, such as a bearer bond. I must declare a value which is the replacement value of that article, which just happens to be its market value. [uu] Same as subpart tt, except that if I mail a nonnegotiable instrument, I am given the option of whether or not I want to declare a value equal to its replacement cost or to declare no value even if there is a replacement cost. [vv] If you confirm both subparts tt and uu, explain why the two articles are treated differently. [ww] Refer to POM Section 811.22 and confirm, or explain if you are unable to do so, that any of the articles listed under nonnegotiable instruments or nonvaluables will, in fact, have at least a minimal intrinsic value, albeit perhaps only a penny for the intrinsic value for a sheet of paper. [xx] If you are able to confirm subpart ww, explain why these categories are treated differently than those under other categories which it is required to declare the market value or cost. [yy] Are there any articles which are normally being registered that have an intrinsic value of \$0.00 as opposed to \$0.01 or more? [zz] If so, specify examples. [aaa] Refer to POM Section 811.24 and explain where the authority comes from to inquire about the contents of First-Class Mail.

RESPONSE:

a) Confirmed.

DBP/USPS-37 Continued

- b) Confirmed that the maximum level for uninsured registered mail was decreased from \$25,000 to \$100 as a result of Docket No. MC96-3.
- c) Confirmed that the proposal in this docket is to reduce the maximum level for uninsured registered mail from \$100 to \$0.00.
- d) In the preparation of Docket No. MC96-3 the Postal Service only considered proposing the reduction of the maximum value level for uninsured registered mail from \$25,000 to \$100, and did not consider any further decrease.
- e) Not confirmed. There are costs both independent of the declared value and related to the declared value, but not necessary only slightly related to the declared value.
- f) Not confirmed. Registered items with very high declared values could require additional training of employees, particularly for those items requiring special circumstances to handle.
- g) Not confirmed. Registered items with extremely high declared values frequently require added security and alternative transportation, the costs of which are directly related to the declared value.
- h) Confirmed, to the best of my knowledge.

DBP/USPS-37. Continued

- i) This information is not available in the breakdown you request.
- j) See response to DBP/USPS-37(i).
- k) See response to DBP/USPS-37(i).
- See the registered mail billing determinants in USPS LR H-145 for the number of registered articles mailed in each of the 27 fee categories for 1997. Claims information will be provided later.
- m) See DMM S911.2.1 and my response to DBP/USPS-38(e).
- n) Confirmed.
- o) Not confirmed. A registered mail article's declared value can be determined by postal employees through calculating the postage and subtracting it and any ancillary service fees from the total amount paid to get the registered mail fee. Even if an exact calculation is not made, a general estimate of the item's value can be made from the total postage and fees.
- p) Not confirmed. See the response to DBP/USPS-37(o).
- q) Confirmed.
- r) Not confirmed. In the majority of situations, postage has not fallen off or postage has been neither underpaid nor overpaid. Consequently, it would be

DBP/USPS-37. Continued

r) Continued

very possible to accurately determine the declared value of an article by looking at the article.

- s) Not confirmed. No data exists on the number of times postal employees would calculate or estimate the declared value of a registered article based on the affixed postage and fees.
- t) Not confirmed. Postal employees are required to do what is necessary for the safe and secure transport of all registered mail; communicating the declared value of articles under \$25,000 can be one way of ensuring this safety and security.
- u) I know of no regulations or directives, but I am aware that there may be certain circumstances in which communicating the declared value of articles under \$25,000 may be necessary for safety and security and that this would be done on an individual basis. See response to DBP/USPS-37(t).

DBP/USPS-37. Continued)

- v) Since communication of the declared value would be done on an individual basis depending upon the circumstances, I could not begin to hazard a guess as to the percentage of the total number of registered mailings it would be done.
- w) The higher the declared value of registered articles, the higher the costs for security and accountability. The requested breakdown of costs is not available.
- x) Confirmed that registered mail may only be used for articles paying First-Class Mail rates.
- y) Confirmed.
- z) The Postal Service relies upon the declared value given by the mailer to determine the amount of security during the dispatch, processing, and delivery functions of the registered mailpiece.
- aa)-dd) It generally would not be possible. I am unaware of any attempt to impose penalties on mailers in the circumstances you describe. The primary reasons for a mailer to declare full value are to enable the Postal Service to provide the proper level of security, and to protect himself or herself should the registered item be lost or damaged. To some extent, however, the Postal Service relies on the integrity of its customer to declare full value when

DBP/USPS-37. Continued

aa)-dd) requested to do so.

- ee)-ff) No. See my testimony, USPS-T-8, in Docket No. MC96-3 for the reasons for the return receipt for merchandise classification change.
- gg)Confirmed that some customers have chosen not to purchase insured

registered mail.

- hh) Not confirmed. The Postal Service does not have information as to why some registered mail customers would choose not to use postal insurance.
- ii) Not applicable.
- jj) There is no logic in providing a service that is not frequently used, as was demonstrated in the Docket No. MC96-3 Recommended Decision which eliminated the service offerings and fee categories for uninsured registered mail from \$100.01 to \$25,000. Further, with respect to this docket, see my testimony at pages 77-78.
- kk) Primary.
- II) Not applicable.

DBP/USPS-37. Continued

- mm) Not confirmed. A customer may choose uninsured registered mail up to \$100 in declared value.
- nn) If a special or custom-made container were used (such as for shipping birds, etc.), the Postal Service would *consider* its cost in processing a claim. We do not refund the registration fee itself. We do automatically include postage in a claims payment. Other fees are refunded as deemed appropriate. For example, if the customer actually received his return receipt, we would not refund that fee. If he did not receive his return receipt, we would make such a refund.
- oo)-pp) No. The declared value is not the same as the actual or fair-market value used for determining claims, and declaring value does not automatically give an item actual value.
- qq) Yes.
- rr) Yes.
- ss) Unlike stock, a wholesaler would place one value on jewelry (wholesale cost), while his customer would place a higher value (retail price).
- tt) No. Market value still applies. The replacement cost is not necessarily the market value of the bond.

DBP/USPS-37. Continued

uu)Yes.

vv) The issuer of a negotiable instrument probably would be reluctant to proffer a replacement, with the original remaining in circulation and subject to being cashed. Conversely, the issuer of a nonnegotiable instrument has no apparent risk in providing a replacement at minimal cost.

ww) Please refer to my responses to part soo) and pp) above.

- xx) See ww
- yy) Regulations require that a customer must truthfully declare only the full or actual value. An item's intrinsic value would come into play only in adjudication.
- zz) See the response to DBP/USPS-37(yy).
- aaa) It is my understanding that the fact that mail is sealed against inspection does not preclude asking the mailer about the contents.

DBP/USPS-37 [I] Provide a table over a period of a recent 12-month period showing the number of articles mailed in each of the 27 rate categories, the number of claims that were filed in each of the 27 rate categories, and the average value paid out per claim in each of the 27 categories.

RESPONSE:

I) For the requested claims information, please see the attached.

9914

ATTACHMENT TO RESPONSE TO INTERROGATORY DBP/USPS-37(1)

REGISTERED CLAIMS FY 1996

.

.

.

•

.

Value Level	Total	Paid	Amount	Average Paid Per Claim	Average Paid Per Claim Paid
					(Col 3/Col 2)
	(1)	(2)	(3)	(4)	(5)
\$0.00 TO \$100.00	634	96	\$7,574	\$11.95	\$78.90
\$100.01 TO \$500.00	738	292	\$80,386	\$108.92	\$275.29
\$500.01 TO \$1000.00	695	378	\$226,311	\$325.63	\$598.71
\$1000.01 TO \$2000.00	593	355	\$345,915	\$ 583.33	\$974.41
\$2000.01 TO \$3000.00	254	155	\$279,314	\$1,099.66	\$1,802.03
\$3000.01 TO \$4000.00	119	65	\$145,967	\$1,226.61	\$2,245.64
\$4000.01 TO \$5000.00	105	69	\$ 194,075	\$1,848.33	\$2,812.68
\$5000.01 TO \$6000.00	50	28	\$105,166	\$2,103.32	\$3,755.93
\$6000.01 TO \$7000.00	35	15	\$ 61,457	\$1,755.93	\$4,097.16
\$7000.01 TO \$8000.00	38	21	\$98,283	\$2,586.38	\$4,680.12
\$8000.01 TO \$9000.00	13	8	\$52,439	\$4,033.80	\$6,554.93
\$9000.01 TO \$10000.00	47	27	\$142,089	\$3,023.16	\$5,262.54
\$10000.01 TO \$11000.00	15	6	\$35,295	\$2,353.03	\$5,882.58
\$11000.01 TO \$12000.00	15	8	\$59,167	\$3,944.46	\$7,3 95.87
\$12000.01 TO \$13000.00	11	5	\$48,957	\$4,450.62	\$9,791.36
\$13000.01 TO \$14000.00	10	4	\$50,360	\$5,035.95	\$12,589.88
\$14000.01 TO \$15000.00	13	10	\$59,542	\$4,580.13	\$ 5,954.17
\$15000.01 TO \$16000.00	5	3	\$ 15,948	\$3,189.54	\$ 5,315.90
\$16000.01 TO \$17000.00	5	2	\$32,910	\$6,581.99	\$16,454.97
\$17000.01 TO \$18000.00	2	2	\$13,808	\$ 6,904.13	\$6,904.13
\$18000.01 TO \$19000.00	8	6	\$4 4,856	\$5,607.05	\$7,476 .07
\$19000.01 TO \$20000.00	17	10	\$137,223	\$8,071.93	\$13,722.27
\$20000.01 TO \$21000.00	6	5	\$ 43,809	\$7,301.47	\$8,761.77
\$21000.01 TO \$22000.00	2	1	\$22,004	\$11,002.00	\$22,004.00
\$22000.01 TO \$23000.00	4	4	\$91,726	\$22,931.52	\$22,931.52
\$23000.01 TO \$24000.00	3	3	\$ 49,044	\$16,347.97	\$16,347.97
\$24000.01 TO \$25000.00	38	24	\$366,531	\$9,645.55	\$15,272.11
\$25000.01 AND UP	18	1	\$24,999	\$1,388.8 5	\$24,999.21
TOTAL	3,493	1,603	\$2,835,154	\$811.67	\$1,768.66

DBP/USPS-54 [a] A rate is being proposed 500 banded stamped envelopes which costs 50 cents to \$1.00 more than the rate for 500 plain stamped envelopes. What are banded stamped envelopes? [b] What value does a purchaser of banded stamped envelopes obtain for their added 50 cents to \$1.00 cost? [c] What is the added cost for the Postal Service to provide 500 banded stamped envelopes over 500 plain stamped envelopes? [d] Confirm, or explain if you are unable to do so, that plain hologram stamped envelopes will only be available in single sales. [e] Confirm, or explain if you are unable to do so, that printed hologram stamped envelopes will not be available in the 6-3/4 size. [f] Confirm, or explain if you are unable to do so, that for 500 stamped envelopes of the 6-3/4 size, the difference between the plain and printed versions is \$14.00 less \$8.50 or a difference of \$5.50 which represents the cost of printing. [g] Confirm, or explain if you are unable to do so, that for 500 stamped envelopes of greater than the 6-3/4 size, the difference between the plain and printed versions is \$15.00 less \$11.50 or a difference of \$3.50 which represents the cost of printing. [h] Provide the cost data for printing both the 6-3/4 size as well as the larger than 6-3/4 size envelopes. [i] Explain why the printing cost for the 6-3/4 size stamped envelopes is 57 percent more than the printing cost of the larger envelope. [j] Confirm, or explain if you are unable to do so, that the item in Fee Schedule 961, "Multi-Color Printing (500) " refers to price for those plain [as opposed to printed] stamped envelopes which are printed in two or more colors or which are precancelled for the regular or nonprofit Standard Mail rates. [k] Confirm, or explain if you are unable to do so, that the stamped envelopes which meet the criteria specified in subpart j may not be purchased with a printed return address. [I] Confirm, or explain if you are unable to do so, that for 500 stamped envelopes of the 6-3/4 size, the difference between the plain one-color and plain multi-color versions is \$14.00 less \$8.50 or a difference of \$5.50 which represents the cost of the added color printing of the stamp design. [m] Confirm, or explain if you are unable to do so, that for 500 stamped envelopes of greater than the 6-3/4 size, the difference between the plain one color and plain multi-color versions is \$15.00 less \$11.50 or a difference of \$3.50 which represents the cost of the added color printing of the stamp design. [n] Provide the cost data for printing the multi-color designs, both the 6-3/4 size as well as the larger than 6-3/4 size envelopes. [o] Explain why the printing cost for the 6-3/4 size stamped envelopes is 57 percent more than the printing cost of the larger envelope since the stamp design is the same for both envelopes. [p] Confirm, or explain if you are unable to do so, that the current 32 cent stamped envelope which was issued for regular use [as opposed to a commemorative, limited issue] is printed in two colors. [q] For each of the

DBP/USPS-54 Continued

regular issue, First-Class Mail rate stamped envelopes that have been issued since 1971, provide a listing of the face value of the stamp, the description of the design, and the number of colors utilized in the printing. [r] Provide a similar listing for all precancelled stamped envelopes. [s] Provide a similar listing for all other stamped envelopes, such as commemorative and special issues. [t] If the proposed rate is implemented, will all post offices stock single color stamped envelopes for sale to the public? [u] If not, explain why the public will be forced to buy the multi-color version at the higher price. [v] What is the justification for charging the higher multi-color rate for precancelled envelopes automatically even if they should be printed in one color only? [w] Confirm, or explain if you are unable to do so, that savings bond stamped envelopes will only be available in the printed version and will not be available in the plain version. [x] Confirm, or explain if you are unable to do so, that the household (50) rates relate to printed stamped envelopes. [y] Confirm, or explain if you are unable to do so, that the added cost for a hologram stamped envelope as compared to a nonhologram stamped envelope will be one cent for a single sale, one-half cent for the household fifty purchase [\$3,50 vs. \$3,25 for 50 envelopes], and eight-tenths of a cent for the 500 printed envelopes [\$19.00 vs. \$15.00]. [z] Why is the added per envelope charge for fifty envelopes less than for 500 envelopes? [aa] Will the stamped envelope design which utilizes a multi-colored picture pasted on the inside of the envelope and showing through a square/rectangular cutout in the envelope, as has been utilized on a number of previous issues, be categorized as a multi-color version or as a hologram version? [bb] Confirm, or explain if you are unable to do so, that the single sale price of seven cents will apply to all plain stamped envelope sales of less than five hundred envelopes, including sales of precancelled envelopes for philatelic purposes, regardless of the type or design [other than those that have an actual hologram as part of the design for which the price will be eight cents]. [cc] Confirm, or explain if you are unable to do so, that the selling price for a single stamped envelope will be seven or eight cents per envelope when sold in lots of 1 to 499 stamped envelopes and will be only 1.7 cents to 2.3 cents when sold in a lot of 500 What are the added costs that accrue when stamped [dd] envelopes. envelopes are sold in lots of 1 to 499 envelopes? [ee] Are there any costs other than the apparent extra window sales time? [ff] If so, enumerate and quantify the cost. [gg] Confirm, or explain if you are unable to do so, that the cost for 32

DBP/USPS-54 Continued

cent stamps is 32 cents each, whether a mailer purchases one stamp or a million stamps or any number in between. [hh] Explain the logic and justification behind selling single stamped envelopes at a price which is greater than the multiple price when the same is not justified for the sale of stamps. [ii] Is one reason, that 18 USC 1721 will permit it for stamped envelopes but not for stamps? [jj] Confirm, or explain if you are unable to do so, that a mailer desiring between 501 and 999 stamped envelopes would pay a fee of \$8.50 or \$11.50 for the first 500 envelopes and seven or eight cents for each of the envelopes above 500. [kk] Confirm, or explain if you are unable to do so, that printed stamped envelopes are available from one source only and that there is a charge by that single source over and above that which appears in the Fee Schedule. [II] What is that single source for printed stamped envelopes? [mm] What is the added charge required in ordering printed stamped envelopes? [nn] What is the justification for charging this added fee when it does not appear in the Fee Schedule and has not been approved by the Postal Rate Commission? [oo] Will an added fee be required under the proposed rates? [pp] If so, quantify and explain. [qq] Are there any other services for which the United States Postal Service is proposing in this Docket which will not be available at the rate shown in the various rate and fee schedules? [rr] If so, quantify and explain. [ss] Are refunds available for those that have paid this added fee which was not approved by the Postal Rate Commission. [tt] If not, explain why not. [uu] Confirm, or explain if you are unable to do so, that if this docket is approved the price of a single First-Class Mail stamped envelope will go from 38 cents to 40 cents. [vv] Confirm, or explain if you are unable to do so, that the rate increase for both the First-Class Mail postage and the stamped envelope will go into effect at the same time. [ww] Confirm, or explain if you are unable to do so, that it has been the practice of the Postal Service to release the new valued stamped envelope prior to the effective date of the rate increase. [xx] Confirm, or explain if you are unable to do so, that if this policy is continued that the selling price for a 33 cent stamped envelope purchased between the issue date of it and the effective date of the new rates would be 39 cents [33 cents postage plus the 6 cent stamped envelope fee in effect at that time]. [yy] Confirm, or explain if you are unable to do so, that in a similar manner, the sale of stamped cards would be 21 cents during the period of time between the issue date and the effective date of the proposed 2 cent fee. [zz] Will post offices be advised of the requirement of subparts xx and yy so that the proper rate may be charged? [aaa] If not, why not? [bbb] One of the rates being proposed is for a fee of

DBP/USPS-54 Continued

2 cents for a stamped card. Was any consideration given to having a bulk rate for them similar to the one in place and being proposed for stamped envelopes? [ccc] If so, why wasn't it implemented? [ddd] If not, why not?

RESPONSE:

- a) Banded stamped envelopes are stamped envelopes sold in packs of five with a band around them. Banded stamped envelopes can come in 6 ¼ and 10 inch sizes and are always regular (not window) plain stamped envelopes.
- b) The question is not entirely clear. Are you referring to the "cost" as exhibited in USPS LR H-107, page 55 or the proposed fees in USPS-T-39 WP-15? The cost for 500 6 ¼ inch banded stamped envelopes in USPS LR H-107 is \$10.27, while the cost for 500 6 ¼ inch aggregated stamped envelopes is \$8.97, for a difference of \$1.30. The cost for 500 10 inch banded stamped envelopes in USPS LR H-107 is \$12.26, while the cost for 500 10 inch aggregated stamped envelopes is \$11.41, for a difference of \$0.85. The proposed fee for 500 6 ¼ inch banded stamped envelopes is \$9.50, \$1.30 higher than the current fee, yet \$0.77 lower than the cost. The proposed fee for 500 10 inch banded stamped envelopes is \$12.00, \$1.00 lower than the

DBP/USPS-54 Continued

- b) Continued
 - current fee, and \$0.26 lower than the cost. For the higher fees, customers get stamped envelopes which are banded into packs, and which cost more to produce.
- c) See the response to DBP/USPS-54 (b).
- d) Not confirmed. See USPS-T-39, page 96, lines 4-13.
- e) Confirmed. Hologram stamped envelopes have only been available in the 10 inch size since they were issued.
- f) Confirmed only that the proposed fees for 6 ¼ inch stamped envelopes are
 \$5.50 higher than the plain for the printed envelopes. Not confirmed that this
 \$5.50 difference represents the printing cost.
- g) Confirmed only that the proposed fees for 10 inch stamped envelopes are
 \$3.50 higher than the plain for the printed envelopes. Not confirmed that this
 \$3.50 difference represents the printing cost.
- h) See USPS LR H-107, pages 45-50.
- See my testimony at page 95, lines 6-21, and page 96, lines 1-13, for a discussion of the development of the stamped envelope fees.

DBP/USPS-54 Continued

- j) Not confirmed. Multi-color printing refers to the envelope you describe in part aa.
- k) Not confirmed. Printing is available for all stamped envelopes.
- I) Confirmed.
- m) Confirmed.
- n) See USPS LR H-107, pages 45-50.
- o) See response to DBP/USPS-54(i).
- p) Confirmed that the Liberty Bell is green and the "USA 32" is blue. However,

these envelopes are not considered 'multi-color' for purposes of the multicolor fee. See my response to j.

- q) See attached list for all stamped envelopes available from the Stamped Envelope Agency since 1965.
- r) See the response to DBP/USPS-54(q).
- s) See the response to DBP/USPS-54(q).
- All post offices that offer stamped envelopes will offer at least one type not subject to multi-color fee.
- u) Not applicable.

DBP/USPS-54 Continued

- v) Customers are not charged the multi-color fee for precancelled envelopes.
- w) Not confirmed. Savings bond stamped envelopes have been discontinued.
- x) Confirmed that the household stamped envelope fees are for printed stamped envelopes.
- y) Confirmed only that the proposed fee of a single hologram is one-cent more than the proposed fee for a single non-hologram stamped envelope, the proposed fee for household hologram envelopes is \$0.25 than the proposed fee for non-hologram household envelopes, and the proposed fee for hologram 500 box lots is \$4.00 higher than the proposed fee for the nonhologram 500 box lots.
- z) See response to DBP/USPS-54(i).
- aa) Multi-color. The space station stamped envelope is the only hologram stamped envelope currently offered.
- bb) Confirmed with respect to non-philatelic sales of stamped envelopes.
- cc) Confirmed, although if a customer wished to purchase 999 stamped envelopes, for example, two box lots of 500 would be the wise choice, as opposed to one box of 500 and 499 single sale envelopes.

DBP/USPS-54 Continued

- dd) See USPS LR H-107, pp 47-48, for the single sale costs versus the box lot costs.
- ee) No.
- ff) Not Applicable.
- gg) Confirmed, assuming by 'cost' you mean 'rate'.
- hh) In both cases the price of postage is the same regardless of the quantity purchased. Stamped envelopes, unlike stamps have a special service fee, which does vary based on the quantity purchased.
- ii) No.
- jj) See response to DBP/USPS-54(cc).
- kk-tt) Objection filed September 29, 1997.
- uu) Confirmed only for the total price of non-hologram stamped envelopes.
- vv) To the best of my knowledge all rates and fees would be implemented at the same time.
- ww) Not confirmed. Post offices may receive one of each type of advance stamped envelope with the new postage rate prior to the implementation date, for display purposes.

DBP/USPS-54 Continued

xx) There is no such policy.

yy) Not confirmed. Post offices may receive one of each type of advance

stamped card with the new postage rate prior to the implementation date, for display purposes.

- zz) Not applicable.
- aaa) Not applicable.
- bbb) No.
- ccc) Not applicable.
- ddd) The Postal Service first needs to see if a fee for stamped cards will be

approved before deciding whether bulk fees are appropriate.
NAME	ITEM NUMBERS		LOCATION	DENOM.	INK COLOR) PMS NUMBER
· · · · · · · · · · · · · · · · · · ·			······		
EMBOSSED STAMPED	ENVELOPES MA	NUFACTU	RED AT WILLIA	MSBURG	PA
			· · · · · · · · · · · · · · · · · · ·	-	• • • • • • • • •
1 Amorican Fagle 'Head'	151 151 651 651		Nation		
I harty Ball 'Auth Non Drafit'	112 612	1/5/05	Ivvimamsourg PA	5	Purple (254)
All transidae 'ard Clase'	141 142 641 642	1/0/05	Springlield MA	1.25	Brown (464)
1 Delta Wing, let 'Airmail'	141-142-041-042	1/6/65	Springfield MA	4	Blue
Statue of Liberty 'Hood'	161 162 661 600	1/7/05	Chicago IL	8	Red
	101-102-001-002	1/4/68	New York NY		Green
Detta Wing Jet Alman	104-604	1/8/68	Chicago IL	10	Red
Liberty Bell Auto Non-Provit	123-623	3/26/68	Springlield MA	1.4	Brown
Liberty Bell Auth Non-Profit	133-633	6/16/69	Washington DC	1.6	Orange
Herman Melville (Moby Dick) Commemorative	665	3/7/70	New Bedford MA	6	Blue
White House Conference on Youth Comm	666	2/24/71	Washington DC	6	Blue
Eagle	181-182-681-682	5/6/71	Williamsburg PA	В	Blue
Three Circles 'Airmail'	114-614	5/6/71	Williamsburg PA	11	Red, Blue
Libert Bell 'Auth Non-Prafit'	173-673	5/10/71	Baltimore MD	1.7	Purple (254)
White House Conf on Youth Revalued		5/16/71	Washington DC	8	Blue
Statue of Liberty 'Head' Revalued	181-182-681 682	5/16/71	Washington DC	8	Green
Bowling Commemorative	187-687	8/21/71	Milwaukee Wi	6	Red
White House Conference on Aging Comm	j6 8 8	11/15/71	Washington DC	8	Blue (299)
First US International Transportation	(· [
Exposition - "Transpo '72" Commemorative	689	5/2/72	Washington DC	8	Red
Symbolic Bird in Flight 'Airmail'	134-634	12/1/73	Memphis TN	13	Red -
Liberty Bell '1st Class'	101-102-601-602	12/5/73	Philadelphia PA	10	Green (354)
Volunteer Yourself 'Auth Non-Profit'	183-683	8/23/74	Cincinnati OH	1.8	Blue (326)
Tennis-100 Years-1874-1974 Commemorative	151-152-651-652	8/31/74	Forest Hills NY	10	Blue Yellow
The Bicentennial Era:					
The Seafaring Tradition Commemorative	161-661	10/13/75	Minneanolis MN	10	Blue (300)
Liberty Tree	131-132-631-632	11/8/75	Mamphie TN	13	Brown (471)
The Bicentennial Fra:		1110/75	imempina rix	· · · · · · · · · · · · · · · · · · ·	
The American Homemaker Commemorative	171-671	3712176	Ditoui MAC	12	
The Bicentennial Fra:		212170		ري الم	Green (509)
The American Fermer Commemorative	101 601			12	
The Ricentennial Frag		3/10//0		(J 	Green (330)
The American Doctor Comparative	101 601	1	D flee TV	!	
The Ricentensist Free	121-021	0/30/76	Dallas IX	i 13	Urange (151)
The American Crafteners Commencer in the	111.011	0.0.0			
She 'Auth Non Profit'	11010	8/6//6	Hancock MA	13	Red (186)
The Contours Commerce	123-643	9/10/76	Hempstead NY	2	Hed (Warm)
zi me Centembal Cummenorative	141 641	10/15/76	Los Angeles CA	13	Green (355)

TO DBP/USPS - SHA PAGE 1

NAMENUMBERS_ATELOCATIONDENOM.PMS NUM31 Golf Commernorative161-162-661-6624/7/77Augusta GA13Blue, Black, Green32 Octagon 'Auth Non-Profit'153-6536/3/77Houston TX2.1Green (369)33 Energy Conservation (Special Issue) Comm164-165-664-66510/20/77Ridley Park PA13Yellow, Black, Red(1)34 Energy Development (Special Issue) Comm174-175-674-67510/20/77Ridley Park PA13Yellow, Black, Red(1)	BEN. 84) 84)
31 Golf Commemorative 161-162-661-662 4/7/77 Augusta GA 13 Blue, Black, Green 32 Octagon 'Auth Non-Profit' 153-653 6/3/77 Houston TX 2.1 Green (369) 33 Energy Conservation (Special Issue) Comm 164-165-664-665 10/20/77 Ridley Park PA 13 Yellow,Black,Red(1) 34 Energy Development (Special Issue) Comm 174-175-674-675 10/20/77 Ridley Park PA 13 Yellow,Black,Red(1)	84) 84)
32 Octagon 'Auth Non-Profit' 153-653 6/3/77 Houston TX 2.1 Green (369) 33 Energy Conservation (Special Issue) Comm 164-165-664-665 10/20/77 Ridley Park PA 13 Yellow,Black,Red(1 34 Energy Development (Special Issue) Comm 174-175-674-675 10/20/77 Ridley Park PA 13 Yellow,Black,Red(1	84)
33 Energy Conservation (Special Issue) Comm 164-165-664-665 10/20/77 Ridley Park PA 13 Yellow, Black, Red(1 34 Energy Development (Special Issue) Comm 174-175-674-675 10/20/77 Ridley Park PA 13 Yellow, Black, Red(1	84)
34 Energy Development (Special Issue) Comm 174-175-674-675 10/20/77 Ridley Park PA 13 Yellow, Black, Red(1	84)
35 Eagle 'A' 1A1-1A2-6A1-6A2 5/2278 Memphis TN A(15) Orange (151)	
36 Uncle Sam 141-142-641-642 6/3/78 Williamsburg PA 15 Red (185)	
37 'Auth Non-Profit' Rectangle 173-673 7/5/78 Raleigh NC 2.7 Green (348)	
38 16 Cent USA Revalued 101-102 601-602 7/28/78 Williamsburg PA 15 Blue	
39 Auto Racing Commemorative 194-694 9/2/78 Ontario CA 15 Black, Red (185), Blue	e(300)
401 iberty Tree 13 Cent Revalued 181-182-681-682 11/28/78 Williamsburg PA 15 Brown	
41 'Auth Non-Profit' Rectangle w/rounded corners 106-107-606-607 5/18/79 Denver CO 3.1 Blue (300)	
42 Veterinary Medicine Commemorative 154-155-654-655 7/24/79 Seattle WA 15 Gray(404), Black, Br	own(154)
43 Olympic - Soccer Commemorative 164-664 12/10/79 East Rutherford NJ 15 Red, Black, Green (34	11
44 Bicycle Commemorative 174-674 5/16/80 Baltimore MD 15 Maroon (20) Blue	301)
45 Violin ' Auth Non-Profit' 156-157-656-657 ' 6/23/80 Williamsburg PA 3.5 Purple (254)	-
46 America's Cup Commemorative 104-604 9/15/80 Newport RI 15 Red (199) Blue (30	1)
47 Honeybee Commemorative 114-614 10/10/80 Paris IL 15 Yellow(109)Gr(364)Brn (471)
48 Fagle 'B' 161-162-661-662 3/15/81 Memphis TN B(18) Purple (258)	
49 New Star 171-172-671-672 4/2/81 Star City IN 18 Blue (301)	
50 Blinded Vateran Commemorative 124-624 8/13/81 Arlington VA 18 Red (200), Blue (3)1)
51 Eagle 'C' 131-132-631-632 10/11/81 Memphis TN C(20) Brown (471)	
57 (Capitol Dome 101-102-601-602 11/13/81 Los Angeles CA 20 Purple (215)	
53 'Auth Non-Profit' 1166-167-666-667 2/17/82 Wheeling WV 5.9 Brown (470)	
54 Great Seal Comemorative 134-634 6/15/82 Washington DC 20 Blue(293)Red(200)	Black
55 Purple Heart Commemorative 154-654 8/6/82 Washington DC 20 Purple (266) Black	
56 Official Mail 151-162 1/12/83 Washington DC 20 Blue (293)	
57 Auth Non-Profit' 176-177-676-677 3/21/83 Memphis TN 5.2 Orange (151)	
58 Peralized Veterans Commemorative 104-604 B/3/83 Portland OR 20 Red(185)Blue(287)	Black
59 Small Business Comm (not embossed) 174-674 5/7/84 Washington DC 20 Blue(286)Purple(26	5)Red(186)
60 Eagle 'D' 141-142-641-642 2/1/85 Los Angeles CA D(22) Green (334)	
61 Bison SD 22 Brown (504)	
62 Official Mail 111-122 2/26/85 Washington DC 22 Blue (293)	
62 Old transides 'Auth Non-Profit' 166-167-666-667 5/3/85 Boston MA 6 Aqua (320)	
64 Deagancelled Bison	
15. 10/31/86 (No Ceremony) 22 Brown (504)	
65 Mayflower 'Auth Non-Profit' 146-147-646-647 12/4/86 Plymouth MA 8.5 Process Black	
66 Treasury Rond (Official Mail Stamp)	
(Sub 20 Howatermarked - Not embassed) 115(Ph)116(Prid) 3/21/87 Washington DC 22 Blue (293)	
EUIS' Swings Bond (not embossed) 2117 2118 3/22/88 Washington DC E(25) Blue, Black	—
CP Thirteen Star HH (2161-2162-2661-2662)	~
There and 500 2151-2152-2651-2652 3/26/88 Star MS 25 Blue, Red	

ATTACIMENT TO RESTONSE TO DEP/USPS - 549, PAGE 2

	ITEM				INK COLC
NAME	NUMBERS	DATE	LOCATION	DENOM.	PMS NUML
69 Penalty Mail (Official Mail)	2110-2112	4/11/88	Washington DC	25	Blue, Black
70 Savings Bond (not embossed)plain top flap	2108(PIn)-2109(Prid)	4/11/88	Washington DC	25	Blue, Black
71 Constellation 'Auth Non-Profit'	2166-2167-2666-2667	4/12/88	Baltimore MD	8.4	Dark Gray (B25), Blue
72 Thirteen Star Double Window - Plain	2153	8/16/88	Star ID	25	Blue, Red
73 Holiday Snowflake	2171-HH2173	9/8/88	Snowflake AZ	25	Red (185), Green
74 Savings Bond(not embossed)prtd top flap	2108(Pln)-2109(Prtd)	11/28/88	Washington DC	25	Blue, Black
75 Inaugural Envelope(13Star)Set of 6	2651	1/20/89	(See Next Line)	25	Blue, Red
Postmarked with 1st Day Cities: Greenwin	ch CT - Huntington IN - Indiana	apolis IN - K	ennebunkport ME - Mi	Iton MA - Ho	ouston TX
76 13 Star Philatelic Commemorative #9	2121-HH2120	3/10/89	Cleveland OH	25	Blue, Red
77 DOD 13 Star Envelope	2164(Pln)-2165(Prtd)	6/14/89	(No Ceremony)	25	Blue (288) Red(186)
78 13 Star Security #9	2154 HH2155 Reg	7/10/89	Washington DC	25	Blue, Red
79 Love #9	2168 HH2169	9/22/89	McLean VA	25	Blue, Red
80 VA State Lottery 13-Star 2nd Chance Drawi	ng (Used 2151)	S-10/13/89	(No Ceremony)	25	Blue, Red
Ione-time manufacturing of 3,000,000	envelopes produced off-line)			1	1
81 AZ Security #9 (special window)	2158	11/28/89	(Avail thru PFSC)	25	Blue (288)
82 Space Station Hologram #9	2156 HH2157	12/3/89	Washington DC	25	Blue (293)
83/13 Star Security #9	2159 Win	12/29/89	Washington DC	25	Blue, Red
84:Passport	2144	3/17/90	Washington DC	45	Blue (293) Black
85 Passport	2145	3/17/90	Washington DC	65	Blue (293) Black
86 Passport Peal & Seal	2148	7/4/90	Washington DC	45	Blue (293) Black
87 Passport Peal & Seal	2149	7/4/90	Washington DC	65	Blue (293) Black
88 Football Hologram (Lombardi Trophy)	2174 HH2172	9/9/90	Green Bay Wi	25	Hologram Patch
89 Single Star/USA HH	2141-2142-2641-2642				
Single Star/USE - 500	12131-2132-2621-2622	1/22/91	Washington DC	29	Blue (293) Red (185)
90 'F' Savings Bond (not embossed)	2106 (Pin)2107(Prtd)	1/22/91	Washington DC	F(29)	Blue (293) Black (999)
91 Penalty Mail (Official Mail)	2111-2117	4/6/91	Oklahoma City OK	29	Blue (293) Black (999)
92-DOD Single Star (Regular)	2136(PIn)2137(Prtd)	4/6/91	(No Ceremony)	29	Blue (293) Red (185)
93 Savings Bond (not embossed)	2118(Ph) 2119(Prtd)	4/17/91	Washington DC	29	Blue (293) Black (999)
94 Birds On A Wire 'Auth Non-Profit'	2146-2147-2646-2647	5/3/91	Boxborough MA	11.1	Blue(300) Red (186)
95 Love - HH	2179-2699				CarmineRose(213)Purple(259)
Love - 500	2178-2668	5/9/91	Honolulu HI	29	Env - Aqualope Blue
96 Single Star Security #9 · HH	2184-2185				
Single Star Security #9 - 500	2181-2182	7/20/91	Washington DC	29	Blue(288)Red (186)
97, Arizona Security (Special window envelope)	2183	8/16/91	(Avail. thru PFSC)	29	'Blue (288) Red (186)
98 DOD Single Star (Window)	2138 (Pin)2139(Prtd)	9/30/91	No Ceremony	29	Blue (293) Red (185)
99 Magazine Industry	2175 - HH2186	10/6/91	Naples FL	29	BlackYellowBlueRedGreen
100 Country Geese (#6-3/4)	2674 - HH2675	11/8/91	Vriginia Beach VA	29	Blue(549)Yellow(122)
101 Country Geese (#10)	2192 - HH2193	1/21/92	Vriginia Beach VA	2.9	Blue(549)Yellow(122)
102 Space Station Hologram	2176 HH2177	1/21/92	Virginia Beach VA	29	Green (369-denom)
103 Western Americana	2123 - HH2124	4/10/92	Dodge City KS	29	Lettering(reddish Br)Patch
104 Protect the Environment(Hillebrandia flower-	HI) 2189 HH2188	4/22/92	Chicago IL	29	YellowMagentaCyanGrBlack

.

- U

9926 ATTACHMENT TO DUP/USB-549, PAGE 3

-

	T	ITEM	•			INK COLO
	NAME	NUMBERS	JÄTE	LOCATION	DENOM.	PMS NUMB.
105	Buik Rate Star	2143	5/17/92	Las Vegas NV	19.8	Red(186)Blue(288)
106	Passport (Official Mail - Grip Seal)	2144	7/10/92	Washington DC	52	Red(032)Blue (072)
107	Passport (Official Mail - Grip Seal)	2145	7/10/92	Washington DC	75	Red(032)Blue(072)
108	Americans with Disabilities - HH	2194-2679		_		
•	Americans with Disabilities - 500	2191-2678	7/22/92	Washington DC	29	Blue Red
109	Kitten	2195 - HH2196	10/1/93	King of Prussia PA	29	Purple(267)Blue(297)Cyan Black
110) Football (embossed)	2168 - HH2169	9/17/94	Canton OH	29	Brown, Black)
111	I 'G' Old Glory	2121-2122-2623-2624	12/13/94	Washington DC	G(32)	Blue, Red
112	Liberty Bell - HH	2101-2102-2625-2629				Processed Blue-
	Liberty Bell - 500	2154-2155-2637-2638	1/3/95	Williamsburg PA	32	Green (SB5-78993)
113	DOD Liberty Bell	2161 (Pln) 2162 (Prtd)	2/16/95	(No Ceremony)	32	Processed Blue-Green
114	Graphic Eagle Bulk Rate (Nondenominated)	2153	3/10/95	State College PA	Value 10	Blue(293)Red(193)
115	Sheep 'Auth Non-Profil' (Nondenominated)	2151-2152-2627-2628	3/10/95	State College PA	Value 5	Brown(492)Green(562)
116	3 Penalty Mail (Official Mail)	12171-2172	5/9/95	Washington DC	32	Blue (293) Black (999)
117	7 Spiral Heart Love - HH	2125-2626				
	Spiral Heart Love - 500	2159-2639	5/12/95	Lakeville PA	32	Red (485)
118	Liberty Bell Security #9 - HH	2108-2109				Processed Blue-
	Liberty Bell Security #9 - 500	2156-2157	5/16/95	Washington DC	32	Green (S85-78993)
119	Space Station Hologram	2197 - HH2103	9/22/95	Milwaukee WI	32	HologramPatch, Red(
1 120) Save Our Environment	2198 - HH2106	4/20/96	Chicago IL	32	Patch,Blue(321)Yellow(109.5)
121	1996 Paralympic Games	2115 - HH2105	5/9/96	Atlanta GA	32	Bik,Red(032)Blue(286)Gold(131)
_	1 Training of the second se		ŧ t			
	· · · · · · · · · ·		ŀ			
	······				1	
,		· · · · · · · · · · · · · · · · · · ·			1	<u>+</u> 1
·			,			
j						
\vdash		· · · · · · · · · · · · · · · · · · ·				
			•	· · · · · · · · · · · · · · · · · · ·		
				Y		
-		····	• • • • • • • • • • • • • • • • • • • •	· · · · · · · · · · · · · · · · · · ·		
	· · · · · · · · · · · · · · · · · · ·		· •		-	
-						
,					· · · · · · ·	
·- · -						
-					,	
	:			· • • • • • • • • • • • • • • • • • • •		· · · · · · · · · · · · · · · · · · ·
• ••	· · · · · · · · · · · · · · · · · · ·			· · ·		
			1	1	•	· · ·
1	· · · · · · · · · · · · · · · · · ·					
r :	· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · · · · · · · · ·	
r 						

ATTA CH MENT TO RESTING TO DEP/USPS-S48, PRE 4

-

		ITEM I NUMBERS	LOCATION	DENOM.	PMS NUMBE	Į
						_
•••·				<u>+</u> +	<u></u>	{
-				·	مروقة المعاركة المعاركة المعاركة	-
. <u>.</u>		· ····································			· · · · · · · · · · · · · · · · · · ·	•
-						-
					مستقد مانية من من م	- [
-	ADDITIONAL INFORMATION ON ENVELOPES U	SED FOR PROMOTIONAL PORPUSE		ro. +		
- · -	(1) OCT 85: 22-CENT BISON USED TO ADVER	TISE AVAILABILITY OF THE BISON E	NVELOPE			
•						
_	(2) 1984: 20-CENT CAPITOL DOME USED FOR	PROMOTIONAL MAILING OF USPS	DLYMPIC GAMES PRO			-
	131 1988 THE 3/25/88 BATE CHANGE POSTAL	BULLETIN INDICATED 50-QUANTIT	Y ORDERS WERE AVA	ILABLE - FIRST	ORDERS	- [
<u> </u>	WERE MANUALLY PROCESSED USING 13- S	STAR ENVELOPE AND SHIPPED 4/2	0/88 (COMPUTER PRO	CESSING STAR	TED 10/89	
			NEWIC THE ADDA CER			-
	(4) 12/17/88: CHANGED TO 4-DIGIT ITEM NUM	BERS WITH STAMPED ENVELOPES	USING THE ZOOD SER	<u>гэ</u> 'г-		
_	(5) 1990: PRINTED STAMPED ENVELOPE CARD	TYPE ORDER FORM INCLUDED IN	ANDED ENVELOPE PA	ACKETS OF ITEN	AS	
-	2159 13-STAR AND 2140 SPACE STATIO	N HOLOGRAM				
_						-
	(6) NOV 91: SAMPLE 29-CENT LOVE ENVELOP	S PRINTED WITH WORD SAMPLE A	ONLY (ITEMS 2187 &	2677) FOR CO	LIECTORS	- [
-						-
	(7) 5/1/92 (15T DAY @ KANSAS CITY MO): 18	ENVELOPES PRINTED ON RECYCLE	D PAPER WERE MADE	AVAILABLE TO		
	COLLECTORS AS A SET - 29-CENT OFFICI	AL MAIL (ITEMS 2111-2117) - 29-0	ENT SAVINGS BOND	(IIEMS 2118) - 7-2646-2647) -	29-CENT SPACE	-
- · · -	STATION HOLOGRAM (ITEM 2176) - 29-CF	TLOVE (ITEMS 2178-2668) - 29-0	ENT SECURITY #9 IT	EMS 2181-2182	() ·	
	29-CENT COUNTRY GEESE (ITEMS 2192-20	674)	· · · · · · · · · · · · · · · · · · ·			
_	(8) 25-CENT SPACE STAION HOLOGRAM #9 OV	ERPRINTED WITH 29-CENT SPACE	STATION HOLOGRAM			•
-	MADE AVAILABLE TO POST OFFICES FOR			-	وحبر يعروننا الرابعين البيد ويعار ويعار ويعار	·· -
	(9) 12/16/94: 29 CENT SINGLE STAR USED TO	SEND 32-CENT REORDER FORMS T	O CURRENT CUSTOME	RS		-
						-
_	(10) MAR 95: 19.8-CENT SINGLE STAR BULK R	ATE ENVELOPES MAILED TO CURRI	ENT CUSTOMERS ANN	CE CENTER AN		
	ADDITION OF SHIPPING AND HANDLING C	HARGES				
-		,				- -
						-
	i	l!	1		·] ,

ļ

DBP/USPS-62 Provide a listing for each of the following services indicate (sic), 1. the rate being proposed; 2. the cost for providing the service for the proposed rate, 3. the cost coverage percentage for the proposed rate, 4. the present rate, 5. the cost of providing the service for the present rate, and 6. the cost coverage percentage related to the existing rate: [a] Fee Group C - PO Box size 1, [b] size 2, [c] size 3, [d] size 4, [e] size 5, [f] Fee Group C - Caller Service, [g] Certified Mail [also provide data for pre-MC96-3 rate], [h] Return Receipt, [i] Return Receipt for Merchandise, [j] Return Receipt issued after mailing, [k] individual Certificate of Mailing, [l] Special Handling, [m] Single Stamped Envelope, [n] Single Hologram Stamped Envelope, [o] Plain box of 500 stamped 6-3/4 size envelopes, [p] size 10 envelope, [q] processing and handling a stamped card, [r] processing and handling a post card, and [s] fee for the stamped card itself.

RESPONSE:

In all but parts g, l, and s, l am providing information related to implicit cost

coverages, rather than a cost coverage, which applies to an entire special

service or subclass of mail.

- a) 1) See USPS-T-39, page 59.
 - 2) See response to DFC/USPS-T39-1.
 - 3) See response to DBP/USPS-62(a)(2).
 - 4) See response to DBP/USPS-62(a)(1).
 - 5) See response to DBP/USPS-62(a)(2).
 - 6) See response to DBP/USPS-62(a)(2).
- b) 1) See response to DBP/USPS-62(a)(1).

- b) Continued
 - 2) See response to DBP/USPS-62(a)(2).
 - 3) See response to DBP/USPS-62(a)(2).
 - 4) See response to DBP/USPS-62(a)(1).
 - 5) See response to DBP/USPS-62(a)(2).
 - 6) See response to DBP/USPS-62(a)(2).
- c) 1) See response to DBP/USPS-62(a)(1).
 - 2) See response to DBP/USPS-62(a)(2).
 - 3) See response to DBP/USPS-62(a)(2).
 - 4) See response to DBP/USPS-62(a)(1).
 - 5) See response to DBP/USPS-62(a)(2).
 - 6) See response to DBP/USPS-62(a)(2).
- d) 1) See response to DBP/USPS-62(a)(1).
 - 2) See response to DBP/USPS-62(a)(2).
 - 3) See response to DBP/USPS-62(a)(2).
 - 4) See response to DBP/USPS-62(a)(1).
 - 5) See response to DBP/USPS-62(a)(2).
 - 6) See response to DBP/USPS-62(a)(2).

- e) 1) See response to DBP/USPS-62(a)(1).
 - 2) See response to DBP/USPS-62(a)(2).
 - 3) See response to DBP/USPS-62(a)(2).
 - 4) See response to DBP/USPS-62(a)(1).
 - 5) See response to DBP/USPS-62(a)(2).
 - 6) See response to DBP/USPS-62(a)(2).
- f) 1) See USPS-T-39, page 59.
 - 2) See LR H-107, page 11.
 - 3) 181 percent
 - 4) See response to DBP/USPS-62(f)(1).
 - Assuming the same cost from USPS LR H-107, the current cost would be \$304.50 per year.
 - Assuming the same cost from USPS LR H-107, the current cost coverage would be 148 percent.
- g) For the pre-MC96-3 fee, see Docket No. MC96-3, USPS-T-8, p. 58.
 - 1) See USPS-T-39, page 26, Table 5.

- g) Continued
 - 2) See USPS-T-39 WP-17 (revised August 22, 1997), page 1, column 3.
 - 3) See USPS-T-39 WP-17 (revised August 22, 1997), page 1, column 5.
 - 4) See response to DBP/USPS-62(g)(1).
 - 5) For the Test Year Before Rates the cost is 338,734,000
 - 6) For the Test Year Before Rates the cost coverage is 121 percent.
- h-k) Answered by witness Plunkett.
- I 1) See USPS-T-39, page 81, Table 14.
 - 2) See USPS-T-39, WP-17, page 4, column 3.
 - 3) See USPS-T-39, WP-17, page 4, column 5.
 - 4) See response to DBP/USPS-62(I)(1).
 - 5) For the Test Year Before Rates the cost is 1,272,000.
 - 6) For the Test Year Before Rates the cost coverage is 34.7 percent.
- m) 1) See USPS-T-39, page 92, Table 16.
 - See USPS LR H-107, page 55.
 - See response to DFC/USPS-T39-19.
 - 4) See response to DBP/USPS-62(m)(1).

DBP/USPS-62 Continued

m) Continued

ł

5) Assuming the same cost in USPS LR H-107, see response to DBP/USPS-

62(m)(2).

6) Assuming the same cost in USPS LR H-107, see response to DBP/USPS-

62(m)(3).

- n) 1) See response to DBP/USPS-62(m)(1).
 - 2) See response to DBP/USPS-62(m)(2).
 - 3) See response to DBP/USPS-62(m)(3).
 - 4) See response to DBP/USPS-62(m)(1).
 - 5) Assuming the same cost in USPS LR H-107, see response to DBP/USPS-

62(m)(2).

6) Assuming the same cost in USPS LR H-107, see response to DBP/USPS-

62(m)(3).

- o) 1) See response to DBP/USPS-62(m)(1).
 - 2) See response to DBP/USPS-62(m)(2).
 - 3) 95 percent

;

- o) Continued
 - 4) See response to DBP/USPS-62(m)(1).
 - Assuming the same cost as presented in USPS LR H-107, see USPS LR H-107, page 55.
 - 6) Assuming the same cost as presented in USPS LR H-107, 91 percent.
- p) The answers to these subparts were answered going under the assumption that you were referring to a plain box of 500 regular stamped 10 inch size envelopes:
 - 1) See response to DBP/USPS-62(m)(1).
 - 2) See response to DBP/USPS-62(m)(2).
 - 3) 101 percent
 - 4) See response to DBP/USPS-62(m)(1).
 - 5) See response to DPB/USPS-62(o)(5).
 - 6) Assuming the same cost as presented in USPS LR H-107, 105 percent.
- q) 1) See USPS-T-32.
 - 2) See Exhibits USPS-30A&B.
 - 3) See response to DBP/USPS-62(q)(2).

DBP/USPS-62 Continued

q) Continued

ŧ

- 4) See response to DBP/USPS-62(q)(1).
- 5) See response to DBP/USPS-62(q)(2).
- 6) See response to DBP/USPS-62(q)(2).
- r) 1) See response to DBP/USPS-62(q)(1).
 - 2) See response to DBP/USPS-62(q)(2).
 - 3) See response to DBP/USPS-62(q)(2).
 - 4) See response to DBP/USPS-62(q)(1).
 - 5) See response to DBP/USPS-62(q)(2).
 - 6) See response to DBP/USPS-62(q)(2).
- s) 1) See USPS-T-39, page 87, Table 15.
 - 2) See USPS-T-39, WP-17, page 4, column 3.
 - 3) See USPS-T-39, WP-17, page 4, column 5.
 - 4) See response to DBP/USPS-62(s)(1).
 - 5) Assuming the same cost as presented in USPS LR H-107, see response to DBP/USPS-62(s)(2).
 - 6) Not applicable, since there is presently no fee revenue.

DBP/USPS-80 Clarify your response to DBP/USPS-38 subpart e. (a) Is there any appropriate security provided for insured mail which can have an insurance value of \$5,000? (b) If so, explain the nature of it.

RESPONSE:

a&b) Given the context of DBP/USPS-38, I assume you are referring to

registered mail with a value of \$5,000. The security can vary by office, and

might be greater for a registered item with a \$5,000 value compared to one of a

lesser value. See Tr. 3/708-713.

DBP/USPS-84 Your response to DBP/USPS-60 subpart e requires clarification. Provide examples of the security measures that may be utilized and also any reference to regulations or Headquarters memoranda [provide copies] on the topic.

RESPONSE:

· Please see the attached institutional response to an interrogatory from Docket

No. MC96-3.

ATTACHMENT TO RESPONSE TO DBP/U

84, p.1

PULLIUNIL UNPUBLIC

RECEIVED 9938

4 46 PH '96

BEFORE THE POSTAL RATE COMMISSION WASHINGTON, D.C. 20268-0001

POSTAL RATE DOP HISTORY OFFICE OF THE SEDRETARY

SPECIAL SERVICES REFORM, 1996

Docket No. MC96-3

Nov 4

RESPONSE OF UNITED STATES POSTAL SERVICE TO PRESIDING OFFICER'S RULING MC96-3/22 AND INSTITUTIONAL RESPONSE TO INTERROGATORY DBP/USPS-T3-19 SUBPARTS (e) THROUGH (i) AND (q) THROUGH (w) (November 4, 1996)

Presiding Officer's Ruling MC96–3/22, issued on October 25, 1996, denied three motions and partially granted the fourth. This responds to the partial grant of the motion to compel responses to interrogatories DBP/USPS-T3-19 parts (e) through (i) and (g) through (w). Specifically, the Postal Service was ordered to respond "to the extent described in the body of this ruling." Ruling at 9.

The body of the Ruling more specifically states, at pages 6–7:

Accordingly, the Postal Service is directed to provide an institutional response to Mr. Popkin's request for copies of any general guidelines that govern the decisions of local postmasters to set hours for access to box sections, or to provide box holders with keys to postal lobbies. To minimize the burden on the Postal Service, it is directed to examine administrative manuals that have nationwide applicability to postmasters for such guidelines. It is also directed to ask the postal manager most directly responsible for national box rental policy and programs to identify any such guidelines of which he or she is aware. Finally it is directed to ask the Postal Inspection Service official most directly responsible for security policy and programs for postal lobbies nationwide to identify any such guidelines of which he or she is aware.

Counsel for the Postal Service discussed this matter with the identified managers and other appropriate personnel, and also conducted additional research. Only two regulations responsive to the ruling have been identified, and they are quoted in their respective entireties below.

-2-

Both regulations appear in the Postal Operations Manual (POM).¹ The most

recent issue is dated August 1, 1996, although the distribution pipeline apparently is

not well filled so copies are not yet widely available.²

POM section 124.2, Admission to Postal Property, has subsection 124.22,

Identification, which provides in pertinent part:

Except as otherwise ordered, properties must be closed to the public after normal business hours end.

POM section 126.4, Retail Hours, contains subsection 126.44, Lobby Hours,

which provides in pertinent part:

As a minimum, customers must have access to their post office boxes during all retail service counter hours. Normally, separate post office box lobbies should remain open when someone is on duty in the postal unit. At the postmaster's discretion, when no on is on duty, lobbies may remain open to allow customers access to post office boxes and selfservice equipment, provided that customer safety, security provisions, and police protection are deemed adequate by the Inspection Service.

These sections are consistent with the Postal Service's previous statements to

the effect that hours of operation of postal lobbies are inherently a local matter.

² Copies have been ordered, but not yet received. This response is based upon a review of the single copy now available in the Postal Service library.

¹ The re-issued POM was the culmination of several years of effort begun by the rewriting of the Domestic Mail Manual (DMM) effective with Issue 46. Some regulations were moved into the Domestic Mail Manual Transition Book, with the expectation that they would emerge in the new POM (the next most recent version of which dates from 1984). The new POM thus completes the initiatives begun when the DMM was reorganized. It is available from Materiel Distribution Centers.

- 3 -

Respectfully submitted,

UNITED STATES POSTAL SERVICE

By its attorneys:

Daniel J. Foucheaux, Jr. Chief Counsel, Ratemaking

Kenneth N. Hollies

CERTIFICATE OF SERVICE

I hereby certify that I have this day served the foregoing document upon all participants of record in this proceeding in accordance with section 12 of the Rules of Practice.

Kenneth N. Hollies

475 L'Enfant Plaza West, S.W. Washington, D.C. 20260-1137 (202) 268-3083; Fax -5402 November 4, 1996

DBP/USPS-101: Refer to your response to subpart I of DBP/USPS-37. [a] It appears that only 46% of those claims [3493 divided by 1603] that were filed have been paid by the Postal Service. [a] What were the reasons that the remaining 54% of the claims were not paid? [b] Provide a revised table showing the addition of the following column, "Total Amount Claimed". [c] With respect to a dollar amount of claims requested, what percentage were paid?

RESPONSE:

a. Reasons for rejection of Registered Mail claims include:

Addressee acknowledges receipt Airline charges - some charges payable Article delivered as addressed Article delivered on return Article received/no exception Claim 1000 returned to customer Claim canceled per information submitted Claim filed after 1 year Claim previously paid Damage claim filed late Delivered on return to sender Delivered to authorized agent: business Formal letter created Inquiry only/original claim sent to Post Office Lost personal check/stop pay charges Lost securities/reissue charges Money order issued: variables No cooperation of the addressee No cooperation of the mailer No damage - customer retrieved article No damage without carton damage Official 30 day letter - no cooperation Official mailing - Not insured Properly delivered Properly delivered/variable Registered uninsured Replace postal money order Rifled/damaged article not inspected Wrapper and carton not examined

b-c. The Postal Service does not retain data on the amount claimed once the

claim has been resolved.

÷

RESPONSE OF POSTAL SERVICE WITNESS NEEDHAM TO INTERROGATORIES OF THE OFFICE OF THE CONSUMER ADVOCATE (REDIRECTED FROM WITNESS LION)

OCA/USPS-T24-88. Please refer to Docket No. MC96-3, rebuttal testimony of witness Taufique (USPS-RT-2), at page 14.

- a. Witness Taufique states, "The Postal Service acknowledges that a 'one price fits all' approach may not be the most efficient method of pricing post office boxes." Please confirm that this statement continues to reflect the views of the Postal Service. If you do not confirm, please explain.
- b. In Docket No. R97-1, please explain how the Postal Service has reduced its reliance on a "one price fits all" approach in developing fees for post office boxes.
- c. In Docket No. R97-1, please explain how the post office box fee proposal has taken differences in costs and demand into account.

1

RESPONSE:

Please see my response to OCA/USPS-T39-19.

RESPONSE OF POSTAL SERVICE WITNESS NEEDHAM TO INTERROGATORIES OF THE OFFICE OF THE CONSUMER ADVOCATE (REDIRECTED FROM WITNESS LION)

OCA/USPS-T24-89. Please refer to Docket No. MC96-3, rebuttal testimony of witness Taufique (USPS-RT-2), at page 14. Witness Taufique states, A comprehensive consideration of the demand, supply, and cost difference of post office boxes could evolve into local adjustments to prices at each facility depending upon market factors.

- a. If "local adjustments to prices at each facility" would present administrative burdens to the Postal Service, what options short of local adjustments would reduce Postal Service reliance on a "one price fits all" approach to pricing post office boxes.
- b. For any options identified in response to part a. above, please explain whether and how those options were addressed in the Postal Service's post office box fee proposal in Docket No. R97-1.

RESPONSE:

Please see my response to OCA/USPS-T39-20.

RESPONSE OF POSTAL SERVICE WITNESS NEEDHAM TO INTERROGATORY OF THE OFFICE OF THE CONSUMER ADVOCATE (REDIRECTED FROM WITNESS LION)

OCA/USPS-T24-92. Please refer to the supplement to LR-H-188, Workbook "Cost98.xls," Sheet "Unit Costs."

- b. Please confirm that the post office box fee for all box sizes in Fee Group E is
 \$0. If you do not confirm, please explain.
- c. Assuming the same cost coverage for post office boxes in the TYER, please confirm that post office box fees in Fee Groups A, B, C and D are higher than they otherwise would be in order to cover the attributable allocated costs of Fee Group E. If you do not confirm, please explain.
- d. Please confirm that boxholders paying Fee Group E fees, i.e., \$0, are generating costs which are paid for by boxholders paying Fee Group A, B, C and D fees. If you do not confirm, please explain.
- f. Would it be more consistent with the policy that mailers pay the delivery costs of carrier delivery (rather than recipients) if Fee Group E costs were paid for by all mailers and not other boxholders alone? Please explain fully.

RESPONSE:

- b. Confirmed.
- c-d) Not confirmed. The fact that a fraction of the boxes are free is taken into

account when the appropriate cost coverage proposal is determined. I

consider the proposed cost coverage to be low. The cost coverage without

the Group E costs included would still be low:

(683,362,079/(595,853,540-33,269,251)) = 121.5 percent

f. The Postal Service believes it is indirectly making mailers, rather than

recipients, pay Group E box costs by holding down the cost coverage for post

office box and caller service below what it would be absent these costs. See

my response to OCA/USPS-T24-92 (c-d).

 Please reconcile the FY 1996 volume for Certified Mail (269,730,120 transactions) listed in USPS LR-H-145, "FY 1996 Billing Determinants," Section K, Table 1, with the FY 1996 volume for Certified Mail (270,832,000 transactions) listed in FY 1996 RPW (revised 4/18/97).

RESPONSE:

The FY 1996 billing determinant volume for certified mail includes incoming

certified pieces (260,108,209), incoming certified agency pieces (7,706,567),

incoming certified congressional franked pieces (0), and certified USPS pieces

(1,915,344), equaling 269,730,120. The FY 1996 RPW Report does not include

the USPS pieces, but does include return receipt for merchandise volume

(3,017,237).

 Please identify the source of the FY 1996 COD transactions shown in column 1, WP-5, USPS LR-H-206, "Diskettes of Witness Needham's (USPS-T-39) Testimony and Workpapers."

RESPONSE:

1

The "FY 1996 C.O.D. transactions" in WP-5 are from the FY 1993 C.O.D. billing

determinants. Please see the attached revised workpaper which uses the FY

1996 billing determinants.

1

% * 1'L	0	0	00'E \$	08. 2 \$	0.0	0.0	0.0	ЛЕКҮ	NON-DELIY NOTICE OF
%6Z. # 1	61	21	00.42	09.6\$	S	ç	9	ED C.O.D,	REGISTERE
								SERVICES	JANOITIQQA
2.26% 5.26% 5.88% 7.69% 11.11% (8) (8)	300 300 3'135 2'13	CURRENT FEE 3,527 6,308 6,508	(5) (5) (5) (5) (5) (5) (5) (5) (5) (5)	2028860 28.50 26.50 24.50 24.50 24.50 (4) (4)	RATES (5) (5) (45 633 747 747 747 745	RATES (2) 1,242 641 148 641 148 641 148	28 29 29 184 2328 184 25258 184 (1) (1)		600 200 200 200 200 200 200 200 200 200
PERCENT	AFTER RATES	BEFORE RATES	EES (\$)	LEES (\$)		AAAY TEAR Before			inmen juest
	(0005) 531 1	DEVIER			(000) SNOITOASN	v AT		ion 3
11/20/97 REVISED USPS-T-39 USPS-T-39		X	AL SERVICES T-ON-DELIVER' YEAR 1998	SPECI) SPECI) SPECI)					Kesponse . 5, 9948

\$2.75

\$5,80

\$2.75

23.00

388,£

3,886

11

0.0

۱.3

1/ Denotes the percentage change from the current fee to the proposed fee, or (Column 5 - Column 4)/Column 4.

3'839

3'836

11

0.0

2.3

998,4

998'

14

0.0

9.7

JATOT QNA99

JATOT GNARÐ

JATOT

DELIVERY **QESTRICTED**

OF NON-DELIVERY EXCLUDING NOTICE

ALTERATION OF C.O.D.

656,81

656,81

32

0

8L

%00'0

%**7**1.7

11,233

11,233

34

0

21.

- Refer to USPS LR-H-206, "Diskettes of Witness Needham's (USPS-T-39) Testimony and Workpapers," WP-15, "Stamped Envelopes Test Year Volumes and Revenues."
 - a. Please explain why the TYAR volume (25,605,102 envelopes) for Printed
 6 ¾ Regular, Window, Precanceled Regular and Precanceled [sic]
 Window [sic] is different from the TYBR volume (26,033,975 envelopes).
 - b. Refer to column 4. Please explain why the number of Test Year box lots for Plain 6 ¼ banded (62,713 boxes) and Plain 10 banded (87,699 boxes) envelopes are calculated by dividing the number of total envelopes by 50, rather than 500.
 - c. Refer to column 1, which lists FY 1996 total envelope sales adjusted to account for the difference between GFY 1996 and PFY 1996 workdays. Please explain why Plain 10 inch Hologram FY 1996 total envelope sales (11,889,500 envelopes) is the only number in this column that has not been multiplied by the ratio of GFY 1996 workdays to PFY 1996 workdays.

RESPONSE:

a. The test year after rates volume was incorrectly calculated by multiplying the

test year before rates volume by the before rates volume factor (test year

before rates volume divided by the base year volume). The calculation

should have been the base year volume multiplied by the test year after rates

volume factor (test year after rates volume divided by the base year volume).

The resulting test year before rates volume and test year after rates volume

are the same, as presented in the attached revised workpaper.

- 4. Continued
- b. The total number of banded stamped envelopes for the 6 ¼ inch and 10 inch sizes should have been divided by 500 instead of 50 to calculate the number of box lots. The attached revised workpaper reflects the corrections.
- c. When the plain hologram volume was extracted for purposes of a proposed separate fee, the adjustment from PFY to GFY was inadvertently omitted.
 The correct volume is 12,363,357, as presented in the attached revised workpaper.

217,852,41	917,047,41							000'000'09 9	000'000'09	292,407,784	SAND TOTAL:
<u>e'553'328</u>	¥29'289'9							515'005'891	515'005'001	556,169,161	
020,118	075,085	\$ 0.0 \$	03.212	90'0 \$	\$15.00	341,757,2	248,81	889,621,51	889'651'21	736,636,51	10: 10:
102'538	800,411		215.00		\$13'00		022'9	4'384 '833	668, 4 86, 4	875,824,A	10: Deputed
878,92	21'452		09.68		02.8 \$		122'9	S78,851,5	273,8C1,C	961,881,C	Banded 3/4:
4'815'055	75E,103, 1	20.0 2	05.118	90.0\$	51\$/61\$/71\$	695,591,55	222'411	958,154,641	828,1ea.eat	292'968's9 i	10: Regular, Window, Precancelled Regular, Precancelled Window
877'SC2	432'444	20'0\$	05.82	90'0\$	00.62/02.95	615,727,8	39,398	52'451'363	55,421,363	851,7 18 ,25	PLAIN: 6 3/4: Precanceled Regular, Precanceled Window,
955'555'9	Z#1'291'6							584,364,172	284,864,172	114'010'922	
905'99	160'SÞ		05'6\$		23.20		65 8 ,C1	746,28 8	2 16 '269	¥99'¥02	10: (BOX OE 50) Household Hologram
+09'901	616,313		00.61\$		07:91\$		91 <i>L</i> 'S	2,858,005	5'828'002	578,805,875 ()	H ologram 10: (BOX OF 500
589'585	318'826		\$ 3"52		83 °50 %3 °30		010,68	087'057'7	087'057'7	660'SZS'¥	10: Household Regular, wobriW blohesuoH
091'04	892'0 2		00'E\$		01.6 \$/00 .6 \$		296,62	EEE,991,1	EEE,801,1	816'991'L	6 3/4: (BOX OF 50) Household Regular, Household Window
ZS8'290'2	0#2,488,7		00'51\$	0#"21\$/0	W 91\$/00'S1\$		412,523	536,261,736	536,261,736	540'518'000	10: Precencelled Regular, Precencelled Window,
158'821	517'279		814.00	Q	\$15'60\\$13'#		890 °25	S76,EE0,8S	SC9,620,855	160'02 1 '92	e gular, Window, Precancelled Regular, Precancelled Window
(11)	(01)	(6)	(8)	<u> </u>	(9)	(2)	(+)	(C)	(z)	(1)	PRINTED:
AFTER RATES VOLUME PROPOSED FEE	BEFORE RATES VOLUME CURRENT FEE	SINGLE PROPOSED	BOX LOTS	SINGLE	BOX LOTS CURRENT	SINGLE		aray test After Setes	TEST YEAR BEFORE RATES	566 년 1996	
AUES	KEVE		(2)	LEE (2)					ENVELOPES	1ATOT	- ა
MP-15 USP2-1-39		KEVISED 11			NE 1998 NAELOPES SERVICES	S PECIAL S STAMPED E TEST YE					951

 Refer to USPS LR-H-206, "Diskettes of Witness Needham's (USPS-T-39) Testimony and Workpapers, "WP 9, "Parcel Airlift Test Year Volumes and Revenues," column 5. Please explain why the Library Rate TYAR volume (28,728 units) is excluded from the total TYAR volume for Primary Services (1,009,913 units) used to forecast Parcel Airlift Mail TYAR volumes.

RESPONSE:

The test year after rates Standard Mail B volumes used in calculating the test year after rates parcel airlift volume were entered into WP-9 one line below where they should have been entered. Since the library rate volume is the last entry in this group of volumes, the addition of this volume was omitted in the equation for the total Standard Mail B volume. The revised total Standard Mail B volume is 1038.64053 which represents the 1009.91296 total without the library rate volume plus the 28.728 library rate volume. With respect to parcel airlift, the Standard Mail B volume revisions result in a new total test year after rates parcel airlift volume of 73,283 and a revised corresponding revenue of \$76,447, as shown in the attached revised workpaper WP 9.

15.90%	45'238	847,54	SZ.1 \$	SS.1 \$	54'308	58'554	52'916	%21.66	Over 4	
13.04%	899,41	7 30, 21	0E.1 2	S1.18	11'583	101,51	11,892	%07°SL	3-4	
%ee.et	4'843	296' †	58.0 \$	SZ' 0\$	869'S	919'9	9 00'9	%LL`L	5-3	
12.50%	795, 4 1	098, 4 1	S# 0\$	07.0\$	7 66'12	37,149	33'220	%99°E7	0-2	
(01)	(6)	(8)	(μ)	(9)	(2)	(*)	(3)	(2)	(L)	
CHANGE 1	PROPOSED FEE	CURRENT FEE	PROPOSED	слекеит реорозе		SETAR		Category	(rsql)	
TNEGOED			LEES (2)		ЯАЗ ВЭТЭА	TEST YI		Percent of Volume in	VEIGHT	
/6/07/11	NES	REVEN								
KEVISED WP-9			IAIL (PAL)	1998 AFTER RA 1998 AFTER RA 20EL AIRLIFT M	с г 1АЧ				4	

744,857

969,87

1/ Denotes the percentage change from the current fee to the proposed fee, or (Column 7 - Column 6)/Column 6.

160,28

37,236

%00.001

73,283

9953

TOTAL

 Refer to USPS LR-H-206, "Diskettes of Witness Needham's (USPS-T-39) Testimony and Workpapers, "WP 8, "On-Site Meter Settings Test Year Volumes and Revenues." Please show, step-by-step, the calculation of the number (0.52932) entered in the cell named "RATIO" which is located at AO38 on the spreadsheet "onsmeter.wk3."

RESPONSE:

No calculation of this number is available. The number 0.52932 was first used in Docket No. R90-1 and was an adjustment based on an anticipated overall volume decline given the introduction of first and additional meter fees, as opposed to one fee for meter company settings. Given the available data, the meter setting volumes were adjusted by the same factor in Dockets No. R94-1 and R97-1.

 Refer to USPS LR-H-206, "Diskettes of Witness Needham's (USPS-T-39) Testimony and Workpapers, "WP 13, "Special Handling." Please identify the source of the FY 1996 Primary Services volumes for Special Rate (190,072 pieces) and Library Rate (30,191 pieces).

RESPONSE:

The source of the FY 1996 volumes for special rate and library rate underlying the special handling workpaper, as filed, is an early version of the FY 1996 volumes. The special rate and library rate volumes in this workpaper were not updated to reflect the final numbers. I am now correcting the special rate volume from 190,072 to 189,793 pieces and the library rate volume from 30,191 to 30,133 pieces, to reflect the billing determinants (LR-H-145 at H-4, H-5). The resulting total test year before rates special handling volume is corrected from 74,598 to 74,625, and the total test year after rates special handling volume is corrected from 68,899 to 68,926. The total test year before rates revenue is corrected from \$441,631 to \$441,784 and the total test year after rates revenue is corrected from \$1,309,676 to \$1,310,158. A revised workpaper WP 13 is attached. A revised summary workpaper, WP 17 (pages 1, 2, and 4) reflecting the changes discussed in my responses to questions 3, 4, 5, and 7, is also attached.

1

nmuloO) no leaf besorong the to the proposed fee, or (Column 1. Denotes the Port

.4 nmuloO\(4	و - رز
--------------	--------

•

	======================================	482'144 ============			976'99 ========	74'625 ======	220'29	:LATOT DNARD
	0	0			0	0	0	
219.44% 219.44%	0 0	0 0	\$24.00 \$17.25	09`Z\$ 07`9\$	0 0	0 0	0 0	10 lbs. or less More than 10 lbs.
	S10,17	52'369			40 [,] 4	4'310	4'584	
220.00% 219.44%	54'538 25'138	888,71 184,7	\$ 54`00 \$ 12`52	09 ⁻ 2 \$	746 741,5	266 Ele'e	 66 3'300	10 Ibs. or less More than 10 Ibs.
	283	1 91			16	30	58	LIBRARY KATE
219.44% 219.44%	0 235		\$ 54`00 \$ 11`52	05 2\$ 07 5\$	0 1£	0 0E	0 58	BOUND PRINTED MATTER 10 lbs. or less More than 10 lbs.
	528'621	193,1 7			12,910	519,21	15'550	
219.44% 219.44%	574,15 207,475	619'9 596' 7 9	\$ 54'00 \$11,25	09`2 \$ 07'9 \$	12,028	12,031 883	585,11 285,11	SPECIAL RATE 10 Ibs. or less More than 10 Ibs.
	196,600,1	353'360			168,12	23'458	£90'2 7	
520 [.] 00% 519.44%	086,31 3 186,385	124'201 188'8825	\$2.71\$ \$24.00	09`2 \$ 07`9 \$	421,81 787,85	36,825 36,825	32,439 32,439	PARCEL POST 10 lbs, or less More than 10 lbs.
								FOURTH CLASS
	0	51'306	2 0.00	25.40	0	9 7 6'£	574,E	Single piece
(6)	(∠)	(9)	(2)	(4)	(3)	(2)	(1)	THIRD CLASS
CHANGE	FEE FEE		PROPOSED	CURRENT	RATES	SETES	EA 1996	Ques
1/	SETAR RETA		(\$) 8337		7EST YEAR		OIR
16/07/11	SE	BREVENU						n No. 7.
REVISED WP-13 USPS-T-39			1868 IDFING AICES	SPECIAL SER SPECIAL HAN TEST YEAR				95 5, 5,

Collect On Delivery 50.01 to \$50 50.01 to 100 200.01 to 200 200.01 to 400 400.01 to 500 500.01 to 500 500.0000000000000000000000000000000	000,027,1 225,000 25,000 45,000 24,000 24,000 20,000			200,000 362,000 1,026,000 5,799,000 6,122,000 7,118,000		10'00000 8'8'2'142 8'00'820 8'00'820 9'00'92 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'90 9'00'00 9'00 9	8,208,000 342,000 5,620,000 5,620,000 8,620,000 8,500,000 8,500,000 8,500,000	20'00 51'000 51'000 96'000 1'545'000 1'545'000 1'805'000	3,60066 6,60066 6,602340 6,602340 7,466622 3,60066 3,60060	%2°4 %5°4 %6°2 %1°6 %1°1 %6°41
lieM beithe:	000'859'682	51°1	164,640,826	000, 236,844	%L'LEI	66661-3.1	000'209'01+	304'123'000	10003E.1	%0.ÞI
certier Sequencing of Address Cerds	¥/N	81.0	A\N	A\N	¥/N	0.200000	¥/N	¥/N	00002110	%9 [.] 71
Business Reply Mail Cualified Prebarcoded Monadvance Accounting Fee Permit Fee Total Business Reply Mail	179,865,000 61,945,000 61,945,000 61,945,000 61,945,000 61,945,000	2110 200 200 200 200 200 200 200 200 200	122,439,90 014,922,05 014,920,05 014,920,05 014,920,05 014,920,05 014,920,05 014,020,05 014,020,05 014,010,011 014,010	10,792,000 10,792	%Z'EII	0.06000.0 269:96300 795:769:62 795:769:62 795:769:62 795:769:62 795:769:62	000,703,01 000,604,64 000,604,64 000,15,82 000,15,82 000,15,82 000,000	000,675,000 126,000 126,000 126,000 126,000 12,000 12,000 12,000 12,000	0.125249 169.383929 204.478261 0.100000 0.1253939 0.100000 0.0139393	967.05 967.16- 967.16- 967.02- 960.05- 960.005
Adtress Correction - Manual Address Correction - Automated Total Address Correction	962'296'012 152'056'6321 152'6'521	724.0 0.10 82.0	260,677,62 003,608,61 163,372,73	121,939,23 899,200,62 941,279,28	%Z'ZZI	282955.0 000002.0 7876250	80223790 24374265 65848906	132,410,518 132,410,518 132,410,518	606764.0 871102.0 118886.0	%5'0 %9'0- %9'0
sbreoß noticel I of segnari C seenbbA	906'295'	91.0	848,757	185'916	45.42K	0.200000	₽60'6 2∠	906'295'	000021-0	%9'21
	(1)	(Z)	(2)	(+)	(S)	(9)	ω	(9)	(6)	(01)
souves to PO uest	After Rates Volume 1/	Cost Per Piece 2/ (\$)	Total Cost 3/	After Rates Vf eunevaR	Cost Coverage (Col 4/Col 3)	After Rates Revenue Per Piece (Col 4/Col 1)	setsମି ଚେଟିଥି \f euneveମ	Before Rates Volume 1	Before Rates Revenue Per Piece (Col 7/Col 8)	After Rates Percentage Increase (Col 6/Col 9)
ion 7										11/20/97 REVISED Page 1 of 4
9957 9957		SPECI	AL SERVICES CO	ISAREKAGE	NERCEN	EABRONI BOATI	53			USPS-T-39 USPS-T-39

%9[.]71

%1°11 %8°11

%0'0

%0'0

\$7.5

00002110

914676.4

3.400000

000000.0

000000.0

000009*6

3'285'801

3'832'000

000'9

20'000

0

0

920'609

000'2CZ'21 000'2L

000'ZL

388'000

0

0.200000

£30678.A

3.800000

000000.0

000000.0

10.00000

154 5%

%9'LLL

716'260

000'096'81

000'6L

18,000

300'000

0

.

3'285'801

3'886'000

000'9

0

0

Correction of Mailing Lists (Per Address)

Registered C.O.D. Total C.O.D.

Alteration of charges

Volice of Nondelivery

91.0

4:32

168,978

062,166,61

pons

13.4% 13.4% 10.6% 12.1%	288.000000 104.000000 104.000000 40.000000	721,122 400,022,2 667,247 442,721 281,62 281,62 281,62	642'080 511'642'080 51'569'295 51'569'295 51'569'295 51'569'295 51'569'295	45.000000 325.000000 115.000000 115.000000		845,782,552 860,086,461 873,847,08 845,087,85 845,087,85 845,087,85			286'0£ 571'202 60E'920'2 165'276'7 176'576'7	Group C - Size 1 Group C - Size 2 Group C - Size 3 Group C - Size 5 Group C - Size 5
%6`91 %0`CC %6`CC %6`9C %6`9C	372,000000 216,000000 66,000000 44,000000	124'236 10'144 29'63 29'52 29'52	263'365 338'264 1'503'358 2'466'210 2'466'210	000000355 560:000000 0000006 0000006 00:000000 00:000009		901'902 913'2000 900'2000 5090'2000 5090'2000 901'291'9			1'363 1'368 8'360 23'238 103'625	r esis - 8 quoto S esis - 8 quoto E esis - 8 quoto A esis - 8 quoto S esis - 8 quoto S esis - 8 quoto
916 9434 4454 4679 4679 4679 4679 4679 4679 4679 467	48,00000 74,000000 742,000000 742,000000 742,000000	69 545 4'200 4'200 15'153	36,842 58,564 323,072 323,072 3462,192 3462,192	000000'055 352'000000 182'00000 192'000000 102'000000 201 20'000000		052,148,5 235,626 273,626 273,750 275,155 275,			25 661 896'8 828'85 528'85	(Isunns-Imes) sexes exitions (Isonns-Imes) Fesions A quoro Sesions A quoro Sesions A quoro Pesions A quoro Sesions A quoro Sesions A quoro
12.9% 13.9% 13.9%	0.924163 0.400011 0.400011	94,1,75 101,61 101,61 102,85 102,090 101,61 100,61 101,61 101,61 100,610	769,87 730,61 730,61 760,61 768,60	186644.0 746648.0 836647.1 181640.1	∀∕N	76,446 42,638 14,668 14,597 14,397	AVN	a/n a/n a/n	23,285 24,308 24,308 21,994 21,994 21,994 21,994	Parcel Ainin Mail 0 - S Iba. 2 - 3 Iba. 3 - 4 Iba. Dver 4 Iba. Total Parcel Ainin Mail
%0.0 %0.0 %2.E1 %2.L1	20,603446 32,875000 32,85294 2,566162 2,5603446 2,50023 2,0034 2,0023 2,0023 2,0034 2,0035 2,0055 2,	000,811 000,8 000,71 000,281	3'823'000 523'000 52'000 3'823'000	27.603448 32.875000 4.000000 8.590909 1.140541	%9 [.] 671	3,202,000 3,000 3,000 3,000 3,000 3,911,000	3'015'880 336'880 296'880 5'435'880 5'435'880	70.97 20.97 20.97 20.97 20.97	000,811 000,8 000,71 000,94	On-Site Meter Setting Single Meter Emergency Additional Meter Meter Checked In or Out of Service Meter Checked In or Out of Service Total On-Site Meter Setting
%0`0 %0`0 %0`0 %0`0	0.649999 0.300163 0.300163 1.21137.2 1.21137.2 1.264669	236,661,000 4,663,000 4,663,000 230,772,000	239'320'000 1 536'32'000 5'435'000 13'88'000 13'88'000	1.264890 2.750000 0.300163 0.300163 0.850002	%1°E0Z	196,081,000 368,000 2,431,000 2,431,000 2,431,000 4/	060'896'2#3	0.62	230,683,000 4,661,000 884,000 236,570,000	states \$0.01 to \$700 \$0.01 to \$700 fintemetional finquity Fee Totes Totes
(01)	(6)	(8)	ω	(9)	(5)	(4)	(2)	(5)	(1)	
Affer Rates Percentage Increase (Col 6/Col 9)	Before Rates Per Piece (Col 7/Col 8)	Before Rates Volume 1/	Before Rates 1 eurose 1	After Rates Revenue Per Piece (Col 4/Col 1)	(୦୦) ଏ(୦୦) 3) ୧୦୦୫୮୫୦୫ ୧୦୦୫	cates Patra /f euneve가	Total Cost 3/	Cost Per Piece 2/ (\$)	satisy taffa \f amuloV	Attachment to POIR Question
										No co
96-T-292U			\$3	RAGE INCREAS	а но рексеи	230 COVERAGES	ר צבאעוכבא כס	SPECIA		. 5, 9958

1

- -

838982.8 190003.7 172219.8	979'74 137'81 971'89	203,176 303,176 303,176	19.008468 24.001284 24.001284	%Z'701	692,978 209,265 879,265	069,182,1	09.81	276,08 636,71 226,89	Registered Mail (Continued) Not Covered By Poetal Insurance \$0.00 to \$100 Total Registry Under 10 pounds Total Special Handling Total Special Handling	
4.850624 4.850624	000,823,5 000,861,81	000,611,71 000,628,18	971672.8 117662.7	%7.921	22,724,000	042,487,87	7£.8	000,611,6 000,162,61		
(6)	(9)	ω	(9)	(2)	(+)	(2)	(z)	(1)		
Before Rates Revenue Per Piece (Col 7/Col 8)	selectoré Rates Vi emuloV	Before Rates Before Rates	After Rates Revenue Per Piece (Col 4/Col 1)	Cost 4/Col 3) Coverage (Col 4/Col 3)	After Rates Revenue 1/	Cost 3/	Cost Per Piece 2/ (\$)	eateStraffA \f amuloV	Service	Response t No. 5, Que
11/20/02 Kenised	SECIAL SERVICES COST COVERAES AND PERCENTAGE INCREASES									دە ە POIR stj9B3

261.32

ZL2'999'#L

000,039,11

897,84

15'309'000

4'282'400

SE 65

£0'0

10.01

£1/5696⁻65

0.032066

000000.0

887

000'000'097

000,968,962

%Z'91

%601-

%0'0

321.1%

\$20.0%

%9°6LZ

%1'19

963.05

(01)

(6 100/9 100)

926915A

Percentage

asteR refies

Page 4 of 4 71-9W 95-T-292U 992°27

0

912'672'7L

794436.68

0.031646

0.020000

%6'211

XC.811

%C'#SZ

.81-1 anageotroW 65-T-292U mon3 \1

ZIP Coding of Mailing Lists

Stamped Envelopes

stramped Cards

Attachment to Response to POIR No. 5, Questiggggy

2/ From LR-H-107, USPS-T-27, or the total coat in Column 3 divided by the total volume in Column 1.

000'000'099

283'002'000

887

A Includes money order international commissions, float, and outstanding money orders taken into revenue.

3/ From the total cost reported in USPS-T-15 or the cost per piece in Column 2 multiplied by the volume in Column 1.
RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS NEEDHAM TO PRESIDING OFFICER'S INFORMATION REQUEST NO.7 QUESTION 19

POIR No. 7 Question 19. Have their been any changes in the number of post office box renewals since the implementation of MC96-3 fees? If so, please provide the data disaggregated to the finest level possible.

RESPONSE:

No data on box renewals are available.

RESPONSE OF THE POSTAL SERVICE TO QUESTION OF DAVID B. POPKIN POSED AT THE OCTOBER 7, 1997 HEARING

Question (paraphrased from Tr. 3/697-699):

Would a Standard Mail package with special handling service move cross-country using air transportation?

RESPONSE:

ċ

Generally a Standard Mail package with special handling service would not receive

air transportation when moving cross-country.

Designated Interrogatory Responses of Michael K. Plunkett (T40)

.

•

:

.

DBP/USPS-29 [a] Confirm, or explain if you are unable to do so, that Section 822.112 of the Postal Operations Manual requires that the clearing clerk must evaluate all return receipts that have been turned in to ensure that they are properly completed. [b] Would it be reasonable to expect the clearing clerk to check to ensure that the Return Receipt has been properly signed? [c] Would it be reasonable to expect the clearing clerk to check to ensure that the Return Receipt has the name of the addressee printed in addition to the signature? [d] Would it be reasonable to expect the clearing clerk to check to ensure that the Return Receipt has the correct date of delivery entered on it? [e] If there are any instances where the return receipt is not given to the clearing clerk on the date of delivery, explain how the clearing clerk would be aware of the date of delivery? [f] Would it be reasonable to expect the clearing clerk to check to ensure that any requirements for restricted delivery have been complied with? [g] Would it be reasonable to expect the clearing clerk to check to ensure that any requirements for notifying the sender of a new address have been complied with? [h] Would it be reasonable to expect the clearing clerk to check to ensure that any requirements for notifying the sender that there is no new address [namely, the box has been checked to show this] have been complied with? [i] What corrective action should the clearing clerk take if in evaluating a return receipt it is noticed that 1. the card is not properly signed, 2. the name of the person signing has not been properly printed, 3. the correct date of delivery has not been shown, 4. the restricted delivery requirements have not been complied with, 5. a new address has not been provided when there is one, or 6. the box has not been checked when there is no new address. [j] Confirm, or explain if you are unable to do so, that all return receipts must be mailed [namely, placed into the mail stream for processing and transporting and delivery to the sender] no later than the first workday after delivery. [k] Explain why POM Section 822.112 does not require that the clearing clerk mail the return receipt card on the date of delivery rather than allowing it to be held until the next workday. [1] Confirm, or explain if you are unable to do so, that the requirements specified in subparts b through j will apply in all instances regardless of the type of addressee or the number of return receipts involved. [m] Confirm, or explain if you are unable to do so, that the clearing clerk referenced in POM Section 822.11 is an employee of the United States Postal Service.

DBP/USPS-29 Response:

a. Not confirmed. POM § 822.112 states: "The clearing clerk must check all return

receipts to make sure that they are properly signed and dated."

- b. In general, yes.
- c. This checking would go beyond what's required by POM § 822.112.
- d. In general, yes.

9963

- e. The clearing employee could be informed by the delivering employee in such cases.
- f. In general, yes.
- g. In general, this checking would go beyond what's required by POM § 822.112.
- h. In general, this checking would go beyond what's required by POM § 822.112.
- For subparts 1,2,3,5 and 6, the clearing clerk should notify the delivering employee.
 For subpart 4, as indicated in POM § 822.112, a corrected return receipt should be obtained from the addressee.
- j. Confirmed, based on POM § 822.112.
- k. In some cases, carriers may be cleared of their accountable items after the final dispatch of outgoing mail has left the delivery unit. In addition, the return receipt might require corrective action.
- I. Not confirmed. Please see my responses to parts b through j. The POM does not provide any special procedures for different types of addresses or different numbers of return receipts.
- m. Confirmed, to the best of my knowledge.

DBP/USPS-73 The response to DBP./USPS-24 subparts a, c, g, and i, indicates that Restricted Delivery, Return Receipt after mailing, and the ability to mail at other than a post office or with a rural carrier are not available for Return Receipt for Merchandise. [a] What is the logic of permitting Restricted Delivery for all types of accountable mail other than Return Receipt for Merchandise? [b] Since a record of delivery is made when the Return Receipt for Merchandise is delivered, what is the logic for not providing the Return Receipt for Merchandise after mailing? [c] Is a duplicate Return Receipt available for the Return Receipt for Merchandise not received or is received without being properly completed? [e] What is the logic for requiring Return Receipt for Merchandise to be mailed at a post office or with a rural carrier?

DBP/USPS-73 Response:

- a. Return receipt for merchandise has a feature, the sender's option of waiving the customer's signature, that is unique among special services, and which is inconsistent with provision of restricted delivery service.
- b. Return receipts are available after mailing to serve the needs of customers

that did not anticipate the need for a return receipt at the time of mailing.

Thus, a necessary element of return receipt after mailing is the presence of a delivery record independent of return receipt service. When a return receipt for merchandise is not purchased at the time of mailing, no delivery record is created, so providing a return receipt after mailing would be impossible. See also response to subpart c.

- c. Yes.
- d. Not applicable.
- e. Form 3804, which is used for return receipt for merchandise service, allows the mailer to waive the signature requirement for the return receipt, and provides the sender with a mailing receipt. Conferral of the mailing receipt requires acceptance either at a retail window or through a rural carrier.

DBP/USPS-74 Please clarify your response to DBP/USPS-28 subpart u in light of the last sentence of POM 822.111. I am interested in the transaction between the delivering employee and the clearing clerk as opposed to the time that the clearing clerk must put the return receipt in the mail.

DBP/USPS-74 Response:

Carriers are required to give all return receipts to the clearing clerk daily.

DBP/USPS-75 In your response to DBP/USPS-29 subpart a, [a] explain the difference between "check all return receipts to make sure that they are properly signed and dated" vs. "evaluate all return receipts ... to ensure that they are properly completed". [b] If there are any checks or evaluations which are not made by the clearing clerk, indicate what effort the Postal Service makes to ensure that the particular item on the return receipt is properly completed. [c] Who is responsible for ensuring that the requirements that are referred to in subparts c, g, and h have been properly followed? [d] Explain your use of the words "In general" in your responses to subparts b, d, and f.

DBP/USPS-75 Response:

- a. The first phrase is limited to the signature and date, while the second phrase might include checking other elements of the return receipt.
- b. The employee delivering the letter bearing the return receipt, and the clearing clerk share responsibility for the proper completion of a return receipt.
- c. See response to subpart b.
- d. In each instance "in general" is used as a qualifier. While I am agreeing that

each of the premises presented in these questions is reasonable, I am

allowing for the fact that, among the millions of return receipt transactions

that take place in a given year, there may be some set of circumstances,

however rare, that preclude an unqualified affirmative response.

DBP/USPS-76 In your response to DBP/USPS-31 subpart b, you were unable to confirm my statement. [a] Are there any situations where a delivery office may have an arrangement which allows for the return receipt to be signed for at a "later", more convenient time? [b] Are there any situations where a delivery office may not have the return receipts signed for at the time of delivery? [c] Explain and elaborate any positive response to subparts a and b.

DBP/USPS-76 Response:

a. While agreements of this kind would appear to be contrary to the letter

referred to in DBP/USPS-31, in some cases they may exist, especially for

large recipients of return receipt mail. The aforementioned letter was

intended to call the attention of all district managers to the expectations of

return receipt customers. Follow up to the letter has focused on correcting

specific situations that have come to the attention of headquarters delivery

operations in which return receipts used to be signed for after the time of

delivery. See also my response to DBP/USPS-77.

- b. Though the letter referred to in DBP/USPS-31 does not identify any situations of this kind, they may exist, especially for large recipients of return receipt mail. See also my response to DBP/USPS-77.
- c. See the responses to parts a and b.

DBP/USPS-77 In your response to DBP/USPS-32 subparts a and b, you indicate that it is a goal to achieve the signing for all accountable mail and the associated return receipt at the time of delivery regardless of the type of addressee or the number of articles involved. [a] Elaborate what you mean by a goal. [b] Does this goal have the support of management? [c] Does this goal apply to all delivery offices? [d] Do you agree that this goal should be attempted to be met by all delivery offices? [e] Explain any negative response to subparts b through d. [f] Are there any instances existing anywhere within the Postal Service where the signing for the accountable mail and the associated return receipt are, by default or by design, not completed at the time of delivery? [g] Provide details of any affirmative response to subpart f including the authority for and the method of delivery. [h] Elaborate on your response to the statement in reply to subpart b, "In some cases it is possible that the signature takes place after delivery." [i] In your response to subpart e, you indicated that it would be relatively rare for multiple pieces of articles requesting return receipts to be addressed to a single recipient. Does this apply to various government agencies, such as IRS and the state tax departments, as well as other government agencies and large commercial organizations? [j] Confirm, or explain if you are unable to do so, that DMM Section D042.1.7b would place the requirement for obtaining the signature at the time of delivery from that of being a goal to that of being a regulation. [k] Does DMM Section D042.1.7 apply to all addressees within the service area of the United States Postal Service? [I] If not, provide a listing of any exceptions and the authority for doing so.

DBP/USPS-77 Response:

a. The use of the term goal was meant to distinguish from the word requirement

used in DBP/USPS-32 as there is no mention of a time requirement in the

referenced POM sections, other than to specify that return receipts must be

mailed no later than the next workday following delivery of the attached

article. See also Tr. 3/987.

- b. Yes.
- c. Yes. The POM applies to all delivery offices.
- d. Such is the nature of organizational goals.
- e. Not applicable.
- f. See response to DBP/USPS-76.

- g. See my response to DBP/USPS-76. In addressing the issue of authority, it should be remembered that, though bound by the same set of procedures throughout the country, field managers exercise a considerable degree of autonomy in managing their operations to meet the demands of local conditions. As a result, there may be isolated instances where deviations from existing policy occur. My understanding is that when such instances arise, they are dealt with on a case by case basis. In some cases, this has led to the creation of detached mail units for the processing of high volumes of return receipts. Such situations may also lead to refinements in official policies or procedures where warranted.
- h. This phrase is used as a qualifier in this instance. While I am agreeing that the Postal Service's goal is to obtain the required information at the time of delivery, I am allowing for the fact that, among the millions of return receipt transactions that take place in a given year, there may be some set of circumstances that precludes an ungualified affirmative response.
- i. Relatively rare does not mean impossible; the instances you cite may be the rare instances to which I refer.
- j. The heading for DMM § D042.1 uses the term "standards". My understanding is that the DMM is incorporated by reference into Title 39 of the Code of Federal Regulations.
- k. The DMM applies to all Postal Service installations.
- I. Not applicable.

DBP/USPS-78 In your response to DBP/USPS-34 subpart i, [a] explain why a mailer should be required to pay for a return receipt when it was not an independent proof of delivery but had been completed at a point after the time of delivery. [b] Clarify your response to subpart o. My interrogatory related to the fact that if I am often required to obtain a duplicate return receipt just to get the information that I was supposed to be provided with in the first place, would the service appear to be less valuable to me because of the inconvenience caused.

DBP/USPS-78 Response:

- a. DMM § 915.1.1 describes return receipt as a service that "provides a mailer with evidence of delivery", which the customer would have received in this instance.
- b. By way of clarification, I believe you are using the word value where I would use the word satisfaction. To paraphrase, your interrogatory posed a hypothetical situation in which a customer has a negative experience with return receipt, and asked if that customer would then value the service less. In my view, and I attempted to convey this in my response, it would depend on the value that the hypothetical customer placed on the service prior to his/her negative experience. If the sender understood all of the terms and conditions that apply to return receipt service, and believed that there was some possibility that she/he would have to obtain a duplicate to receive the desired level of service, then the value that they perceive in return receipt service may be undiminished. In my opinion, the hypothetical customer would be unsatisfied with the outcome of the transaction, but this does not necessarily indicate that the customer values the service less. Hence my conditional response to your original interrogatory. Indeed the growth of

9972

return receipt volume over the last ten years, indicates that customers, in

general, regard return receipt service as a very good value.

DBP/USPS-83 Your response to DBP/USPS-53 subpart m, r, and s requires clarification. [a] If I were to compare two separate services and for each of the categories chosen to evaluate, one of the services was always equal to or better than the other service, why would a knowledgeable mailer choose to use the service which was always below or equal to the other service? [b] Please respond to my original subparts m, r, and s. [c] Subparts bb and cc refer to the rates being proposed in this Docket. The always be greater or equal refers to the price being proposed in this Docket. Please respond to the original interrogatories.

DBP/USPS-83 Response:

See hearing transcript 3/979-984.

a. In this case I can not think of any reason, but this example is different from

the example in DBP/USPS-53 subparts m, r, and s.

- b. I have no reason to change my responses; see transcript 3/979-984.
- c. Proposed rates for Priority and Express Mail are contained in the testimony of

witness Sharkey. My understanding is that Express Mail provides a level of

service that is at least equal to that of Priority Mail.

DBP/USPS-85 In your response to DBP/USPS-62, you indicate the words "excluding contingency" a number of times. Explain the significance of that.

DBP/USPS-85 Response:

The revenue requirement that the Postal Service presented in Docket No. R97-1 contains a contingency equal to 1 percent of total test year costs to allow for unanticipated, extraordinary expenses. The unit cost estimates I provided were taken directly from special services cost studies and did not include this 1 percent contingency.

•

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO INTERROGATORIES OF DAVID B. POPKIN REDIRECTED FROM THE POSTAL SERVICE

DBP/USPS-86 In your response to DBP/USPS-73, confirm, or explain if you are unable to do so, that the sender's option of waiving the customer's signature also applies to Express Mail.

DBP/USPS-86 Response:

See Tr. 3/967.

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO INTERROGATORIES OF DAVID B. POPKIN REDIRECTED FROM THE POSTAL SERVICE

DBP/USPS-87 In your response to DBP/USPS-77 - subpart g, confirm, or explain if you are unable to do so, that a detached mail unit is an activity which is operated by Postal employees at the addressee's location.

DBP/USPS-87 Response:

Detached mail units (DMU) are units that are located "off-site" i.e. not on the

premises of Postal Service facilities. For the instant case, the DMU is operated

by Postal employees at the addressee's location, though DMUs are often located

in mailers' facilities.

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO INTERROGATORIES OF DAVID B. POPKIN REDIRECTED FROM THE POSTAL SERVICE

DBP/USPS-90 Please respond to my original interrogatory DBP/USPS-80. Insured mail which can have an insurance value of \$5,000 refers to insured mail and not to registered mail as offered by the witness.

DBP/USPS-90 Response:

See Tr. 3/980-982, which applies to insured mail with a value of \$5,000.

RESPONSE OF U.S. POSTAL SERVICE WITNESS PLUNKETT TO INTERROGATORY OF THE OFFICE OF THE CONSUMER ADVOCATE

OCA/USPS-T40-40. Please refer to Response of United States Postal Service Witness Plunkett to Questions Posed at October 7, 1997 Hearing, filed October 15, 1997. In response to OCA's question concerning the number of insurance claims made in FY 1996, you replied: "In FY 96, 65,996 insurance claims were filed." However, Table 1 in your direct testimony (see page 6) indicates that in FY 1996 a total of 50,037 "lost" claims were paid and 50,768 "damaged" claims were paid. Please clarify and reconcile this data.

OCA/USPS-T40-40 Response:

See my revised response to question (at Tr. 3/1047) posed at hearing on October 7,

1997. The original response related to "lost" claims only.

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5

8. Refer to USPS LR-H-207, "Diskette of Witness Plunkett's (USPS-T-40) Testimony and Workpapers," WP 2, "Insurance," columns 2 and 3. Please provide the source of TYBR (18,000) and TYAR (17,000) transactions for indemnity of \$2,000.01 -\$5,000.

8. Response:

In Docket No. MC96-3 (see Commission's Decision, Appendix D Schedule 3, p. 8), the

Commission based its recommended decision on a projection of 17,274 transactions in

this indemnity range. Having no actual base year volumes I used this number as a

starting point and projected the TYBR and TYAR numbers therefrom using my own

judgement. Because the projected transaction volume in this range is too small to have

any significant impact on cost coverage I used rounded numbers for the sake of

simplicity.

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5

- 9. Refer to USPS LR-H-207, "Diskette of Witness Plunkett's (USPS-T-40) Testimony and Workpapers," WP 3, "Restricted Delivery," and WP 4, "Return Receipts." Please identify the source of the Primary Service TYAR volume (289,956 pieces) for Certified Mail.
- 9. Response:

The TYAR Certified Mail volume used in my workpapers is the TYAR volume of

293.118 million pieces (Ex. USPS-6A, p.7) adjusted by -3.469 million and 0.307 million

for Delivery Confirmation and Packaging Service respectively. For the reason

explained in the response to question 11, the adjustment for Packaging Service should

have been 0.004 million, which would result in TYAR Certified volume of 289.653

million pieces. Revised workpapers WP 3 and WP 4 are attached.

MP-3 USPS-T-40 MP-3

SPECIAL SERVICES

RESTRICTED DELIVERY

Idenment to Response to IR No. 5, Question 9 9981

.

	021,841,11 ==================================	11'264'005			4'023'186	4,274,182	3,672,623 3,672,623	JATOT
%00'0 %00'0 %00'0 %00'0	211,623 0 247, 224,01 247, 224,01	182,807 0 107,92 107,82	97.5 \$ 87.5 \$ 87.5 \$	87.2 \$ 87.2 \$ 87.2 \$	286,587 0 16,659 2,815,543	556,830 10,800 256,533	3,565,334 838,9 255,521	registry C.O.D. Insurance Certified
(8)	(2)	(9)	(S)	(7)	(5)	(5)	(L)	
			*********		**************	*****		נק
CHANGE /1	PROPOSED FEE	CURRENT FEE	DECOPOSED	TNARRUD	SATAR	SATAR	9661 시크	O F
PERCENT	SƏTAR RƏTAA	SEFORE RATES			Я∃Т∃А	BEFORE		فع
			Э	31	**********		*** **************	Z Z
	VENUES	138			o ner			

1/ Denotes the percentage change from the current fee to the proposed fee, or (Column 5 - Column 4)/Column 4.

998				- (0	SPECIAL SERVIC RETURN RECEIF	νTS		RE	VISED 11/20/97 USPS-T-40 WP-4
	TRA	VSACTIONS ((000)	FEE	ES (\$)		REVENUES (\$000)		
	FY 1996	BEFORE RATES	AFTER RATES	CURRENT	PROPOSED	BEFORE RATES CURRENT FEE	AFTER RAT CURRENT FEE	ES VOLUME PROPOSED FEE	FEE CHANGE 1/
	3	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
REQUESTED AT TIME OF	" MAILING								
TO WHOM, WHEN & WHE REGISTRY	RE (IF DIFFER 3,129	ENT) DELIVE 2,721	:RED: 2,401	1.10	1.45	2,994	2,641	3,461	31.82%
MERCHANDISE	2224,532 778 3,017	202,100 852 3,565	240,139 829 3,253	1.10 1.20	1.45 1.45 1.70	277,372 937 4,278	204, 148 912 3,904	346, 190 1,202 5,531	31.82% 41.67%
TOTAL	231,457	259,294	246,618			285,580	271,606	358,410	
REQUESTED AFTER MAI	LING								
TO WHOM, WHEN & WHE REGISTRY	RE (IF DIFFER 0	ENT) DELIVE	RED: 0	6.60	7.00	0	0	0	6.06%
CERTIFIED	517 0	581 0	553 0	6.60 6.60	7.00 7.00	3,831 0	3,649 0	3,870 0	6.06% 6.06%
TOTAL	517	581	553			3,831	3,649	3,870	
GRAND TOTAL									
REGISTRY	3,129 225.049	2,721 252.737	2,401 240.688			2,994 281 203	2,641 267 797	3,481 352.065	
INSURANCE MERCHANDISE	778 3,017	852 3,565	829 3,253			937 4,278	912 3,904	1,202 5,531	
TOTAL	231,974	259,875	247,171			289,411	275,254	362,280	
DELIVERY CONFIRMATIO	ON ADJUSTME	* 4 0	(2,914)	1.10	1.45	O	(3,205)	(4,225)	
INSURANCE	00		n 1	1.10	1,45	00	11.596	15.285	
REVISED GRAND TOTAL	231,974	259,875	o 244,274	1.20	1.70	0 289,411	7.530 272,068	10.667 358,081	

Denotes the percentage change from the current fee to the proposed fee, or (Column 5 - Column 4)/Column 4.
 Includes new volume from packaging service based on estimates to be presented in a separate Commission filing.

.

I I

Attachment to Response to POIR No. 5, Question 9

9982

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5

- 10. Refer to USPS LR-H-207, "Diskette of Witness Plunkett's (USPS-T-40) Testimony and Workpapers," WP-4, "Return Receipts," columns 2 and 3.
 - a. Please explain why the TYBR and TYAR transactions for Registry with Return Receipt are forecast using Insurance volume, instead of Registry volume.
 - b. Also, please explain why the TYBR and TYAR transactions for Insurance with Return Receipt are forecast using COD volume, instead of Insurance volume.

10 Response:

The cell references for these forecasts are incorrect and should be corrected as follows.

In worksheet WP 4 "Return Receipts" cells AG17, AI17, and AK17 should be changed

to refer to X48, Z48, and AB48 respectively, and cells AG21, AI21, and AK21 should be

changed to refer to X49, Z49, and AB49 respectively. A revised workpaper WP 4 is

attached to my response to question 9.

RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 5

- Refer to USPS LR-H-207, "Diskette of Witness Plunkett's (USPS-T-40) Testimony and Workpapers." Please identify the source of the adjustments for Packaging Service in the following workpapers: WP 1, "Certificate of Mailing" (2,457 transactions); WP 2, "Insurance" (427,034 transactions); and WP 4, "Return Receipts" (8,598 insurance and 5,118 merchandise transactions).
- 11 Response:

These adjustments were inadvertently copied from an earlier discarded version of the worksheets used to develop Exhibit USPS-3D in Docket No. MC97-5, USPS-T-3. The adjustments should have been as follows: WP 1, "Certificate of Mailing" (3,012 transactions); WP 2, "Insurance" (523,569 transactions); and WP 4, "Return Receipts" (10,542 insurance and 6,275 merchandise transactions). As noted in my response to question 9, this resulted in an incorrect adjustment to TYAR certified mail volumes which were used as inputs to WP 3 and WP 4. Revised workpapers WP 1 and WP 2 are attached, and revised workpaper WP 4 is attached to my response to question 9. As a result of these changes, workpapers WP 13 and WP 15, which summarize special services and adjust insurance costs respectively, have been revised and are attached.

SBS 1 TOTAL ALL

%69 ⁻ Z		665'11	10'282			268,81	19,245	292'61	JATOT
12.22% 12.22% 12.22%	80.99% 25.00% 25.00%	576'L 216 0 961'6	661'1 958 0 085'8	09'0\$ 23'00 09'0\$	\$0:55 \$2.28 \$0:35	15,227 0 306 3,363	3'452 3'452 0 12'208	3,518 0 13,518 15,51	BASIC 2V FIRM BOOK MAILING BULK: First 1,000 pcs 3V Each add'L 1,000 pcs
%61.11		48'126	43'854			۲۰۰۰, ۲۰۲۰, ۲۰۰۰ 	909'66	158'06	LATOT
8 [.] 62%	%00°S7 60'06	110,04 ∂18,∑	37,561 262,62	\$0.25 \$0.60	\$0.20 \$0.20	58,184 31,262	31,312 31,312	58'290 53'580	BASIC 2/ FIRM BOOK MAILING
									(8) ORADNATS
%12°#6-		199	684,21			1,072	707,22	966'61	TOTAL
%00.001- %75.8 %054.51	%62.41 %00.8 %00.8 %00.9	333 508 0 0 0	268,11 842 745	09.02 \$9.00 \$9.04	\$0:32 \$0:20 \$0:32	596 68 0 0	759,12 0 990 990	 08 08 160'61	BASIC 2\ FIRM BOOK MAILING BULK: First 1,000 pcs 3\ Each add'l. 1,000 pcs
									(A) QAAQNAT2
%68°11		342,518	90£1,30£			076'029	977,852 	43E'494	TOTAL
11.87% 28.11 72.11	1√53% 8003 800% 8003	841,145 82 887	949 94 200,944	09'0\$ 09'0\$ 09'0\$	\$0'32 \$2'32 \$0'32	182,882 234 52949	444,448 822 854,444	364,534 901 282,1	BASIC 2\ FIRM BOOK MAILING BULK: First 1,000 pcs 3\ Each add'l 1,000 pcs
									РЯЮЯТҮ
15.24%		262,401,4	3'640'012			738,361,11	161,561,11	10,620,981	JATOT
85:33% 8:53% 8:53%	17:53% 8:03% 5:00% 8:03%	313,867,1 801,887,1 801,887,1 807,1	317,657,216 1,437,662 287,062 317,887 887	09'0\$ 23'0\$ 07'0\$	\$0.35 \$7.28 \$0.35	989,769 241,28 241,28 263,599 263,599	021,010,0 892,081,7 892,08 742,800	426,216,2 001,026,3 228,07 240,878	BASIC 2\ FIRM BOOK MAILING BULK: First 1,000 pcs 3\ Each add'L 1,000 pcs
(0)	(0)		(0)	(0)	(+)		(7)	(\mathbf{r})	FIRST CLASS
(6)	 (B)			(9)		(3)	\G/		
PERCENT CHANGE 4/	PERCENT VI 30NAHO	AFTER RATES AOLUME FEE FEE	BEFORE RATES VOLUME CURRENT FEE	680602ED S (\$)	CURRENT FEE: FEE:	AAAY TZAT AFTER ATTES	AAJY TSJT JROJJB SJTAR	9661 Y 3	MAIL CLASS TYPE
		 S3r	 הבענענ				2NOITJA2NAAT		
									Q
Sto F	08-1-9J00			LE OF MAILING	APECIAI CERTIFICA				985 5

5 to 1 76105/11 D351738

•

•

ΰī

	*****				4	****************		HH H
996'696	320,097	07'0\$	SE.0 \$	068,606	614,563	884'033	Each add't .1'bbs rbs3	R
248,152	228'641	00.6\$	S7.28	717, <u>5</u> 8	83,142	Z9E'08	BULK: First 1,000 pcs 3/	N
1,795,982	691'777'1	\$0`\$2	2 0'50	7,183,927	7,220,796	076'826'9	FIRM BOOK MAILING	J Ie
708, e 81,S	2,020,146	09'0\$	SS.0 \$	8 7 8,6 1 8,6	3,672,992	609 ' 274,5	BASIC 2/	5 nt
(2)	(9)	(5)	(+)	(3)	(5)	()		, Qu
PROPOSED FEE	CURRENT FEE	DECOPOSED	TNARRUD	ST AR	SETAR	9661 / 귀	MAIL CLASS TYPE	es t
ΛΟΓΩΜΕ				ЯЭТЭА	BEFORE			E g
SƏTAR RƏT AA	SƏTAR ƏROTƏB	(\$) S	FEE	AAAY TSAT	RABY TEBT			ы Н
********************								1 Se
SEC	REVEN			9	UOITOASNAAT			<u>–</u>
								0
							66	
		TE OF MAILING	CERTIFICA				8	
		L SERVICES	SPECIA				თ	

11,629,224

11,826,212

3,012

1/ Denotes the percentage change from the current fee to the proposed fee, or (Column 5 - Column 4)/Column 4.

564,168,11

£64,168,11

21 Includes duplicates.

IstoT brished Grand Total

JATOT GNARÐ

PO

Adjustment For Packaging Service

.(4 nmulo))/(4 nmulo) - 2 nmulo), atilits emulov on semussA \C

4/ Denotes the percentage change from the revenue of the before rates volume at the current fee.

676'917'11

646,814,11

to the revenue of the atter rates volume at the proposed fee, or (Column 7 - Column 6)/Column 6.

14.29%

%60`6

%00°SZ

%60`6

(9)

CHANGE 1/

PERCENT

*

14'62%

%78.41

%0Z.E1

%63.8 54'36%

%07.8

(6)

CHANGE 4/

PERCENT

4,013,043

640,610,4

0

09.0\$

SS.0\$

#02'665'

968'265'*

708,I

1 IO L 9083 Mb-5 NSb2·1-40 NSb2·1-40 £89'\$Z\$

918'1

1'382

435

%00'0

%00'0

Z18'#9\$

1, 835

666'1

436

2.40

2.19

\$5.29

2'09

2.19

\$5.29

RESTRICTED 813'648 171,558 BIC,877 BIGENER MAUTER ADDITIONAL SERVICES 2/ %92'902 **32**,866 286,53 5.40 2°09 105,05 30'609 976,85 101AL 6/ %26.11 678'SI 14'356 37.41 13.18 570,t 780,1 1,028 1/ /9 000'9\$ - 10'009\$ %67'11 619 885 36.40 32.65 Z٦ 81 ۲۲ \$5,000.01 - \$5,000 \$600.01 - \$2,000 15.06% 12'530 13,741 14.40 15.85 820'L 690'1 110,1 1311% 3,756 3'324 06'9 01.9 250 009 777 099 9.20 %97°CL 266'E 3'224 06'9 **LL**9 £89 ∠**≯**9 009 %S6'E1 2,646 5,345 4'60 4'30 079 645 919 **00**7 %12.41 067,230 970,6 3.90 3.40 69*****'L 1,484 1'402 300 690,4 3,846 %00'91 11'665 10, 157 2.90 2.50 4'033 500 90Z'91 112,41 £67,8 **S88,8** 804,8 100 %S7.81 06.1 09.1 %29.92 215'255 986'6\$ \$6.0\$ S7.0\$ 13,182 315,51 15,605 **0**9 . -TIMIT (8) (2) (9) (<u>ç</u>) (7) (E) (S) (1) *VINMADNI* CHANGE 4/ PROPOSED FEE CURRENT FEE **PROPOSED** CURRENT SETAR **SETAR** 9661 YF BEFORE PERCENT VOLUME **VOLUME** AFTER (\$) SBBF **SETAR RETRA SETAR EROTER AAAY TRAT FIST YEAR** REVENUES (000) (000) SNOITDASNART INSURANCE

eleised hebrearened 5 20204 eleised 10.00 8 cools 5 eleised 2 d vibroard 100000 1

31'436

830

0

689

161

832,595

10'454

1/ Source: Appendix D, Schedule 3, Page 8 of 21, Docket No. MC96-3 Recommended Decision.

2/ Transactions from additional services not included in grand total.

.616b 3991 YT noqu based seef egetevA \S

197,95

S82

0

909

181

788,183

898'6

RETURN RECEIPTS

JATOT GNARD

JATOT

ABHTO

CANADA

JATOT

VE JANOITANRETNI

DELIVERY

4/ Denotes the percentage change from the current tee to the proposed tee, or (Column 5 - Column 4)/Column 4.

rX5.101 = AAYT , \$88.601 = ABYT ,005.70 = 3601 YH :seben gin seengx3 beruani sebulani emuloV \2

6/ Includes new volume from packaging service based on estimates to be presented in a separate Commission filing.

31,123

128

0

633

69L

824,268

10,320

Attachment to Response to POIR No. 5, Question 11 9987

Ċ

SPEC	IAL SERVICES C	TEST YEAR AF XOST COVERAG	TER RATES ES AND PERCEI	VTAGE INCREA:	SES		REVISED - US	11/20/97 PS T-40 WP-13						
Cost Per Piece 2/ (\$)	Total Cost 3/	After Rates Revenue 1/	Cost Coverage (Col 4/Col 3)	After Rates Revenue Per Piece (Col 4/Col 1)	Before Rates Revenue 1/	Before Rates Volume 1/	Before Rates Revenue Per Piece (Col 7/Col 8)	Atter Rates Percentage Increase (Col 6/Col 9)						
(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)						
4 0.29	3,480,529	4,599,704	132.2%	0.39	4,013,043	11,891,493	0.337	15.2%						
8 1.56	48,549,042	74,452,911	153.4%	2.33	64,817	32,526	1.993	16.8%						
5 1.71	7,006,473	11,156,158	159.2%	2.75	11,754,002	4,274,182	2.750	0.0%						
6 1.00	243,558,272	358,080,557	147.0%	1.47	289,941	260,356	1.114	31.6%						
6 0.33	22,139,260	23,563,212	106.4%	0.35	NA	NA	NA	NA						
9 87.73	5,377,516	6,068,931	. 112.9%	100.00	5,183,405	60,981	85.000	17.6%						
4 61.12	596,821	767,249	128.6%	78.58	775,024	9,764	79.372	-1.0%						
2 87.73	70,077,896	79,088,175	112.9%	100.00	67,790,460	797,535	85.000	17.6%						
8 87.73	80,413	90,752	112.9%	100.00	77,159	806	85.000	17.6%						
6 87.73	8,148,893	9,196,639	112.9%	100.00	7,817,143	91,966	85.000	17.6%						
7 87.73	115,799	130,688	112.9%	100.00	111,085	1,307	85.000	17.6%						
0 87.73	15,086	17025.88	112.9%	100.00	14472.00	170	85.000	17.6%						
S T-40 WP 1-12 07. or (3)/(1) fo	? r insurance and d	leliverv confirmat	on on											
	SPEC SPEC SPiece 2/ (2) (2) (2) (2) (2) (3) (4) (2) (2) (2) (2) (2) (2) (2) (2) (2) (2	SPECIAL SERVICES C Cost Per Piece 2/ (2) Total (3) (2) (3) 24 0.29 3,480,529 36 1.56 48,549,042 36 1.00 243,558,272 36 0.33 22,139,260 36 61.12 596,821 37 87.73 5,377,516 38 87.73 596,821 39 87.73 596,821 39 87.73 596,821 39 87.73 596,821 39 87.73 80,413 36 87.73 80,413 36 87.73 115,799 37 87.73 115,799 37 87.73 15,086 97 87.73 15,086 97 87.73 15,086 97 87.73 15,086 97 87.73 15,086	TEST YEAR AF SPECIAL SERVICES COST COVERAG Cost Per (2) Total (2) After Fates Revenue 1/ (2) (3) (4) 24 0.29 3,480,529 4,599,704 36 1.71 7,006,473 11,156,158 36 1.00 243,558,272 358,080,557 36 0.33 22,139,260 23,563,212 36 61.12 596,821 767,249 37 87.73 70,077,896 79,088,175 38 87.73 80,413 90,752 36 87.73 81,448,893 9,196,639 37 87.73 115,799 130,688 37 87.73 15,086 17025.88 37 70 87.73 15,086 17025.88	TEST YEAR AFTER FATES SPECIAL SERVICES COST COVERAGES AND PERCEI Cost Per Total After Fates Coverage (\$) Cost 37 Revenue 17 (Col 4/Col 3) (2) (3) (4) (5) 24 0.29 3,480,529 4,599,704 132.2% 36 1.71 7,006,473 11,156,158 153.4% 36 0.33 22,139,260 23,563,212 106.4% 36 0.33 22,139,260 23,563,212 106.4% 36 61.12 596,821 767,249 112.9% 37 80,773 80,413 90,752 112.9% 38 87.73 80,413 90,752 112.9% 39 87.73 115,799 130,688 112.9% 39 87.73 115,799 130,688 112.9% 39 87.73 115,799 130,688 112.9% 30 87.73 15,086 17025.88 112.9% 37 87.73 15,086 17025.88 112.9% 37 <td>TEST YEAR AFTER RATES SPECIAL SERVICES COST COVERAGES AND PERCENTAGE INCREAT (2) After Rates Piece 2// Total After Rates Piece 2// (3) Cost Per Piece (2) After Rates Per Piece (3) Cost Per Piece (4) After Rates Per Piece (6) 24 0.29 3.480,529 4.599,704 132.2% 0.39 36 1.71 7,006,473 11,156,158 159.2% 2.75 36 1.00 243,558,272 358,080,557 147.0% 1.47 36 1.73 5,377,516 6,068,931 . 112.9% 100.00 37 80,413 90,752 112.9% 100.00 38 87.73 80,413 90,752 112.9% 100.00 38 87.73 81,148,893 9,196,639 112.9% 100.00 39 87.73 115,799 130,688 112.9% 100.00 39 87.73 115,799 130,688 112.9% 100.00 30 87.73 115,799 130,688 112.9% 100.00 <t< td=""><td>TEST YEAR AFTER FATES SPECIAL SERVICES COVERAGES AND PERCENTAGE INCREASES Cost Per Cost (\$) After Fates Cost 3// Cost Revenue 1// After Fates Coverage After Fates Revenue 1// After Fates Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// <th< td=""><td>TEST YEAR AFTER RATES After Rates Piece 2/ Cost Piece 2/ After Rates Piece 2/</td><td>FEST YEAR AFTER RATES Atter Fates FEVENCES COVERAGES AND PERCENTAGE INCREASES Cost Prece Cost Total After Fates Cost Prevenue Before Rates Revenue Foreau Revenue Cost Prevenue Before Rates Revenue Cost Prevenue Revenue Cost Prevenue <th co<="" colspan="6" td=""></th></td></th<></td></t<></td>	TEST YEAR AFTER RATES SPECIAL SERVICES COST COVERAGES AND PERCENTAGE INCREAT (2) After Rates Piece 2// Total After Rates Piece 2// (3) Cost Per Piece (2) After Rates Per Piece (3) Cost Per Piece (4) After Rates Per Piece (6) 24 0.29 3.480,529 4.599,704 132.2% 0.39 36 1.71 7,006,473 11,156,158 159.2% 2.75 36 1.00 243,558,272 358,080,557 147.0% 1.47 36 1.73 5,377,516 6,068,931 . 112.9% 100.00 37 80,413 90,752 112.9% 100.00 38 87.73 80,413 90,752 112.9% 100.00 38 87.73 81,148,893 9,196,639 112.9% 100.00 39 87.73 115,799 130,688 112.9% 100.00 39 87.73 115,799 130,688 112.9% 100.00 30 87.73 115,799 130,688 112.9% 100.00 <t< td=""><td>TEST YEAR AFTER FATES SPECIAL SERVICES COVERAGES AND PERCENTAGE INCREASES Cost Per Cost (\$) After Fates Cost 3// Cost Revenue 1// After Fates Coverage After Fates Revenue 1// After Fates Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// <th< td=""><td>TEST YEAR AFTER RATES After Rates Piece 2/ Cost Piece 2/ After Rates Piece 2/</td><td>FEST YEAR AFTER RATES Atter Fates FEVENCES COVERAGES AND PERCENTAGE INCREASES Cost Prece Cost Total After Fates Cost Prevenue Before Rates Revenue Foreau Revenue Cost Prevenue Before Rates Revenue Cost Prevenue Revenue Cost Prevenue <th co<="" colspan="6" td=""></th></td></th<></td></t<>	TEST YEAR AFTER FATES SPECIAL SERVICES COVERAGES AND PERCENTAGE INCREASES Cost Per Cost (\$) After Fates Cost 3// Cost Revenue 1// After Fates Coverage After Fates Revenue 1// After Fates Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Coverage Before Fates Revenue 1// Before Fates Coverage Before Fates Revenue 1// Before Fates Revenue 1// <th< td=""><td>TEST YEAR AFTER RATES After Rates Piece 2/ Cost Piece 2/ After Rates Piece 2/</td><td>FEST YEAR AFTER RATES Atter Fates FEVENCES COVERAGES AND PERCENTAGE INCREASES Cost Prece Cost Total After Fates Cost Prevenue Before Rates Revenue Foreau Revenue Cost Prevenue Before Rates Revenue Cost Prevenue Revenue Cost Prevenue <th co<="" colspan="6" td=""></th></td></th<>	TEST YEAR AFTER RATES After Rates Piece 2/ Cost Piece 2/ After Rates Piece 2/	FEST YEAR AFTER RATES Atter Fates FEVENCES COVERAGES AND PERCENTAGE INCREASES Cost Prece Cost Total After Fates Cost Prevenue Before Rates Revenue Foreau Revenue Cost Prevenue Before Rates Revenue Cost Prevenue Revenue Cost Prevenue Cost Prevenue <th co<="" colspan="6" td=""></th>						

•

-

3/ The cost per piece in Column 2 multiplied by the volume in Column 1 plus 1% Contingency, except insurance (WP-15) and delivery confirmation (WP-5)

.

.

·

•

Attachment to Response to POIR No. 5, Question 11

·

Insurance Cost Adjustment

								9989
		After Rates	c	ost Per Piece			Total Costs	
Indemnity Value	Indemnity Limit	Volume 1/	Indemnity 2/	Other Costs 3/	Total	Indemnity	Other Costs	Total
(A)	(B)	(C)	(D)	(E)	(D+E)	(C*D)	(C*E)	(C*F)
							vv	••••
\$0.01 to \$50	50	13,182	0.11	0.56	0.67	1,475.070	7,381.674	8,856.745
50.01 to 100	100	8,793	0.24	1.16	1.40	2,127.421	10,199.620	12,327.041
100.01 to 200	200	4,022	0.61	1.16	1.77	2,455.371	4,665.843	7,121.214
200.01 to 300	300	1,469	1.17	1.16	2.33	1,722.946	1,704.357	3,427.304
300.01 to 400	400	540	2.01	1.16	3.17	1,087.704	626.378	1,714.082
400.01 to 500	500	677	1.89	1.16	3.05	1,281.061	784.814	2,065.874
500.01 to 600	600	544	3.62	1,16	4.78	1,968.501	631,420	2,599,921
600.01 to 700	700	76	3.50	1,16	4.66	264.418	87.636	352.053
700.01 to 800	800	76	4.00	1.16	5.16	302.192	87.636	389.827
800.01 to 900	900	76	4.50	1.16	5.66	339.966	87,636	427.601
900.01 to 1,000	1000	76	5.00	1.16	6.16	377.739	87.636	465.375
1,000.01 to 1,100	1100	76	5.50	1,16	6.66	415.513	87.636	503,149
1,100.01 to 1,200	1200	76	6.00	1,16	7.16	453.287	87.636	540.923
1,200.01 to 1,300	1300	76	6.50	1.16	7.66	491.061	87.636	578.697
1,300.01 to 1,400	1400	76	7.00	1.16	8.16	528.835	87.636	616.471
1,400.01 to 1,500	1500	76	7.50	1.16	8.66	566,609	87.636	654.245
1.500.01 to 1.600	1600	76	8.00	1 16	9.16	604.383	87.636	692 019
1,600.01 to 1,700	1700	76	8.50	1.16	9.66	642.157	87.636	729,793
1,700 01 to 1,800	1800	76	9.00	1 16	10.16	679 931	87 636	767 567
1.800 01 to 1 900	1900	76	9.50	1 16	10.66	717 705	87 636	805 341
1,900,01 to 2,000	2000	76	10.00	1.16	11 16	755 479	87.636	R42 115
2 000 01 to 2 100	2100		10.00	1.16	11.66	5 950	0.657	5 607
2 100 01 to 2 200	2200		11.00	1.10	12.16	5.550	0.037	5.007
2 200 01 to 2 300	2200	-	11.00	1.10	12.10	6 617	0.007	7 174
2 300 01 to 2 400	2400		12.00	1.10	12.00	5.517	0.037	7.174
2,000.01 to 2,500	2400		12.00	1.10	13.10	0.000	0.037	7.437
2,400.01 to 2,500	2500	4	12.00	1.10	13.00	7.003	0.007	7,747
2,000.01 to 2,000	2700	1	13.00	1.10	14.10	7.507	0.057	0.024
2,000.01 to 2,700	2000	4	13.30	1.10	14.00	7.000	0.037	8.307
2,700.01 to 2,000	2000	4	14.00	1.10	15.10	7.500	0.007	0.031
2,000.01 to 2,900	2900	4	14.30	1.10	15.00	D.217 R 500	0.657	0.0/4
3,000,01 to 3,000	3100	1	15.00	1.10	16.66	8.500	0.037	9.137
3 100 01 to 3 200	3200	4	15.50	1.10	17.16	0.703	0.057	9.441
3 200 01 to 3 200	3200	1	15.00	1.10	17.10	9.007	0.057	5.724
3,200.01 to 3,500	3400	-	17.00	1.10	19.16	9.000	0.057	10.007
3,300.01 to 3,400	2500	1	17.00	1.10	10.10	9.000	0.057	10.291
3,400.01 to 3,500	3500	4	19.00	1.10	10.00	10 200	0.057	10.574
3,000.01 to 3,000	3000		10.00	1.10	19.10	10.200	0.037	10.007
3,000.01 to 3,700	3700		10.00	1.10	19.00	10.403	0.037	11.141
3,700.01 10 3,800	3800		19.00	1.10	20.10	10.707	0.057	11.424
3,800.01 to 3,900	3900	1	19.50	1.16	20.66	11.050	0.657	11.707
3,900.01 to 4,000	4000	1	20.00	1.16	21.16	11.333	0.657	11.991
4,000.01 to 4,100	4100	1	20.50	1.16	21.66	11.617	0.657	12.274
4,100.01 10 4,200	4200	1	21.00	1.16	22.16	11.900	0.657	12.557
4,200.01 to 4,300	4300	1	21.50	1.16	22.66	12.183	0.657	12.841
4,300.01 to 4,400	4400	1	22.00	1.16	23.16	12.46/	0.657	13.124
4,400.01 to 4,500	4500	1	22.50	1.16	23.66	12.750	0.657	13.407
4,500.01 to 4,600	4600	1	23.00	1.16	24.16	13.033	0.657	13.691
4,600.01 to 4,700	4700	1	23.50	1.16	24.66	13.317	0.657	13.974
4,700.01 to 4,800	4800	1	24.00	1.16	25.16	13.600	0.657	14.257
4,800.01 to 4,900	4900	1	24.50	1.16	25.66	13.883	0.657	14.541
4,900.01 to 5,000	5000	1	25.00	1.16	26.16	14.167	0.657	14.824
		.						
Total Domestic		30,301				19,559	27,241	46,800
International Insurance	9	821				530	738	1,269
Totals		31,123				20,089	27,979	48,068
Contingency						201	280	481
Totals Including Contin	ngency					20,290	28,259	48,549
Boll Ecoward Costs Al						14 267	26 93R	41 205
						14,207	20,000	1,200
Adjustment (Totals - R	Ioll Forward Costs	5)				5,680	772	6,451

1/ Source: Docket No. R97-1, USPS-T-40 WP 2

۹

•

2/ Indemnity per piece for items valued at \$600 or less from Docket No. R97-1, USPS-t-40, p.6. For other pieces = 0.005*(Col B) 3/ LR H-107

4/ USPS-T-15, Exhibit USPS-15H, p. 8, Exhibit USPS-15I, p.2

RESPONSE OF UNITED STATES POSTAL SERVICE TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 6

5. Please provide pages II-2 and II-2A of LR H-301.

RESPONSE:

The attachment to this response consists of the requested pages which were printed out

from file MPPG98MM.XLS on diskette 2 included in LR H-301.

Attachment POIR No. 6, Item 5, Page I of 2

PAGE N-2

.

• •

SUMMARY OF MAIL PROCESSING OPERATION SPECIFIC COSTS

LOOORI

		⊢	- jueudinb3		- si	- Facility Cos	"weding	Helit		
Piggybeck		A shard			peyndwj	13 pS	, Althin Cilk.,	Bujesecoud		eu))
(6) Eeclous	Totel Coel (8)	() sejidding	(6) (6)	(5) (5)	(4) (4)	beesð (C)	(S) Benefits	10068.J	CATEGORY	'ON
10695711	928'999	967'9	699'91	090'6	095'91	22,625	90 7 ,601	812,186	Metry duidrawrof returnoù	L
127719.1	198'12	295	291	CO9	0/1 6	66¥'61	215'01	619'20	THU SOPATANCE UNIT	3
7.200537	226.333	SC1.C	65P'P	791'B	965'66	196'99	21+6°9C	156,484	PLATEORM - BMC	2
2.060040	110,785,1	2C1'8	2'043	691'9	029,721	626°MC	819,571	SF1 609	PLATFORM - NON-BINC	
3 10404	121,118	E92'91	169,801	002'091	E70,91	899'6Z	SE6'E11	9/9'690	(#ROO) 2930439 9370440 (OCR#)	ŝ
6995021	909'9999	526'21	999 00	43'563	52°109	29,221	690'771	965'96#	MAIL PROCESSING BARCODE SORTERS (MPBC	9
2:318043	264'435	206,91	144,223	669'951	6¥0'SÞ	Z#1'02	207,561	816,515	DELIVERY BARCODE SORTERS (DBCS.)	L
1.91953	220,122	561'C	129'91	190'92	156'ZI	109,11	33'858	118,274	CARRIER SEQUENCE BARCODE SORTERS (CSB	8
5'020508	£91'29E	5092	9999'99	2'492	187,51	20141	60,353	990'821	(#MSJ) SNIHJAM ONTROB RETTEJ	6
1.532505	1'516'483	£06'+1	966,58	977'25	££0.75	£59'\$¥	890,915	191,E81	FLAT SORTING MACHINE (FSMe)	01
529518'1	395,109	198'01	125 62	111-22	612'81	59'348	P21/99	¥¥0'681	PARCEL SORTING MACHINE & NMO MACHINE	66
SZEP1 C	325,636	277,8	100 26	619.8M	127 21	54'695	ers'rr	115'225	FACERVCANCELER - LETTERS	15
1.522015	986'09	0#4	299,2	166	2 004	161 8	CHO,F F	920'09	FACERVCANCELER - FLATS	13
5'448400	502 64	195	662 S	3'485	6'450	878,61	646,9	199,95	COLLING	P1
2996/672	114,401	S'9'2	022'21	¥59'I I	7 893	866.11	216'EI	068'5¥	SACK SORTING MACHINE (SSMa) - BMC	51
2,211090	589°12	2191	581'8	6729	200'5	967'9	918'6	£6£'1£	BACK SORTING MACHINE (SSMa) - NON-BMC	96
C9CM99'L	222,203	15,854	201'02	96,933	921'61	31'090	015'89	316,620	SMALL PARCEL AND BUNDLE SORTER	24
966555'1	942,08	59 <i>2</i>	192	102	129'0	0++'2	211/91	166,52	BOILSTIDE	81
¥91095'1	H8C,18	£\$¥'1	5'069	199	5/9'2	C91'¥	£18,01	SPE'6E	METRYC UNITED TO ATA COLLECTION SYSTEM	61
1600001	992'511	261,5	13,227	999'C	192'9	PP6'8	788,81	HS1'69	CENTRAL BANDING OPERATION - LETTERS & FL	50
etrore.t	M86'MS8'C	628'27	012,61	38'564	11.09	EES'20	691'592	367,828,2	SORTING TO LETTER CASES	51
1'415304	PPP'EOS' L	096 91	916'5	14,258	691 61	01-6'02	292,282	1,064,533	SORTING TO FLAT CASES	52
194291	687'287	169 1	069.1	026'¥	296 92	909'28	685'28	326,234	SORTING TO HANGING SACKS	53
20492918	1'528'499	12,007	292'¥	Z##'44	60,635	001/28	228,773	824'535	SORTING TO ROLLING CONTAINERS	54
Z9020213	53'591	201	29	621	5,108	3'622	969'£	13'331	SORTING TO PALLETS	52
C8/69C1	\$\$\$'858	625'01	3'252	8'425	121,81	184'52	001,861	899'502	SNOITARAGO ONTROS RAHTO	56
864154'l	£91°226	210'01	9YE'E	126'8	198,05	201'09	E96'971	657 699	TOTAL MISCELLANEOUS MAIL PROCESSING	22
99995591	629'789'1	CV2'81	266.937	699'+9	992 SZ	53,451	55175	695'ZCO'I	RBCS	59
2919671	269'195	11'584	32'508	56,244	¥00¥	208'5	272'001	312,420	TUBMIQUOB TROORNAAT GARANOO	56
9619591	999'596'81	526,589	196,229	765,567	122,067	116,631,1	528,705,5	12,342,677	: JATOT	

•

•

.

•••

PAGE II-2A

10/80

11.60

---- PAGE II-12613 ----

CO., CO MUS

C84,812,1 C08,41

DIVISION OF PSM AND NMO COSTS & FSM 881 AND FSM 1000 COSTS

.

1.632606	CBP,BTS,F	£06'#L	060,28	877 (9	CC0,72	698'17	890'812	282'C82	In Int
9/818/1	186,384	<i>[</i> 71	077,5	11211	5°,198	4'358	E09'E1	6/7'87	I-2W 1000
98281911	860'061'1	221'91	128'29	EE7,34	54'588	£29,7C	506,488	900'992	:0001 M31 kms 168 M31 te noisivid 188 M21
92991611	601'29C 900'0C	178'01 878	129'82 /10'1	117'22 967'7	612'81 FF7'1	6¥C'8Z	₽21'99 018'5	110'68L	1ATOT
1183858°L	332,102	212,51	59'994	54,916	987'(1	28,486	892'09	261'121	WS4
(8) Leosoa LiddApeor	Totel Cost B)	 Para & Para & I	- Inemqiup3 eonenetrisM) (8)	ا Copital (6)		- Faoility Coate Pt.P2 Based (3)	Superv., superv., superv., supervite., Benetite (2)	EAM Drieseoor todeJ (T)	YRODITAD

Colle Colle Colle C10 E C11 Coll15 Coll9 Coll0 C

REVISED RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 6

- 6. In USPS-LR-H-207 "Diskette of Witness Plunkett's (USPS-T-40) Testimony and Workpapers," WP-6 "Merchandise Return Permits," witness Plunkett forecasts the sale of 1,307 permits for the test year, but does not present any Merchandise Return transactions. Please provide the Merchandise Return transactions and the revenue generated by these transactions for the test year.
- 6. Response:

In the original response to this question, it was averred that Postal Service volume and revenue measurement systems do not capture Merchandise Return transaction data, or corresponding revenues. Subsequent to providing this response I discovered that transaction data have been captured by the RPW system, beginning in the fourth quarter of FY 94. The attached worksheet shows FY 96 Merchandise Return volumes and revenues, and projects test year before and after rates volumes based on the forecast growth in the mail classes with which Merchandise Return is available. It should be noted that these test year revenues have already been included in the Postal Service's test year revenues along with revenue from other sources (Ex. USPS-30A and B).

1

1

%E.S-		159,931	₩1,805,1					4,263,104	946'898'4	969,128,6 	JATOT
-5.9%	%0`0	40e,e40,1	E31,470,1	0.30	\$	0£.0	\$	189,774,5	112'085'2	861,431,6	(8) GRAQNATS
%0'1-	%0`0	654'801	803,601	0.30	\$	0:30	\$	361,529	365,025	326,258	(A) QAADNATS
%S.S	%0'0	869'92	SE7,47	0.30	\$	05.0	\$	522'428	249,108	502,702	PRIORITY
%9 [.] 0- (6)	(8) %0.0	065'05 (۲)	162'09 (9)	(5) 05.0	\$	(4) 05.0	\$	198'432 (3)	(S) (S)	(1) (1)	FIRST CLASS
PERCENT CHANGE 2/	PERCENT PERCENT	SETAA RETEA EMUJOV EED FEE	BEFORE RATES VOLUME CURRENT FEE	DOSED	ьво (\$) S	FEE: FRENT	ino 	RAAY TEAT RATAA CATAA CATAA	RAJY TEJT BROJJB CJTAA	9661 JJ	MAIL CLASS TYPE
		 JES					······	NOITOASNAAT			

1/ Denotes the percentage change from the current fee to the percentage volume at the current fee 2/ Denotes the percentage change from the revenue of the before rates volume at the current fee

to the revenue of the after rates volume at the proposed fee, or (Column 7 - Column 6)/Column 6.

REVISED RESPONSE OF POSTAL SERVICE WITNESS PLUNKETT TO QUESTION OF THE OFFICE OF THE CONSUMER ADVOCATE AT THE HEARING ON OCTOBER 7, 1997

Question (Tr. 3/1047): Will the Postal Service be willing to provide [the number of insurance claims made in FY 96]?

RESPONSE:

••

In FY 96, 122,753 insurance claims were filed.
Designated Interrogatory Responses of William M. Takis (T41)

.

:

.

WRITTEN RESPONSE OF POSTAL SERVICE WITNESS TAKIS TO ORAL QUESTION OF NAA

Q. (Tr. 9/4790) In the workpaper section 4-A-39 that cites the source of the load time equations as the Commission's Opinion and Recommended Decision in Docket No. R90-1, which Opinion and Recommended Decision from that docket was the source?

RESPONSE:

The load time equations come from PRC-LR-9, Docket No. R90-1. That library

reference was issued by the Commission on January 22, 1991 ("Further Notice of

Additional Workpapers") in conjunction with its first Opinion and Recommended

Decision in that docket. I am unaware of any subsequent revisions to

PRC-LR-9.

Designated Interrogatory Responses of John V. Currie (T42)

.

.

.

•

RESPONSE OF U.S. POSTAL SERVICE WITNESS CURRIE TO INTERROGATORIES OF THE OFFICE OF THE CONSUMER ADVOCATE

OCA/USPS-T42-2. Please refer to your interrogatory responses to OCA/USPS-T11-1-18 in Docket No. MC97-2.

- a. Please confirm that your responses to the above-referenced interrogatories are true, accurate, and complete for purposes of your testimony in Docket No. R97-1. If you do not confirm, please explain and provide corrections.
- b. Please confirm that you hereby adopt your responses to the abovereferenced interrogatories as your testimony in Docket No. R97-1. If you do not confirm, please explain.

RESPONSE:

a-b. Confirmed.

OCA/USPS-T11-1. Your testimony at page 1 states that the proposed surcharges for two types of hazardous materials "recognize the special costs of handling these materials, [and] improve the alignment of prices with costs..." Please identify and provide the attributable costs associated with the two types of hazardous materials subject to the surcharge. Please explain.

RESPONSE:

,

As noted in my testimony at page 16, the Postal Service has not been able to quantify the costs associated with these two types of hazardous materials.

OCA/USPS-T11-2. Your testimony at page 1 states that the proposed surcharges for two types of hazardous materials "provide a means of improving Postal Service data on these materials."

- Assuming the proposed surcharges are recommended by the Commission, please explain how the Postal Service intends to improve Postal Service data for the two types of hazardous material with respect to revenues, volumes, and Postal Service "practices and cost" identified on pages 9-13 of your testimony.
- b. Does the Postal Service intend to develop separate attributable costs for the two types of hazardous materials subject to the surcharge with respect to the Postal Service "practices and cost" identified on pages 9-13 of your testimony? If not, please explain why not.
- c. Does the Postal Service plan to incorporate the revenue, volume and attributable cost information for the two types of hazardous materials in the Postal Service's revenue, volume and cost information systems? If not, please explain why not.

RESPONSE:

a-c. I am informed that the Postal Service intends to require an endorsement on each piece of HMM or OMHM and that the volume and revenue for such materials will be included in the standard RPW information systems. While the endorsements will also be recorded in standard postal cost systems, it is likely that cost information will need to be developed through special studies (as has been the case, for example, for the non-standard surcharge in First-Class Mail).

OCA/USPS-T11-3. Your testimony at page 4 indicates that employees engaged in the cleanup of incidental spills and leaks involving mailed hazardous materials must be provided with certain personal protective equipment (PPE) and trained on how to use it.

- a. For those HMM and OMHM materials you propose a mail surcharge, are postal employees currently required to wear protective gear and/or clothing while processing this mail? If not, why not? If so, please identify the protective clothing and/or gear worn. If protective gear is worn, please identify who currently pays for the clothing and how much it costs. If the Postal Service provides the clothing, are the costs of providing the protective clothing attributed to any class or classes of mail? Please identify the class or classes.
- b. Do other industries handling HMM and OMHM type materials for shipment require those employees who process hazardous materials for shipment to wear protective gear and/or clothing? If not, why not? If so, please identify the protective clothing and/or gear worn. If protective gear is worn, please identify who provides the clothing and how much it costs.

RESPONSE:

a. Postal service employees engaged in simply processing mail containing hazardous materials (as opposed to cleaning up incidental spills and leaks) are not required to wear protective gear and/or clothing because the types and quantities of such materials accepted by the Postal Service and the packaging requirements imposed make this unnecessary. Under conditions normally incidental to handling mail, postal employees do not come into contact with hazardous materials

b. Other industries handling HMM and OMHM materials could include shippers who manufacture, fill, package, load, unload and otherwise prepare the type of hazardous materials at issue, as well as carriers who transport those materials. Employers of shippers who process hazardous materials for shipment are sometimes required by regulations of the Department of Labor, Occupational Safety and Health Administration (29 CFR Part 1910, Subpart I), by insurance carriers, or by individual company policy to

wear specific protective clothing, gear, or equipment. The level of protection is predicated upon the degree of exposure and the specific hazards of each hazard class. Employees who encounter spills or other uncontrolled releases of materials which are subject to cleanup as hazardous waste are prohibited by regulatory standards of OSHA (29 CFR §1910.120) from performing such activities unless properly trained and equipped with personal protective equipment. The clothing and equipment, and directives for its use, are specified within the emergency response plan for each facility covered by such regulations and are provided by the employer. Costs fluctuate depending on the level of protection required.

OCA/USPS-T11-4. Your testimony at pages 7 to 9 discusses industry practices and costs of transporting hazardous materials.

- a. Please show the derivation of the \$15.00 per hour training cost per employee and provide copies of all source documents relied upon that have not been previously submitted.
- Please show the derivation of the 4 hour average training time per new employee and provide copies of all source documents relied upon that have not been previously submitted.
- c. You indicate that 5 percent of all materials offered for transportation are hazardous materials. Please explain how you derived the 5 percent figure and provide copies of all source documents relied upon that have not been previously submitted.

RESPONSE:

a. All employees who are responsible for safety in the transportation of hazardous materials, including drivers, supervisors, terminal employees who load and unload cargo, and clerical employees who prepare documents, must be trained by the employer in general awareness of and familiarity with hazardous materials at that workplace. Those who perform job functions requiring regulatory compliance must receive function-specific training. Based upon my experience, the \$15-per-hour cost estimate reflects an average hourly rate for employees engaged in transportation-related occupations in the United States as listed above. This hourly rate is conservative because it includes only the employee receiving the training and does not include the costs of paying the worker who replaces the trainee during the training period or the costs of training materials and recordkeeping required to verify such training. I have personally spoken with a training supervisor employed by a major motor carrier in the United States who reported that its total costs for providing the mandated training are approximately \$50 per hour.

b. For the past 15 years I have personally developed and provided training to employees who prepare, ship, handle, and transport materials regulated as hazardous materials in all modes of transportation. My opinion, as a recognized expert in developing and implementing training which meets the minimum standards of the federal government, is that each employee requires at least four hours of initial training.

c. Based upon statistical data I compiled while in the employment of the New York State Police, I can state with confidence that approximately 5% of all materials offered for transportation at that time were regulated as hazardous materials within the definition at 49 CFR §171.8. Further, through my employment with the American Trucking Associations and my affiliation with the National Academy of Sciences, Transportation Research Board (TRB), I had access to data compiled in a study conducted by the Office of Technology Assessment (OTA) which was consistent with my previously stated experience. Through continuing personal contact with individuals employed by common carriers engaged in the transportation of all cargoes, and based upon consulting, training, and auditing work that I have performed, I know that these percentages have not changed significantly.

6

OCA/USPS-T11-5. Your testimony at page 11 discusses an increase in pilots and airlines refusing to carry mail containing hazardous materials. For 1994, 1995 and 1996, please identify each instance USPS mail was refused by an airline or a pilot due to hazardous material content. For each instance reported, include in your response the type of hazardous material involved, the intended destination, the airline refusing transportation, the date refusal occurred, the stated reason of refusal, the mail class and volume of mail pieces refused, the weight of the mail refused, and the final method of transportation.

RESPONSE:

The statement in my testimony reflects a trend I have observed which is true generally of carriers, including the Postal Service, which transport hazardous materials. I understand, however, that the Postal Service does not routinely collect information of the type or in the form requested. But the Postal Service has contacted Air Transportation Specialists at many airport dispatch points as a means of providing some insight into the scale of airline/pilot refusals. The results of those contacts are reported in Exhibit 1, which begins on the following page. As summarized on the third page of Exhibit 1, refusal rates range widely, from 0 percent to 100 percent, depending in part upon the mailers and delivery customers served by a particular facility.

AMF/AMC AND OTHER AIRPORT DISPATCH POINTS

÷

(MARCH 11, 1997)

ALPHA CODE	OFFICE		E/PILOT REFUSAL RATE OF HAZARDOUS MATERIALS
ALB	AMF	ALBANY COUNTY AIRPORT ALBANY, NY 12211-9732	approximately 10 pkgs refused per year
BDL	AMF	BRADLEY INT'L. AIRPORT WINDSOR LOCKS, CT 06199-0001	one or two refused pkgs per month
BOS	AMC	LOGAN INT'L. AIRPORT 139 HARBORSIDE DR. EAST BOSTON, MA 02128-9740	once or twice per month refused
BWI	AMC	P.O. BOX 9998 BALTIMORE, MD 21240-9998	four or five times per week refused
CAE	AMF	3501 AIR COMMERCE DR. COLUMBIA, SC 29228-9998	will not attempt air because of high refusal rate; re- route all hazmats to Greensboro AMC.
CID	AMF	2401 WRIGHT BROTHERS BLVD W CEDAR RAPIDS, IA 52404-9063	<1 per month refused
CLE	AMC	5801 POSTAL RD. CLEVELAND, OH 44181-9998	rarely attempt to fly hazmats because of high refusal rate; re-route all hazmats via surface
СМН	AMF	4299 SAWYER ROAD PORT OF COLUMBUS AIRPORT COLUMBUS, OH 43236-9741	average one refusal per week
DAY	AMF	10350 FREIGHT RD. DAYTON, OH 45490-9998	all hazmats via air are refused
DEN	AMC	25630 E. 75 AVE. DENVER, CO 80249-9741	about 10 refused out of 20 per day (50% refusal rate)
DFW	AMC	2300 W. 32ND STREET DALLAS, TX 75261-9741	approximately 99% are refused; re-route all by surface

ω

ALPHA TYPE OF

9

AIRLINE/PILOT REFUSAL RATE OF HAZARDOUS MATERIALS

CODE	OFFICE	ADDRESS	AIRLINE/PILOT REFUSAL RATE OF HAZARDOUS MATERIALS
DSM	AMF	6010 FLEUR DRIVE DES MOINES, IA 50321-9741	100% refusal rate; route via surface
DTW	AMC	METRO AIRPORT, BLDG. 515 DETROIT, MI 48242-9741	majority do not accept hazmats, re-route via surface; of few airlines who accept, about 2-3 per week refused
EWR	AMC	345 BREWSTER ROAD NEWARK, NJ 07114-0941	>90% refusal rate
GRR	AMF	5500 44TH ST. SE P.O. BOX 888600 GRAND RAPIDS, MI 49588-860	0 usually accept; however 1-2 per month are refused
GSO	AMC	P.O. BOX 27425 GREENSBORO, NC 27425-94	no problem, airlines are begging for business and will 9 accept all properly processed hazmats
IAD	AMC	DULLES IN'TL APT 19 WEST SERVICE RD. DULLES, VA 20102-9998	100% refusal by TWA, AA, UA. All other airlines refuse bewteen 5%-10% of hazmats
IAH	AMC	P.O. BOX 60998 HOUSTON, TX 77205-9998	2-3 per year refused
ICT	AMF	7117 W. HARRY WICHITA, KS 67276-9930	about 5% refusal rate = 10 pieces per week refused
LAX	AMC	5800 CENTURY BLVD. LOS ANGELES, CA 90009-899	8 5%-10% refusal rate
MCI	AMC	156 PARIS ST. KANSAS CITY, MO 64195-999	no longer attempt to fly biomeds due to 100% refusal; 8 10% refusal rate on all other hazmats
MSP	AMC	TWIN CITIES INT'L. AIRPORT ST PAUL, MN 55111-9998	80%-90% refusal rate
OKC	AMF	7100-A' AIR CARGO RD. P.O. BOX 25998 OKLAHOMA CITY, OK 73125-	9741 10% refusal rate

10008

ALL 1A TYPE OF

ADDRESS

CODE OFFICE

AIRLINE/PILOT REFUSAL RATE OF HAZARDOUS MATERIALS

=====			
ORD	AMC	11600 W. IRVING PARK RD. CHICAGO, IL 60666-9998	75% refusal rate
PDX	AMF	7640 NORTHEAST AIRPORT WAY P.O. BOX 55598 PORTLAND, OR 97238-5598	4%-5% refusal rate = 2-3 pieces per month refused
РНХ	AMC	1251 SOUTH 25TH PLACE SUITE 32 PHOENIX, AZ 85034-9998	50% refusal rate
RIC	AMF	5251 AIR EXPRESS RD. RICHMOND, VA 23250-2000	90% refusal rate = 10 pieces per month refused
SEA	AMC	16601 AIR CARGO RD. SEATTLE, WA 98158-9741	5% refusal rate
SLC	AMC	320 NORTH 3700 WEST SALT LAKE CITY, UT 84122-9998	10%-15% refusal rate = 1-2 per day refused
STL	AMC	9855 AIR CARGO RD. ST. LOUIS, MO 63155-9740	90% refusal rate
TUL	AMF	2601 NORTH CARGO ROAD TULSA, OK 74141-0001	very few hazmats, 1-2 per week, none refused

Note: The refusal rate annotated for each facility (AMF/AMC) is an estimate only. Each Air Transportation Specialist was contacted by phone survey and asked for an estimated refusal rate, by airlines/pilots, of properly processed mail pieces containing hazardous materials.

The variance in refusal rate, by airlines/pilots, of properly processed mail pieces containing hazardous materials among facilities, ranges between 0% to 100%. This variance is partly due to the customer market base to which a given USPS facility serves. For example: the Kansas City AMC serves a Bio-Med Tech customer, who mails a greater quantity and/or degree of risk of hazmats than does the dry cell battery company served by another USPS facility. Another contributing factor to this variance is the relative choice of airlines (or lack thereof) available to each USPS facility. Obviously USPS facilities engaged exclusively in air contracts with known refusers of hazmats will experience a 100% refusal rate (e.g.: Columbia, SC).

All facilities re-route hazmats via surface after attempting to ship by air. Some airlines are known to refuse all hazmats as part of their standing policy (e.g.: United Airlines, TWA, American Airlines, Southwest Airlines, Emery Freight); therefore, in some cases the USPS does not attempt to make a request, and automatically routes hazmats via surface. Columbia, SC re-routes all hazmats via surface to Greensboro because Greensboro contracts 10009 with air carriers who are "begging for business" and will accept hazmats.

raye C

EXTENSE

OCA/USPS-T11-6. Your testimony at 12, footnote 6, indicates that private sector costs of specialized hazardous materiel training has [sic] become substantial over the past 10 years.

- a. For the past 10 years to which you refer, please provide all information you used to determine the private sector costs of specialized training.
- b. Are training costs for the safe handling of hazardous material increasing more rapidly than the training costs for hazardous material clean-up? Please cite all source documents used in preparing your response.
- c. Are the training costs you refer to primarily for specialized hazardous material clean-up?
- d. Are the training costs you refer to primarily for specialized hazardous material handling procedures?

RESPONSE:

a. Private sector costs for training carrier employees who handle hazardous materials have, since 1986, been driven by a proliferation of regulations promulgated by the Department of Labor (DOL), the Department of Transportation (DOT), and the Environmental Protection Agency (EPA). Prior to that year the regulations were vague in identifying those employees who had to be trained, merely stating that "the carrier must train their employees to make the regulations effective" (49 CFR, §177.800, April 5, 1967). In November of 1986, both OSHA and the DOT released rulemakings which extended the application of the "employee right to know" and the "hazard communication in the workplace" requirements to the transportation industry, and required employers in transportation-related industries to provide training to employees who worked in the proximity of hazardous materials. The regulations required that shippers provide a material safety data sheet (MSDS) or its equivalent to users of its products. Carriers were required to maintain the information if it was provided to them and to instruct their employees on the use of such information in the event of a spill or leak. In 1992, the DOT published Docket HM-126F, which required all transportation workers who meet the definition of a "hazmat employee" (defined at 49 CFR, §171.8) and employed after July 1, 1993 to be trained in general awareness and familiarization,

function-specific regulatory responsibility, and safety in handling and transporting hazardous materials. The initial training was required to be completed by October 1, 1993 or within 90 days of hiring a new employee or assigning an existing employee to a new job with new duties. In addition all employees must receive recurrent training to be provided at least every two years. Due to the significant impact the two year re-training rule had on carrier resources, including financial costs and training resources, DOT subsequently extended the recurrent training requirement in October 1996 to at least every three years (49 CFR, Part 172, Subpart H). The EPA exercises dual jurisdiction with DOT over transportation of hazardous wastes and defines when a material spilled or released during transportation becomes a waste. Title 40 CFR further requires that a specific document be provided (EPA 8700-22) when transporting these wastes following a response to an emergency. In addition Title 29 CFR defines emergency response personnel and requires that these individuals must receive minimum levels of training based upon their response activities, including clean up of spills and leaks (29) CFR, Subpart I, §1910.120). Private sector carriers who transport or store hazardous materials incidental to transportation are required by OSHA to develop written emergency action plans, and emergency response plans and to provide minimum levels of employee training at scheduled intervals to ensure the effectiveness of these plans. Under the Federal Motor Carrier Safety Regulations (FMCSR), amended in 1987 with an effective date of April 1, 1992, drivers of commercial vehicles who transport certain threshold quantities of hazardous materials are required to possess a commercial drivers license (CDL) with an endorsement authorizing them to transport hazardous materials (FMCSR, 49 CFR, Part 383). Carriers are required to monitor their drivers to ensure compliance, and many also provide company-specific training to these drivers in order that they may pass the knowledge and skill examinations required for such a CDL with the endorsement. In addition to the minimum training requirements of 49 CFR §177.800, applicable to all hazmat employees of motor carriers, §177.816 has, since May 15, 1992, required that carriers train drivers

12

regarding the regulations in 49 CFR Parts 390 through 397 of the FMCSR. All of these regulations which have developed over the past ten years, with subsequent amendments to meet industry changes, have resulted in substantial increases in the cost of employee training.

10012

The costs experienced in the private sector in association with this training are also borne by the USPS. Management Instructions (MI) have been issued by the USPS Human Resources Department to provide guidance on compliance with these requirements (see, e.g., MI-EL-810-96-1). These MIs address Response to Hazardous Materials Releases and include USPS initiatives for preventing accidents and cleaning up hazardous materials spills including standard operating procedures (SOPs), emergency action plans (EAPs) and emergency response plans (ERPs). Specific instructions are provided for responding to injuries or exposures resulting from OMHM or HMM. The type of training which is required for each employee of the USPS and the materials which are to be used for providing this training are included in the MI. All employees must receive periodic training on the facility EAP. Acceptance personnel must receive annual training on hazardous materials mailability standards in the DMM and Pub 52. Mail handlers, supervisors, and other employees who frequently handle HMM or OMHM must receive HAZWOPER First Responder Awareness Level training. Maintenance or custodial staff and their supervisors who manage and clean up spills must receive HAZWOPER First Responder Operations Level training. Safety and health personnel receive Hazardous Materials Specialist level training and police personnel must receive First Responder Awareness training with annual refreshers. The regulations require that each facility maintain records to verify compliance with the training rules.

10013

b-d. Due to increased requirements for employee training, the training costs have increased. The level of required training varies throughout the transportation industry based on the type and quantity of hazardous materials encountered in each workplace. Employees who handle any and all hazard classes of hazardous materials are required to receive training as a condition of employment. There are more employees who would be subject to the safe handling training than the clean-up training since, in most cases, only specified individuals are authorized to conduct clean-up activities as a designated emergency responder. Although fewer employees are qualified to conduct clean-up activities, their training is more comprehensive. I am not able to determine if the costs associated with one type of training have increased more rapidly than another, or if some types of training costs have increased more rapidly than others.

OCA/USPS-T11-7. Your testimony at 14 indicates that the National Motor Freight Classification Conference of the American Trucking Association is conducting research on establishing "a unique classification and rate which would be recommended for hazardous materials and would reflect these additional transportation expenses."

- a. Please provide any materials, data, published articles that identify the type of research they are conducting. Include in your response any recommendations, status reports or other information they have written or presented on the topic.
- b. When was the research begun?
- c. When is the research expected to be concluded?
- d. When are the research results expected to be published?

RESPONSE:

a.-d. This testimony is based upon oral communications with employees of National Motor Freight Traffic Association (NMFTA), American Trucking Associations (ATA), National Tank Truck Carriers Conference (NTTC), and various common carriers. The research has been ongoing since shortly after the accidental release of methyl isocyanate in Bhopal, India. Following this accidental release, DOT amended the hazard communication requirements, the packaging authorizations, and the financial responsibility requirements for carriers transporting certain high-hazard materials or environmentally hazardous substances. The increase in handling costs, including the insurance premiums paid by carriers, generated consensus that rates should be adjusted to enable carriers to recoup some of the additional costs. In 1981 the Interstate Commerce Commission (ICC) deregulated the trucking industry, and many of the rate tariffs (although still published) are not followed by carriers, which are now free to discount their rates to customers. Although many carriers initiated surcharges for hazardous materials, the competitive and proprietary discounting programs of these carriers since deregulation has made it difficult for NMFTA to prepare reliable rate and surcharge data. NMFTA still expects to be able to recommend a unique classification

÷

U. S. POSTAL SERVICE WITNESS CURRIE RESPONSE TO INTERROGATORIES OF THE OFFICE OF THE CONSUMER ADVOCATE

for shipments of hazardous materials with an accompanying rate that reflects the additional costs, although no specific action date has been set.

.

OCA/USPS-T11-8. In your autobiographical sketch, you indicate that you served as Corporate Manager of Hazardous Materials Transportation for Digital Equipment Corporation (hereafter, Digital).

- a. During your tenure as manager, were hazardous materials shipped to Digital via the Postal Service? If so, approximately what percentage of hazardous materials received by Digital were shipped to them via the Postal Service?
- b. During your tenure as manager, were hazardous materials shipped to Digital via United Parcel Service? If so, approximately what percentage of the hazardous materials received by Digital were shipped to them via United Parcel Service?
- c. During your tenure as manager, were hazardous materials shipped to Digital via Federal Express? If so, approximately what percentage of the hazardous materials received by Digital were shipped to them via Federal Express?
- d. During your tenure as manager, were hazardous materials shipped to Digital via hazardous material vendors? If so, approximately what percentage of the hazardous materials received by Digital were shipped to them via the vendors?

RESPONSE:

Based upon contractual restrictions and ethical constraints, I am unable to provide confidential statistical data underlying the unique business operations of my former employer, Digital Equipment Corporation. I can however, make the following statements which reflect the general management position I fostered while employed as Corporate Manager of Hazardous Materials Transportation. The majority of hazardous materials within the scope of my management were purchased from various vendors and were received at manufacturing and distribution facilities operated by Digital or its subsidiaries. Some materials were received in bulk in cargo tanks and transferred to bulk holding tanks for use at a particular facility. Other materials were received in cylinders, drums, and small packages. All hazardous materials were immediately placed in a limited-access, locked storage area provided at each facility (called the "red label room") to enhance safe storage. Packaged hazardous materials received from vendors in bulk purchase quantities were accepted and stored in the "red label room" at several distribution centers strategically located throughout the world.

10017

These materials then were requisitioned and distributed to various manufacturing or research facilities as needed. Shipping and receiving personnel were trained to identify regulated materials and to ensure regulatory compliance when offering such materials for transportation. All packages shipped in commerce were required to be taken to shipping and receiving personnel for preparation for transportation and for selecting the most efficient carrier. Small packages containing hazardous materials sometimes were shipped via courier services if shipping and receiving personnel determined that to be the most efficient means of transport. Use of the postal system of the United States or other countries for the purpose of distributing regulated hazardous materials was discouraged because access to the mail created an undesirable means of avoiding the oversight and control of shipping departments. The policies outlined here were instituted at my direction.

OCA/USPS-T11-9. Your testimony at page 18 and 20 indicates that the current volumes of First-Class clinical diagnostic specimens may be 10 million pieces annually, with perhaps another 500 thousand pieces of Priority mail containing medical materials. Please show the derivation of each figure and provide copies of all source documents relied upon that have not been previously submitted.

RESPONSE:

I am informed that these volume estimates were generated judgmentally, based on knowledge of mailers and recipients of diagnostic specimens and other medical materials.

OCA/USPS-T11-10. Your testimony at page 20 indicates that the Postal Service has assumed a price elasticity of -0.8 for HMM. Please explain the considerations that entered into the determination of an elasticity of -0.8 for HMM. Specifically, what features of hazardous medical material are most like Priority Mail that would justify a determination of -0.8 as the most appropriate elasticity to use?

RESPONSE:

I am informed that the Postal Service assumed a "round-number" elasticity close to that of Priority Mail because, although most HMM volume is expected to be First-Class Mail, HMM is significantly different from the overwhelming majority of First-Class pieces, which are letters weighing less than an ounce. Priority Mail appeared to provide the closest available match to the shape, weight, and service characteristics of HMM mail.

OCA/USPS-T11-11. Your testimony at page 21 indicates that the Postal Service has assumed a price elasticity of -1.0 for OMHM. Please explain the considerations that entered into the determination of an elasticity of -1.0 for OMHM.

RESPONSE:

As also noted on page 21, this elasticity is roughly equal to that of Parcel Post; I am informed that the Postal Service made this assumption because most OMHM is expected to be mailed as Parcel Post.

OCA/USPS-T11-12. Refer to your testimony at page 20, line 24 and page 21, line 23 which states "Volume ratio=price ratio^elasticity." Please show the derivation of, and provide assumptions for, this relationship.

RESPONSE:

I am informed that this is simply a representation of a standard constant-elasticity demand function. The character "^" is used in spreadsheets to indicate "raised to the power," so that quoted phrase simply indicates that the volume response (new volume/initial volume) to a change in price is equal to the price ratio (new price/initial price) raised to the power of the price elasticity.

OCA/USPS-T11-13. Your testimony at page 14 states that "the Postal Service is the only [major carrier] that does not currently charge extra for processing these [hazardous] items."

- a. Please identify other major carriers, or carriers of any size, that transport and deliver hazardous materials in small parcels, other than USPS and Federal Express.
- b. Please provide the surcharges associated with the transport of hazardous materials for any of the carriers identified in a. above.

RESPONSE:

 a. Carriers other than UPS and Federal Express that I am aware of which transport and deliver hazardous materials in small parcels include Roadway Package Service (RPS), Airborne Express, DHL, Burlington Air Express, and Emery Worldwide.

b. The carriers listed in response to subpart a have implemented the following

surcharges and/or restrictions on small packages containing hazardous materials:

According to a current accessorial schedule, RPS charges an additional fee of \$10.00 per shipment, regardless of the hazard class.

Airborne Express imposes a hazardous materials surcharge of \$12.00 per shipment --\$17.00 if the shipment is packed in dry ice. Diagnostic specimens or infectious substances in Class 6.2 are required to be packaged properly, then placed in a Lab Pack, an outer packaging available for \$0.75 from Airborne Express.

DHL will not accept hazardous materials unless prior authorization has been granted by ... DHL headquarters. Hazardous materials are only accepted when offered by an

approved account and in pre-approved packaging. Additional charges are based upon any additional handling required.

Burlington Air Express imposes a surcharge of \$0.10 per pound for hazardous materials, with a minimum surcharge of \$30 per shipment. Diagnostic specimens are only accepted if they are shipped as hazard class 6.2 infectious substances, even if they do not contain any such substance.

Emery Worldwide imposes a \$50.00-per-shipment hazardous materials surcharge, regardless of the size of the package. All packages must be prepared for air transportation. Infectious substances are subject to the same surcharge as other hazards. Diagnostic specimens not known to contain any infectious substance must be packaged in special packaging approved by Emery Worldwide to avoid the surcharge. Emery Worldwide only accepts diagnostic specimens under the terms of contractual agreements with pre-approved accounts.

OCA/USPS-T11-14. Your testimony at page 14 states that UPS and Federal Express impose surcharges of \$10 or more for the transport of hazardous materials.

- a. Please explain the consideration given to the hazardous material surcharges imposed by UPS and Federal Express in the Postal Service's determination to use an elasticity of -0.8 for HMM and -1.0 for OMHM.
- b. In light of the surcharges imposed by UPS and Federal Express, please explain why there would be any decline in the estimated volume of HMM and OMHM handled by the Postal Service as a result of the proposed surcharge.

RESPONSE:

a.-b. I am informed that there was no explicit consideration of other carriers' hazardous materials surcharges in selecting the elasticity assumptions for HMM and OMHM. As with any goods or services, a price increase (or surcharge) may lead to a reduction in the use of the goods or service, not just a shift to alternative suppliers.

OCA/USPS-T11-15. Your testimony at page 20 indicates postage for HMM at a First-Class 8 ounces rate and a Priority Mail rate of 5 pounds. Please explain how you determined these postage weights were the most appropriate weights to use.

RESPONSE:

I am informed that these weights are believed to be representative of HMM in First-Class and Priority Mail. They are used only in calculating the pre-surcharge postage rate paid by such mail in order to calculate the price-ratio (or percentage price increase) resulting from the surcharge.

:

OCA/USPS-T11-16. Your testimony at page 21 indicates postage for an estimated parcel volume of 1.1 million pieces subject to the OMHM surcharge.

- a. Please explain the considerations that entered into the Postal Service's determination that about 0.5 percent of Parcel Post volume would be subject to the surcharge.
- b. Please explain how you determined that two-pound and ten-pound pieces constituted the mailing weights for OMHM.
- c. Please explain how you determined the volume split between two-pound and ten-pound pieces.
- d. Please explain how you determined that the postage based upon the Zone 3 Inter-BMC plus the non-machinable surcharge was the most appropriate postage to use.

RESPONSE:

a-d. As noted on page 21, these are judgmental assumptions. The 2-pound and 10-pound weights are believed to be representative of OMHM, as is the pre-surcharge postage level; no detailed information, however, is available. The assumptions are used only in calculating the pre-surcharge postage rate paid by such mail in order to calculate the price-ratio (or percentage price increase) resulting from the surcharge.

OCA/USPS-T11-17. Refer to your testimony at page 20 and 21 concerning the development of hazardous mail volumes. Please provide any information about the mailers subject to the proposed surcharge or recipients of hazardous materials, including whether such mailers are individuals, businesses or nonprofits: if business or nonprofit mailers, are such mailers large or small; the general business activity of businesses and nonprofits mailing and receiving such hazardous materials; the geographic location or concentration of individual, business or nonprofit mailers or recipients, etc.

RESPONSE:

As noted in my testimony at page 18, the Postal Service does not have detailed information on hazardous materials mail volumes. Please refer to LR-PCR-34, Section VI, pp. 402-450.

OCA/USPS-T11-18. Refer to your testimony at pages 20 and 21 concerning volumes for HMM and OMHM after imposition of the surcharge.

- a. Please confirm that the Postal Service is estimating a decrease in HMM First-Class and Priority Mail volume of 1,683,112 and 31,014, respectively. If you do not confirm, please explain.
- b. Please confirm that the Postal Service is estimating a decrease in two-pound and ten-pound pieces of 144,404 and 43,668, respectively. If you do not confirm, please explain.
- c. If the surcharge for HMM and OMHM were increased to \$0.60 and \$1.20, respectively, please confirm that the after rates volumes for HMM and OMHM would be 8,516,140 and 881,833, respectively. If you do not confirm, please provide the correct volumes and show their derivation.

RESPONSE:

a-c. Confirmed.

DECLARATION

I, John V. Currie, declare under penalty of perjury that my response to interrogatory OCA/USPS-T42-2, which confirms my adoption of the answers to interrogatories OCA/USPS-T11-1-18 (Docket No. MC97-2) as my testimony in Docket No. R97-1, is true and correct to the best of my knowledge, information and belief, and that were I to testify orally, my testimony would be the same.

John V. Currie

12/11 Date: _

Designated Interrogatory Responses of Michael R. McGrane (ST44)

-

.

RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS MCGRANE TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 7

POIR No. 7, Question 15. Please provide the source (worksheet, column, line number) in LR H-106 for Exhibit 44A, Table 1, column, on pages 4, 5, 6, and 7, variable mail processing costs.

RESPONSE:

Column 6 on pages 4, 5, 6, and 7 of Exhibit USPS-44A is the product of the adjusted

cost from LR H-106, the premium pay factor from LR H-106, and the piggyback factor

from LR H-106. For pages 5 and 7, non-letter shape mail for commercial ECR and

Nonprofit ECR, the columns are the sum of these calculations for flat and parcel mail.

The following table contains the sheet and cell references used from LR-H-106. Please

note that the "Adj. Letter" sheet and the "Adj. Flatcst" sheet are missing the row for the

"MAILGRAM" costpool which appears in the "Adj. Parcelcst" sheet and the "Pigbkfactrs"

sheet.

Page in Exhibit 44A	Source of Adjusted Costs	Source of Premium Pay Factor	Source of Piggyback Factors
Page 4, Comm.	Sheet "Adj. Letter",	Sheet "PremPay",	Sheet "Pigbkfctrs",
ECR Letters	Column K	Cell K14	Column H
Page 5, Comm.	Sheet "Adj. Flatcst",	Sheet "PremPay",	Sheet "Pigbkfctrs",
ECR Flats	Column K	Cell K14	Column H
Page 5, Comm.	Sheet "Adj.	Sheet "PremPay",	Sheet "Pigbkfctrs",
ECR Parcels	Parcelcst", Column H	Cell K14	Column H
Page 6, Nonprofit	Sheet "Adj. Letter",	Sheet "PremPay",	Sheet "Pigbkfctrs",
ECR Letters	Column I	Cell I14	Column H
Page 7, Nonprofit	Sheet "Adj. Flatcst",	Sheet "PremPay",	Sheet "Pigbkfctrs",
ECR Flats	Column I	Cell I14	Column H
Page 7, Nonprofit	Sheet "Adj.	Sheet "PremPay",	Sheet "Pigbkfctrs",
ECR Parcels	Parcelcst", Column J	Cell 114	Column H
RESPONSE OF UNITED STATES POSTAL SERVICE WITNESS MCGRANE TO PRESIDING OFFICER'S INFORMATION REQUEST NO. 7

POIR No. 7, Question 18. Exhibit 44A, shows the separation of mail processing cost for enhanced carrier route (ECR) and nonprofit enhanced carrier route (NPECR) between walk-sequence direct tally cost and nonwalk-sequence direct tally cost. Why didn't the Postal Service further separate the walk-sequence tally cost between high density and saturation which would have provided a basis for computing mail processing cost for each rate category in ECR and NPECR?

RESPONSE:

Until the implementation of Classification Reform on July 1st of 1996, the endorsements

for high density and saturation mail were the same, so the separation of costs between

high density and saturation could not be made for all of FY 1996.

Designated Interrogatory Responses of Marc A. Smith (ST45)

.

,

 Please provide the detailed calculations and sources used to derive the figure shown at LR H-106, page VI-8, column 6, for the line entitled "1st Pr. -NCarr-Rt & Car. Rt. The amount shown is 1,999,683. Please also confirm that this is in thousands of dollars.

Response:

I confirm that 1,999,683 is in thousands of dollars. This is the total test year mail processing costs for First-Class presort letters, flats and parcele (presort and carrier route presort) computed using the unit costs from pages II-5, III-5, and IV-5 <u>prior</u> to the application of the reconciliation factor (which is contained in column 7 of page VI-8). This calculation is shown in Table 1 below. This amount differs from the test year before rates mail processing costs based on witness Patelunas testimony, USPS-T-15, which is \$1,982,973 (in thousands) as shown in column 5 of page VI-8. This difference is reconciled by the application of the reconciliation factor which is category. All the results contained on pages II-5, III-5, and IV-5 for the columns for "1st Pr. Carr-Rt" and "1st Pr. NCarr-Rt" have been multiplied by the factor .99164, consequently the mail processing costs for all shapes for these two columns sum to the test year costs of \$1,982,973 (in thousands) as shown in Table 2 below.

The calculation of \$1,999,683 is based on the unit costs on pages II-5, III-5, and IV-5 prior to the application of the factor .99164. The unit costs prior to the application of the reconciliation factor are obtained from the spreadsheet "CSTSHAPE.XLS" by going to the spreadsheet page "PremPay" and setting the cell E25 to 1. Multiplying the

(response to question 9 continued)

resulting unit costs times the test year before rates volumes leads to \$1,999,683, as

shown below.

Table 1: Total First-Class Presort Costs With Unreconciled Unit Costs

	Unit Costs Prior to Reconciliation (cents/piece)	Test Year Before Rates Volumes (in thousands)	Total Costs (in thousands)
1st Pr.NCarr-Rt.			
Letters	4.637335	39,297,407	1,822,352
Flats	20.91005	630,595	131,858
Parcels	38.212386	26,432	10,100
1st Pr.Carr-Rt.			
Letters	2.27829	1,552,574	35,372
Total			1,999,683

Table 2: Total First-Class Presort Costs With Reconciled Unit Costs

	Unit Costs After Reconciliation (cents/piece)	Test Year Before Rates Volumes (in thousands)	Total Costs (in thousands)
1st Pr.NCarr-Rt.			
Letters	4.598585	39,297,407	1,807,125
Flats	20.735323	630,595	130,756
Parcels	37.893077	26,432	10,016
1st Pr.Carr-Rt.			
Letters	2.259257	1,552,574	35,077
Total			1,982,973

;

10. LR-H-106, page VI-2, column 1, spbs Oth, shows a figure of 20,237. This amount comes from LR H-77, page 194, column 4, line 17. According to the electronic spreadsheet version, the amount is calculated as follows: 20,237 = 192,529 times [(194.5/176) -1].

a. Please provide an explanation for what the numbers, 194.5 and 176, represent.

b. Please provide the source for these numbers.

c. Please discuss the rationale for the calculation. Interestingly, the 20,237 is the only number in column 4 of page 194 that is based on column 3. All the other cost reduction amounts and other program costs come from USPS-T-15, Appendix A, page 6 for FY 1997 and page 10 for FY 1998. Please be sure to include in your discussion of the rationale an explanation for the different treatment accorded spbs Oth.

Response:

- a. The figures 194.5 and 176 are the mid-year number of Small Parcel and Bundle Sorters (SPBS) for the fiscal years 1997 and 1996 respectively.
- b. These figures are calculated as shown at page V-5 of LR-H-127, based on

information from Engineering and Operations.

c. The rationale is to reflect the additional labor costs associated with the SPBS, given the additional deployments of SPBS. The \$20.237 million is the estimated additional costs for SPBS staffing.

The difference in treatment for the "SPBS Oth" cost pool is necessary to obtain the total changes in the costs for this cost pool and the cost pools 1OPbulk and

. 10Ppref as discussed in response to questions 12 and 13. The savings from the SPBS deployments of \$27.274 million as shown at LR-H-77 page 195 line 5 (as per witness Patelunas, USPS-T-15, Appendix A) is the <u>net</u> savings. It is the net of the

(response to question 10 continued)

increased staffing costs for SPBS and the savings in opening units (or "Sorting to Rolling Containers") which perform manual bundle and parcel sorting. If staffing costs grow for the SPBS by \$20.237 million, then the savings in opening units (or "Sorting to Rolling Containers") due to the additional SPBS which is consistent with the net savings of \$27.274 million is the sum of these two figures: \$20.237 plus \$27.274 equals \$47.511 million. In this case, as well as for FSM & FSM 1000 programs (see pages 195-196 of LR-H-77), it was necessary to estimate the additional costs and corresponding savings that would be associated with the budgeted net savings provided by witness Patelunas.

11. The 192,529 referenced in question 10 is calculated as follows. First, calculate mail processing overhead factors for each mods group, each BMC group, and the nonmods offices. Second, for each mods, BMC, and nonmods group, multiply the FY 1996 volume variable mail processing cost for small parcel and bundle sorting (SPBS) by the overhead factors from the first step. The SPBS costs come from LR H-146, pages VII-17 to VI-19 for the column with the heading "17 SM PCL BNDL SRT." Third, sum the results from the second step yielding 176,195. Fourth, adjust the 176,195 to include the lump sum costs resulting in 176,645. Fifth, multiply the step four amount by the combined wage and volume growth factors for FY 1997 and FY 1998 producing 192,529.

According to LR H-77, page II-4, the lump sum adjustment above uses the volume variable lump sum costs from USPS-T-5, WP-B, W/S 3.1.1, page 4, column 8, line 50. In contrast, when making the same adjustment to the mail processing costs by shape earlier in LR H-106, page VI-1, line 3, which sources the same worksheet, the costs reflect the accrued level not the volume variable level. Both lump sum adjustment factors are used in LR H-106 to derive test year volume variable mail processing cost by shape. Please discuss the rationale for using different lump sum adjustment methods within this cost study.

Response:

The two lump sum adjustments calculations which are cited are virtually identical. The

two lump sum factors are .0025601446 from LR-H-77, page 197 and .002559941 from

LR-H-106, page VI-1. These differ by .0000002036. The ratio of lump sum payment to

total salaries excluding lump sum is the same for both volume variable costs and total

accrued costs since the lump sum payments are distributed proportionately to labor

cost. The observed difference probably stems from rounding.

12. The 20,237, referenced in question 10, is also used as a cost reduction amount in LR H-77 at page 194, column 4, line 24, i.e., 20,237 is used in the calculation to derive (56,634), the amount in column 4, line 24. Please provide a rationale for this calculation.

Response:

The savings for "Sorting to Rolling Containers" of \$56.634 million is the sum of the savings of \$47.511 from the SPBS deployment plus \$9.122 million savings due to the Tray Management System (see page 195, line 10 of LR-H-77). The calculation of the \$47.511 million savings is discussed in response to question 10. As indicated in response to question 10, \$20.237 million is my estimate of both the costs associated with additional staffing for SPBS and the corresponding additional SPBS program savings in the activity "Sorting to Rolling Containers" in addition to the net savings of \$27.274 million for SPBS (see LR-H-77 at page 195, line 5).

13. The amount in LR H-77 at page 194, column 4, line 24, (56,634), is subsequently used to derive the cost reduction amounts shown in LR H-106, page VI-2, column 1, 10Pbulk and 10Ppref. The (56,634) is multiplied by 0.5 yielding (28,317). This amount is used both for 10Pbulk and 10Ppref. Please provide the rationale for this calculation.

Response:

"Sorting to Rolling Containers" costs are included in both the 10Pbulk and 10Ppref

cost pools. I have assumed that half of the total savings of \$56.634 million for "Sorting

to Rolling Containers" shown in LR-H-77 at page 194, column 4, line 24 would go to

each of these cost pools as shown in LR-H-106 at page VI-2, column 1.

14. This question concerns the escalation factor used to update base year level cost to the test year level. In Docket No. MC95-1, LR MCR-10, the Postal Service updated unit costs by shape using the ratio of TYAR Direct Mail Processing unit cost (excluding mail processing overhead) to Base Year Mail Processing unit cost. The Test Year costs reflected the CRA level. The Base Year cost reflected LIOCATT level cost divided by volume, i.e., mail processing cost without Workpaper B adjustments, without overhead, and without premium pay. (See MC95-1, LR MCR-10, Table C, page 2, L.8; Table D, page 2; Table E, page 2, and Table F, page 2.)

In Docket No. R97-1, the Postal Service uses the same type of test year/ base year ratio, but the underlying numbers reflect a different level of cost than in Docket No. MC95-1. The Base Year unit costs reflect mail processing overhead, the Workpaper B adjustments, premium pay, the savings from cost reductions in FY 1997 and FY 1998, and the cost of other programs for FY 1997 and FY 1998. The Test Year unit cost reflects CRA level mail processing costs including overhead. (See LR H-106, pages II-4, III-4, IV-4, VI-2, and VI-8.)

Please discuss the rationale for including FY 1997/FY 1998 cost reductions and other program cost in the base year cost prior to the TYAR escalation factor.

Response:

The two escalation factors which you describe differ in part because of the prior

inclusion of the cost reductions and other programs adjustment ratio from LR-H-106 at

page VI-2. In addition, witness Degen's development of mail processing costs doesn't

rely on LIOCATT and does not have the same treatment of mail processing overhead

costs as discussed in his testimony, USPS-T-12.

The costs shown at pages II-4, III-4 and IV-4 aren't base year costs, per se, but

rather just an intermediate step toward getting test year costs. Applying the cost

reductions and other programs adjustment ratio prior to the test year escalation as

opposed to after the escalation shouldn't lead to a difference in the results due to the

reconciliation to test year labor and piggybacked costs as done at page VI-8, columns

(response to question 14 continued)

An important point to note in comparing the two approaches is that the overall reconciliation is the same. That is the benchmark costs or mail processing costs by shape for a given category are adjusted to have the same weighted average as the test year average mail processing costs. In Docket No. MC95-1, LR MCR-10 the reconciliation targets are computed in Table I and the reconciliation factor is computed in Table H. In LR-H-106, the reconciliation target is computed at page VI-8, column 5 in the same way as done in LR MCR-10 in Table I. The reconciliation ratio is applied in the same way on page VI-8, column 7. The form of the calculations is different but the process and the result is the same, with the benchmark costs by shape totaling to the test year mail processing cost as per witness Patelunas (both labor and piggybacked costs).

16. What is the purpose of the mail mix adjustment in LR H-106?

Response:

The mail mix adjustment is provided in LR-H-126. This library reference provides the changes in volume variable mail processing labor costs (component grouping 3.1) in First-Class Mail and in Standard A categories stemming from reclassification reform and other mail volume mix changes occurring between FY96 and FY97. This adjustment reflects the changes in unit costs that would stem from the changes such as the growth in prebarcoding for letters and flats which occurred between FY96 and FY97.

The shape/presort adjustment is done to reflect the mail mix adjustment (see pages VI-3 to VI-7 of LR-H-106). The shape/presort adjustment reapportions the test year costs by shape and presort level to reflect the changes occurring between the base year and test year, which are accounted for by the mail mix adjustment (see pages VI-3 to VI-7 of LR-H-106).¹

¹ An example of this adjustment is the reduction in costs for First-Class carrier route presort letters. The base year labor costs for this category is \$30,111,000 as indicated at page II-1 of LR-H-106, while the FY 1997 projection of the cost for this category is \$18,220,000 see page II-5 of LR-H-126. The decline in costs reflects the decline in volumes for First-Class carrier route presort letters due to the non-eligibility of automation carrier presort in 5-digit Zip Codes in which DPS is performed by DBCS. The factor , .595, from revised page VI-3 of LR-H-106, is multiplied times the First-Class carrier route presort letter costs in page II-4 (as part of the calculations in page II-5 to obtain test year costs) to reflect the anticipated cost change.

17. The mail mix costs in LR H-106 on pages VI-3 to VI-7 reference LR H-126. On page III-3 of LR H-126, the model unit cost for a nonprofit automation basic letter is 2.5175 cents per piece. The referenced source for this cost is LR H-126, Part VI, Section 6, page 1; but, the cost there is 0.3012 cents. Please provide the source for the 2.5175 cents. If the source does not show the derivation of this figure please provide it.

Response:

The total model cost of .3012 shown in LR-H-126, Part VI, Section VI, page 1 is

incorrect. Summing the "Weighted Costs" of column 8 results in the 2.5175 cents per

piece, which is relied on at page III-3. Replacement pages for LR-H-126, Part VI,

Section VI, page 1 and revised spreadsheets containing this page are being filed.

Designated Interrogatory Responses of Marc A. Smith (ST46)

٠

RESPONSE OF U.S.POSTAL SERVICE WITNESS SMITH TO INTERROGATORIES OF NDMS, REDIRECTED FROM WITNESS CRUM

NDMS/USPS-T28-38.

- d. Please confirm that:
- (i) the Postal Service's costs of transporting mail to the DDU was computed by dividing total test year adjusted Standard Mail (A) transportation costs by total test year Standard Mail (A) pounds;
- (ii) in that division, pounds are used as a proxy for cube; and
- (iii) using pounds as a proxy for cube assumes, implicitly, that all Standard A Mail has the same density. If you fail to confirm any of the preceding, please explain fully.

Response:

- (i) Confirmed.
- (ii) Confirmed.
- (iii) Confirmed, this assumes that all Standard Mail (A) categories will have the same

average density. Individual mailings will of course differ.

RESPONSE OF U.S.POSTAL SERVICE WITNESS SMITH TO INTERROGATORIES OF NDMS, REDIRECTED FROM WITNESS CRUM

NDMS/USPS-T28-41.

In LR-H-111, both the transportation and nontransportation costs avoided from dropshipment are presented on a per pound basis. They are presented this way because the drop ship discount is figured on a per pound basis and converted to a per-piece basis for pieces under the breakpoint that do not have weight as part of the rate design. At the same time, it is well established that the underlying driver of highway transportation costs is cube. That is, highway transportation costs are incurred and distributed to the classes of mail on the basis of cube. Rates, however, are set on the basis of pieces and pounds, not cube. With respect to highway transportation costs avoided, it is thus clear that pounds serve as a proxy for cube. Nontransportation costs avoided from dropshipment relate to dock handling expenses, such as loading and unloading trucks, moving containers around on the dock and staging them for loading, etc.

(i) Please confirm that this explanation concerning transportation costs is accurate. Please explain any nonconfirmation.

Response:

(i) Confirmed, with respect to your statements on highway transportation costs. It is my

understanding that Highway costs are incurred on the basis of cubic foot-miles.